DOCUMENT NUMBER-DATE

# Aqua Utilities Florida, Inc

Docket No. 080121--WS

Application to Increase Rates and Charges
For a "Class A" Utility
In

Florida

# **VOLUME 5**

# Book 1

Containing
Additional Engineering Requirements

List of Chemicals Used for Water and Wastewater Treatment

List of All Field Employees

List of Owned or Leased Vehicles

**List of Customer Complaints** 

Aqua Utilities Florida, Inc.

# Aqua Utilities Florida, Inc. Chemical List Water and Wastewater Systems

Name of System	Page Number(s)
48 Estates - Water	5
Arredondo Estates / Farms - Water	5
Arredondo Estates - Wastewater	5, 6
Beecher's Point - Water	6
Beecher's Point - Wastewater	6
Carlton Village - Water	6
Chuluota - Water	7 - 9
Chuluota - Wastewater	9, 10
East Lake Harris Estates - Water	10
Fern Terrace - Water	10
Florida Central Commerce Park - Wastewater	11
Friendly Center - Water	11
Gibsonia Estates - Water	12
Grand Terrace - Water	12
Haines Creek - Water	13
Harmony Homes - Water	13
Hermits Cove - Water	13, 14
Hobby Hills - Water	14
Holiday Haven - Water	14
Holiday Haven - Wastewater	14, 15
Imperial Mobile Terrace - Water	15
Interlachen Lake / Park Manor - Water	15
Park Manor - Wastewater	16
Jasmine Lakes - Water	16, 17
Jasmine Lakes - Wastewater	17 - 19
Jungle Den - Water	19
Jungle Den - Wastewater	19
Kings Cove - Water	20
Kings Cove - Wastewater	20
Kingswood - Water	21 يب
Lake Gibson Estates - Water	21 ¥1
Lake Gibson Estates - Wastewater	21 ;
Lake Josephine - Water	22 🗒
Lake Osborne - Water	22
Lake Suzy - Water	22 🙀
Lake Suzy - Wastewater	22, 23
Leisure Lakes - Water	23, 24 🛍
Leisure Lakes - Wastewater	22 W 22 23 W 22, 23 W 23, 24 W 24 W 25 00
Morningview - Water	25 2
Morningview - Wastewater	25 🛱
Oakwood - Water	26
Ocala Oaks - Water	26, 27
Orange Hill / Sugar Creek - Water	27, 28

# Aqua Utilities Florida, Inc. Chemical List Water and Wastewater Systems

Name of System	Page Number(s)
Palm Port - Water	28
Palm Port - Wastewater	28
Palm Теrrace - Water	29
Palm Terrace - Wastewater	29, 30
Palms Mobile Home Park - Water	30
Picciola Island - Water	30
Piney Woods - Water	31
Pomona Park - Water	31
Quail Ridge - Water	31, 32
Ravenswood - Water	32
River Grove - Water	32
Rosalie Oaks - Water	32, 33
Rosalie Oaks - Wastewater	33
Sebring Lakes - Water	33, 34
Silver Lakes Estates / Western Shores - Water	34
Silver Lake Oaks - Water	34
Silver Lake Oaks - Wastewater	35
Skycrest - Water	35
South Seas - Wastewater	35, 36
St. John's Highlands - Water	37
Stone Mountain - Water	37
Summit Chase - Water	37
Summit Chase - Wastewater	38
Sunny Hills - Water	38
Sunny Hills - Wastewater	39
Tangerine - Water	39
The Woods - Water	40
The Woods - Wastewater	40
Tomoka / Twin Rivers - Water	41, 42
Valencia Terrace - Water	42
Valencia Terrace - Wastewater	42, 43
Venetian Village - Water	43 44
Venetian Village - Wastewater	44
Village Water - Water	
Village Water - Wastewater	44, 45 45
Welaka / Saratoga - Water	45 46
Wootens - Water	46
Zephyr Shores - Water	46 46
Zephyr Shores - Wastewater	40

## 48 Estates (Water)

Chemical Type	Units	Total Galions	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	58	58	1.15	66.70				
Sodium Hypochlorite	32	32	1.15	36,80				
Sodium Hypochlorite	44	44	1.15	50.60				
Sodium Hypochlorite	31	31	1.15	35.65				
Sodium Hypochlorite	35	35	1.15	40.25				
		200		\$ 230.00	9,89	0.00	20.22	Used for disinfection in the production of potable water.

## Arredondo Estates/ Farms (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced		Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	83	83	1.15	95,45			<u></u>	
Sodium Hypochlorite	76	76	1.15	87.40				
Sodium Hypochlorite	139	139	1.15	159.85				
Sodium Hypochlorite	98	98	1,15	112.70				
Sodium Hypochlorite	132	132	1.15	151.80				
Sodium Hypochlorite	42	42	1,15	48.30				
Sodium Hypochlorite	60	60	1.15	69.00				
Sodium Hypochlorite	62	62	1.15	71.30				•
Sodium Hypochlorite	52	52	1.15	59.80				
Sodium Hypochlorite	94	94	1.15	108.10				
		838	•	\$ 963,70	49.34	0.00	16.99	Used for disinfection in the production of potable water.

#### Arredondo Estates (Wastewater)

Chemical Type	Units	Callons / Lbs	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	305	305	1.15	350.75			· · · · · · · · · · · · · · · · · · ·	
Sodium Hypochlorite	99	99	1.15	113.85			,	
Sodium Hypochlorite	185	185	1.15	212.75				
Sodium Hypochlorite	194	194	1.15	223.10				
Sodium Hypochlorite	262	262	1.15	301,30				
Sodium Hypochlorite	296	296	1.15	340.40				
Sodium Hypochlorite	169	169	1.15	194,35				
Sodium Hypochlorite	210	210	1.15	241.50				
Sodium Hypochlorite	162	162	1.15	186.30				
Sodium Hypochlorite	114	114	1.15	131.10				
Sodium Hypochlorite	210	210	1.15	241.50			-	
Sodium Hypochlorite	168	168	1.15	193.20				
Sodium Hypochlorite	144	144	1.15	165.60				
Sodium Hypochlorite	118	118	1.15	135.70				
Sodium Hypochlorite	144	144	1.15	165.60				
Sodium Hypochlorite	66	66	1.15	75.90				
Sodium Hypochlorite	205	205	1.15	235.75				

Arredondo Estates (Wastewater)(Continued)

Chemical Type	Units	Total Gallons / Lbs	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate chem/M G prod	•	Comments
Sodium Hypochlorite	210	210	1.15	241.39					
Sodium Hypochlorite	352	352	1.15	404.80					
Sodium Hypochlorite	89	89	1.15	102.35					
Sodium Hypochlorite	122	122	1,15	140.30					
Sodium Hypochlorite	97	97	1.15	111.55					
Sodium Hypochlorite	214	214	1.15	246.10					
Sodium Hypochlorite	134	134	1,15	154.10					
Sodium Hypochlorite	179	179	1.15	205.85			*		
Sodium Hypochlorite	<b>1</b> 61	161	1.15	185.15					_
••		4,609		\$ 5,300.24	16.86	0.00		273.36	Used for disinfection in the production of potable water.
Trichtorisocyanuric - 50 lb	1	50	130.85	130.65					-
Trichlorisocyanuric - 50 lb	1	50	130.85	130.85					
Trichlorisocyanuric - 50 lb	1	50	120.00	120.00	_				
•		150	•	\$ 381.70	-	Chlorine (Tabs) Used to	for plant maintenat	nce and	supplemental disinfectant on an as need basis.

Beecher's Point (Water)

M G Water Purchased

Purchase Water Agreement with Town of Welaka 100% Supply

4.31

Beecher's Point (Wastewater)

M G Sewer Treated

Purchase Sewer Agreement with Town of Welaka 100% Treated

2.71

Cariton Village (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	
Sodium Hypochlorite	35	35	1.15	40.25				
Sodium Hypochlorite	43	43	1.15	49.45				
Sodium Hypochlorite	57	57	1.15	65.55				
Sodium Hypochlorite	48	48	1.15	55.20				
Sodium Hypochlorite	. 44	44	1,15	50.60				
Sodium Hypochlorite	26	26	1.15	29.90				
Sodium Hypochlorite	55	55	1.15	63.25				_
	•	308		\$ 354.20	19,41	0.00	15.8	7 Used for disinfection in the production of potable water.

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

Chuluota (Water)

	,				,			
1	ì ì	Total	Unit	Chemciat	M G Water	Dosage Rate	Dosage Rate (Gal	
Chemical Type	Units	Gallons	Price	Cost	Produced	(Lbs chemical/Day)	chem/M G produced)	Comments
Corresion Inhibitor - 1 Gallon	30	30	6,45	193.50		(220 0	Chicago C	COMMence
Corrosion Inhibitor - 1 Gallon	30	30	6.45	193.50				
Corrosion Inhibitor - 1 Gallon	30	30	6.45	193.50				
Corrosion Inhibitor - 1 Gallon	30	30	6.45	193.50				
Corresion Inhibitor - 1 Gallen	30	30	6.60	198.00				
Corrosion Inhibitor - 1 Gallon	30	30	6,60	198.00				
Corresion Inhibitor - 1 Gallon	28	28	6.60	184.80				
Corrosion Inhibitor - 1 Gallon	30	30	6.60	198.00				
	•	238		\$ 1,552.80	182.35	0.00	1.31	Chemical used / required as corrosion inhibitor.
Sodium Hypochlorite	350 ~	350	1.20	420.00		<del></del>		
Sodium Hypochlorite	345	345	1.20	414.00				
Sodium Hypochlorite	500	500	1.20	600.00				
Sodium Hypochlorite	295	295	1.20	354.00				
Sodium Hypochlorite	310	310	1.20	372.00				
Sodium Hypochlorite	300	300	1.20	360.00				
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	225	225	1,20	270,00				
Sodium Hypochlorite	325	325	1.20	390.00				
Sodium Hypochlorite	150	150	1.20	180,00				
Sodium Hypochlorite	225	225	1.20	270.00				
Sodium Hypochlorite	250	250	1.20	300.00				
Sodium Hypochlorite	600	600	1.20	720.00				
Sodium Hypochlorite	300	300	1.20	380.00				
Sodium Hypochlorite	325	325	1.20	390.00				
Sodium Hypochlorite	300	300	1.20	360.00				
Sodium Hypochlorite	150	150	1.20	180.00				
Sodium Hypochlorite	475	475	1.20	570.00				
Sodium Hypochlorite	325	325	1.20	390.00				
Sodium Hypochlorite	300	300	1.20	360.00				
Sodium Hypochlorite	500	500	1.20	600.00				
Sodium Hypochlorite	400	400	1.20	480.00				
Sodium Hypochlorite	400	400	1.20	480.00				
Sodium Hypochlorite	290	290	1,20	348.00				
Sodium Hypochlorite	450	450	1.20	540.00				
Sodium Hypochlorite	300	300	1.20	360.00				
Sodium Hypochlorite	450	450	1,20	540.00				
Sodium Hypochlorite	450 300	450 300	1,20	540.00				
Sodium Hypochlorite	350	300 350	1.20	360.00				
Sodium Hypochlorite			1.20	420.00				
Sodium Hypochlorite Sodium Hypochlorite	200 400	200 400	1.20	240.00				
Sodium Hypochlorite	600	600	1.20	480.00				
Sodium Hypochlorite	400	400	1.20 1.20	720.00				
Sodium Hypochlorite	250	250	1.20	480.00 300.00				
Sodium Hypochlorite	250 250	250	1.20	300.00				
Sodium Hypochlorite	450	450	1.20	540.00				
Sodium Hypochlorite	350	350	1.20	420.00				
Sodium Hypochlorite	450	450	1.20	540.00				
Sodium Hypochlorite	450	450	1.20	540.00				
Sodium Hypochlorite	250	250	1.20	300.00				
Sodium Hypochlorite	460	460	1.20	552.00				
		,,,,	1.4.5	302.00				

Chuluota (Water)(Continued)

	] [	****	Unit	Charret	M G Water	Dagona Bata	Bosomo Boto (Col	
Chaminal Type		Total Gallons	Price	Chemcial Cost	Produced	Dosage Rate	Dosage Rate (Gal chem/M G produced)	Comments
Chemical Type	Units				Produced	(Lbs chemical/Day)	chemin d produced)	Comments
Sodium Hypochlorite	250 455	250 455	1.20	300.00				
Sodium Hypochlorite	450 350	455 350	1.20 1.20	546.00 420.00				
Sodium Hypochlorite Sodium Hypochlorite	355	350 355	1.20	426.00				
Sodium Hypochlorite	350	350	1.20	420.00				
Sodium Hypochlorite	405	405	1,20	486.00				
Sodium Hypochlorite	365	365	1.20	438.00				
Sodium Hypochlorite	150	150	1.20	180,00				
Sodium Hypochlorite	270	270	1.20	324.00				
Sodium Hypochlorite	275	275	1.20	330.00				
Sodium Hypochlorite	400	400	1.20	480.00				
Sodium Hypochlorite	340	340	1.20	408.00				
Sodium Hypochlorite	380	380	1.20	456.00				
Sodium Hypochlorite	400	400	1.20	480.00				
Sodium Hypochlorite	500	500	1.20	600.00				
Sodium Hypochlorite	525	525	1.20	630,00				
Sodium Hypochlorite	650	650	1.20	780.00				
Sodium Hypochlorite	200	200	1,20	240.00				
Sodium Hypochlorite	300	300	1.20	360,00				
Sodium Hypochlorite	330	330	1,20	396.00				
Sodium Hypochlorite	150	150	1.20	180.00				
Sodium Hypochlorite	200	200	1.20	240.00				•
Sodium Hypochlorite	425	425	1.20	510.00				
Sodium Hypochlorite	400	400	1,20	480.00				
Sodium Hypochlorite	300	300	1.20	360,00				
Sodium Hypochlorite	100	100	1,20	120.00				
Sodium Hypochlorite	315	315	1.20	378.00				
Sodium Hypochlorite	225	225	1.20	270.00				
Sodium Hypochlorite	75	75	1.20	90,00				
Sodium Hypochlorite	275	275	1.20	330,00				
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	275	275	1.20	330.00				
Sodium Hypochlorite	250	250	1.20	300.00				
Sodium Hypochlorite	550	550	1.20	660.00				
Sodium Hypochlorite	325	325	1.20	390.00				
Sodium Hypochlorite	250	250	1.20	300.00				
Sodium Hypochlorite	250	250	1.20	300.00				
Sodium Hypochlorite	250	250	1.20	300.00				
Sodium Hypochlorite	150	150	1.20	180.00				
Sodium Hypochlorite	525	525	1.20	630.00				
Sodium Hypochlorite	350	350	1.20	420.00				
Sodium Hypochlorite	250	250	1.20	300.00				
Sodium Hypochlorite	225	225	1.20	270.00				
Sodium Hypochlorite	460	460	1.20	552.00				
Sodium Hypochlorite	450	450	1.20	540.00				•
Sodium Hypochlorite	400 155	400 155	1.20 1.20	480.00 186.00				
Sodium Hypochlorite		155 525	1.20	630,00				
Sodium Hypochlorite Sodium Hypochlorite	525 100	100	1.20	120.00				
• •	325	325	1.20	390.00				
Sodium Hypochlorite Sodium Hypochlorite	300	300	1.20	360.00				
Socialit Hypochionic	550	500	1.20	300,00				

Aqua Utilitles Florida Docket 080121-WS Chemical List 2007

## Chuluota (Water)(Continued)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	250	250	1,20	300.00				
Sodium Hypochlorite	460	460	1.20	552.00				
Sodium Hypochlorite	350	350	1.20	420.00				
Sodium Hypochlorite	450	450	1.20	540.00				
		32,440		\$ 38,928.00	182,35	0.00	177.90	Used for disinfection in the production of potable water.

#### Chuluota (Wastewater)

		Total						
		Gallons /	Unit	Chemcial	M G Sewer		Dosage Rate (Gal	
Chemical Type	Units	Lbs	Price	Cost	Treated	(Lbs chemical/Day)	chem/M G produced)	Comments
Sodium Hypochlorite	330	330	1.20	396.00				
Sodium Hypochlorite	330	330	1.20	396.00				
Sodium Hypochlorite	100	100	1,20	120.00				
Sodium Hypochlorite	210	210	1.20	252.00				
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	175	175	1.20	210.00				
Sodium Hypochlorite	320	320	1.20	384.00				
Sodium Hypochlorite	165	165	1.20	198.00				
Sodium Hypochlorite	165	165	1.20	198.00				
Sodium Hypochlorite	165	165	1.20	198.00				
Sodium Hypochlorite	350	350	1.20	420.00				
Sodium Hypochlorite	330	330	1.20	396.00				
Sodium Hypochlorite	300	300	1.20	360.00				
Sodium Hypochlorite	300	300	1.20	360.00				
Sodium Hypochlorite	450	450	1.20	540.00				
Sodium Hypochlorite	190	190	1.20	228.00				
Sodium Hypochlorite	270	270	1.20	324.00				
Sodium Hypochlorite	275	275	1.20	330.00				
Sodium Hypochlorite	130	130	1.20	156.00				
Sodium Hypochlorite	220	220	1.20	264.00				
Sodium Hypochlorite	200	200	1,20	240.00				
Sodium Hypochlorite	260	260	1.20	312.00				
Sodium Hypochlorite	195	195	1.20	234.00				
Sodium Hypochlorite	275	275	1.20	330.00				
Sodium Hypochlorite	300	300	1.20	360.00				
Sodium Hypochlorite	220	220	1,20	264.00				
Sodium Hypochlorite	200	200	1,20	240.00				
Sodium Hypochlorite	220	220	1.20	264.00				
Sodium Hypochlorite	240	240	1.20	288.00				
Sodium Hypochlorite	225	225	1.20	270.00				
Sodium Hypochlorite	275	275	1.20	330.00				
Sodium Hypochlorite	300	300	1.20	360.00				
Sodium Hypochlorite	210	210	1.20	252.00				
Sodium Hypochlorite	300	300	1.20	360.00				
Sodium Hypochlorite	230	230	1.20	276.00				
Sodium Hypochlorite	350	350	1.20	420.00				
Sodium Hypochlorite	290	290	1.20	348.00				

## Chuluota (Wastewater)(Continued)

		Total Gallons /	Unit		M G Sewer		Dosage Rate		
Chemical Type	Units	Lbs	Price	Cost	Treated	(Lbs chemical/Day)	chem/M G prod	ucea}	Comments
Sodium Hypochlorite	350	350	1.20	420.00					
Sodium Hypochlorite	250	250	1.20	300.00					
Sodium Hypochlorite	250	250	1.20	300.00					
Sodium Hypochlorite	150	150	1.20	180.00					
Sodium Hypochlorite	325	325	1.20	390.00					
Sodium Hypochlorite	200	200	1.20	240.00					
Sodium Hypochlorite	200	200	1.20	240.00					
Sodium Hypochlorite	225	225	1.20	270.00					
Sodium Hypochlorite	250	250	1.20	300.00					
Sodium Hypochlorite	125	125	1.20	150.00					
Sodium Hypochlorite	200	200	1.20	240.00					
Sodium Hypochlorite	100	100	1.20	120.00					
Sodium Hypochlorite	200	200	1.20	240.00					
Sodium Hypochlorite	110	110	1.20	132.00					
Sodium Hypochlorite	100	100_	1.20	120.00					_
••		12,300		\$ 14,760.00	41.31	0.00		297.75	Used for disinfection in the production of potable water.
Trichlorisocyanuric - 50 lb	1	50	120.00	120.00					•
Trichlorisocyanuric - 50 lb	1	50	145.00	145.00					
Trichlorisocyanuric - 50 lb	1	50	145.00	145.00	_				
		150	· ·	\$ 410.00	- -	Chlorine (Tabs) Used f	or plant maintenan	ice and	supplemental disinfectant on an as needed basis.

## East Lake Harris Estates (Water)

Chemical Type	Units	Total Gallons / Lbs	Unit Price	Chemcial Cost	M G Water Produced			
No Charges *								Interconnected with Friendly Center PWS.
150 LB Gas Chlorine Cylinder	2	300						
-		300	*	*	4.84	0.82	0.00	Used for disinfection in the production of potable water.

<sup>\*</sup> Two 150 Lb cylinders purchsed in 2006 left over. Left over used for the year 2007. No other purchases

## Fern Terrace (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	33	33	1.15	37.95				
Sodium Hypochlorite	28	28	1.15	32.20				
Sodium Hypochlorite	33	33	1.15	37.95				
Sodium Hypochlorite	32	32	1.15	36.80				
Sodium Hypochlorite	47	47	1.15	54.05				
Sodium Hypochlorite	31	31	1.15	43.65			_	
••		204	•	\$ 242.60	12.91	0.00	15.80	Used for disinfection in the production of potable water.

Aqua Utilities Florida Docket 080121-WS

Chemical List 2007

#### Florida Central Commerce Park (Wastewater)

		Total	15-14	Oh amada'	и с с	Danama Data	December 10-1	
1		Gallons /	Unit	Chemcial	M G Sewer	Dosage Rate	Dosage Rate (Gal	
Chemical Type	Units	Lbs	Price	Cost	Treated	(Lbs chemical/Day)	chem/M G produced)	Comments
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	400	400	1.20	480.00				
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	250	250	1.20	300,00				
Sodium Hypochlorite	230	230	1.20	276.00				
Sodium-Hypochlorite	275	275	1.20	330,00				
Sodium Hypochlorite	175	175	1.20	210.00		•		
Sodium Hypochlorite	100	100	1.20	120.00				
Sodium Hypochlorite	250	250	1.20	300.00				
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	225	225	1.20	270.00				
Sodium Hypochlorite	250	250	1.20	300.00				
Sodium Hypochlorite	200	200	1.20	240.00		,		
Sodium Hypochlorite	175	175	1.20	210.00				•
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	225	225	1.20	270.00				
Sodium Hypochlorite	250	250	1.20	300.00				
Sodium Hypochlorite	225	225	1.20	270.00				
Sodium Hypochlorite	225	225	1.20	270,00				
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	200	200	1.20	240.00				
Sodium Hypochlorite	175	175	1.20	210.00				
Sodium Hypochlorite	150	150	1.20	180.00				_
		5,580	•	\$ 6,696.00	16.04	0.00	347.88	Used for disinfection in the production of potable water.
Trichlorisocyanuric - 50 lb	1	50	120.00	120.00				<del>-</del>
Trichlorisocyanuric - 50 lb	1	50	145.00	145.00	_			
•		100		\$ 265.00	•	Chlorine (Tabs) Used for	or plant maintenance and	supplemental disinfectant on an as need basis.

## Friendly Center (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	31	31	1.15	35.65				
Sodium Hypochlorite	23	23	1.15	26,45				
Sodium Hypochlorite	14	14	1.15	16.10				
Sodium Hypochlorite	18	18	1.15	20.70				
Sodium Hypochlorite	12	12	1.15	13.80				
Sodium Hypochlorite	25	25	1.15	28,75				
Sodium Hypochlorite	25	25	1.15	28.75				_
		148		\$ 170.20	3.00	0.00	49.33	Used for disinfection in the production of potable water.

Gibsonia Estates (Water)

Chemical Type	Units	Total Galions	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	12	12	1.15	13.80				
Sodium Hypochlorite	64	84	1.15	73.60				
Sodium Hypochiorite	58	58	1.15	66.70				
Sodium Hypochlorite	43	43	1.15	49.45				
Sodium Hypochlorite	59	59	1.15	67.65				
Sodium Hypochiorite	67	67	1.15	77.05				•
Sodium Hypochlorite	37	37	1.15	42.55				
Sodium Hypochlorite	40	40	1.15	46.00				
Sodium Hypochlorite	34	34	1.15	39.10				
Sodium Hypochlorite	35	35	1.15	40.25				
Sodium Hypochlorite	35	35	1.15	40.25				
Sodium Hypochlorite	46	46	1.15	52.90				
Sodium Hypochlorite	38	38	1.15	43.70				•
Sodium Hypochlorite	72	72	1.15	82.80				
Sodium Hypochlorite	59	59	1,15	67.85				
Sodium Hypochlorite	65	65	1,15	74.75				
Sodium Hypochlorite	56	56	1.15	64.40				
Sodium Hypochlorite	47	47	1.15	54.05				
Sodium Hypochlorite	48	48	1,15	55.20				
Sodium Hypochlorite	34	34	1.15	39.10				
Sodium Hypochlorite	40	40	1.15	46.00			,	
Sodium Hypochlorite	42	42	1.15	48.76				
Sodium Hypochlorite	41	41	1.15	47.15				
Sodium Hypochlorite	36	36	1.15	41.40				The same was a second of the same of the s
**		1,108		\$ 1,274.66	20.31	0.00	54.58	Used for disinfection in the production of potable water.

Grand Terrace (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	50	50	1,15	57.50				
Sodium Hypochiorite	76	76	1.15	87.40				
Sodium Hypochlorite	. 68	88	1,15	78.20				
Sodium Hypochlorite	72	72	1.15	82.80				
Sodium Hypochlorite	49	49	1.15	56.35				
Sodium Hypochlorite	55	55	1.15	63.25				
Sodium Hypochlorite	47	47	1.15	54.05				
Sodium Hypochlorite	50	50	1.15	57.50				
Sodium Hypochlorite	95	95	1.15	109.25				
Sodium Hypochlorite	50	50	1.15	57.50				
Sodium Hypochlorite	48	49	1.15	58.35				
		661		\$ 760.15	10.51	0.00	62,87	Used for disinfection in the production of potable water.

## Haines Creek (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gai chem/M G produced)	Comments
Sodium Hypochlorite	55	55	1.15	63.25		<del></del>		
Sodium Hypochlorite	58	58	1.15	66.70				
Sodium Hypochlorite	47	47	1.15	54.05				•
Sodium Hypochlorite	58	58	1.15	66.70				
Sodium Hypochlorite	101	101	1.15	116.15				
Sodium Hypochlorite	49	49	1.15	56,35				
		368		\$ 423,20	8.02	0.00	45.90	Used for disinfection in the production of potable water.

#### Harmony Homes (Water)

Chemical Type	Units	Total Galions	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	25	25	1.20	30.00			· · · · · · · · · · · · · · · · · · ·	
Sodium Hypochlorite	35	35	1.20	42,00				
Sodium Hypochlorite	35	35	1.20	42.00				
Sodium Hypochlorite	35	35	1.20	42,00				
Sodium Hypochlorite	40	40	1.20	48.00				
odium Hypochlorite	40	40	1.20	48,00				
Sodium Hypochlorite	45	45	1.20	54.00				
Sodium Hypochlorite	45	45	1.20	54,00				
Sodium Hypochlorite	60	60	1.20	72,00				
Sodium Hypochlorite	40	40	1.20	48.00				
Sodium Hypochlorite	45	45	1.20	54.00				
Sodium Hypochlorite	45	45	1.20	54,00				
Sodium Hypochlorite	40	40	1.20	48.00				
	•	530		\$ 636.00	5,56	0.00	95.26	Used for disinfection in the production of potable water.

#### Hermits Cove (Water)

Chemical Type	Units	Total Galions	Unit Price	Chemcial Cost	M G Water Produced		Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	51	51	1.15	58.65				
Sodium Hypochlorite	96	96	1.15	110,40				
Sodium Hypochlorite	27	27	1.15	31.05				
Sodium Hypochlorite	83	83	1.15	95.45				
Sodium Hypochlorite	100	100	1.15	115.00				
Sodium Hypochlorite	72	72	1.15	82,80				
Sodium Hypochlorite	101	101	1.15	116.15				
Sodium Hypochlorite	95	95	1.15	109.25		•		
Sodium Hypochlorite	107	107	1.15	123.05				
Sodium Hypochlorite	134	134	1.15	154,10				
Sodium Hypochlorite	180	180	1.15	207.00				
Sodium Hypochlorite	39	39	1.15	44,85				

Hermits Cove (Water)(Continued)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	118	118	1,15	135.70				
Sodium Hypochlorite	72	72	1.15	82.60				
Sodium Hypochiorite	171	171	1.15	196.65				
Sodium Hypochlorite	134	134	1.15	154.10				
Sodium Hypochlorite	67	67	1,15	77.05				_
••		1,647		\$ 1,894.05	8.12	0.00	202.93	Used for disinfection in the production of potable water.

Hobby Hills (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	32	32	1,15	36.80				
Sodium Hypochlorite	47	47	1.15	54.05				
Sodium Hypochlorite	40	40	1,15	46.00				
Sodium Hypochlorite	35	35	1.15	40.25				
		154		\$ 177.10	8.39	0.00	18.35	Used for disinfection in the production of potable water.

Holidav Haven (W	ater)
------------------	-------

M G Water Purchased

Purchase Water Agreement with St. John's River Authority 100% Supply

7.56

Holiday Haven (Wastewater)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	32	32	1,15	36.80				
Sodium Hypochlorite	60	60	1.15	69.00				
Sodium Hypochlorite	57	57	1.15	65. <b>55</b>				
Sodium Hypochlorite	60	60	1.15	69.00				
Sodium Hypochlorite	60	60	1.15	69.00				
Sodium Hypochlorite	63	63	1.15	72.45				
Sodium Hypochiorite	63	63	1.15	72.45				
Sodium Hypochlorite	62	62	1.15	71.30				
Sodium Hypochlorite	58	58	1.15	66.70				
Sodium Hypochlorite	58	58	1,15	66.70				
Sedium Hypochlorite	86	86	1.15	98.90				
Sodium Hypochlorite	65	65	1.15	74.75				
Sodium Hypochlorite	95	95	1.15	109.25				
Sodium Hypochlorite	64	<b>54</b>	1,15	73.60				
Sodium Hypochlorite	40	40	1.15	46.00				
Sodium Hypochlorite	43	43	1.15	49.45				

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

Holiday Haven (Wastewater(Continued))

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	48	48	1.15	55.20				<u> </u>
Sodium Hypochlorite	59	59	1.15	67.85				
Sodium Hypochlorite	57	57	1.15	65.55				
Sodium Hypochlorite	58	58	1.15	68.70				
Sodium Hypochlorite	57	57	1.15	65.55				
Sodium Hypochlorite	65	65	1.15	74.75				
Sodium Hypochlorite	43	43	1.15	49.45				
Sodium Hypochlorite	66	66	1.15	75.90				
Sodium Hypochlorite	56	56	1.15	64.40				
Sodium Hypochlorite	61	61	1.15	70.15				
Sodium Hypochlorite	61	61	1.15	70.15				
	•	1,597	•	\$ 1,836.55	7.98	0.00	200.63	Used for disinfection in the production of potable water.

## Imperial Mobile Terrace (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	40	40	1,15	46.00		·		
Sodium Hypochlorite	53	53	1.15	60.95				
Sodium Hypochlorite	43	43	1.15	49,45				
	-	136		\$ 156.40	4.25	0.00	32.01	Used for disinfection in the production of potable water.

## Interlachen Lake / Park Manor (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	77	77	1.15	88.55				
Sodium Hypochlorite	81	81	1.15	93.15				
Sodium Hypochlorite	79	79	1.15	90.85				
Sodium Hypochlorite	87	87	1.15	100.05				
Sodium Hypochlorite	93	93	1.15	106.95				
Sodium Hypochlorite	97	97	1.15	111.55				
Sodium Hypochlorite	96	96	1.15	110.40				
Sodium Hypochlorite	97	97	1,15	111.55				
Sodium Hypochiorite	107	107	1.15	123.05				
Sodium Hypochlorite	97	97	1.15	111.55				•
Sodium Hypochlorite	95	95	1.15	109.25				
Sodium Hypochlorite	83	83	1.15	95.45				
Sodium Hypochlorite	75	75	1.15	86.25				
Sodium Hypochlorite	72	72	1.15	82.80				
**		1,236		\$ 1,421,40	23.46	0,00	52.69	Used for disinfection in the production of potable water.

## Park Manor (Wastewater)

Chemical Type	Units	Total Gallons	Unit Price	Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	22	22	1.15	25.30				
Sodium Hypochlorite	35	35	1.15	40,25				
Sodium Hypochlorite	47	47	1.15	54.05				
Sodium Hypochlorite	48	48	1.15	55.20				
Sodium Hypochlorite	38	38	1.15	43,70				
Sodium Hypochlorite	28	28	1.15	32.20				
Sodium Hypochlorite	39	39	1.15	44.85				
Sodium Hypochlorite	38	38	1.15	43.70				
Sodium Hypochlorite	40	40	1.15	46.00				
Sodium Hypochlorite	40	40	1.15	46.00				e e
Sodium Hypochlorite	33	33 _	1.15	37.95				-
· ·	'	_408		\$ 469.20	1,27	0.00	321.26	Used for disinfection in the production of potable water.

# Jasmine Lakes (Water)

Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 1,518.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 1,518.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 1,518.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 1,518.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 1,518.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 1,518.00 Aqua Mag - 55 Gallons 1 55 759.00 1									
Aqua Mag - 55 Gallons 1 55 759.00 759.00 1,518.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 2 110 759.00 759.00 759.00 Aqua Mag - 55 Gallons 2 110 759.00 759.00 759.00 759.00 Aqua Mag - 55 Gallons 2 110 759.00 759.	Chemical Type	Units							Comments
Aqua Mag - 55 Gallons	Agua Mag - 55 Gallons	1	55	759.00	759.00				
Aque Mag - 56 Gallons	Aqua Mag - 55 Gallons	2	110	759.00	1,518.00				
Aqua Mag - 55 Gallons	Aqua Mag - 55 Gallons	1	55	759.00	759.00				
Aqua Mag - 55 Gallons 1 55 759.00 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 759.00 Aqua Mag - 55 Gallons 2 110 759.00 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 2 110 759.00 759.00 Aqua Mag - 55 Gallons 2 110 759.00 880 880 812.144.00 112.63 0.00 7.81 Used as an Iron Sequestrant (daily)  Sodium Hypochlorite 47 47 1.15 54.05 Sodium Hypochlorite 37 37 1.15 42.55 Sodium Hypochlorite 49 49 1.15 56.35 Sodium Hypochlorite 49 49 1.15 56.35 Sodium Hypochlorite 33 33 1.15 37.95 Sodium Hypochlorite 38 36 1.15 41.40 Sodium Hypochlorite 39 39 1.15 44.85 Sodium Hypochlorite 39 39 1.15 41.40 Sodium Hypochlorite 39 39 1.15 47.15 Sodium Hypochlorite 41 1.15 47.15 Sodium Hypochlorite 41 1.15 47.15 Sodium Hypochlorite 41 41 1.15 47.15 Sodium Hypochlorite 40 40 40 1.15 46.00	Aqua Mag - 55 Gallons	1	55	759.00	759.00				
Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 759.00 Aqua Mag - 55 Gallons 1 55 759.00 759.00 Aqua Mag - 55 Gallons 2 110 759.00 1,518.00 Aqua Mag - 55 Gallons 2 110 759.00 759.00 1,518.00 Aqua Mag - 55 Gallons 2 110 759.00 759.00 759.00 759.00 1,518.00 Aqua Mag - 55 Gallons 2 110 759.00 759.00 1,518.00 Aqua Mag - 55 Gallons 2 1 10 759.00 1,518.00 Aqua Mag - 55 Gallons 2 1 10 759.00 1,518.00 Aqua Mag - 55 Gallons 2 1 10 759.00 1,518.00 Aqua Mag - 55 Gallons 2 1 10 759.00 1,518.00 Aqua Mag - 55 Gallons 2 1 10 759.00 1,518.00 Aqua Mag - 55 Gallons 2 1 10 759.00 1,518.00 Aqua Mag - 55 Gallons 2 1 10 759.00 1,518.00 1,518.00 Aqua Mag - 55 Gallons 2 1 1,518.00 Aqua Mag - 56 Gallons 2 1 1,518.00 Aqua Mag - 56 Gallons 2 1 1,518.00 Aqua Ma	Aqua Mag - 55 Gallons	2	110	759.00	1,518.00				
Aqua Mag - 55 Gallons	Aqua Mag - 55 Gallons	1		759.00					
Aqua Mag - 55 Galions 1 55 759.00 759.00 Aqua Mag - 55 Galions 1 55 759.00 759.00 Aqua Mag - 55 Galions 2 110 759.00 1,518.00 Aqua Mag - 55 Galions 2 110 759.00 1,518.00 Aqua Mag - 55 Galions 1 55 759.00 759.00  Sodium Hypochlorite 47 47 1.15 54.05 Sodium Hypochlorite 40 40 40 1.15 48.00 Sodium Hypochlorite 49 49 11.15 56.35 Sodium Hypochlorite 40 40 40 1.15 48.00 Sodium Hypochlorite 40 40 40 1.15 44.85 Sodium Hypochlorite 40 40 40 1.15 44.80 Sodium Hypochlorite 40 40 40 1.15 44.85 Sodium Hypochlorite 40 40 40 1.15 44.85 Sodium Hypochlorite 40 40 40 1.15 44.85 Sodium Hypochlorite 41 41 1.15 47.15 Sodium Hypochlorite 40 40 40 1.15 46.00 Sodium Hypochlorite 41 41 1.15 47.15 Sodium Hypochlorite 40 40 40 1.15 46.00	Aqua Mag - 55 Gallons	1	55	759.00					
Aqua Mag - 55 Gallons 1 55 759.00 759.00	Aqua Mag - 55 Gallons	2	110	759.00	1,518.00				
Aqua Mag - 55 Gallons         2         110         759.00         759.00         759.00         759.00         759.00         759.00         759.00         759.00         759.00         759.00         759.00         12,144.00         112,63         0.00         7.81         Used as an Iron Sequestrant (daily)           Sodium Hypochlorite         47         47         1.15         56,05         48.00         48.00         49.00	Aqua Mag - 55 Gallons	1	55	759.00	759.00				
Aqua Mag - 55 Galions 1 55 759.00 759.00 112.63 0.00 7.81 Used as an Iron Sequestrant (daily)  Sodium Hypochlorite 47 47 1.15 54.00 12.63 0.00 7.81 Used as an Iron Sequestrant (daily)  Sodium Hypochlorite 40 40 40 1.15 48.00 Sodium Hypochlorite 40 40 1.15 48.00 Sodium Hypochlorite 40 40 1.15 46.00 Sodium Hypochlorite 33 33 1.15 37.95 Sodium Hypochlorite 36 36 1.15 41.40 Sodium Hypochlorite 39 39 1.15 44.85 Sodium Hypochlorite 39 39 39 1.15 44.85 Sodium Hypochlorite 34 34 1.15 39.10 Sodium Hypochlorite 38 38 1.15 43.70 Sodium Hypochlorite 38 38 38 1.15 47.15 Sodium Hypochlorite 41 41 1.15 47.15 Sodium Hypochlorite 40 40 40 1.15 46.00 Sodium Hypochlori	Aqua Mag - 55 Gallons	1	55	759.00	759.00				
Sedium Hypochlorite	Aqua Mag - 55 Gallons	2	110	759.00	1,518.00				
Sodium Hypochlorite         47         47         1.15         54.05           Sodium Hypochlorite         40         40         1.15         48.00           Sodium Hypochlorite         37         37         1.15         42.55           Sodium Hypochlorite         49         49         1.15         56.35           Sodium Hypochlorite         33         33         1.15         48.00           Sodium Hypochlorite         38         36         1.15         47.05           Sodium Hypochlorite         39         39         1.15         44.85           Sodium Hypochlorite         34         34         1.15         39.10           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         38         38         1.15         47.15           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40	Aqua Mag - 55 Gallons	1	55	759,00	759.00				
Sodium Hypochlorite         40         40         1.15         48.00           Sodium Hypochlorite         37         37         1.15         42.55           Sodium Hypochlorite         49         49         1.15         56.35           Sodium Hypochlorite         30         33         33         1.15         46.00           Sodium Hypochlorite         36         36         1.15         41.40           Sodium Hypochlorite         39         39         1.15         44.85           Sodium Hypochlorite         34         34         1.15         39.10           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         38         38         1.16         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         41         41         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	•					112,63	0.00	7.81	Used as an Iron Sequestrant (daily)
Sodium Hypochlorite         37         37         1.15         42.55           Sodium Hypochlorite         49         49         1.15         56.35           Sodium Hypochlorite         40         40         1.15         48.00           Sodium Hypochlorite         33         33         1.15         37.95           Sodium Hypochlorite         36         36         1.15         41.40           Sodium Hypochlorite         39         39         1.15         44.85           Sodium Hypochlorite         34         34         1.15         39.10           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite	47	47	1.15					
Sodium Hypochlorite         49         49         1.15         56.35           Sodium Hypochlorite         40         40         1.15         48.00           Sodium Hypochlorite         33         33         1.15         37.95           Sodium Hypochlorite         38         36         1.15         41.40           Sodium Hypochlorite         39         39         1.15         44.85           Sodium Hypochlorite         34         34         1.15         39.10           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite								
Sodium Hypochlorite         40         40         1.15         48.00           Sodium Hypochlorite         33         33         1.15         37.95           Sodium Hypochlorite         36         36         1.15         41.40           Sodium Hypochlorite         39         39         1.15         44.85           Sodium Hypochlorite         34         34         1.15         39.10           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite								
Sodium Hypochlorite         33         33         1.15         37.95           Sodium Hypochlorite         36         36         1.15         41.40           Sodium Hypochlorite         39         39         1.15         44.85           Sodium Hypochlorite         34         34         1.15         39.10           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite	49							
Sedium Hypochlorite         36         36         1.15         41.40           Sodium Hypochlorite         39         39         1.15         44.85           Sodium Hypochlorite         34         34         1.15         39.10           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite								
Sodium Hypochlorite         39         39         1.15         44.85           Sodium Hypochlorite         34         34         1.15         39.10           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         38         38         1.15         47.15           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite								
Sodium Hypochlorite         34         34         1.15         39.10           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite								
Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite	39							
Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite								
Scdium Hypochlorite         38         38         1.15         43.70           Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite								
Sodium Hypochlorite         41         41         1.15         47.15           Sodium Hypochlorite         40         40         1.15         48.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite								
Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite								
Sodium Hypochlorite         40         40         1.15         46.00           Sodium Hypochlorite         40         40         1.15         46.00	Sodium Hypochlorite								
Sedium Hypochlorite 40 40 1.15 46.00									
and the state of t									
Sodium Hypochlorite 46 46 1.15 52.90									
	Sodium Hypochlorite	46	46	1.15	52.90				

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

# Jasmine Lakes (Water)(Continued)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemicai/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochiorite	42	42	1,15	48.30	-			
Sodium Hypochlorite	42	42	1.15	48.30				
Sodium Hypochlorite	47	47	1,15	54.05				
Sodium Hypochlorite	50	50	1.15	57.50				
Sodium Hypochlorite	46	46	1.15	52.90				
Sodium Hypochlorite	47	47	1.15	54.05				
Sodium Hypochlorite	46	46	1.15	52.90				
Sodium Hypochlorite	43	43	1.15	49.45				
Sodium Hypochlorite	40	40	1.15	46,00				
Sodium Hypochlorite	42	42	1.15	48.30				
Sodium Hypochlorite	45	45	1,15	51.75				
Sodium Hypochlorite	42	42	1.15	48.30				
Sodium Hypochlorite	44	44	1.15	50.60				
Sodium Hypochlorite	45	45	1.15	51.75				
Sodium Hypochlorite	32	32	1,15	36.80				
Sodium Hypochlorite	51	51	1.15	58.65				
Sodium Hypochlorite	53	53	1.15	60.95				
Sodium Hypochlorite	47	47	1.15	54.05				•
Sodium Hypochlorite	42	42	1.15	48.30				
Sodium Hypochlorite	46	46	1,15	52.90				
Sodium Hypochlorite	48	48	1,15	55.20	-			
Sodium Hypochlorite	47	47	1,15	54,05				
Sodium Hypochlorite	44	44	1.15	50.60				
Sodium Hypochlorite	47	47	1.15	54.05				
Sodium Hypochlorite	44	44	1.15	50.60				•
Sodium Hypochlorite	49	49	1.15	56.35				
Sodium Hypochlorite	45	45	1.15	51.75				
Sodium Hypochlorite	37	37	1.15	42.55				
Sodium Hypochlorite	37	37	1,15	42,55				
Sodium Hypochlorite	35	35	1.15	40.25				
Sodium Hypochlorite	38	38	1.15	43.70				
Sodium Hypochlorite	31	31	1,15	35.65				
Sodium Hypochlorite	36	36	1.15	41.40				
Sodium Hypochlorite	46	46	1.15	52.90				
Sedium Hypochlorite	100	100	1.15	115.00				
Sodium Hypochlorite	24	24	1.15	27.60				
Sodium Hypochlorite	30	30	1.15	34.50				
	-	2,309		\$ 2,655.35	112.63	0.00		Used for disinfection in the production of potable water.

## Jasmine Lakes (Wastewater)

Chemical Type	Units	Total Gallons / Lbs	Unit Price	Chemciai Cost	M G Sewer Treated	Dosage Rate (Libs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	321	321	1,15	369.15				
Sodium Hypochlorite	319	319	1.15	366.85				
Sodium Hypochlorite	319	319	1.15	366.85				
Sodium Hypochlorite	376	376	1.15	432.40				

Jasmine Lakes (Wastewater)(Continued)

Chemical Type	Units	Total Gallons / Lbs	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	357	357	1,15	410.55		_		
Sodium Hypochlorite	241	241	1.15	277.15				
Sodium Hypochlorite	316	316	1,15	363.40				
Sodium Hypochlorite	327	327	1.15	376.05				
Sodlum Hypochlorite	255	255	1,15	293.25				
Sodium Hypochlorite	315	315	1.15	362.25				
Sodium Hypochlorite	324	324	1.15	372.60				
Sodium Hypochlorite	319	319	1.15	366.85				
Sodium Hypochlorite	323	323	1.15	371.45				
Sodium Hypochlorite	318	318	1.15	365.70				
Sodlum Hypochlorite	350	350	1,15	402.50				
Sodium Hypochlorite	277	277	1.15	318.55				
Sodium Hypochlorite	316	316	1.15	363.40				
Sodium Hypochlorite	319	319	1.15	368,85				
Sodium Hypochlorite	319	319	1.15	366,85				
Sodium Hypochlorite	314	314	1.15	361,10				
Sodium Hypochlorite	316	316	1,15	363,40				,
Sodium Hypochlorite	328	328	1.15	377.20				
Sodium Hypochlorite	316	316	1.15	363,40				·
Sodium Hypochlorite	317	317	1.15	364.55				
Sodium Hypochlorite	315	315	1.15	362,25				
Sodium Hypochlorite	293	293	1.15	336.95				
Sodium Hypochlorite	262	262	1.15	301,30				
Sodium Hypochlorite	203	203	1.15	233,45				
Sodium Hypochlorite	264	264	1,15	303,60				
Sodium Hypochlorite	236	236	1.15	271,40				
Sodium Hypochlorite	287	287	1,15	330,05				
Sodium Hypochlorite	311	311	1.15	357,65				
Sodium Hypochlorite	315	315	1.15	362,25				
Sodium Hypochlorite	313	313	1.15	359.95				
Sodium Hypochlorite	289	289	1.15	332,35				
Sodium Hypochlorite	290	290	1.15	333.50				
Sodium Hypochlorife	305	305	1.15	350,75				
Sodium Hypochlorite	321	321	1.15	369.15				
Sodium Hypochlorite	316	316	1.15	363,40				
Sodium Hypochlorite	316	316	1.15	363,40				
Sodium Hypochlorite	270	270	1.15	310,50				
Sodium Hypochlorite	219	219	1,15	251.85				
Sodium Hypochlorite	157	157	1.15	180,55				
Sodium Hypochlorite	158	158	1.15	181.70				
Sodium Hypochlorite	328	328	1,15	377.20				
Sodium Hypochlorite	229	229	1.15	263,35				
Sodium Hypochlorite	320	320	1.15	368.00				·
Sodium Hypochlorite	315	315	1.15	362,25				
Sodium Hypochlorite	331	331	1,15	380,65				
Sodium Hypochlorite	262	262	1,15	301.30				
Sodium Hypochlorite	239	239	1.15	274.85				
Sodium Hypochiorite	389	389	1.15	447.35				
Sodium Hypochlorite	308	308	1.15	354.20				
Sodium Hypochlorite	300	300	1.15	345.00				
		16,063		\$ 18,472.45	74,58	0.00	215.3	8 Used for disInfection in the production of potable water.

Jasmine Lakes (Wastewater)(Continued)

Chemical Type	Units	Total Gallons / Lbs	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Trichlorisocyanuric - 50 lb	1	50	120,00	120.00 \$ 120.00				supplemental disinfectant on an ac need basis

Jungle Den (Water)

M G Water Purchased

Purchase Water Agreement with St. John's River Authority 100% Supply

1.92

#### Jungle Den (Wastewater)

Chemical Type	Units	Total Galions	Unit Price	Chemcial Cost	M G Sewer	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	55	55	1.15	63.25		(	олина и распист	Oblighents
Sodium Hypochlorite	56	56	1.15	64.40				•
Sodium Hypochlorite	45	45	1.15	51,75				
Sodium Hypochlorite	39	39	1,15	44.85				
Sodium Hypochlorite	60	60	1.15	69.00				
Sodium Hypochlorite	49	49	1,15	56.35				
Sodium Hypochlorite	45	45	1.15	51.75				
Sodium Hypochlorite	44	44	1,15	50.60				
Sodium Hypochlorite	38	38	1,15	43.70				
Sodium Hypochlorite	41	41	1,15	47.15				
Sodium Hypochlorite	46	46	1.15	52.90				
Sodium Hypochlorite	41	41	1,15	47.15				
Sodium Hypochlorite	50	50	1,15	57.50				
Sodium Hypochlorite	61	61	1,15	70.15				
Sodium Hypochlorite	59	59	1.15	67.85				
Sodium Hypochlorite	59	59	1,15	67.85				
Sodium Hypochlorite	49	49	1,15	56.35				
Sodium Hypochlorite	53	53	1,15	60.95				
Sodium Hypochlorite	51	51	1,15	58.65				
Sodium Hypochlorite	62	62	1,15	71.30				
Sodium Hypochlorite	43	43	1,15	49.45				
Sodium Hypochlorite	65	65	1,15	74.75				
Sodium Hypochlorite	60	60	1,15	69.00				
Sodium Hypochlorite	64	64	1,15	73.60				
Sodium Hypochlorite	60	60	1.15	69.00				
		1,295		\$ 1,489.25	5.41	0.00	239.37	Used for disinfection in the production of potable water.

Kings Cove (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemciai Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	160	160	1.15	184.00				
Sodium Hypochlorite	1,07	107	1.15	123.05				
Sodium Hypochlorite	100	100	1.15	115.00				
Sodium Hypochlorite	107	107	1.15	123.05				
Sodium Hypochlorite	67	67	1.15	77.05				
Sodium Hypochlorite	72	72	1.15	82.80				
Sodium Hypochlorite	76	76	1.15	87.40				
Sodium Hypochlorite	69	69	1,15	79.35				
Sodium Hypochlorite	78	78	1.15	89.70				
Sodium Hypochlorite	74	74	1,15	85.10				
Sodium Hypochlorite	35	35	1.15	40.25				
Sodium Hypochlorite	74	74	1.15	85.10				
Sodium Hypochlorite	117	117	1.15	134.55				
Sodium Hypochlorite	53	53	1.15	60.95				
••		1,189		\$ 1,367.35	35.57	0.00	33.43	Used for disinfection in the production of potable water.

#### Kings Cove (Wastewater)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
odium Hypochlorite	163	163	1,15	187.45				
Sodium Hypochlorite	90	90	1,15	103.50				
Sodium Hypochlorite	132	132	1.15	151.80				
Sodium Hypochlorite	106	106	1.15	121.90				
odium Hypochlorite	106	106	1.15	121.90				
lodium Hypochlorite	129	129	1,15	148,35				
Sodium Hypochlorite	84	84	1.15	96.60				
Sodium Hypochlorite	110	110	1,15	126.50				
odium Hypochlorite	105	105	1,15	120.75				
odium Hypochlorite	58	58	1.15	66.70				
odium Hypochlorite	65	65	1.15	74.75				
odium Hypochlorite	80	80	1.15	92.00				
Sodium Hypochlorite	83	83	1.15	95.45				
Sodium Hypochlorite	70	70	1.15	80.50				
Sodium Hypochlorite	56	56	1.15	64.40				
Sodium Hypochlorite	189	189	1.15	217.35				
Sodium Hypochlorite	200	200	1.15	230.00				
Sodium Hypochlorite	90	90	1.15	103.50				
Sodium Hypochlorite	108	108	1.15	124.20				
Sodium Hypochlorite	97	97	1.15	111,55				
Sodium Hypochlorite	116	115	1.15	133.40				
Sodium Hypochtorite	104	104	1.15	119.60				
Sodium Hypochlorite	74	74	1.15	85.10				_
		2,415	'	\$ 2,777.25	10,99	0.00	219.75	Used for disinfection in the production of potable water.

Kingswood (Water) M G Water Purchased												
Purchase Water Agreement v	vith Brevard C	County Water	100% Su	pply	2.96	•						
Lake Gibson Estates (Water)												
Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments				
odium Hypochlorite	134	134	1.15	154.10		<del></del>						
dium Hypochlorite	85	85	1.15	97.75								
dium Hypochlorite	87	87	1.15	100.05								
dium Hypochlorite	87	87	1.15	100.05								
dium Hypochlorite	104	104	1.15	119.60								
dium Hypochlorite	98	98	1,15	112.70								
dium Hypochlorite	58	58	1.15	66.70								
dium Hypochlorite	69	69	1.15	79.35								
dium Hypochlorite	53	53	1.15	60.95								
dium Hypochlorite	75	75	1.15	86.25								
dium Hypochlorite	61	61	1.15	70.15								
dium Hypochlorite	75	75	1.15	86.25								
dlum Hypochlorite	55	55	1.15	63.25								
dium Hypochlorite	47	47	1.15	54.05								
dium Hypochlorite	129	129	1.15	148.35								
dium Hypochlorite	77	77	1.15	88,55								
dium Hypochlorite	83	83	1.15	95.45								
dium Hypochlorite	77	77	1.15	88.55								
dlum Hypochtorite	61	61	1.15	70.15								
dium Hypochlorite	76	76	1,15	87.40								
odium Hypochlorite	59	59	1.15	67.85								
odium Hypochlorite	101	101	1,15	116.15								
odium Hypochlorite	72	72	1.15	82.80								
dium Hypochlorite	59	59	1.15	67.85								
dium Hypochlorite	69	69	1,15	79.35								
	-	1,951		\$ 2,243.65	84,07	0.00	23 21	Used for disinfection in the production of potable water.				

29.69

Purchase Sewer Agreement with Polk County 100% Treated

Lake Josephine (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	311	311	1,15	357.65		,		
Sodium Hypochlorite	317	317	1,15	364.55				
Sodium Hypochlorite	365	365	1.15	419.75				
Sodium Hypochlorite	360	360	1.15	414.00				
Sodium Hypochlorite	283	283	1.15	325.45				
Sodium Hypochlorite	427	427	1.15	491.05				
Sodium Hypochlorite	361	361	1.15	415.15				
Sodium Hypochlorite	453	453	1.15	520.95				
Sodium Hypochlorite	304	304	1.15	349.60				
Sodium Hypochlorite	362	362	1.15	416.30				
Sodium Hypochlorite	375	375	1.15	431.25				
Sodium Hypochlorite	373	373	1.15	428.95				
Sodium Hypochlorite	271	271	1.15	311.65				
Sodium Hypochlorite	250	250	1.15	287.50				
Sodium Hypochlorite	277	277	1.15	318.55				
Sodium Hypochlorite	187	187	1.15	215.05				
Sodium Hypochlorite	534	534	1.15	614.10				
Sodium Hypochlorite	427	427	1.15	491.05				
Sodium Hypochlorite	341	341	1.15	392.15				
Sodium Hypochlorite	295	295	1.15	339.25				
Sodium Hypochiorite	308	308	1.15	354.20				
Sodium Hypochlorite	356	356	1.15	409.40				
Sodium Hypochlorite	247	247	1.15	284.05				
Sodium Hypochlorite	340	340	1.15	391.00				
Sodium Hypochlorite	226	226	1.15	259.90				
Sodium Hypochlorite	363	363	1.15	417.45				
• •		8,713		\$ 10,019.95	42.75	0.00	203.83	3 Used for disinfection in the production of potable water.

Lake Osborne Estates (Water)

M G Water Purchased

Purchase Water Agreement with City of Lake Worth 100% Supply

Lake Suzy (Water)

M G Water Purchased

Purchase Water Agreement with Desoto County 100% Supply

Lake Suzy (Wastewater)

			Total		<del></del>	T	<u> </u>		T
1		1	Gallons /	Unit	Chemcial	M G Sewer	Dosage Rate	Dosage Rate (Gal	]
Chemi	ical Type	Units	Lbs	Price	Cost	Treated	(Lbs chemical/Day)	chem/M G produced)	Comments
Constim It - lbs		75	25	9.90	247 50				

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

## Lake Suzy (Wastewater)(Continued)

		Total	· · · · · ·	T	T	1		<u> </u>
	1	Gallons /	Unit	Chemcial	M G Sewer	Dosage Rate	Dosage Rate (Gal	· ·
Chemical Type	Units	Lhs	Price	Cost	Treated	(Lbs chemical/Day)	chem/M G produced)	Comments
Consum It - lbs.	25	25	9.90	247.50				
Consum It - lbs.	25	25	9.50	237.50				
Consum It - lbs.	25	_ 25	9.50	237.50		•		
		100		\$ 970.00	-	Chemical used to help	digest the sludge, used or	a "as needed basis"
Hydrated Lime 50 lb.	12	600	7.75	93.00	•		2	
		600		\$ 93.00	•	Chemical utilized to lim	ne the digesters before stud	dge removal, dosage varies with sludge concetration "as needed basis"
Sodium Hypochlorite	190	190	1.15	218.50	•			-3
Sodium Hypochlorite	297	297	1.15	341.55				
Sodium Hypochlorite	289	289	1.15	332.35			•	
Sodium Hypochlorite	272	272	1.15	312.80				
Sodium Hypochlorite	172	172	1.15	197,80				
Sodium Hypochlorite	243	243	1.15	279.45				
Sodium Hypochlorite	267	267	1.15	307.05				•
Sodium Hypochlorite	259	259	1.15	297.85				
Sodium Hypochlorite	204	204	1.15	234.60				
Sodium Hypochlorite	249	249	1.15	286.35				
Sodium Hypochlorite	308	308	1.15	354.20				
Sodium Hypochlorite	308	308	1.15	354.20				
Sodium Hypochlorite	266	266	1.15	305.90				
Sodium Hypochlorite	273	273	1.15	313.95				
Sodium Hypochlorite	267	267	1.15	307.05				
Sodium Hypochlorite	220	220	1.15	253.00				
Sodium Hypochlorite	191	191	1.15	219.65				
Sodium Hypochlorite	266	266	1.15	305.90				
Sodium Hypochlorite	232	232	1.15	266.80				
Sodium Hypochlorite	222	222	1.15	255,30				
Sodium Hypochlorite	133	133	1.15	152.95				
Sodium Hypochlorite	128	128	1.15	147.20				
Sodium Hypochlorite	110	110	1.15	126.50				
Sodium Hypochlorite	168	168	1.15	193,20				
Sodium Hypochlorite	153	153	1.15	175.95				·
Sodium Hypochlorite	123	123	1.15	141.45				·
Sodium Hypochorite	92	92	1.15	105,80				
-	•	5,902		\$ 6,787.30	20.30	0.00	290.77	Used for disinfection in the production of potable water.
	•			<del></del>				or a law respect to the processor of possible water.

## Leisure Lakes (Water)

Chemical Type	Units	Total Gallons / Lbs	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
150 LB Gas Chlorine Cylinder	2	300	176.00	352.00				
150 LB Gas Chlorine Cylinder	4	600	110.00	440.00				
150 LB Gas Chlorine Cylinder	3	450	110.00	330.00				
150 LB Gas Chlorine Cylinder	3	450	176.00	528.00				
150 LB Gas Chlorine Cylinder	3	450	176.00	528.00				
150 LB Gas Chlorine Cylinder	3	450	176,00	528.00				
150 LB Gas Chlorine Cylinder	2	300	176.00	352.00				
	•	3,000		\$ 3,058.00	9.69	8.22	0.00	Used for disinfection in the production of potable water.

Leisure Lakes (Water)(Continued)

Chemical Type	Units	Total Gallons / Lbs	Unit Price	Chemcial Cost		Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Aquadene - 5 Gallons 6 units	6	30	58.13	348.78				
* Aquadene - 5 Gallons 6 units	6	30	58.13	348.78				•
		60		\$ 697.58	9,69	0.00	6.20	This is a sequestrant

<sup>\*</sup> Six units of Aquadene five gallons each was delivered to treatment facility on 4/3/07.

Due to a billing error it was not included in the original invoice for April 2007 services (invoice # 3785) bill resubmitted 4/1/08. Added to calculate dosage rate.

#### Leisure Lakes (Wastewater)

		Total Gallons /	Unit	Chemcial	M G Sewer	Dosage Rate	Dosage Rate (Gal	
Chemical Type	Units	Lbs	Price	Cost	Treated	(Lbs chemical/Day)	chem/M G produced)	Comments
Bags of Lime - 50 lb.	5	250	10,00	50.00				
Bags of Lime - 50 lb.	5	250	7.50	37.50				
Bags of Lime - 50 lb.	5	250	10.00	100.00				
Bags of Lime - 50 lb.	5	250	10,00	50.00				
Bags of Lime - 50 lb.	5	250	7.50	37.50				
Bags of Lime - 50 lb.	5	250	10,00	100,00	_			
		1,500		\$ 375.00	_	Chemical utilized to lin	ne the digesters before slu	dge removal, dosage varies with sludge concetration "as needed basis"
Consum it - ibs.	13	13	9,50	123,50	_			
		13		\$ 123,50	_	Chemical used to help	digest the sludge, used or	n a "as needed basis"
Sodium Hypochlorite	190	190	2,88	547.20	_			
Sodium Hypochlorite	205	205	2.88	590.40				
Sodium Hypochlorite	215	215	2.88	619.20				
Sodium Hypochlorite	193	193	2.88	554.40				
Sodium Hypochlorite	198	198	2.88	568.80				
Sodium Hypochlorite	185	185	2.88	532.80				
Sodium Hypochlorite	173	173	2.88	496.80				
Sodium Hypochlorite	167	167	1.15	192.05				
Sodium Hypochlorite	94	94	1.15	108.10				
Sodium Hypochlorite	133	133	2.96	392.20				
Sodium Hypochlorite	116	116	1.15	133.40				
Sodium Hypochlorite	128	128	1.15	147.20				
Sodium Hypochlorite	83	83	1.15	95,45				
Sodium Hypochlorite	96	96	1,15			•		
Sodium Hypochlorite	110	110	1.15					
Sodium Hypochlorite	116	116	1.15					
Sodium Hypochlorite	120	120	1,15					
Sodium Hypochlorite	67	67	1.15					
Sodium Hypochlorite	93	93	1.15					
Sodium Hypochlorite	121	121	1.15					
Sodium Hypochorite	112		1.15					
		2,913	-	\$ 5,938.25	6.86	0.00	423.4	Used for disinfection in the production of potable water.

Aqua Utilitles Florida Docket 080121-WS Chemical List 2007

## Morningview (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Doeage Rate (Gal chen/M G produced)	Comments
Aquadene - 55 Gallons	7	385	225.00	1,575.00				
		385		\$ 1,575.00	2.98	0.00	129,37	Chemical utilized and permitted to sequester iron in potable water.
Sodium Hypochlorite	40	40	1.15	46.00				• • • • • • • • • • • • • • • • • • • •
Sodium Hypochlorite	32	32	1.15	36,80				
Sodium Hypochlorite	24	24	1.15	27,60				
Sodium Hypochlorite	21	21	1.15	24.15				
Sodium Hypochlorite	23	23	1.15	26.45				
Sodium Hypochiorite	101	101	1.15	116,15				
Sodium Hypochlorite	26	26	1.15	29.90				
••		267		\$ 307.05	2.98	0.00	89.72	Used for disinfection in the production of potable water.

## Morningview (Wastewater)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
odium Hypochlorite	40	40	1.15	46.00				
odium Hypochlorite	42	42	1,15	48,30				
odium Hypochlorite	38	38	1.15	43.70				
Sodium Hypochlorite	20	20	1.15	23.00				
odium Hypochlorite	23	23	1,15	26.45				
iodium Hypochlorite	18	18	1.15	20.70				
odium Hypochlorite	19	19	1.15	21.85				
Sodium Hypochlorite	20	20	1.15	23.00				
Sodium Hypochlorite	27	27	1.15	31.05				
odium Hypochlorite	37	37	1.15	42.55				
Sodium Hypochlorite	39	39	1.15	44.85				
odium Hypochlorite	30	30	1,15	34.50				
odium Hypochlorite	30	30	1.15	34,50				
odium Hypochlorite	39	39	1.15	44,85				
iodium Hypochlorite	28	28	1.15	32,20				
Sodium Hypochlorite	27	27	1.15	31.05				
odium Hypochlorite	31	31	1.15	35.65				
Sodium Hypochlorite	40	40	1.15	46.00				
Sodium Hypochlorite	30	30	1,15	34.50				
odium Hypochlorite	28	28	1.15	32.20				
odium Hypochlorite	30	30	1.15	34.50				
iodium Hypochlorite	14	14	1.15	16,10				
odium Hypochlorite	17	17	1.15	19.55				
Sodium Hypochlorite	120	120	1.15	138,00				
Sodium Hypochlorite	19	19	1.15	21.85				
Sodium Hypochlorite	22	22	1.15	25.30				
odium Hypochlorite	22	22	1,15	25.30				
odium Hypochlorite	22	22	1.15	25.30				,
••	•	872		\$ 1,002,80	2.00	0.00	436.00	Used for disinfection in the production of potable water.

Oakwood (Water)	<del>"                                    </del>	 	 	 
	M G Water Purchased	 	 	 
Purchase Water Agreement with Brevard County Water 100% Supply	11.78		 	

# Ocala Oaks (Water)

		Tota!	Unit	Chemclat	M G Water	Dosage Rate	Dosage Rate (Gal	
Chemical Type	Units	Gallons	Price	Cost	Produced	(Lbs chemical/Day)	chem/M G produced)	Comments
Sodium Hypochlorite	89	89	1.15	102,35				
Sodium Hypochlorite	28	28	1.15	32,20				
Sodium Hypochlorite	42	42	1.15	48.30				
Sodium Hypochlorite	173	173	1.15	198.95				
Sodium Hypochlorite	50	50	1.15	57.50				
Sodium Hypochlorite	. 35	35	1,15	40.25		•		
Sodium Hypochlorite	102	102	1,15	117,30				
Sodium Hypochlorite	75	75	1.15	86.25				
Sodium Hypochlorite	57	57	1.15	65.55				
Sodium Hypochlorite	98	98	1.15	112.70				
Sodium Hypochlorite	73	73	1,15	83,95				
Sodium Hypochlorite	30	30	1.15	34.50				
Sodium Hypochlorite	25	25	1.15	28.75				
Sodium Hypochlorite	50	50	1.15	57.50				
Sodium Hypochlorite	135	135	1.15	155,25				
Sodium Hypochlorite	154	154	1.15	177.10				
Sodium Hypochlorite	120	120	1,15	138,00				
Sodium Hypochlorite	23	23	1.15	26,45				
Sodium Hypochlorite	23	23	1.15	26,45				
Sodium Hypochlorite	66	66	1,15	75.90				
Sodium Hypochlorite	21	21	1.15	24.15				
Sodium Hypochlorite	70	70	1.15	80,50				
Sodium Hypochlorite	30	30	1.15	34,50				
Sodium Hypochlorite	25	25	1.15	28.75				
Sodium Hypochlorite	38	38	1.15	43.70				
Sodium Hypochlorite	17	17	1.15	19.55				
Sodium Hypochlorite	95	95	1,15	109,25				
Sodium Hypochlorite	23	23	1.15	26.45				
Sodium Hypochlorite	77	77	1.15	88.55				
Sodium Hypochlorite	39	39	1.15	44.85				
Sodium Hypochlorite	66	66	1.15	75.90				
Sodium Hypochlorite	61	61	1.15	70.15				
Sodium Hypochlorite	41	41	1.15	47.15				
Sodium Hypochlorite	12	12	1,15	13.80				
Sodium Hypochlorite	172	172	1.15	197.80				
Sodium Hypochlorite	60	60	1.15	69.00				
Sodium Hypochlorite	110	110	1.15	126.50				
Sodium Hypochlorite	59	59	1.15	67.85				
Sodium Hypochlorite	130	130	1.15	149.50				
Sodium Hypochlorite	125	125	1.15	143.75				
Sodium Hypochlorite	38	38	1.15	43.70				
Sodium Hypochlorite	41	41	1.15	47.15				
Sodium Hypochlorite	38	38	1.15	43.70				

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

## Ocala Oaks (Water)(Continued)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	91	91	1.15	104.65		<del></del>		
Sodium Hypochlorite	32	32	1.15	36.80				
Sodium Hypochlorite	45	45	1.15	51.75				
Sodium Hypochlorite	32	32	1.15	36,80				
Sodium Hypochlorite	85	85	1.15	97.75				
Sodium Hypochlorite	94	94	1.15	108.10				
Sodium Hypochlorite	22	22	1.15	25.30				
Sodium Hypochlorite	23	23	1.15	26,45				
Sodium Hypochlorite	5 <b>8</b>	58	1.15	66.70				
Sodium Hypochlorite	153	153	1,15	175.95				
Sodium Hypochlorite	107	107	1.15	123.05				
Sodium Hypochlorite	21	21	1,15	24.15				
Sodium Hypochlorite	120	120	1.15	138.00				
Sodium Hypochlorite	23	23	1.15	26.45				
Sodium Hypochlorite	83	83	1.15	95.45				
Sodium Hypochlorite	15	15	1,15	17.25				
Sodium Hypochlorite	23	23	1,15	26.45				
Sodium Hypochlorite	80	80	1.15	92.00				
Sodium Hypochlorite	68	88	1,15	101,20				
Sodium Hypochlorite	42	42	1.15	48.30				
Sodium Hypochlrite	63	63	1.15	72,45				
•••		4,136		\$ 4,756.40	172.61	0.00	23.96	Used for disinfection in the production of potable water.

#### Orange Hill / Sugar Creek (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	69	69	1.15	79.35				
Sodium Hypochlorite	63	63	1.15	72.45				
Sodium Hypochlorite	165	165	1.15	189.75				
Sodium Hypochlorite	142	142	1.15	163,30				
Sodium Hypochlorite	106	106	1.15	121.90				
odium Hypochlorite	20	20	1.15	23.00				
odium Hypochlorite	79	79	1.15	90.85				
Sodium Hypochlorite	120	120	1.15	138.00				
iodium Hypochlorite	60	60	1.15	69.00				
odium Hypochlorite	106	106	1.15	121.90				
Sodium Hypochlorite	83	83	1.15	95.45				
odium Hypochlorite	75	75	1.15	86.25				
Sodium Hypochlorite	86	86	1.15	98.90				
iodium Hypochlorite	76	76	1.15	87.40				
iodium Hypochlorite	157	157	1.15	180,55				
Sodium Hypochlorite	69	69	1.15	79.35				
odium Hypochlorite	77	77	1.15	88.55				
iodium Hypochlorite	131	131	1.15	150,65				
Sodium Hypochlorite	81	81	1.15	93,15				

## Orange Hill / Sugar Creek (Water)(Continued)

Chemical Type	Units	Total Galions	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	136	136	1.15	156.40				
Sodium Hypochlorite	69	69	1.15	79,35				_
		1,970		\$ 2,265.50	20.19	0,00	97.58	Used for disinfection in the production of potable water.

## Palm Port (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	26	26	1.15	29.90				
Sodium Hypochlorite	22	22	1,15	25.30				
Sodium Hypochlorite	26	26	1.15	29.90				
Sodium Hypochlorite	45	45	1,15	51.75				
Sodium Hypochlorite	26	26	1.15	29.90				
Sodium Hypochlorite	122	122	1.15	140,30				
Sodium Hypochlorite	78	78	1.15	69.70				
Sodium Hypochlorite	56	56	1.15	64,40				
Sodium Hypochlorite	56	56	1.15	64.40				
Sodium Hypochlorite	75	75	1.15	86,25				
Sodium Hypochlorite	45	45	1.15	51,75				
Sodium Hypochlorite	50	50	1.15	57,50				
Sodium Hypochlorite	48	48	1.15	55,20				
**		675	•	\$ 778,25	5.13	0.00	131.63	Used for disinfection in the production of potable water.

## Palm Port (Wastewater)

Chemical Type	Units	Total Gallons.	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	92	92	1,15	105,80				
Sodium Hypochlorite	168	168	1.15	193.20				
Sodium Hypochlorite	83	83	1,15	95.45				
Sodium Hypochlorite	71	71	1.15	71.00				
Sodium Hypochlorite	115	115	1.15	132.25				
Sodium Hypochlorite	96	96	1.15	110.40				
Sodium Hypochlorite	84	84	1.15	96.60				
Sodium Hypochlorite	67	67	1.15	77.05				
Sodium Hypochlorite	82	82	1.15	94.30		•		
Sodium Hypochlorite	100	100	1.15	115.00				
Sodium Hypochlorite	86	86	1.15	98.90				
Sodium Hypochlorite	148	148	1,15	170.20				
Sodium Hypochlorite	100	100	1.15	115.00				
		1,292		\$ 1,475,15	5.62	0.00	230.1	Used for disinfection in the production of potable water.

Palm Terrace (Water)		 	 
	M G Water Purchased		

Purchase Water Agreement with Pasco County 100% Supply

70,95

## Palm Terrace (Wastewater)

		Total 1				<del></del>		
1		Gallons /	Unit	Chemcial	M G Sewer	Dosage Rate	Dosage Rate (Gal	
Chemical Type	Units	Lbs	Price	Cost	Treated	(Lbs chemical/Day)	chem/M G produced)	
					1165/80	(LOS CHOINICADOS)	chemin d produced	Comments
Plant Pro Settling Agent - 30 Galk	2	60	337.82	675.64				
Plant Pro Settling Agent - 30 Gallo	2	60	337.82	675.64				
Plant Pro Settling Agent - 30 Galk	2	60	337.82	675.64				
Plant Pro Settling Agent - 30 Gallo	2	60	337.82	675.64				
Plant Pro Settling Agent - 30 Galk	2	60	337.82	675.64				
Plant Pro Settling Agent - 30 Galk	2	60	337.82	675.64			•	
Plant Pro Settling Agent - 30 Galk	2	60	337.82	675.64				·
Plant Pro Settling Agent - 5 Gallor	12	60	59.15	709.80				
Plant Pro Settling Agent - 30 Galk	2	60	337.82	675.64				
Plant Pro Settling Agent - 30 Galk	2	60	337.82	675,64				
Plant Pro Settling Agent - 30 Galk	2	60	337.82	675.64				
Plant Pro Settling Agent - 30 Galk	2	60	337.82	675.64				
Plant Pro Settling Agent - 30 Galk	2	60	337.82	675.64	•			
Plant Pro Settling Agent - 30 Galk	2	60	337.82	675.64				
Plant Pro Settling Agent - 30 Gallo	2	60	337.82	675.64	50.00			<del>-</del>
Codina Uracabiosia	040	900	4.45	\$ 10,168.76	50.60	0.00	17.7	9 Chemical used as a settling agent for solids in the clarifiers
Sodium Hypochlorite	212	212	1.15	243.80				
Sodium Hypochlorite	151	151	1.15	173.65				
Sodium Hypochlorite	231	231	1.15	265.65				
Sodium Hypochlorite	526	526	1.15	604.90				
Sodium Hypochlorite	203	203	1.15	233.45				
Sodium Hypochlorite	218	218	1.15	250.70				
Sodium Hypochlorite	220	220	1.15	253.00				
Sodium Hypochlorite	458	458	1.15	526.70				
Sodium Hypochlorite	439	439	1.15	504.85				
Sodium Hypochlorite	431	431	1.15	495.65				
Sodium Hypochlorite	418	418	1.15	480.70				
Sodium Hypochlorite	362	362	1.15	416.30				
Sodium Hypochlorite	413	413	1.15	474.95				
Sodium Hypochlorite	390	390	1.15	448.50				
Sodium Hypochlorite	316	316	1.15	363.40				
Sodium Hypochlorite	330	330	1.15	379.50				
Sodium Hypochlorite	387	387	1.15	445.05				`
Sodium Hypochlorite	457	457	1.15	525.55				
Sodium Hypochlorite	482	482	1,15	554.30				
Sodium Hypochlorite	483	483	1.15	555. <b>45</b>				
Sodium Hypochlorite	475	475	1,15	546.25				
Sodium Hypochlorite	429	429	1.15	493.35				
Sodium Hypochlorite	443	443	1.15	509.45				
Sodium Hypochlorite	366	366	1.15	420.90		•		
Sodium Hypochlorite	452	452	1.15	519.80				
Sodium Hypochlorite	455	455	1.15	523.25				
Sodium Hypochlorite	439	439	1.15	504.85				

## Palm Terrace (Wastewater)(Continued)

Chemical Type	Units	Total Gallons / Lbs	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	417	417	1.15	479.55				
Sodium Hypochlorite	435	435	1.15	500.25				
Sodium Hypochlorite	408	408	1.15	469.20				·
		11,446		\$ 13,162.90	50.60	0,00	226.21	Used for disinfection in the production of potable water.
Trichlorisocyanuric - 50 lb	1	50	120.00	120.00				
Trichlorisocyanuric - 50 lb	1	50	120.00	120.00	•	Alleria Makes Head		
	,	100		\$ 240.00	•	Chlonne (1 abs) Used to	or plant maintenance and	supplemental disinfectant on an as need basis.

## Palms Mobile Home Park (Water)

	1	* Total	Unit	Chemcial	M G Water		Dosage Rate (Gal	
Chemical Type	Units	Gallons	Price	Cost	Produced	(Lbs chemical/Day)	chem/M G produced)	Comments
Sodium Hypochlorite	80	80	1.15	92.00				
Sodium Hypochlorite	88	88	1.15	101.20				
Sodium Hypochlorite	34	34	1.15	39.10				
Sodium Hypochlorite	28	28	1.15	. 32.20				
Sodium Hypochlorite	74	74	1.15	85,10				
Sodium Hypochlorite	60	60	1.15	69,00				
Sodium Hypochlorite	37	37	1.15	42.55				
Sodium Hypochlorite	38	38	1.15	43,70				
Sodium Hypochlorite	58	58_	1.15	66.70				_
•		485	•	\$ 571.55	5.97	0,00	81,28	Used for disinfection in the production of potable water.

<sup>\*</sup> Gallonage reflects a twelve gallon subtraction that was utilized at Stone Mountain AU 6422

## Picciola Island (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	32	32	1,15	36.80				
Sodium Hypochlorite	36	36	1.15	41.40				
Sodium Hypochlorite	32	32	1.15	36.80				
Sodium Hypochlorite	36	36	1,15	41,40				•
Sodium Hypochlorite	31	31	1,15	35.65				
Sodium Hypochlorite	36	36	1.15	41.40				
Sodium Hypochlorite	31	31	1.15	35.65				
• ,		234	•	\$ 259.10	13.81	0.00	16.95	Used for disinfection in the production of potable water.

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

## Piney Woods (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
odium Hypochlorite	87	87	1.15	100.05				
odium Hypochlorite	132	132	1.15	151.80				
odium Hypochlorite	40	40	1.15	46.00				
odium Hypochlorite	153	153	1.15	175.95				
odium Hypochlorite	139	139	1.15	159.85				
odium Hypochlorite	94	94	1.15	108.10				
odium Hypochlorite	93	93	1.15	106.95				
odium Hypochlorite	78	78	1.15	89.70				
odium Hypochlorite	78	78	1.15	89.70				
odium Hypochlorite	68	68	1.15	78.20				
odium Hypochlorite	87	87	1.15	100.05				
odium Hypochlorite	80	80	1.15	92.00				
odium Hypochlorite	90	90	1.15	103.50				•
odium Hypochlorite	90	90	1.15	103.50				
odium Hypochlorite	72	72	1.15	82.80				
odium Hypochlorite	114	114	1.15	131.10				
	-	1,495		\$ 1,719.25	19,53	0.00	76.57	Used for disinfection in the production of potable water.

#### Pomona Park (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemciai Cost	M G Water Produced		Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	37	37	1.15	42.55		····		
Sodium Hypochlorite	50	50	1.15	57.50				
Sodium Hypochlorite	77	77	1.15	88.55				
Sodium Hypochlorite	32	32	1.15	36.80				
Sodium Hypochlorite	25	25	1.15	28.75				
Sodium Hypochlorite	50	50	1,15	57.50				
Sodium Hypochlorite	36	36	1.15	41.40				
Sodium Hypochlorite	48	48	1.15	55.20				
Sodium Hypochlorite	78	78	1.15	89.70				·
Sodium Hypochlorite	39	39	1.15	44.85				
Sodium Hypochlorite	30	30	1.15	34.50				_
		502		\$ 577.30	11.28	0.00	44,52	Used for disinfection in the production of potable water.

## Quail Ridge (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	22	22	1.15	25.30				
Sodium Hypochlorite	28	28	1.15	32.20				
Sodium Hypochlorite	32	32	1.15	36.80				

# Quail Ridge (Water)(Continued)

Chemical Type	Units	Total Gallons	Unit Price		M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	40	40	1.15	46,00				
Sodium Hypochlorite	30	30	1.15	34.50				
Sodium Hypochlorite	59	59	1.15	67.85				·
		211	,	\$ 242.65	7.00	0.00	30.14	Used for disinfection in the production of potable water.

## Ravenswood (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	16	16	1.15	18.40				
Sodium Hypochlorite	51	51	1,15	58,65				
Sodium Hypochlorite	34	34	1.15	39.10				
	,	101		\$ 116.15	3.93	0.00	25.68	Used for disinfection in the production of potable water.

#### River Grove (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	33	33	1.15	37,95			· · · · · · · · · · · · · · · · · · ·	
Sodium Hypochlorite	30	30	1.15	34.50				
Sodium Hypochlorite	27	27	1,15	31.05				
Sodium Hypochlorite	28	28	1.15	32.20				
Sodium Hypochlorite	33	33	1.15	37.95				
Sodium Hypochlorite	41	41	1.15	47.15				
Sodium Hypochlorite	39	39	1.15	44.85				
Sodium Hypochlorite	41	41	1.15	47.15				
Sodium Hypochlorite	40	40	1.15	46.00				
Sodium Hypochlorite	53	53	1.15	60.95				
Sodium Hypochlorite	40	40	1.15	46.00				
Sodium Hypochlorite	28	28	1.15	32.20				
Sodium Hypochlorite	37	37	1.15	42.55				
Sodium Hypochiorite	30	30	1.15	34.50				
	•	500		\$ 575,00	6.60	0.00	75.73	Used for disinfection in the production of potable water.

## Rosalie Oaks (Water)

Chemical Type	Units	Total Gallons	Unit Price		M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	27	27	1,15	31.05				
Sodium Hypochlorite	27	27	1.15	31.05				

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

#### Rosalie Oaks (Water)(Continued)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gai chem/M G produced)	Comments
Sodium Hypochlorite	20	20	1.15	23.00				
Sodium Hypochlorite	23	23	1.15	26,45				
Sodium Hypochlorite	8	8	1.15	9.20				
Sodium Hypochlorite	21	21	1.15	24.15				
Sodium Hypochlorite	18	18	1.15	20.70				
Sodium Hypochlorite	27	27	1.15	31.05				
		171	,	\$ 196.65	2.61	0.00	65.59	Used for disinfection in the production of potable water.

#### Rosalie Oaks (Wastewater)

		Total	Unit		M G Sewer		Dosage Rate (Gal	
Chemical Type	Units	Gallons	Price	Cost	Treated	(Lbs chemical/Day)	chem/M G produced)_	Comments
Sodium Hypochlorite	110	110	1.15	126.50				
Sodium Hypochlorite	119	119	1.15	136,85				
Sodium Hypochlorite	191	191	1.15	219.65				
Sodium Hypochlorite	228	228	1.15	262.20				
Sodium Hypochlorite	123	123	1.15	141.45				
Sodium Hypochlorite	228	228	1.15	262.20				
Sodium Hypochlorite	114	114	1.15	131.10				
Sodium Hypochlorite	117	117	1.15	134.55				
Sodium Hypochlorite	132	132	1.15	151.80				
••	•	1,362	•	\$ 1,566.30	3.79	0.00	359.37	Used for disinfection in the production of potable water.

#### Sebring Lakes (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	291	291	1.15	334.65				
Sodium Hypochlorite	113	113	1.15	129,95				
Sodium Hypochlorite	360	360	1.15	414.00				
Sodium Hypochlorite	194	194	1.15	223.10				
Sodium Hypochlorite	283	283	1.15	325.45				
Sodium Hypochlorite	157	157	1.15	180.55				
Sodium Hypochlorite	702	702	1.15	807.30				
Sodium Hypochlorite	666	666	1.15	765.90				
Sodium Hypochlorite	321	321	1.15	369,15				
Sodium Hypochlorite	218	218	1.15	250,70				
Sodium Hypochlorite	292	292	1.15	335.80				
Sodium Hypochlorite	280	280	1.15	322.00				
Sodium Hypochlorite	423	423	1.15	486.45				
Sodium Hypochlorite	271	271	1.15	311.65				
Sodium Hypochlorite	400	400	1.15	460.00				

# Sebring Lakes (Water)(Continued)

	1 1	Total	Unit	Chemcial	M G Water	Dosage Rate	Dosage Rate (Gal	
Chemical Type	Units	Gallons	Price	Cost	Produced	(Lbs chemical/Day)	chem/M G produced)	Comments
Sodium Hypochlorite	460	460	1.15	529.00				
Sodium Hypochlorite	306	306	1.15	351.90				
Sodium Hypochlorite	307	307	1.15	353.05				
Sodium Hypochlorite	432	432	1.15	496.80				
Sodium Hypochlorite	310	310	1.15	356.50				
Sodium Hypochlorite	824	824	1.15	947.60				
Sodium Hypochlorite	106	106	1.15	121.90				
Sodium Hypochlorite	165	165	1.15	189.75				
Sodium Hypochlorite	162	162	1.15	186.30				
	•	8,043		\$ 9,249.45	16.85	0.00	477.22	Used for disinfection in the production of potable water.

# Silver Lake Estates / Western Shores (Water)

Chemical Type	Units	rotai Gallons / Lbs	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
150 LB Gas Chlorine Cylinder	1	150	0.5925	88.88				
150 LB Gas Chlorine Cylinder	7	1,050	0.5925	622.13				
150 LB Gas Chlorine Cylinder	1	150	0.5925	88.88				
150 LB Gas Chlorine Cylinder	8	1,200	0.5925	711.00				
150 LB Gas Chlorine Cylinder	7	1,050	0.5925	622.13				
150 LB Gas Chlorine Cylinder	7	1,050	0.5925	622.13				
•		4,650		\$ 2,755.13	348.49	12,74	0.00	Used for disinfection in the production of potable water.

## Silver Lake Oaks (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	18	18	1.15	20.70			•	
Sodium Hypochlorite	13	13	1.15	14.95				
Sodium Hypochlorite	12	12	1.15	13.80				
Sodium Hypochlorite	16	16	1.15	18.40				
Sodium Hypochlorite	13	13	1.15	14.95				
Sodium Hypochlorite	15	15	1.15	17.25				
Sodium Hypochlorite	15	15	1,15	17.25				
		102		\$ 117.30	1.86	0.00	54.87	Used for disinfection in the production of potable water.

## Silver Lake Oaks (Wastewater)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	56	56	1.15	64.40				
Sodium Hypochlorite	22	22	1.15	25.30				
Sodium Hypochlorite	19	19	1.15	21.85				
Sodium Hypochlorite	13	13	1.15	14.95				
Sodium Hypochlorite	21	21	1.15	24.15				
Sodium Hypochlorite	24	24	1.15	27.60				
Sodium Hypochlorite	31	31	1.15	35.65				
Sodium Hypochlorite	43	43	1.15	49.45				
Sodium Hypochlorite	37	37	1.15	42.55				
Sodium Hypochlorite	28	28	1.15	32,20				
Sodium Hypochlorite	25	25	1.15	28.75				
Sodium Hypochlorite	49	49	1.15	56,35				
Sodium Hypochlorite	34	34	1.15	39.10				
Sodium Hypochlorite	37	37	1.15	42.55				
		439	•	\$ 504.85	1.93	0.00	227.46	Used for disinfection in the production of potable water.

#### Skycrest (Water)

Chemical Type	Units	Totai Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	34	34	1,15	39,10				
Sodium Hypochlorite	41	41	1.15	47,15				
Sodium Hypochlorite	30	30	1.15	34.50				
Sodium Hypochlorite	26	26	1,15	29.90				
Sodium Hypochlorite	22	22	1.15	25.30				
Sodium Hypochlorite	39	39	1.15	44.85				
Sodium Hypochlorite	25	25	1.15	28.75				
Sodium Hypochlorite	38	38	1,15	43.70				•
		255		\$ 293.25	10.51	0.00	24.27	Used for disinfection in the production of potable water.

#### South Seas (Wastewater)

Chemical Type	Units	Total Gallons / Lbs_	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Consum it - los.	25	25	9.90	247.50			·	
Consum It - Ibs.	25	25	9,90	247.50				
Consum It - Ibs.	25	25	9,90	247.50				
Consum It - Ibs.	50	50	9.50	475.00				
Consum It - lbs.	25	25	9.50	237.50			•	
		150	•	\$ 1,455.00	•	Chemical used to help	digest the sludge, used on	a "as needed basis"
Hydrated Lime 50 ib.	13	650	7,75	100.75	•	<b>,</b>		
Hydrated Lime 50 ib.	13	650	7.75	100.75				

South Seas (Wastewater)(Continued)

		Total			<u> </u>		T	
	1	Gallons /	Unit	Chemcial	M G Sewer	Dosage Rate	Dosage Rate (Gal	,
Chemical Type	Units	Lbs	Price	Cost	Treated	(Lbs chemical/Day)	chem/M G produced)	Comments
Hydrated Lime 50 ib.	11	550	7.75	85.25				
Hydrated Lime 50 ib.	40	2,000	7.75	310.00				
Hydrated Lime 50 ib.	6	300	7.75	46.50				
Hydrated Lime 50 ib.	34	1,700	7.75	263.50	_			
		5,850		\$ 906.75	_	Chemical utilized to lin	ne the digesters before slu	dge removal, dosage varies with sludge concetration "as needed basi
Sodium Hypochlorite	661	661	1,15	760.15	-			
Sodium Hypochlorite	267	267	1,15	307.05				
Sodium Hypochlorite	632	632	1.15	726.80				
Sodium Hypochlorite	663	663	1.15	762.45				
Sodium Hypochlorite	617	617	1.15	709.55				
Sodium Hypochlorite	609	609	1,15	700.35				
Sodium Hypochlorite	598	598	1,15	687.70	*			
Sodium Hypochlorite	646	646	1.15	742.90				
Sodium Hypochlorite	601	601	1.15	691.15				
Sodium Hypochlorite	521	521	1,15	599.15				
Sodium Hypochlorite	488	488	1.15	561.20				
Sodium Hypochlorite	387	387	1.15	445.05			•	
Sodium Hypochlorite	381	381	1.15	438.15				
Sodium Hypochlorite	420	420	1,15	483.00				•
Sodium Hypochlorite	404	404	1,15	464.60				
Sodium Hypochlorite	428	428	1.15	492.20				
Sodium Hypochlorite	403	403	1.15	463.45				
Sodium Hypochlorite	557	557	1.15	640.55				
Sodium Hypochlorite	467	467	1.15	537.05				
Sodium Hypochlorite	524	524	1.15	602.60				
Sodium Hypochlorite	531	531	1.15	610.65				
Sodium Hypochlorite	503	503	1.15	578.45				
Sodium Hypochlorite	497	497	1,15	571.55				
Sodium Hypochlorite	567	567	1.15	652.05				
Sodium Hypochlorite	353	353	1.15	405.95				
Sodium Hypochlorite	526	526	1.15	604.90				•
Sodium Hypochlorite	506	506	1.15	581.90				
Sodium Hypochlorite	653	653	1.15	750.95				•
Sodium Hypochlorite	368	368	1.15	423,20				
Sodium Hypochlorite	298	298	1.15	342.70				
Sodium Hypochlorite	363	363	1.15	417.45				•
Sodium Hypochlorite	225	225	1.15	258.75				
Sodium Hypochlorite	569	569	1.15	654.35				
Sodium Hypochlorite	597	597	1.15	686.55				
Sodium Hypochlorite	695	695	1.15	799.25				
Sodium Hypochlorite	648	648	1.15	745.20				
Sodium Hypochlorite	669		1,15	769.35				
Sodium Hypochiorite	573	573	1.15	658.95		<u> </u>		<b>_</b>
		19,415	-	\$ 22,327.25		5 0.0	433.85	Used for disinfection in the production of potable water.
Trichlorisocyanuric - 50 lb	2		120,00	240.00	•			
Trichlorisocyanuric - 50 lb	2		120.00					
·		200		\$ 480.00		Chiorine (Tabs) Used	for plant maintenance and	supplemental disinfectant on an as need basis.

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

## St. John's Highlands (Water)

			·		r			
1		Total	Unit	Chemcial	M G Water	Dosage Rate	Dosage Rate (Gal	
Chemical Type	Units	Gallons	Price	Cost	Produced	(Lbs chemical/Day)	chem/M G produced)	Comments

No Facility / Interconnected with Hermits Cove PWS

## Stone Mountain (Water)

		Total	Unit	Chemcial	M G Water	Dosage Rate	Dosage Rate (Gal	
Chemical Type	Units	Gallons	Price	Cost	Produced	(Lbs chemical/Day)	chem/M G produced)	Comments
No Charges *	12	12	0.00	*	0.79	0.00	15.17	Used for disinfection in the production of potable water.

<sup>\* 12</sup> gallons of Sodium Hypochlorite used per year. Taken from Palms MHP # 6416

#### Summit Chase (Water)

		Total	Unit	Chemcial	M G Water	Dosage Rate	Dosage Rate (Gal	
Chemical Type	Units	Gallons	Price	Cost	Produced	(Lbs chemical/Day)	chem/M G produced)	Comments
Sodium Hypochlorite	30	30	1.15	34.50				
Sodium Hypochiorite	29	29	1.15	33,35				
Sodium Hypochlorite	30	30	1,15	34.50				
Sodium Hypochlorite	22	22	1.15	25.30				
Sodium Hypochlorite	21	21	1.15	24.15				
Sodium Hypochlorite	22	22	1.15	25.30		i.		
Sodium Hypochlorite	46	46	1.15	52.90				
Sodium Hypochlorite	21	21	1.15	24.15				
Sodium Hypochlorite	24	24	1.15	27.60				
Sodium Hypochlorite	23	23	1.15	26.45				
Sodium Hypochlorite	30	30	1.15	34,50				
Sodium Hypochlorite	24	24	1.15	27.60				
Sodium Hypochlorite	44	44	1,15	50.60				
Sodium Hypochlorite	15	15	1.15	17.25				
Sodium Hypochlorite	36	36	1.15	41.40				
Sodium Hypochlorite	15	15	1.15	17.25				
Sodium Hypochlorite	14	14	1.15	16.10				
Sodium Hypochlorite	21	21	1.15	24.15				'
Sodium Hypochlorite	16	16	1.15	18,40				
Sodium Hypochlorite	15	15	1.15	17,25				
Sodium Hypochlorite	15	15	1.15	17.25				
Sodium Hypochlorite	14	14	1.15	16.10				
Sodium Hypochlorite	42	42	1.15	48.30				
		569		\$ 654.35	21.73	0.00	26.18	Used for disinfection in the production of potable water.

### Aqua Utilities Florida Docket 080121-WS Chemical List 2007

# Summit Chase (Wastewater)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gai chem/M G produced)	Comments
Sodium Hypochlorite	134	134	1.15	154.10	***			
Sodium Hypochlorite	120	120	1.15	138,00				
Sodium Hypochlorite	107	107	1.15	123.05				
Sodium Hypochlorite	173	173	1.15	198.95				
Sodium Hypochlorite	104	104	1.15	119.60				
Sodium Hypochlorite	112	112	1.15	128.80		•		
Sodium Hypochlorite	113	113	1.15	129.95				
Sodium Hypochlorite	145	145	1.15	166.75				
Sodium Hypochlorite	98	98	1.15	112.70				
Sodium Hypochlorite	130	130	1.15	149.50				
Sodium Hypochlorite	140	140	1.15	161.00				
Sodium Hypochlorite	123	123	1.15	141.45				
Sodium Hypochlorite	110	110	1.15	126.50				•
Sodium Hypochlorite	186	186	1.15	213.90				
Sodium Hypochiorite	81	81	1.15	93.15				
Sodium Hypochlorite	80	80	1.15	92,00	•			
Sodium Hypochlorite	135	135	1.15	155.25				
Sodium Hypochlorite	134	134	1.15	154.10				
Sodium Hypochiorite	63	63	1.15	72,45				
Sodium Hypochlorite	91	91	1,15	104.65				
Sodium Hypochlorite	79	79	1.15	90.85				
Sodium Hypochlorite	93	93	1.15	106.95				
Sodium Hypochlorite	87	87	1.15	100.05				
Sodium Hypochlorite	69	89	1.15	102.35				
Sodium Hypochlorite	76	76_	1.15	87.40				
		2,803		\$ 3,223.45	10.44	0,00	268.49	Used for disinfection in the production of potable water.

# Sunny Hills (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hydrochlorite - 2.5 gal jug	12	30	3.75	45.00				
Sodium Hydrochlorite - 2.5 gal jug	24	60	3.25	78.00				
Sodium Hydrochlorite - 2.5 gal jug	36	90	3.25	117.00				
Sodium Hydrochlorite - 2.5 gal jug	24	60	3.25	78.00				
Sodium Hydrochlorite - 2.5 gal jug	18	45	3.25	58.50				
Sodium Hydrochlorite - 2.5 gal jug	9	23	3.25	29.25				
Sodium Hydrochlorite - 2.5 gal jug	24	60	3.25	78.00				
Sodium Hydrochlorite - 2.5 gal jug	14	35	3.25	45.50				
		403		\$ 529.25	78.34	0,00	5.1	4 Used for disinfection in the production of potable water.

Chemical cost does not include sales tax, fuel tax, container deposit, fuel surcharge, insurance and security surcharges or discounts.

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

#### Sunny Hills (Wastewater)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hydrochlorite - 2.5 gal jug	12	30	3.75	45.00				
Sodium Hydrochlorite - 2.5 gat jug	6	15	3.75	22.50				
Sodium Hydrochlorite - 2.5 gal jug	30	75	3.25	97.50				
Sodium Hydrochlorite - 2.5 gal jug	12	30	3.25	39.00				
Sodium Hydrochlorite - 2.5 gat jug	36	90	3.25	117.00				
Sodium Hydrochlorite - 2.5 gal jug	9	23	3.25	29.25				
Sodium Hydrochlorite - 2,5 gal jug	12	30	3.25	39.00				
Sodium Hydrochlorite - 2.5 gal jug	28	70	3.25	91.00				
		363	_	\$ 480.25	8.68	0.00	41.76	Used for disinfection in the production of potable water.

# Tangerine (Water)

			1.1:74	01				
Chemical Type	1	Total	Unit Price	Chemcial	M G Water	Dosage Rate	Dosage Rate (Gal	
	Units	Gallons		Cost	Produced	(Lbs chemical/Day)	chem/M G produced)	Comments
Chlorine - 2.5 gal jug	2	5	3.50 3.50	7.00				Used for disinfection in the production of potable water.
Chlorine - 2.5 gal jug Chlorine - 2.5 gal jug	4	10	3.50	14.00 7.00				
Sodium Hypochlorite	2 118	5	1.15	135.70				
Sodium Hypochlorite	113	118 113	1.15	129.95				
Sodium Hypochlorite	162	162	1.15	188.30				
Sodium Hypochlorite	57	57	1.15	65.55				
Sodium Hypochlorite	129	129	1.15	148.35				
Sodium Hypochlorite	111	111	1.15	127.65				
Sodium Hypochlorite	117	117	1.15	134.55				
Sodium Hypochlorite	222	222	1.15	255.30				
Sodium Hypochlorite	115	115	1.15	132.25				
Sodium Hypochlorite	167	167	1.15	192.25				
Sodium Hypochlorite	171	171	1.15	196.65				
Sodium Hypochlorite	162	162	1.15	186.30				
Sodium Hypochlorite	153	153	1.15	175.95				
Sodium Hypochlorite	160	160	1.15	184.00				
Sodium Hypochlorite	125	125	1.15	143.75				
Sodium Hypochlorite	172	172	1.15	197.80				
Sodium Hypochlorite	69	69	1.15	79.35				
Sodium Hypochlorite	225	225	1.15	258.75				
Sodium Hypochlorite	152	152	1.15	174.80				
Sodium Hypochlorite	142	142	1.15	163.30				
Sodium Hypochlorite	100	100	1.15	115.00				
Sodium Hypochlorite	118	118	1.15	135,70				
Sodium Hypochlorite	122	122	1.15	140.30				
Sodium Hypochlorite	140	140	1.15	161.00				
Sodium Hypochlorite	143	143	1,15	164.45				
Sodium Hypochlorite	131	131	1.15	150.65				
Sodium Hypochlorite	103	103	1,15	118.45				
		3,719		\$ 4,281,85	44.25	0.00	84.04	Used for disinfection in the production of potable water.

#### Aqua Utilities Florida Docket 080121-W\$ Chemical List 2007

The Woods (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	90	90	1.15	103.50				
Sodium Hypochlorite	76	76	1.15	87.40				
Sodium Hypochlorite	46	46	1.15	52.90				
Sodium Hypochlorite	63	63	1.15	72.45				
odium Hypochlorite	80	80	1.15	92.00				
Sodium Hypochlorite	47	47	1.15	54.05				
lodium Hypochlorite	53	53	1.15	60.95				
iodium Hypochlorite	35	35	1.15	40,25				
iodium Hypochlorite	42	42	1.15	48.30				
Sodium Hypochlorite	22	22	1.15	25.30				
odium Hypochlorite	35	35	1.15	40.25				
		589		\$ 677.35	4.39	0,00	134.0	8 Used for disinfection in the production of potable water.

# The Woods (Wastewater)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
odium Hypochlorite	47	47	1.15	54.05				<u> </u>
Sodium Hypochlorite	33	33	1.15	37.95				
Sodium Hypochlorite	25	. 25	1.15	28.75				
iodium Hypochlorite	98	98	1.15	112.70				
Sodium Hypochlorite	60	60	1.15	69.00				
Sodium Hypochlorite	58	58	1.15	66.70				
Sodium Hypochlorite	72	72	1,15	82.80				
Sodium Hypochlorite	102	102	1,15	117.30				
Sodium Hypochlorite	73	73	1.15	83.95				•
Sodium Hypochlorite	78	78	1.15	89.70				
Sodium Hypochlorite	60	60	1.15	69.00				
Sodium Hypochlorite	65	65	1.15	74.75				
Sodium Hypochlorite	64	64	1.15	73.60				
Sodium Hypochlorite	42	42	1.15	48.30				
Sodium Hypochlorite	40	40	1.15	46.00				
Sodium Hypochlorite	100	100	1.15	115.00				
Sodium Hypochlorite	101	101	1.15	116.15				
odium Hypochiorite	59	59	1.15	67,85				
Sodium Hypochtorite	96	96	1.15	110.40				
Sodium Hypochlorite	94	94	1.15	108.10				
Sodium Hypochlorite	50	50	1,15	57.50				
Sodium Hypochlorite	56	56	1,15	64.40				
Sodium Hypochlorite	84	84	1.15	96.60				_
		1,557		\$ 1,790.55	3.45	0.00	451.30	Used for disinfection in the production of potable water.

Chemical cost does not include sales tax, fuel tax, container deposit, fuel surcharge, insurance and security surcharges or discounts.

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

Tomoka / Twin Rivers (Water)

						· · · · · · · · · · · · · · · · ·		
1	,	Total	Unit	Chemcial	M G Water	Dosage Rate	Dosage Rate (Gal	· ·
Chemical Type	Units	Gallons	Price	Cost	Produced	(Lbs chemical/Day)	chem/M G produced)	Comments
Ammonia Solution - 55 Gallons	1	55	143.97	143.97		(EDS GITGITTOGED ES)	Officials o produced)	Comments
Ammonia Solution - 55 Gallons	· ·	55	143.97	143.97				
		110	140.01	\$ 287.94	28.89	0.00	2 91	Chemical utilized in the disinfection process (chlorimines).
Aquadene - 55 Gallons	3	165	225.00	675.00		0.00	3.01	Chainical dilized in the distinection process (cholinings).
Aquadene - 55 Gallons	1	55	225.00	225.00				•
	'	220	220,00	\$ 900.00	28.89	0.00	7.62	Chemical utilized for corrosion control in potable water.
Sodium Hypochlorite	147	147	1,15	169.05		0.00	1.02	one mical dulized for control of the potable water.
Sodium Hypochlorite	46	46	1.15	52.90				
Sodium Hypochlorite	100	100	1.15	115.00				
Sodium Hypochlorite	150	150	1.15	172.50				
Sodium Hypochlorite	105	105	1,15	120.75				
Sodium Hypochlorite	70	70	1.15	80.50				
Sodium Hypochlorite	64	64	1.15	73.60				
Sodium Hypochlorite	101	101	1.15	116.15				
Sodium Hypochlorite	66	66	1.15	75.90				
Sodium Hypochlorite	182	182	1,15	209.30				
Sodium Hypochlorite	133	133	1.15	152.95				
Sodium Hypochlorite	111	111	1.15	127.65				
Sodium Hypochlorite	147	147	1,15	169.05				
Sodium Hypochlorite	75	75	1.15	86.25				
Sodium Hypochlorite	113	113	1.15	129.95				
Sodium Hypochlorite	72	72	1.15	82.80				
Sodium Hypochlorite	133	133	1.15	152.95			•	
Sodium Hypochlorite	114	114	1,15	131.10				
Sodium Hypochlorite	126	126	1.15	144.90				
Sodium Hypochlorite	98	98	1.15	112.70				
Sodium Hypochlorite	153	153	1.15	175.95				
Sodium Hypochlorite	102	102	1.15	117.30				
Sodium Hypochlorite	253	253	1.15	290.95				,
Sodium Hypochlorite	110	110	1.15	126.50				
Sodium Hypochlorite	100	100	1,15	115.00				
Sodium Hypochlorite	38	38	1.15	43.70				
Sodium Hypochlorite	117	117	1,15	134.55				
Sodium Hypochlorite	148	148	1.15	170,20				
Sodium Hypochlorite	144	144	1.15	165.60				
Sodium Hypochlorite Sodium Hypochlorite	62 160	62	1,15	71.30				
Sodium Hypochlorite	44	160 44	1,15	184.00				
Sodium Hypochlorite	130	130	1.15 1.15	50,60				•
Sodium Hypochlorite	62	62	1.15	149,50 71.30				•
Sodium Hypochlorite	109	109	1.15	125.35				
Sodium Hypochlorite	89	89	1,15	102.35				
Sodium Hypochlorite	73	73	1.15	83.95				
Sodium Hypochlorite	127	127	1,15	146.05				
Sodium Hypochlorite	120	120	1.15	138.00				
Sodium Hypochlorite	80	80	1,15	92.00				
Sodium Hypochlorite	131	131	1,15	150.65				
Sodium Hypochlorite	82	82	1.15	94.30				
Sodium Hypochlorite	73	73	1.15	83.95				
Sodium Hypochlorite	130	130	1.15	149,50				
Sodium Hypochlorite	163	163	1.15	187.45				

#### Aqua Utilities Florida Docket 080121-WS Chemical List 2007

Tomoka / Twin Rivers (Water)(Continued)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	105	105	1.15	120.75				
Sodium Hypochlorite	73	73	1.15	83,95				
Sodium Hypochlrite	79	79	1.15	90.85				•
	·	5,210		\$ 5,991.50	28.89	0.00	180,36	Used for disinfection in the production of potable water.

#### Valencia Terrace (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	<u>Comments</u>
Aquadene - 55 Gailons	7	385	225.00	1,575.00				
•	•	385		\$ 1,575.00	27.74	0.00	13.88	Chemical utilized in the potable water to sequester from.
150 LB Gas Chlorine Cylinder	1 `	150	•	•				
150 LB Gas Chlorine Cylinder	3	450	.5925	266,63				
150 LB Gas Chlorine Cylinder	2	300	.5925	177.75				_
•		900	•	\$ 444.38	27.74	2.47	0,00	Used for disinfection in the production of potable water.

<sup>\*</sup> One cylinder purchased in 2006 used in 2007 as per operator. (added to correct dosage rate calculation)

# Valencia Terrace (Wastewater)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal citem/M G produced)	Comments
Sodium Hypochlorite	155	155	1.15	178.25				
Sodium Hypochlorite	163	163	1.15	187.45				
Sodium Hypochlorite	170	170	1,15	195.50				
Sodium Hypochlorite	143	143	1.15	164.45				
Sodium Hypochlorite	124	124	1.15	142.60				
Sodium Hypochlorite	109	109	1.15	125.35				
Sodium Hypochlorite	127	127	1.15	146.05				
Sodium Hypochlorite	133	133	1.15	152,95				
Sodium Hypochlorite	135	135	1.15	155.25				
Sodium Hypochlorite	144	144	1,15	165.60				
Sodium Hypochlorite	150	150	1.15	172.50				
Sodium Hypochlorite	86	86	1.15	98.90				
Sodium Hypochlorite	81	81	1.15	93.15				
Sodium Hypochlorite	143	143	1.15	164.45				
Sodium Hypochlorite	86	88	1.15	98,90				•
Sodium Hypochlorite	151	151	1.15	173.65				
Sodium Hypochlorite	156	156	1.15	179,40				
Sodium Hypochlorite	149	149	1.15	171,35				
Sodium Hypochlorite	152	152	1.15	174.80				
Sodium Hypochlorite	149	149	1.15	171.35				

Chemical cost does not include sales tax, fuel tax, container deposit, fuel surcharge, insurance and security surcharges or discounts.

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

# Valencia Terrace (Wastewater)(Continued)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	134	134	1.15	154.10				
Sodium Hypochlorite	154	154	1.15	177.10				
Sodium Hypochlorite	154	154	1.15	177.10				
Sodium Hypochlorite	142	142	1.15	163.30	,			•
Sodium Hypochlorite	155	155	1.15	178.25				
Sodium Hypochlorite	137	137	1,15	157,55				
Sodium Hypochlorite	119	119	1.15	136.85				
		3,701		\$ 4,256.15	13.43	0.00	275.58	Used for disinfection in the production of potable water.

#### Venetian Village (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal- chem/M G produced)	Comments
odium Hypochiorite	40	40	1.15	46.00		· · · · · · · · · · · · · · · · · · ·		
odium Hypochlorite	41	41	1.15	47.15				
odium Hypochiorite	36	36	1.15	41.40				
odium Hypochlorite	86	86	1.15	98.90				
odium Hypochlorite	32	32	1.15	36.80				
odium Hypochlorite	14	14	1.15	16.10				
odium Hypochlorite	25	25	1.15	28.75				
odium Hypochlorite	24	24	1,15	27.60				
odium Hypochlorite	26	26	1.15	29.90				
odium Hypochlorite	27	27	1.15	31.05				
odium Hypochlorite	30	30	1.15	34.50				
odium Hypochlorite	21	21	1,15	24.15				
odium Hypochlorite	27	27	1.15	31.05				· ·
odium Hypochlorite	21	21	1,15	24.15	*			
odium Hypochlorite	22	22	1.15	25.30				
odium Hypochlorite	23	23	1,15	26.45				
odium Hypochlorite	22	22	1.15	25.30				
odium Hypochlorite	22	22	1.15	25.30				
odium Hypochlorite	20	20	1.15	23,00				
odium Hypochlorite	20	20	1.15	23.00				
odium Hypochlorite	23	23	1.15	26.45				
odium Hypochlorite	22	22	1,15	25,30				
odium Hypochlorite	21	21	1.15	24.15				
odium Hypochlorite	20	20	1,15	23.00				_
	•	665		\$ 764.75	11,06	0.00	60.15	Used for disinfection in the production of potable water.

### Aqua Utilities Florida Docket 080121-WS Chemical List 2007

Venetian Village (Wastewater)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
odium Hypochlorite	105	105	1.15	120.75	•			
odium Hypochlorite	169	169	1.15	194.35				· ·
odium Hypochlorite	81	- 81	1.15	93.15				
odium Hypochlorite	83	83	1.15	95.45				
odium Hypochlorite	133	133	1.15	152.95				•
odium Hypochlorite	84	84	1.15	96.60				
odium Hypochlorite	45	45	1.15	51.75				
odium Hypochlorite	111	111	1.15	127.65				
odium Hypochlorite	81	81	1.15	93,15				
odium Hypochlorite	89	89	1.15	102.35				
odium Hypochlorite	90	90	1.15	103.50				
odium Hypochlorite	36	36	1.15	41.40				
odium Hypochlorite	90	90	1.15	103.50				
odium Hypochlorite	125	125	1.15	143.75				
odium Hypochlorite	70	70	1.15	80.50				
odium Hypochlorite	93	93	1.15	106.95				
odium Hypochlorite	72	72	1.15	82.80				
odium Hypochlorite	74	74	1.15	85.10				
odium Hypochlorite	73	73	1,15	83.95				
odium Hypochlorite	36	36	1.15	41.40				
odium Hypochlorite	45	45	1.15	51,75				
odium Hypochlorite	61	61	1.15	70,15				
odium Hypochlorite	62	62	1.15	71.30		10 110000		_
		1,908		\$ 2,194.20	3.81	0.00	500.79	Used for disinfection in the production of potable water.

Village Water (Water)

M G Water Purchased

Purchase Water Agreement with City of Lakeland 100% Supply

37.62

Village Water (Wastewater)

		Total	Unit	Chemcial	M G Sewer	Dosage Rate	Dosage Rate (Gal	
Chemical Type	Units	Gallons	Price	Cost	Treated	(Lbs chemical/Day)	chem/M G produced)	Comments
Sodium Hypochlorite	89	89	1,15	102,35	•			
Sodium Hypochlorite	98	98	1.15	112.70				
Sodium Hypochlorite	97	97	1.15	111.55				
Sodium Hypochlorite	89	89	1.15	102.35				
Sodium Hypochlorite	145	145	1.15	166.75				
Sodium Hypochlorite	150	150	1.15	172,50				
Sodium Hypochlorite	109	109	1.15	125.35				
Sodium Hypochlorite	94	94	1.15	107.55				
Sodium Hypochlorite	107	107	1.15	123.05				
Sodium Hypochlorite	123	123	1.15	141.45				
Sodium Hypochlorite	150	150	1.15	172.50				

Chemical cost does not include sales tax, fuel tax, container deposit, fuel surcharge, insurance and security surcharges or discounts.

Aqua Utilities Florida Docket 080121-WS Chemical List 2007

Village Water (Wastewater)(Continued)

Chemical Type	Units	Totat Galions	Unit Price	Chemcial Cost	M G Sewer Treated	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	140	140	1.15	161,00		<u> </u>		
Sodium Hypochlorite	80	80	1.15	92,00				
Sodium Hypochlorite	92	92	1.15	105,80				
Sodium Hypochlorite	101	101	1.15	116.15				
Sodium Hypochlorite	76	76	1.15	87.40				
Sodium Hypochlorite	120	120	1.15	138.00				
Sodium Hypochlorite	148	148	1.15	170.20				
Sodium Hypochlorite	137	137	1.15	157.55				
Sodium Hypochlorite	154	154	1.15	177.10				
Sodium Hypochlorite	117	117	1.15	134.55				
Sodium Hypochlorite	139	139	1.15	159.85				•
Sodium Hypochlorite	224	224	1,15	257,60				
Sodium Hypochlorite	134	134	1.15	154.10				
Sodium Hypochlorite	154	154	1,15	177,10				
Sodium Hypochlorite	75	75	1,15	86.25				
Sodium Hypochlorite	73	73	1.15	83.95				
Sodium Hypochlorite	109	109	1.15	125.35				
	•	3,324	-	\$ 3,822.05	12.40	0.00	268.03	Used for disinfection in the production of potable water.

#### Welaka / Saratoga (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
odium Hypochlorite	46	46	1,15	52,90				
odium Hypochlorite	22	22	1.15	25.30				
iodium Hypochlorite	15	15	1.15	17.25				
odium Hypochlorite	13	13	1.15	14.95				
odium Hypochlorite	31	31	1.15	35.65				
odium Hypochlorite	29	29	1.15	33,35				
odium Hypochlorite	20	20	1.15	23.00				
odium Hypochlorite	10	10	1.15	11.50				
lodium Hypochlorite	17	17	1,15	19.55				
lodium Hypochlorite	19	19	1.15	21.85				
odium Hypochlorite	19	19	1.15	21.85				
odium Hypochlorite	22	22	1.15	25.30				
odium Hypochlorite	21	21	1,15	24.15				
odium Hypochlorite	13	13	1.15	14.95				
odium Hypochlorite	23	23	1.15	28,45				
odium Hypochlorite	7	7	1.15	8.05				
••		327		\$ 376.05	7.71	0.00	42.43	3 Used for disinfection in the production of potable water.

#### Aqua Utilities Florida Docket 080121-WS Chemical List 2007

Wootens (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	21	21	1.15	24.15				
Sodium Hypochlorite	20	20	1.15	23.00				
Sodium Hypochlorite	11	11	1.15	12.65				
Sodium Hypochlorite	17	17	1.15	19.55				
Sodium Hypochlorite	19	19	1,15	21.85				
		88	,	\$ 101.20	1.40	0.00	62.72	Used for disinfection in the production of potable water.

Zephyr Shores (Water)

Chemical Type	Units	Total Gallons	Unit Price	Chemcial Cost	M G Water Produced	Dosage Rate (Lbs chemical/Day)	Dosage Rate (Gal chem/M G produced)	Comments
Sodium Hypochlorite	14	14	1.15	16.10				
Sodium Hypochlorite	41	41	1,15	47.15				
Sodium Hypochlorite	40	40	1.15	46.00				
Sodium Hypochlorite	33	33	1.15	37.95				
Sodium Hypochiorite	40	40	1.15	46,00				
Sodium Hypochlorite	40	40	1.15	46.00				•
Sodium Hypochlorite	37	37	1,15	42,55				
Sodium Hypochlorite	30	30	1.15	34.50				
Sodium Hypochlorite	38	38	1.15	43.70				•
Sodium Hypochlorite	56	56	1.15	64.40				
Sodium Hypochlorite	35	35	1.15	40.25			•	•
Sodium Hypochlorite	45	45	1.15	51.75				·
Sodium Hypochlorite	33	33	1.15	37.95			1	
Sodium Hypochlorite	28	28	1.15	32.20				
Sodium Hypochlorite	31	31	1.15	35.65				_
	,	541		\$ 622.15	12.22	0.00	44,29	Used for disinfection in the production of potable water.

Purchase Water Agreement with Pasco County (Well Drilled in 2007) no longer purchasing water

Zephyr Shores (Wastewater)

M G Sewer Treated

Purchase Sewer Agreement with Pasco County 100% Treated

8.39

# Aqua Utilities Florida, Inc. Field Employee List Water and Wastewater Systems

Name of System	Page Number(s)
	40
48 Estates - Water	49
Arredondo Estates - Water	49 49
Arredondo Farms - Water	49
Arredondo Estates - Wastewater	· -
Beecher's Point - Water	49, 50
Beecher's Point - Wastewater	50 50
Carlton Village - Water	50, 51
Chuluota - Water	50, 51
Chuluota - Wastewater	51, 52
East Lake Harris Estates - Water	51, 52
Fern Terrace - Water	52
Florida Central Commerce Park - Wastewater	52, 53
Friendly Center - Water	52, 53
Gibsonia Estates - Water	53
Grand Terrace - Water	53, 54
Haines Creek - Water	54
Harmony Homes - Water	54
Hermits Cove - Water	54, 55
Hobby Hills - Water	55
Holiday Haven - Wastewater	55
Holiday Haven - Wastewater	55
Imperial Mobile Terrace - Water Interlachen Lake r - Water	56
Park Manor - Water	56
Park Manor - Wastewater	56
Jasmine Lakes - Water	56, 57
Jasmine Lakes - Water  Jasmine Lakes - Wastewater	57
Jungle Den - Water	57
Jungle Den - Water  Jungle Den - Wastewater	57
Kings Cove - Water	58
Kings Cove - Water  Kings Cove - Water	58
Kingswood - Water	58
Lake Gibson Estates - Water	58, 59
Lake Gibson Estates - Wastewater	59
Lake Josephine - Water	59
Lake Osborne - Water	60
Lake Suzy - Water	60
Lake Suzy - Wastewater	60
Leisure Lakes - Water	60, 61
Leisure Lakes - Wastewater	61
Morningview - Water	61
Morningview - Wastewater	61
Oakwood - Water	61, 62

DOCUMENT NUMBER-DATE

# Aqua Utilities Florida, Inc. Field Employee List Water and Wastewater Systems

Name of System	Page Number
Ocala Oaks - Water	62
Orange Hill / Sugar Creek - Water	62
Palm Port - Water	63
Palm Port - Wastewater	63
Palm Terrace - Water	63
Palm Terrace - Wastewater	63, 64
Palms Mobile Home Park - Water	64
Picciola Island - Water	64
Piney Woods - Water	64, 65
Pomona Park - Water	65
Quail Ridge - Water	65
Ravenswood - Water	65, 66
River Grove - Water	66
Rosalie Oaks - Water	66
Rosalie Oaks - Wastewater	66, 67
Sebring Lakes - Water	67
Silver Lakes Estates / Western Shores - Water	67, 68
Silver Lake Oaks - Water	68
Silver Lake Oaks - Wastewater	68
Skycrest - Water	68
South Seas - Wastewater	69
St. John's Highlands - Water	69
Stone Mountain - Water	69
Summit Chase - Water	69, 70
Summit Chase - Wastewater	70
Sunny Hills - Water	70
Sunny Hills - Wastewater Tangerine - Water	70
The Woods - Water	70, 71
The Woods - Wastewater	71
Tomoka / Twin Rivers - Water	71, 72
Valencia Terrace - Water	72 72
Valencia Terrace - Wastewater	72, 73
Venetian Village - Water	72, 73
Venetian Village - Wastewater	73
Village Water - Water	73, 74
Village Water - Wastewater	73, 74
Welaka / Saratoga - Water	74
Wootens - Water	74, <b>7</b> 5
Zephyr Shores - Water	75
Zephyr Shores - Wastewater	75

48 Estates (V		F					
ast Name	First Name	Employee Job Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
ldrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote
drich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Water Operator-Florida	0006368	Class C	See Footnote
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
tichaelsen	Adam	Facility Operator (	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
leal	Martin	Facility Operator (	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
tuston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
weat	Darrell	Utility Tech Iti	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
vestrick	Todd	Utility Tech II		None	3352	Class C	
			See Appedix for descriptions as per job title	• • • • • • • • • • • • • • • • • • • •			See Footnote
Vorreil	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
rredondo E	states (Water)				···		
ast Name	First Name	Employee Job Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
risham	Steven	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
lissick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Distribution	589	Class A	See Footnote
issick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Operator	0007846	Class C	See Footnate
larch	Mark	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0007212	Class C	See Footnote
arch	Mark	Senior Facility Operator	See Appedix for descriptions as per lob title	Wastewater Operator - Florida	0008287	Class C	See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None	0000207	Class C	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007251		See Footnote
aompson	Fau	riaci Cool dilitato:	see whitener in describing as her inn and	Attoriendrei Obergrei - Liener	0004094	Class A	300 FOURKE
krredondo F	arms (Water)			·····			
ast Name	First Name	Employee Job Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
risham	Steven	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
farch	Mark	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0007212	Class C	See Footnote
farch	Mark	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008287	Class C	See Footnote
odriquez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
tuston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0004894	Class A	See Footnote
			· · · · · · · · · · · · · · · · · · ·				
rredondo E ast Name	states (Wastewate First Name	er) Employee Job Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
ovd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
irisham	Steven	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
larch	Mark	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008287	. Class C	See Footnote
	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None	22222.		See Footnote
	Pattiaron	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
odriguez	Doub		Des changer for resorting to be her Inti fife			Class A	See Footnote
odriguez hompson	Paul Paul		Can Annadis for deportations so not leb title	Mineleugier Commitor Closide			
odriguez hompson	Paul Paul	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0004894	CIBSS A	266 LOO(UO(6
odriguez hompson hompson	Paul Dint (Water)	Field Cognitinator					
odriguez hompson hompson secher's Po ast Name	Paul		Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
odriguez hompson hompson eecher's Po ast Name	Paul Dint (Water)	Field Cognitinator					
odriguez hompson hompson seecher's Po ast Name	Paul pint (Water) First Name	Field Coordinator  Employee Job Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
odriguez hompson hompson seecher's Po ast Name laring	Paul pint (Water) First Name	Field Coordinator  Employee Job Title  Senior Facility Operator	Duties and Responsibilities See Appedix for descriptions as per job title	Certification Description Water Operator	Certification No.	Certification Level Class 8	Method of Allocatio See Footnote
lodriguez hompson hompson leecher's Po ast Name laring laring laringt	Paul  pint (Water)  First Name  John  John	Field Coordinator  Employee Job Title  Senior Facility Operator Senior Facility Operator	Duties and Responsibilities See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Certification Description Water Operator Wastewater Operator	Certification No.	Certification Level Class B Class B	Method of Allocatio See Footnote See Footnote

McNair Wesling Wesling Andriquez Servens Carl Stevens Carl Thompson Paul Weaver Danies Beecher's Point (Waslast Name First Boas Leste Boyd Charl Stevens Carl McDeaver Danie Waster Stevens Carl Stevens	amardo ari Maintenance Manager ari Maintenance Tech ari Maintenance aniet Utility Tech II  Wastewater) rst Name Employee Job Title ster Utility Tech II  Lead Maintenance Tech ari Field Coordinator aniel Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Certification Description  None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida None Certification Description None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida None	A03-06-5479 2086 2709 0007251 0004894  Certification No.  A03-06-5479 2088 2709 0007251 0004894	n/a Class C Class C Class A Class A  Certification Level  T/a Class C Class C Class C Class C Class C Class C Class A Class A	Method of Allocation See Footnote
Rodriguez Sema Stevens Carl Stevens Carl Stevens Carl Thompson Paul Thompson Paul Weaver Danie Beecher's Point (Was Last Name First Boas Leste Boyd Charl Rodriguez Berna Stevens Carl Stevens Carl Stevens Carl Thompson Paul Weaver Danie Weaver Danie First Boyd Charl Fontaine First Boyd Charl Fontaine Willia Fontaine Willia Fontaine Willia First Boyd Charl Brian Heath Brian Kissick Gary Kissick Gary Maio Philip Michaelsen Neal Martis Ruston Michaelsen Neal Martis Ruston Michaelsen Neal Martis Ruston Michaelsen John Worrell John Chuluota (Waler)	amardo ari Maintenance Manager ari Maintenance Tech ari Maintenance aniet Utility Tech II  Wastewater) rst Name Employee Job Title ster Utility Tech II  Lead Maintenance Tech ari Field Coordinator aniel Utility Tech II	See Appedix for descriptions as per job title  Dutles and Responsibilities  See Appedix for descriptions as per job title	None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida None Certification Description None None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida	2086 2709 0007251 0004894 Certification No. A03-08-5479 2086 2709 0007251	Class C Class A Class A Class A  Class A  Class C Class C Class C Class A	See Footnote
Stevens Carl Stevens Carl Stevens Carl Stevens Carl Stevens Carl Thompson Paul Thompson Paul Thompson Paul Weaver Danie  Beecher's Point (Was Last Name First Boas Leste Boyd Charl Rodriguez Bems Stevens Carl Stevens Carl Stevens Carl Stevens Carl Thompson Paul Weaver Danie  Carlton Village (Waste Last Name First Boyd Charl Fontaine Willia Fontaine Willia Fontaine Willia Fontaine Willia Fontaine Willia Fontaine Willia Ruston John Weaver Danie  Kissick Gary Michaelsen Name Ruston Miche Sweat Dane Westrick Todd Worrell John  Chulluota (Water)	Maintenance Tech Maintenance Maintenance Maintenance Tech Maintenance Manager Maintenance Tech Maintenance	See Appedix for descriptions as per job title  Dutles and Responsibilities  See Appedix for descriptions as per job title	Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida None Certification Description None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida	2086 2709 0007251 0004894 Certification No. A03-08-5479 2086 2709 0007251	Class C Class A Class A Class A  Class A  Class C Class C Class C Class A	See Footnote
Stevens Carl Stevens Carl Stevens Carl Fhompson Paul Fhompson Paul Fhompson Paul Weaver Danie  Beecher's Point (Was. ast Name First Boas Leste Boas Leste Boayd Charl Rodriguez Berns Stevens Carl Stevens Carl Stevens Carl Thompson Paul Fhompson Paul Weaver Danie  Carlton Village (Waste Last Name First Boyd Charl Fontaine Willia Fontaine Willia Fontaine Willia Fontaine Willia Fontaine Willia Furlow John Heath Brian Heath Brian Heath Brian Heath Brian Heath Brian Kissick Gary Maio Philip Michaelsen Adam Narti Ruston Miche Sweal Darre Westrick Todd Worrell John Worrell John	and Maintenance Tech and Maintenance Tech aul Field Coordinator aul Field Coordinator aul Field Coordinator aul Field Coordinator Utility Tech II  Wastewater) rst Name Employee Job Title sister Utility Tech II Lead Maintenance Tech and Maintenance Tech and Maintenance Tech aul Field Coordinator aul Field Coordinator aniel Utility Tech II	See Appedix for descriptions as per job title  Duttles and Responsibilities  See Appedix for descriptions as per job title	Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida None Certification Description None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida	2709 0007251 0004894 Certification No. A03-06-5479 2086 2709 0007251	Class C Class A Class A Class A  Class A  Class C Class C Class C Class A	See Footnote See Footnote See Footnote See Footnote Method of Allocation See Footnote
Stevens Carl Fhompson Paul Fhompson Paul Flower Danie  Beecher's Point (Was ast Name First Boas Leste Boyd Charl Rodriguez Berne Stevens Carl Stevens Carl Stevens Carl Flompson Paul Flowers Carl Flompson Paul Flo	and Maintenance Tech aul Field Coordinator aul Field Coordinator aul Field Coordinator Utility Tech II  Wastewater) rst Name Employee Job Title uster Utility Tech II Lead Maintenance Tech and Maintenance Tech aul Field Coordinator aul Field Coordinator aniel Utility Tech II  Lead Maintenance Tech Maintenance Tech Maintenance Tech utility Tech II  Utility Tech II  Utility Tech II	See Appedix for descriptions as per job title  Duttes and Responsibilities  See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None Certification Description None None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida	2709 0007251 0004894 Certification No. A03-06-5479 2086 2709 0007251	Class C Class A Class A  Certification Level  IVa Class C Class C Class C Class A	See Footnote See Footnote See Footnote See Footnote Method of Allocation See Footnote
Thompson Paul Thompson Paul Thompson Paul Weaver Danies  Beecher's Point (Was Last Name First Boas Leste Boyd Charl Rodriguez Berns Stevens Carl Stevens Carl Thompson Paul Weaver Danies  Carlton Village (Water First Boyd Charl Weaver Danies)  Carlton Village (Water First Boyd Charl Pontaine William Furlow John Heath Brian Kissick Gary Kissick Gary Maio Philip Michaelsen Neal Marti Ruston Michaelsen Neal Marti Ruston Michaelsen Neal Marti Ruston Michaelsen Darre Westrick Todd Worrell John Worrell John Chulluota (Water)	Aul Field Coordinator aul Field Coordinator aniet Utility Tech II  Wastewater) rst Name Employee Job Title rster Utility Tech II Lead Maintenance Tech Maintenance Tech ani Maintenance Tech aul Field Coordinator aniel Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title  Dutles and Responsibilities  See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None Certification Description None None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida	0007251 0004894 Certification No. A03-08-5479 2086 2709 0007251	Class A Class A  Certification Level  IVa Class C Class C Class A	Method of Allocation See Footnote
Thompson Paul Weaver Danies  Beecher's Point (Was Last Name First Boas Leste Boyd Charl Thompson Paul Weaver Danies  Carlton Village (Water Boyd Charl Thompson Paul Weaver Danies  Carlton Village (Water Boyd Charl Thompson Paul Weaver Danies  Carlton Village (Water Boyd Charl First Boyd Charl First Boyd Charl Fontaine William First Boyd Charl Brian Water Brian Kissick Gany Michaelsen Martines Water Boyd Wortell John Worrell John Chuluota (Water)	Avastewater) rst Name sister uster unales, Joe and and and by markes, Joe and	See Appedix for descriptions as per job title  See Appedix for descriptions as per job title  Dutles and Responsibilities  See Appedix for descriptions as per job title	Wastewater Operator - Florida None None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida	0004894  Certification No.  A03-08-5479 2088 2709 0007251	Class A  Certification Level  IVa Class C Class C Class A	Method of Allocation See Footnote
Weaver Danie  Beecher's Point (Wastast Name First Boas Leste Boyd Charl Rodriguez Berns Stevens Carl Stevens Carl Thompson Paul Weaver Danie  Carlton Village (Wate Last Name First Boyd Charl Fontaine Williag Fontaine Williag Fontaine Williag Fontaine Williag Fontaine Heath Brian Heath Brian Heath Brian Michaelsen Adam Neal Martis Ruston Miche Sweat Darre Westrick Todd Worrell John Worrell John Chuluota (Water)	Arastewater) rst Name sister unaries, Joe ernardo ari ari Ari Ari Britania	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None None None Backflow Prevention License Water Distribution Wastewater Collection Technician Wastewater Operator - Florida Wastewater Operator - Florida	A03-08-5479 2086 2709 0007251	Certification Level  IVa  Class C  Class C  Class A	Method of Aflocation See Footnote
Last Name First Boas Leste Boyd Charl Rodriguez Berns Stevens Carl Stevens Carl Stevens Carl Thompson Paul Weaver Danie  Carlton Village (Wate Last Name First Boyd Charl Fontaine Willia Fontaine Willia Fontaine Willia Fontaine Heath Brian Heath Brian Kissick Gary Kissick Gary Maio Pullip Michaelsen Adam Neal Martis Ruston Miche Sweat Darre Westrick Todd Worrell John Worrell John	rst Name Employee Job Title ster Utility Tech II Lead Maintenance Tech Stell Coordinator Maintenance Tech Utility Tech II	See Appedix for descriptions as per job title	None None None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator- Florida Wastewater Operator - Florida	A03-06-5479 2086 2709 0007251	n/a Class C Class C Class A	See Footnote
ast Name First Boas Leste Boyd Charl Rodriguez Berns Stevens Carl Stevens Carl Stevens Carl Thompson Paul Weaver Danie  Carlton Village (Wate Last Name First Boyd Charl Fontaine Wilkia Fontaine Wilkia Fontaine Wilkia Fontaine Heath Brian Heath Brian Kissick Gary Michaelsen Adam Nichaelsen Adam Neal Martis Ruston Miche Sweal Darre Westrick Todd Worrell John Worrell John Worrell John	rst Name Employee Job Title ster Utility Tech II Lead Maintenance Tech Stell Coordinator Maintenance Tech Utility Tech II	See Appedix for descriptions as per job title	None None None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator- Florida Wastewater Operator - Florida	A03-06-5479 2086 2709 0007251	n/a Class C Class C Class A	See Footnote
Boas Leste Boyd Chart Rodriguez Berne Stevens Carl Stevens Carl Stevens Carl Flompson Paul Flompson Paul Weaver Danie  Carlton Village (Wate Last Name First Boyd Charl Fontaine Willia Fontaine Willia Furlow John Heath Brian Heath Brian Heath Brian Kissick Gary Waio Philip Michaelsen Marti Ruston Miche Sweal Darre Westrick Todd Norrell John  Chuluota (Water)	ester Utility Tech II narles, Joe Head Maintenance Tech mardo Maintenance Manager arl Maintenance Tech maintenance Manager maintenance Tech m	See Appedix for descriptions as per job title	None None None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator- Florida Wastewater Operator - Florida	A03-06-5479 2086 2709 0007251	n/a Class C Class C Class A	See Footnote
Boyd Charl Rodriguez Berns Rod	naries, Joe Lead Maintenance Tech maries Maintenance Manager Maintenance Tech Maintenance Manager Maintenance Tech Maintenan	See Appedix for descriptions as per job title	None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator- Florida Wastewater Operator - Florida	2086 2709 0007251	Class C Class A	See Footnote See Footnote See Footnote See Footnote See Footnote See Footnote
Rodriguez Bernes Stevens Carl Stevens Carl Stevens Carl Stevens Carl Thompson Paul Thompson Paul Weaver Danie  Carlton Village (Water Last Name First Boyd Charl Fontaine Willia Fontaine Willia Furlow John Heath Brian Heath Brian Heath Brian Kissick Gary Maio Philip Michaelsen Marti Ruston Michaelsen Marti Ruston Miche Sweal Darre Westrick Todd Worrell John Worrell John	emardo Maintenance Manager arl Maintenance Tech arl Maintenance Tech arl Maintenance Tech aul Field Coordinator aul Field Coordinator aniel Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida	2086 2709 0007251	Class C Class A	See Footnote See Footnote See Footnote See Footnote See Footnote
Rodriguez Bemes Stevens Carl Stevens Carl Stevens Carl Stevens Carl Thompson Paul Thompson Paul Weaver Danie  Carlton Village (Water Last Name First Boyd Charl Fontaine Willia Fontaine Willia Fontaine Willia Furlow John Heath Brian Heath Brian Kissick Gary Maio Philip Michaelsen Marti Ruston Michaelsen Neal Marti Ruston Miche Sweal Darre Westrick Todd Worrell John Worrell John Chuluota (Water)	Maintenance Tech and Maintenance Tech and Maintenance Tech aul Field Coordinator aul Field Coordinator aniel Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator-Florida Wastewater Operator - Florida	2086 2709 0007251	Class C Class A	See Footnote See Footnote See Footnote See Footnote
Stevens Carl Stevens Carl Stevens Carl Stevens Carl Stevens Carl Stevens Carl Thompson Paul Thompson Paul Weaver Danie  Carlton Village (Water Last Name First Boyd Charl Fontaine Willia Fontaine Willia Fontaine Willia Fontaine Heath Brian Heath Brian Heath Brian Kissick Gary Kissick Gary Maio Gary Maio Martie Ruston Michaelsen Adam Neal Martie Ruston John Worrell John Worrell John	ari Maintenance Tech ari Maintenance Tech aul Field Coordinator aul Field Coordinator aniel Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Distribution Wastewater Collection Technician Water Operator- Florida Wastewater Operator - Florida	2086 2709 0007251	Class C Class A	See Footnote See Footnote See Footnote
Stevens Carl Stevens Carl Stevens Carl Stevens Carl Thompson Paul Thompson Paul Weaver Danie  Carlton Village (Wate Last Name First Boyd Charl Fontaine Willia Fontaine Water Fo	arl Maintenance Tech arl Maintenance Tech aul Field Coordinator aul Field Coordinator aniel Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Collection Technician Water Operator- Florida Wastewater Operator - Florida	2709 0007251	Class C Class A	See Footnote See Footnote
Stevens Carl Thompson Paul Thompson Paul Thompson Paul Weaver Danie  Carlton Village (Wate Last Name First Boyd Charl Fontaine Willia Fontaine Willia Furlow John Heath Brian Heath Brian Kissick Gary Maio Philip Michaelsen Marti Ruston Miche Sweat Darre Westrick John Worrell John Chuluota (Water)	ari Maintenance Tech aul Field Coordinator aul Field Coordinator aniel Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Collection Technician Water Operator- Florida Wastewater Operator - Florida	2709 0007251	Class C Class A	See Footnote See Footnote
Thompson Paul Thompson Paul Thompson Paul Weaver Danie Water Danie Carlton Village (Water Boyd Charl Fontaine Willia Fontaine Willia Fontaine Willia Fontaine Willia Fontaine Willia Fontaine Heath Brian Kissick Gary Kissick Gary Michaelsen Adam Neal Martie Ruston Michaelsen Martie Ruston Michaelsen Westrick Todd Worrell John Worrell John Chuluota (Water)	aul Field Coordinator aul Field Coordinator aniel Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator- Florida Wastewater Operator - Florida	0007251	Class A	See Footnote
Thompson Paul Weaver Danie Carlton Village (Wate Last Name First Boyd Charl Fontaine William Fontaine Heath Brian Kissick Gary Kissick Gary Michaelsen Adam Neal Martin Ruston Michaelsen Adam Neal Martin Ruston Michaelsen Danne Westrick Todd Worrell John Worrell John Chulluota (Water)	aul Field Coordinator aniel Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida			
Weaver Danie  Carlton Village (Wate Last Name First Boyd Charl Fontaine William First Water Brian Wash Gary Kissick Gary Maio Philip Michaelsen Adam Michaelsen Adam Neal Marti Ruston Michael Marti Ruston Michael Darre Westrick Todd Worrell John Worrell John Chuluota (Water)	aniel Utility Tech II	See Appedix for descriptions as per job title	•	•••	OMOD74	See Footnote
Last Name First Boyd Charl Fontaine Willia First Sick Gary Maio Philip Michaelsen Marti Ruston Michaelsen Marti Ruston Michael Darre Westrick Todd Worrell John Worrell John	(ater)					See Footnote
Last Name First Boyd Charl Fontaine Willia First Sick Gary Maio Philip Michaelsen Marti Ruston Michaelsen Marti Ruston Michael Darre Westrick Todd Worrell John Worrell John	/ater)					
Boyd Charl Fontaine Willia Fontaine Marti Ruston Miche Sweal Darre Westrick Todd Norrell John Chuluota (Water)						
Fontaine Willia Fontaine Willi	rst Name Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
Fontaine Willia Furlow John Heath Brian Heath Brian Heath Brian Kissick Gary Kissick Gary Michaelsen Adarr Neal Marti Ruston Michaelsen Michael Westrick Todd Worrell John Worrell John	harles, Joe Lead Maintenance Tech		None			See Footnote
Furlow John Heath Brian Heath Brian Heath Brian Kissick Gary Maio Philip Michaelsen Marti Ruston Miches Sweat Darre Westrick Todd Worrell John Chuluota (Waler)		See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
Heath Brian Heath Brian Kissick Gary Kissick Gary Maio Philip Michaelsen Adam Neal Marti Ruston Michaelsen Michaelsen Adam Vestrick Todd Worrell John Worrell John Chuluota (Water)	illiam Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
Heath Brian Kissick Gary Kissick Gary Maio Philip Michaelsen Adam Neal Martis Ruston Michaelswat Darre Westrick Todd Worrell John Worrell John Chuluota (Water)	ohn Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
Kissick Gary Kissick Gary Maio Philip Michaelsen Adam Neal Marti Ruston Miche Sweat Darre Westrick Todd Worrell John Worrell John	ian Area Manager	See Appedix for descriptions as per job title	Water Operator- Florida	0005825	Class C	See Footnote
Kissick Gary Maio Philip Michaelsen Adam Neal Marti Ruston Miche Sweal Darre Westrick Todd Worrell John Worrell John		See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007522	Class C	See Footnote
Kissick Gary Maio Philip Michaelsen Adart Neal Mart Ruston Miche Sweal Darre Westrick Todd Norrell John Worrell John	ary Facility Operator II	See Appedix for descriptions as per job title	Water Distribution	589	Class A	See Footnote
Maio Philip Michaelsen Adam Neal Martin Ruston Miche Sweat Dame Nestrick Todd Norrell John Norrell John Chuluota (Water)		See Appedix for descriptions as per lob title	Water Operator	0007846	Class C	See Footnote
Michaelsen Adam Neal Martis Ruston Micha Sweat Darre Westrick Todd Worrell John Worrell John Chuluota (Water)			None			See Footnote
Neal Marti Ruston Miche Sweat Darre Westrick Todd Worrell John Worrell John Chuluota (Water)	· ·	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
Ruston Miche Sweat Darre Westrick Todd Worrell John Worrell John		See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
Sweat Darre Westrick Todd Worrell John Worrell John Chuluota (Water)		See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
Westrick Todd Worrell John Worrell John Chuluota (Water)			Water Distribution Technician	3552		See Footnote
Worrell John Worrell John Chuluota (Water)	•	See Appedix for descriptions as per job title		3004	Class C	
Worrell John Chuluota (Water)		See Appedix for descriptions as per job title	None	0000007	01 0	See Footnote
Chuluota (Water)		See Appedix for descriptions as per Job title	Water Operator- Florida	0006597	Class C	See Footnote
	ohn Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
and blamma Pt-4						
	rst Name Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
Boas Leste		See Appedix for descriptions as per job title	None			See Footnote
ontaine Willia	ester Utility Tech II	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine Willia		See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
-urlow John	/illiam Field Coordinator	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
Gerardo Alfrei	/illiam Field Coordinator /illiam Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0011993	Class C	See Footnote
	/illiam Field Coordinator /illiam Field Coordinator ohn Utility Tech I	bh bot lon and	Water Operator- Florida	0014574	Class C	See Footnote
	/illiam Field Coordinator /illiam Field Coordinator ohn Utility Tech I ffred Facility Operator I	See Appedix for descriptions as per lob title	Wastewater Operator - Florida	0014198	Class C	See Footnate
teath Brian	/filliam Field Coordinator /filliam Field Coordinator /filliam Field Coordinator /filliam Field Fach /fired Facility Operator I /fired Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title		0005825	Class C	See Footnote
Heath Brian	/illiam Field Coordinator /illiam Field Coordinator  bin Utility Tech    fired Facility Operator I  oger Facility Operator II  oger Facility Operator II	See Appedix for descriptions as per job title			Class C	See Footnote
meau Bhan Maio Philip	/illiam Field Coordinator /illiam Field Coordinator  bin Utility Tech I  ffred Facility Operator I  oger Facility Operator II  oger Facility Operator II  rian Area Manager		Water Operator- Florida Wastewater Operator - Florida	0007522	OK922 €	See Footnote

Last Name	ater)(Continued) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
Carthy	Terence	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0004617	Class C	See Footnote
eal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
rtiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1271	Class C	See Footnate
rtiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Backflow Prevention	n/a	n/a	See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
tevens	Çari	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
tevens	Cart	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
weat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collections Operator	3155	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Distribution	2689	Class C	See Footnote
rendet	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0006411	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0009184	Class A	See Footnote
huluota (Wa							
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Fletd Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
erardo	Alfred	Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0011993	Class C	See Footnote
Gray	Roger	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0014574	Class C	See Footnote
iray	Roger	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0014198	Class C	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Water Operator- Florida	0005825	Class C	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007522	Class C	See Footnote
<b>t</b> aio	Philip	Construction Coordinator	See Appedix for descriptions as per job title	None			See Footnote
ortiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1271	Class C	See Footnote
rtiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Backflow Prevention	n/a	n/a	See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
itevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
tevens	Cart	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collections Operator	3155	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Distribution	2889	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0006411	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0009184	Class A	See Footnate
ast Lake Ha	rris Estates (Wate	er) Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
Vidrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote
idrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Water Operator-Florida	0006368	Class C	See Footnote
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None	***************************************	Omes G	See Footnote
oyu ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job little	Wastewater Operator - Florida	000013	Class B	See Footnote
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL CDL	30213258	Class A	
uriow issick			See Appedix for descriptions as per job title	Water Distribution	502 13236 589	Class A	See Footnote
issick Issick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Distribution Water Operator	0007846	Class A Class C	See Footnote
	Gary	Facility Operator II					See Footnote
eal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
lodriguez	Bemardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
luston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collections Operator	3155	Class C	See Footnote
rendel						Ot A	
rendel rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Distribution	2889	Class C	See Footnote
Sweat Frendel Frendel Frendel		Senior Facility Operator Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Distribution Water Operator Wastewater Operator	2889 0006411 0009184	Class C Class C	See Footnote See Footnote

Last Name	First Name	er)(Continued) Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
Vestrick	Todd	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
/orrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
em Terrace ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
drich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0006854	Class C	See Footnote
udrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Water Operator-Florida	0006368	Class C	See Footnote
Boyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
leat	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
Rodriquez	Bernardo	Maintenance Manager	See Appedix for descriptions as per lob title	None	02.002.	0.220	See Footnote
Ruston	Micheat	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
Sweat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
Westrick	Todd	Utility Tech II		None	3002	Ciass C	See Footnote
Vestrick Vorrell			See Appedix for descriptions as per job title		0000507	Cl C	
vorreii Vorreii	John John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote See Footnote
AAOLLEII	Jonn	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	268 L-00(U0(6
Florida Centra	al Commerce Par	k (Wastewater)					<u> </u>
ast Name	First Name	Employee Titte	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
3oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnots
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
urlow	John	Utility Tech (	See Appedix for descriptions as per job title	CDL CDL	30213258	Class A	See Footnote
Gerardo	Alfred	Facility Operator !	See Appeals for descriptions as per job title	Wastewater Operator - Florida	0011993	Class C	See Footnote
							See Footnote
Gray	Roger	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0014574	Class C	
Gray	Roger	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0014196	Class C	See Footnote
Vaio	Philip 	Construction Coordinator	See Appedix for descriptions as per job title	None			See Footnote
vicCarthy	Terence	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0004817	Class C	See Footnote
Ortiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1271	Class C	See Footnote
Ortiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Backflow Prevention	n/a	n/a	See Footnote
Rodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
Stevens	Cart	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
Sweat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
Frendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collections Operator	3155	Class C	See Footnote
frendel	William	Senior Facility Operator	See Appedix for descriptions as per lob title	Water Distribution	2889	Class C	See Footnote
Frendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0006411	Class C	See Footnote
Frendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0009184	Class A	See Footnote
		• ••	.,				
riendly Cent Last Name	ter (Water) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
Aldrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote
Aldrich	Howard	Facility Operator II				Class C	See Footnote
			See Appedix for descriptions as per job title	Water Operator-Florida	0006366	Class C	See Footnote
Boyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None		aa	
Fontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
		Utility Tech I	Con tonedly for decodellane as now let the	CDL	20042000	Class A	See Footnote
Furfow Veal	John Martin	Facility Operator I	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator- Florida	30213258 0010027	Class C	See Footnote

ast Name	ter (Water)(Contir First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
uston	Micheal	Utility Tech II		Water Distribution	3603		
	,,,,,	· · · · · · · · · · · · · · · · · ·	See Appedix for descriptions as per job title			Class C	See Footnote
weat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorre#	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
ilbsonia Est	ates (Water)		*			<del></del>	<del></del>
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
emarco	Santo	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0005675	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Collection Technician	3404	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1846	Class C	See Footnote
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0007519	Class B	See Footnote
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008937	Class B	See Footnote
lahn	Јелту	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013832	Class C	See Footnote
lahn	Jerry	Facility Operator ()	See Appedix for descriptions as per job title	Water Operator - Florida	0014331	Class C	See Footnate
lostetler	Donald	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator - Florida	0014147	Class C	See Footnote
lostetler	Donald	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008035	Class B	See Footnote
ink	Lucas	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution Technician	4896	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0012040	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008946	Class C	See Footnote
hahid	Victor	Senior Maintenance Technician	See Appedix for descriptions as per job title	Water Distribution Technician	4051	Class C .	See Footnote
osko	Thomas	Utility Tech !	See Appedix for descriptions as per job title	None	4001	Class C .	See Footnote
ievens	Carl	Maintenance Tech	See Appeals for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
		Menticiarios recti	dee Appears for descriptions as per jud title	DECKNOW LIGHBUILD FLOOR			
		Maintenance Took	Con Annually for depode tions on new lab title	18 fates Pilotelle, dies	0000	01	
itevens itevens	Carl Carl	Maintenance Tech Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Distribution Wastewater Collection Technician	2086 2709	Class C Class C	See Footnote See Footnote
tevens tevens	Carl Carl					<del>-</del>	See Footnote
itevens itevens irand Terrac ast Name	Carl Carl :e (Water)	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
tevens tevens irand Terrac ast Name	Carl Carl :e (Water) First Name	Maintenance Tech  Employee Titte	See Appedix for descriptions as per job title  Duties and Responsibilities	Wastewater Collection Technician  Certification Description	2709	Class C	See Footnote  Method of Allocation
tevens irand Terrac ast Name loyd containe	Carl Carl :e (Water) First Name Charles, Joe	Maintenance Tech  Employee Titte  Lead Maintenance Technician	See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title	Wastewater Collection Technician  Gertification Description  None	2709  Certification No.	Class C  Certification Level  Class C	See Footnote  Method of Allocatic See Footnote See Footnote
itevens itevens irand Terrac ast Name loyd ontaine fontaine	carl Carl Carl  (Water) First Name Charles, Joe William William	Maintenance Tech  Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator	See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title	Wastewater Collection Technician  Gertification Description  None Water Operator- Florids Wastewater Operator - Florids	2709  Certification No.  0006813 0007113	Class C Class C Class B	Method of Allocatio See Footnote See Footnote See Footnote
tevens tevens frand Terrac ast Name loyd ontaine ontaine urlow	carl Carl Ee (Water) First Name Charles, Joe William William John	Maintenance Tech  Employee Titte Lead Maintenance Technician Field Coordinator Utility Tech !	Duties and Responsibilities  See Appedix for descriptions as per job title	Wastewater Collection Technician  Certification Description  None  Water Operator- Florida  Wastewater Operator - Florida  CDL	2709  Certification No.  0006813 0007113 30213258	Class C Cartification Level Class C Class B Class A	Method of Allocatio See Footnote See Footnote See Footnote See Footnote See Footnote
itevens itevens itevens ast Name loyd containe ortaine urlow üssick	carl Carl Carl  Ele (Water) First Name Charles, Joe William William John Gary	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II	Duties and Responsibilities  See Appedix for descriptions as per job title	Wastewater Collection Technician  Gertification Description  None Water Operator - Florida Wastewater Operator - Florida CDL Water Distribution	2709  Certification No.  0006813 0007113 30213258 589	Class C Certification Level Class C Class B Class A Class A	Method of Allocation See Footnote See Footnote See Footnote See Footnote See Footnote See Footnote
itevens iteven	carl Carl Carl First Name Charles, Joe William William John Gary Gary	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None Water Operator - Florida Wastewater Operator - Florida CDL CUL Water Distribution Water Operator	2709  Certification No.  0006813 0007113 30213258 589 0007846	Class C Class C Class B Class B Class A Class A Class C	Method of Allocation See Footnote
stevens steven	carl Carl Carl First Name Charles, Joe William John Gary Gary Martin	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II	Duties and Responsibilities  See Appedix for descriptions as per job title	Wastewater Collection Technician  Certification Description  None Water Operator - Florids Wastewater Operator - Florids CDL Water Distribution Water Operator Water Operator Water Operator	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027	Class C Class C Class B Class A Class A Class C Class C	Method of Allocatio See Footnote
irand Terrac ast Name loyd containe ontaine urlow issick dissick dieal duston	carl Carl Carl Er (Water) First Name Charles, Joe William John Gary Gary Martin Micheal	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech ! Facility Operator !! Facility Operator !! Facility Operator ! Utility Tech !	Duties and Responsibilities  Duties and Responsibilities  See Appedix for descriptions as per job title	Wastewater Collection Technician  Certification Description  None Water Operator- Florida Wastewater Operator - Florida CDL Water Distribution Water Operator Water Operator Water Operator Water Operator Water Operator Water Distribution	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603	Class C Class B Class A Class C Class C Class C Class C Class C Class C	Method of Allocatio See Footnote
irand Terrac ast Name loyd ontaine ontaine urlow issick leal uuston weat	carl Carl Ee (Water) First Name Charles, Joe William William John Gary Gary Martin Micheal Darrell	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech ! Facility Operator !! Facility Operator !! Facility Tech !! Utility Tech !! Utility Tech !!	Duties and Responsibilities  See Appedix for descriptions as per job title	Wastewater Collection Technician  Gertification Description  None Water Operator - Florida CDL Water Distribution Water Operator Water Operator Water Distribution Water Distribution Water Distribution Water Distribution Water Distribution Water Distribution Technician	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552	Class C Cartification Level Class C Class B Class A Class C Class C Class C Class C Class C	Method of Allocation See Footnote
irand Terrac ast Name loyd ontaine ontaine urlow issick leal tuston weat rendel	carl Carl Carl Carl Ele (Water) First Name Charles, Joe William William John Gary Gary Martin Micheal Darrell William	Employee Titte Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech II Utility Tech II Utility Tech III Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Collection Technician  Gertification Description  None Water Operator- Florids Wastewater Operator - Florids CDL Water Distribution Water Operator Water Operator- Florida Water Distribution Water Distribution Technician Wastewater Collections Operator	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155	Class C Class C Class B Class A Class A Class C	Method of Allocatio See Footnote
irand Terrac ast Name loyd ontaine ontaine ortaine urlow issick issick ieal tuston weat rendel	carl Carl Carl Carl First Name Charles, Joe William John Gary Gary Martin Micheal Darrell William William	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech II Utility Tech II Utility Tech III Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Collection Technician  Certification Description  None Water Operator - Florida Wastewater Operator - Florida CDL Water Distribution Water Operator Water Operator Water Operator- Florida Water Distribution Water Distribution Wastewater Collections Operator Water Distribution	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889	Class C Class C Class B Class A Class A Class C	Method of Allocation See Footnote
irand Terrac ast Name loyd containe urlow issick issick ieal tuston weat rendel	carl Carl Carl Ere (Water) First Name Charles, Joe William John Gary Gary Martin Micheal Darrell Wikiam Wilkiam Wilkiam Wilkiam Wilkiam	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech ! Facility Operator !! Facility Operator !! Facility Tech !! Utility Tech !! Utility Tech !! Senior Facility Operator Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	Wastewater Collection Technician  Certification Description  None Water Operator- Florida Wastewater Operator - Florida CDL Water Distribution Water Operator Water Operator - Florida Water Operator Water Distribution Technician Wastewater Collections Operator Water Distribution Water Distribution Water Operator Water Operator	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411	Class C  Class B  Class A  Class C	Method of Allocation See Footnote
tevens te	carl Carl Carl Carl Ele (Water) First Name Charles, Joe William William John Gary Gary Martin Micheal Darrell William William William William William	Employee Title  Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech ! Facility Operator !! Facility Operator ! Utility Tech !! Utility Tech !! Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	Wastewater Collection Technician  Certification Description  None Water Operator- Florida Wastewater Operator - Florida COL Water Distribution Water Operator- Florida Water Distribution Water Distribution Water Distribution Operator Water Distribution Water Distribution Water Distribution Water Operator Water Operator Water Operator Wastewater Operator	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889	Class C Class C Class B Class A Class A Class C	Method of Allocation See Footnote
Stevens Steven	carl Carl Carl Carl First Name Charles, Joe William William John Gary Gary Martin Micheal Darrell Wilkiam Wilkiam Wilkiam Wilkiam Wilkiam Wilkiam Todd	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech II Utility Tech II Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator Utility Tech III	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Certification Description None Water Operator- Florida Water Operator - Florida CDL Water Distribution Water Operator Water Operator Water Operator Water Operator Water Operator Water Distribution Technician Wastewater Collections Operator Water Distribution Wastewater Collections Operator Water Operator Water Operator Wastewater Operator None	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184	Class C Class C Class B Class A Class A Class C	Method of Allocatio See Footnote
Stevens Steven	carl Carl Carl Carl Carl First Name Charles, Joe William William John Gary Gary Martin Micheal Darrell William William William William William William Todd John	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech II Utility Tech II Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Utility Tech II Serior Facility Operator Utility Tech II Serior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Collection Technician  Certification Description  None Water Operator - Florids Wastewater Operator - Florids CDL Water Distribution Water Operator Water Operator - Florida Water Operator Water Operator - Florida Water Distribution Water Distribution Water Distribution Water Distribution Water Distribution Water Operator Wastewater Operator None Water Operator - Florida	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184	Class C Class C Class A Class A Class C	Method of Allocatio See Footnote
irand Terrac ast Name loyd containe containe containe urlow dissick dissick dissick leal kuston weat rendel rendel rendel rendel vestrick	carl Carl Carl Carl First Name Charles, Joe William William John Gary Gary Martin Micheal Darrell Wilkiam Wilkiam Wilkiam Wilkiam Wilkiam Wilkiam Todd	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech II Utility Tech II Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator Utility Tech III	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Certification Description None Water Operator- Florida Water Operator - Florida CDL Water Distribution Water Operator - Florida Water Operator Water Operator Water Operator Water Operator - Florida Water Operator Water Distribution Technician Wastewater Collections Operator Water Distribution Water Operator Water Operator Water Operator Wastewater Operator None	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184	Class C Class C Class B Class A Class A Class C	Method of Allocatio See Footnote
irand Terrac ast Name loyd ontaine ontaine ontaine urlow issick leal tuston weat rendel rendel rendel rendel rendel vestrick vorrell	carl Carl Carl Carl Carl First Name Charles, Joe William William John Gary Gary Martin Micheal Darrell William William William William William Todd John John	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech II Utility Tech II Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator Utility Tech II Serior Facility Operator Utility Tech II Serior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator - Florida Water Operator - Florida CDL Water Distribution Water Operator - Florida Water Distribution Technician Wastewater Collections Operator Water Distribution Water Operator Water Operator None Water Operator - Florida Wastewater Operator - Florida	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184  0006597 0007243	Class C Class C Class B Class A Class A Class C	Method of Allocation See Footnote
irand Terrac ast Name loyd ordaine font	carl Carl Carl Carl Carl First Name Charles, Joe William John Gary Gary Martin Micheal Darrell William William William William William William William William Todd John John	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Tech II Utility Tech II Utility Tech III Senior Facility Operator Utility Tech II Senior Facility Operator Utility Tech II Senior Facility Operator Utility Tech II Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator- Florida Water Operator- Florida CDL Water Obstribution Water Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Water Distribution Water Distribution Water Distribution Technician Wastewater Collections Operator Water Distribution Water Operator Water Operator None Water Operator - Florida Wastewater Operator - Florida Certification Description	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184	Class C Class C Class A Class A Class C	Method of Allocation See Footnote
irand Terrac ast Name loyd ontaine ontaine urlow issick issick issick ieal tuston weat rendel rendel rendel rendel rendel vestrick Vorrell	carl Carl Carl Carl Carl First Name Charles, Joe William William John Gary Gary Martin Micheal Darrell William William William William William Todd John John	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech II Utility Tech II Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator Utility Tech II Serior Facility Operator Utility Tech II Serior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	Gertification Description None Water Operator- Florids Wastewater Operator - Florids COL Water Distribution Water Operator - Florida Water Operator- Florida Water Operator- Florida Water Distribution Technician Wastewater Collections Operator Water Distribution Water Operator Water Operator Wastewater Operator Wastewater Operator None Water Operator - Florida Wastewater Operator - Florida Certification Description None	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184  0006597 0007243	Class C Class C Class B Class A Class A Class C	Method of Allocation See Footnote
itevens iteven	carl Carl Carl Carl Carl First Name Charles, Joe William John Gary Gary Martin Micheal Darrell William William William William William William William William Todd John John	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Tech II Utility Tech II Utility Tech III Senior Facility Operator Utility Tech II Senior Facility Operator Utility Tech II Senior Facility Operator Utility Tech II Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator- Florida Water Operator- Florida CDL Water Obstribution Water Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Water Distribution Water Distribution Water Distribution Technician Wastewater Collections Operator Water Distribution Water Operator Water Operator None Water Operator - Florida Wastewater Operator - Florida Certification Description	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184  0006597 0007243	Class C Class C Class B Class A Class A Class C	Method of Allocation See Footnote
irand Terrac ast Name loyd ontaine ontaine ontaine ontaine ontaine ortaine urlow issick leal tuston weat rendel rendel rendel rendel rendel vestrick vorrell vorrell daines Creek ast Name loyd ontaine	carl Carl Carl Carl Carl Carl Carl First Name Charles, Joe William William John Gary Gary Martin Micheal Darrell William William William William William Todd John John Carles Charles, Joe Charles, Joe	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech ! Facility Operator !! Facility Operator ! Utility Tech !! Senior Facility Operator Utility Tech !! Senior Facility Operator Utility Tech !! Senior Facility Operator Senior Facility Operator Utility Tech !! Senior Facility Operator Senior Facility Operator	Duties and Reeponsibilities  See Appedix for descriptions as per job title	Gertification Description None Water Operator- Florids Wastewater Operator - Florids COL Water Distribution Water Operator - Florida Water Operator- Florida Water Operator- Florida Water Distribution Technician Wastewater Collections Operator Water Distribution Water Operator Water Operator Wastewater Operator Wastewater Operator None Water Operator - Florida Wastewater Operator - Florida Certification Description None	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184  0006597 0007243  Certification No.	Class C Class C Class B Class A Class A Class C	Method of Allocation See Footnote
Stevens Steven	carl Carl Carl Carl Carl Carl First Name Charles, Joe William William John Gary Gary Martin Micheal Darrell William Charles, Joe William	Employee Title Lead Maintenance Technician Field Coordinator Utility Tech I Facility Operator II Utility Tech II Utility Tech II Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator Utility Tech II Senior Facility Operator Utility Tech II Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator- Florids Wastewater Operator - Florids CDL Water Distribution Water Operator - Florida Water Operator Water Operator - Florida Water Distribution Water Distribution Technician Wastewater Collections Operator Water Distribution Water Distribution Water Operator Water Operator Wastewater Operator None Water Operator- Florida  Certification Description None Water Operator- Florida	2709  Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184  0006597 0007243  Certification No.	Class C Class C Class B Class A Class A Class C	Method of Allocatio See Footnote

Last Name	(Water)(Continue First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
Rodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
luston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
weat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
Vestrick	Todd	Utility Tech II	See Appedix for descriptions as per job title	None	5555		See Footnote
Vorrelt	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Norrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
		Contact addity Operator	Con reportation accomplishes as per los and	Transition operator - Forma	0001240	01049 B	
larmony Hor				<u> </u>			
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
Эгау	Roger	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0014574	Class C	See Footnote
ay	Roger	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0014198	Class C	See Footnote
<b>AcCarthy</b>	Terence	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0004617	Class C	See Footnote
AcNair	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
Ortiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1271	Class C	See Footnote
ortiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Backflow Prevention	n/a	n/a	See Footnote
Rodríguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
Sweat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
Frendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collections Operator	3155	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Distribution	2889	Class C	See Footnote
		Senior Facility Operator	See Appedix for descriptions as per lob title	Water Operator	0006411	Class C	See Footnote
rendel rendel	William William	Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator Wastewater Operator	0006411 0009184	Class C Class A	See Footnote See Footnote
rendel rendel lermits Cove ast Name	William William (Water) First Name	Senior Facility Operator  Employee Title	See Appedix for descriptions as per job title  Duties and Responsibilities	Wastewater Operator  Certification Description			See Foolnote  Method of Allocatio
Frendel Frendel Hermits Cove Last Name Boas	William William (Water) First Name Lester	Senior Facility Operator  Employee Titte  Utility Tech II	See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title	Wastewater Operator  Certification Description  None	0009184  Certification No.	Class A  Certification Level	See Footnote  Method of Allocatio  See Footnote
Frendel Frendel Hermits Cove Last Name Boas Haring	William William (Water) First Name Lester John	Senior Facility Operator  Employee Titte  Utility Tech II Senior Facility Operator	See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator  Certification Description  None  Water Operator	0009184  Certification No.  0014091	Class A  Certification Level  Class B	Method of Allocatio See Footnote See Footnote
Frendel Frendel Hermits Cove Last Name Boas Haring Haring	William William (Water) First Name Lester John	Senior Facility Operator  Employee Titte  Utility Tech II Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator  Certification Description None Water Operator Wastewater Operator	0009184  Certification No.	Class A  Certification Level  Class B  Class B	Method of Allocatio See Footnote See Footnote See Footnote
Frendel Frendel Hermits Cove Last Name Boas Haring Haring	William William  (Water) First Name Lester John John Ralph	Employee Title Utility Tech II Senior Facility Operator Senior Facility Operator Facility Operator Facility Operator II	Duties and Responsibilities  See Appedix for descriptions as per job title	Wastewater Operator  Certification Description  None  Water Operator	0009184 Certification No. 0014091 0012476	Class A  Certification Level  Class B  Class B  Class B	Method of Allocatio See Footnote See Footnote See Footnote See Footnote
Frendel Frende	William William (Water) First Name Lester John John Ralph Ralph	Employee Title Utility Tech II Senior Facility Operator Senior Facility Operator Facility Operator Facility Operator II Facility Operator II	Duties and Responsibilities  See Appedix for descriptions as per job title	Wastewater Operator  Certification Description None Water Operator Wastewater Operator	0009184  Certification No.  0014091 0012476 0007527	Class A  Certification Level  Class B  Class B  Class B  Class C	Method of Allocation See Footnote See Footnote See Footnote See Footnote See Footnote See Footnote
Frendel Frende	William William  (Water) First Name Lester John John Ralph Ralph Ralph	Employee Title  Utility Tech II Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Facility Operator II	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator Wastewater Operator CDL	0009184 Certification No. 0014091 0012476	Class A  Certification Level  Class B  Class B  Class B	Method of Allocatio See Footnote
Frendel Frende	William William  (Water) First Name Lester John John Ralph Ralph Ralph Wesley	Employee Title Utity Tech II Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Facility Operator II Utity Tech I	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Certification Description None Water Operator Wastewater Operator CDL Water Treatment	0009184  Certification No.  0014091 0012476 0007527	Class A  Certification Level  Class B  Class B  Class B  Class C	Method of Allocatio See Footnote
Frendel Frende	William William  (Water) First Name Lester John Ralph Ralph Ralph Wesley Bemardo	Employee Title Utility Tech II Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Facility Operator II Utility Tech I Maintenance Manager	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None None	0009184 Certification No. 0014091 0012476 0007527 0009320	Class A  Certification Level  Class B  Class B  Class B  Class C  Class C	Method of Allocatio See Footnote
Frendel Frende	William William William First Name Lester John John Ralph Ralph Ralph Wesley Bernardo Carl	Employee Titte  Utility Tech II Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Facility Tech II Maintenance Manager Maintenance Tech	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Certification Description None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None None Backflow Prevention License	0009184  Certification No.  0014091 0012476  0007527 0009320  A03-06-6479	Class A  Certification Level  Class B  Class B  Class C  Class C	Method of Allocation See Footnote
Frendel Frende	William William  P (Water) First Name Lester John John Ralph Ralph Ralph Wesley Bernardo Carl	Employee Titte  Utility Tech II Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Utility Tech I Maintenance Manager Maintenance Tech Maintenance Tech	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None None	0009184  Certification No.  0014091 0012476  0007527 0009320  A03-06-5479 2086	Class A  Certification Level  Class B Class B Class C Class C Class C	Method of Allocatio See Footnote
rendel frendel	William William First Name Lester John John Ralph Ralph Ralph Wesiey Bernardo Carl Carl Carl	Employee Title Utity Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator II Facility Operator II Facility Operator II Facility Operator II Utity Tech I Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None None Backflow Prevention License	0009184  Certification No.  0014091 0012476  0007527 0009320  A03-06-6479	Class A  Certification Level  Class B  Class B  Class C  Class C  n/a  Class C  Class C	Method of Allocatio See Footnote
Frendel Frende	William William  First Name Lester John Ralph Ralph Wesley Bernardo Carl Carl Paul	Employee Titte  Utility Tech II Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Utility Tech I Maintenance Manager Maintenance Tech Maintenance Tech	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None None Backflow Prevention License Water Distribution	0009184  Certification No.  0014091 0012476  0007527 0009320  A03-06-5479 2086	Class A  Certification Level  Class B Class B Class C Class C  Class C	Method of Allocatio See Footnote
Frendel Frende	William William First Name Lester John John Ralph Ralph Ralph Wesiey Bernardo Carl Carl Carl	Employee Title Utity Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator II Facility Operator II Facility Operator II Facility Operator II Utity Tech I Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Certification Description None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Backflow Prevention License Water Distribution Wastewater Collection Technician	0009184  Certification No.  0014091 0012476 0007527 0009320  A03-06-6479 2086 2709	Class A  Certification Level  Class B  Class B  Class C  Class C  n/a  Class C  Class C	Method of Allocatio See Footnote
Frendel Frende	William William  First Name Lester John Ralph Ralph Wesley Bernardo Carl Carl Paul	Employee Title Utity Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator II Facility Operator II Facility Operator II Facility Operator II Utity Tech I Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Field Coordinator	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Certification Description None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida	0009184  Certification No.  0014091 0012476  0007527 0009320  A03-06-5479 2086 2709 0007251	Class A  Certification Level  Class B  Class B  Class C  Class C  Class C  Class C  Class C  Class C	Method of Allocation See Footnote
Frendel Frende	William William  Pirst Name Lester John John Ralph Ralph Ralph Westey Bernardo Carl Carl Carl Carl Paul Paul	Employee Title Utility Tech II Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Facility Tech I Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Field Coordinator Field Coordinator	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida	0009184  Certification No.  0014091 0012476  0007527 0009320  A03-06-5479 2086 2709 0007251	Class A  Certification Level  Class B  Class B  Class C  Class C  Class C  Class C  Class C  Class C	Method of Allocatio See Footnote
Frendel Frende	William William  P (Water) First Name  Lester John John Ralph Ralph Ralph Wesley Bernardo Carl Carl Carl Paul Paul Daniel	Employee Title Utity Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Utility Tech I Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Field Coordinator Utility Tech II	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None None Backflow Prevention License Water Distribution Wastewater Colection Technician Water Operator - Florida Wastewater Operator - Florida None	0009184  Certification No.  0014091 0012476  0007527 0009320  A03-06-5479 2088 2709 0007251 0004894	Class A  Certification Level  Class B  Class B  Class C  Class C  Class C  Class C  Class C  Class C  Class A	Method of Allocation See Footnote
frendel frende	William William  Port Name Lester John John Ralph Ralph Wesley Bernardo Carl Carl Carl Carl Paul Paul Daniel  Water) First Name	Employee Title  Utility Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator II Facility Operator II Facility Operator II Facility Operator II Utility Tech I Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Field Coordinator Utility Tech II  Employee Title	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida None Certification Description	0009184  Certification No.  0014091 0012476  0007527 0009320  A03-06-5479 2086 2709 0007251	Class A  Certification Level  Class B  Class B  Class C  Class C  Class C  Class C  Class C  Class C	Method of Allocatio See Footnote
Frendel Frende	William William  William  William  Lester John John Ralph Ralph Wesley Bernardo Carl Carl Carl Carl Paul Paul Daniel  Water) First Name Charles, Joe	Employee Title Utity Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator II Utity Tech I Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Field Coordinator Utility Tech II  Employee Title Lead Maintenance Technician	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida None  Certification Description None	0009184  Certification No.  0014091 0012476 0007527 0009320  A03-06-5479 2088 2709 0007251 0004894  Certification No.	Class A  Certification Level  Class B Class B Class C Class A Class A	Method of Allocatio See Footnote
Frendel Frende	William William William  First Name Lester John Ralph Ralph Ralph Wesley Bernardo Carl Carl Carl Paul Paul Paul Daniel  Water) First Name Charles, Joe William	Employee Title Utility Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator II Facility Operator II Facility Operator II Facility Operator II Utility Tech I Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Field Coordinator Utility Tech II  Employee Title Lead Maintenance Technician Field Coordinator	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida None  Certification Description None Water Operator - Florida	0009184  Certification No.  0014091 0012476 0007527 0009320  A03-06-5479 2086 2709 0007251 0004894  Certification No.  0008813	Class A  Certification Level  Class B Class B Class C Class C  Class C  Class C  Class C  Class C  Class A  Class A  Class A	Method of Allocatio See Footnote
Frendel Frende	William William William  P (Water) First Name  Lester John John Ralph Ralph Ralph Wesley Bernardo Carl Carl Carl Carl Paul Daniel  Water) First Name Charles, Joe William	Senior Facility Operator  Employee Title  Utility Tech II  Senior Facility Operator Senior Facility Operator II Utility Tech II  Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Field Coordinator Field Coordinator Utility Tech II  Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Field Coordinator Field Coordinator	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Backflow Prevention License Water Distribution Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None  Certification Description None Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida	0009184  Certification No.  0014091 0012476  0007527 0009320  A03-06-5479 2088 2709 0007251 0004894  Certification No.  0008813 0007113	Class A  Certification Level  Class B  Class B  Class C  Class C  Class C  Class C  Class C  Class C  Class A  Class A  Class A	Method of Allocatio See Footnote
frendel frende	William William  (Water) First Name Lester John John Ralph Ralph Wesley Bernardo Carl Carl Carl Carl Paul Paul Daniel  Water) First Name Charles, Joe William William John	Employee Title  Utility Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Facility Operator II Utility Tech I Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Field Coordinator Utility Tech II  Employee Title Lead Maintenance Technician Field Coordinator Utility Tech II  Utility Tech II	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida None  Certification Description None Water Operator - Florida Wastewater Operator - Florida Collection Description None Water Operator - Florida Wastewater Operator - Florida COL	0009184  Certification No.  0014091 0012476 0007527 0009320  A03-06-5479 2088 2709 0007251 0004894  Certification No.  0008813 0007113 30213258	Class A  Certification Level  Class B Class B Class C Class A Class A	Method of Allocatio See Footnote
Frendel Frende	William William  William  Villiam  Lester John John Ralph Ralph Wesiey Bernardo Carl Carl Carl Carl Paul Daniel  Water) First Name Charles, Joe William William John Martin	Senior Facility Operator  Employee Titte Utity Tech II Senior Facility Operator Senior Facility Operator II Utity Tech I Maintenance Manager Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Field Coordinator Utility Tech II  Employee Titte Lead Maintenance Technician Field Coordinator Utility Tech II  Facility Operator I Facility Operator I	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator Watsewater Operator CDL Water Treatment Wastawater Operator - Florida None Backflow Prevention License Water Distribution Wastawater Collection Technician Water Operator - Florida Wastawater Operator - Florida None  Certification Description None Water Operator - Florida Wastawater Operator - Florida CDL Water Operator - Florida CDL Water Operator - Florida CDL Water Operator - Florida	0009184  Certification No.  0014091 0012476 0007527 0009320  A03-06-5479 2086 2709 0007251 0004894  Certification No.  0008813 0007113 30213258 0010027	Class A  Certification Level  Class B Class B Class C Class C  Class C  Class C  Class C  Class C  Class C  Class C  Class C  Class C  Class A  Class A  Class A	Method of Allocation See Footnote
Frendel Frende	William William  (Water) First Name Lester John John Ralph Ralph Wesley Bernardo Carl Carl Carl Carl Paul Paul Daniel  Water) First Name Charles, Joe William William John	Employee Title  Utility Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Facility Operator II Utility Tech I Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Field Coordinator Utility Tech II  Employee Title Lead Maintenance Technician Field Coordinator Utility Tech II  Utility Tech II	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None None Backflow Prevention License Water Distribution Wastewater Collection Technician Water Operator - Florida Wastewater Operator - Florida None  Certification Description None Water Operator - Florida Wastewater Operator - Florida Collection Description None Water Operator - Florida Wastewater Operator - Florida COL	0009184  Certification No.  0014091 0012476 0007527 0009320  A03-06-5479 2088 2709 0007251 0004894  Certification No.  0008813 0007113 30213258	Class A  Certification Level  Class B Class B Class C Class A Class A	Method of Allocatio See Footnote

Utility Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator  Employee Title Senior Facility Operator Senior Facility Operator Utility Tech I Field Coordinator Field Coordinator Utility Tech II  Employee Title	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title  Duties and Responsibilities See Appedix for descriptions as per job title	None Water Operator - Florida Wastewater Operator - Florida  Certification Description Water Operator Wastewater Operator None Water Operator - Florida Wastewater Operator - Florida None	0006597 0007243 Certification No. 0014091 0012476 0007251 0004894	Class C Class B  Certification Level Class B Class B	See Footnote See Footnote See Footnote Method of Allocation See Footnote
Senior Facility Operator  Employee Title Senior Facility Operator Senior Facility Operator Utility Tech I Fleid Coordinator Field Coordinator Utility Tech II  Employee Title	Duties and Responsibilities  See Appedix for descriptions as per job title	Wastewater Operator - Florida  Certification Description  Water Operator Wastewater Operator None Water Operator- Florida Wastewater Operator - Florida	0007243 	Class B  Certification Level Class B	See Footnote  Method of Allocation See Footnote
Employee Title Senior Facility Operator Senior Facility Operator Utility Tech I Field Coordinator Field Coordinator Utility Tech II	Duties and Responsibilities See Appedix for descriptions as per job title	Certification Description Water Operator Wastewater Operator None Water Operator- Florida Wastewater Operator - Florida	Certification No. 0014091 0012476 0007251	Certification Level Class B	Method of Allocatio
Senior Facility Operator Senior Facility Operator Utility Tech I Fleid Coordinator Fleid Coordinator Utility Tech II  Employee Title	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator Wastewater Operator None Water Operator- Florida Wastewater Operator - Florida	0014091 0012476 0007251	Class B	See Footnote
Senior Facility Operator Senior Facility Operator Utility Tech I Fleid Coordinator Fleid Coordinator Utility Tech II  Employee Title	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator Wastewater Operator None Water Operator- Florida Wastewater Operator - Florida	0014091 0012476 0007251	Class B	See Footnote
Senior Facility Operator Utility Tech I Fleid Coordinator Fleid Coordinator Utility Tech II  Employee Title	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator None Water Operator- Florida Wastewater Operator - Florida	0012478 0007251		
Utility Tech I Fleld Coordinator Fleld Coordinator Utility Tech II  Fr) Employee Title	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Water Operator- Florida Wastewater Operator - Florida	0007251	Class B	
Fleid Coordinator Field Coordinator Utility Tech II  Fr) Employee Title	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator- Florida Wastewater Operator - Florida			See Footnote
Field Coordinator Utility Tech II  or) Employee Title	See Appedix for descriptions as per job title	Wastewater Operator - Florida			See Footnote
Utility Tech II			0004894	Class A	See Footnote
or) Employee Title	See Appedix for descriptions as per job title	None	TATAL SALES	Class A	See Footnote
Employee Title					See Footnate
	*				
	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
Utility Tech II	See Appedix for descriptions as per Job title	None			See Footnote
Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Class B	See Footnote
Facility Operator II	See Appedix for descriptions as per job title	CDL		Class B	See Footnote
Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007527	Class C	See Footnote
Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0009320	Class C	See Footnote
Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2066	Class C	See Footnote
Makstenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0004894	Class A	See Footnote
Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
/ater)					
Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
e Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
Fleid Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
Facility Operator II	Sea Appedix for descriptions as per job title	Water Distribution	589	Class A	See Footnote
Facility Operator II	See Appedix for descriptions as per job title	Water Operator	0007846	Class C	See Footnote
Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
					See Footnote
					See Footnote
Senior Facility Operator					See Footnote
					See Footnote
Senior Facility Operator					See Footnote
Senior Facility Operator Senior Facility Operator			0000107	Orace A	See Footnote
Senior Facility Operator Senior Facility Operator Senior Facility Operator			0008507	Close C	See Footnote
Senior Facility Operator Senior Facility Operator Senior Facility Operator Utity Tech II					See Footnote
	Senior Facility Operator Senior Facility Operator Utity Tech II Senior Facility Operator	Senior Facility Operator Senior Gescriptions as per job title Senior Facility Operator Senior Gescriptions as per job title Senior Facility Operator Senior Gescriptions as per job title Senior Facility Operator	Senior Facility Operator See Appedix for descriptions as per job title Utity Tech II See Appedix for descriptions as per job title Senior Facility Operator See Appedix for descriptions as per job title Senior Facility Operator See Appedix for descriptions as per job title Wastewater Operator Wastewater Collections Operator Water Operator Wastewater Operator Wastewater Operator	Senior Facility Operator See Appedix for descriptions as per job title Senior Facility Operator See Appedix for descriptions as per job title Senior Facility Operator See Appedix for descriptions as per job title Senior Facility Operator See Appedix for descriptions as per job title Utity Tech II See Appedix for descriptions as per job title Senior Facility Operator See Appedix for descriptions as per job title Senior Facility Operator See Appedix for descriptions as per job title Senior Facility Operator See Appedix for descriptions as per job title Water Operator O009184 None O006597	Senior Facility Operator See Appedix for descriptions as per job title Water Distribution 2889 Class C Senior Facility Operator See Appedix for descriptions as per job title Water Distribution 2889 Class C Senior Facility Operator See Appedix for descriptions as per job title Water Operator 0006411 Class C Senior Facility Operator See Appedix for descriptions as per job title Utity Tech II See Appedix for descriptions as per job title None See Appedix for descriptions as per job title Water Operator 0006597 Class C

nterlachen L Last Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
oas	Lester	Utility Tech II	See Appedix for descriptions as per job title	None		•	See Footnote
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
aring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
aring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Class B	See Footnote
larriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	CDL		Class B	See Footnote
larriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007527	Class C	See Footnote
lamiott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0009320	Class C	See Footnote
IcNair	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
lodriquez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per lob title	Wastewater Collection Technician	2709	Class C	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0004894	Class A	See Footnote
Veaver	Daniel	Utility Tech II	See Appedix for descriptions as per job title	None	0004054	CAUCIT	See Footnote
	Sulle.	duay rown	Coo Appear to Good provide do per jos aco	1441.0			000 / 000.0.0
ark Manor (						<u> </u>	
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
oas	Lester	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
(cNair	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
lodriguez	Bemardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
tevens	Cart	Maintenance Tech	See Appeals for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
							See Footnote
	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Waştewater Collection Technician	2709	Class C	266 LOORING
Stevens Weaver	Carl Daniel	Maintenance Tech Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Collection Technician None	2709	Class C	See Footnote
tevens Veaver	Daniel				2709	Class C	
tevens Veaver	Daniel Wastewateri	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
tevens Veaver Park Manor (1 ast Name	Daniel Wastewater) First Name	Utility Tech II  Employee Title	See Appedix for descriptions as per job title  Duties and Responsibilities	None  Certification Description	2709  Certification No.	Class C	See Footnote  Method of Allocation
tevens Veaver Park Manor (1 ast Name	Daniel Wastewaterj First Name Lester	Utility Tech II  Employee Title  Utility Tech II	See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description None			See Footnote  Method of Allocatio  See Footnote
tevens Veaver Park Manor (1 ast Name loas	Daniel  Wastewater; First Name Lester Charles, Joe	Utility Tech II  Employee Title  Utility Tech II  Lead Maintenance Technician	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title	None  Certification Description None None	Certification No.	Certification Level	Method of Allocatio See Footnote See Footnote
levens Veaver ark Manor (1 ast Name oas coyd	Daniel Wastewater; First Name Lester Charles, Joe John	Employee Title Utility Tech II Lead Maintenance Technician Senior Facility Operator	See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title	Certification Description None None Water Operator	Certification No.	Certification Level Class B	Method of Allocatio See Footnote See Footnote See Footnote See Footnote
evens Veaver  ark Manor ( ast Name  cas coyd laring laring	Daniel  Wastewater; First Name Lester Charles, Joe John	Employee Title Utility Tech II Lead Maintenance Technician Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None None Water Operator Wasiewater Operator	Certification No.	Centification Level Class B Class B	Method of Allocation See Footnote See Footnote See Footnote See Footnote See Footnote
ark Manor (1 ast Name cas cos coyd laring laring	Daniel  Wastewater; First Name  Lester Charles, Joe John John Raiph	Employee Title Utility Tech II Lead Markenance Technician Senior Facility Operator Senior Facility Operator Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None None Water Operator Wastewater Operator CDL	Certification No. 0014091 0012476	Certification Level  Class B  Class B  Class B	Method of Allocatio See Footnote See Footnote See Footnote See Footnote See Footnote See Footnote
tevens Vezver  ark Manor (1 ast Name loas loas loyd laring farriott darriott	Daniel  Wastewater; First Name  Lester Charles, Joe John John Raiph Raiph	Employee Title Utility Tech II Lead Maintenance Technician Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None None Water Operator Wastewater Operator CDL Water Treatment	Certification No.  0014091 0012476 0007527	Certification Level  Class B  Class B  Class B  Class C	Method of Allocation See Footnote
levens Vezver  ark Manor (1 art Name loas loyd laring laring laring flariott flariott flariott	Daniel  Wastewater; First Name Lester Charles, Joe John John Raiph Raiph Raiph	Employee Title Utility Tech II Lead Markenance Technician Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description None None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida	Certification No. 0014091 0012476	Certification Level  Class B  Class B  Class B	Method of Allocation See Footnote
ark Manor (1 ast Name loas loyd laring faring fariott fariott fariott fariott fariott fariott fariott	Wastewater; First Name Lester Charles, Joe John John Raiph Raiph Raiph Bemardo	Employee Title Utility Tech II Lead Maintenance Technician Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Maintenance Manager	Duties and Responsibilities  Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None	Certification No.  0014091 0012476 0007527 0009320	Class B Class B Class B Class C Class C	Method of Allocation See Footnote
ark Manor (1 ast Name loas loyd laring farriott farriott farriott farriott fodriguez 'hompson	Wastewater) First Name Lester Charles, Joe John John Raiph Raiph Raiph Bemardo Paul	Employee Title Utility Tech II Lead Maixtenance Technician Senlor Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Water Operator - Florida	Certification No.  0014091 0012478 0007527 0009320 0007251	Certification Level  Class B Class B Class C Class C Class C	Method of Allocation See Footnote
eark Manor (tast Name loas loas loyd laring laring laring famiott	Daniel  Wastewater; First Name  Lester Charles, Joe John John Ralph Ralph Ralph Bemardo Paul Paul	Employee Title  Utility Tech II Lead Maixtenance Technician Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Maintenance Field Coordinator Field Coordinator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  None  Water Operator  Watewater Operator  CDL  Water Treatment  Wastewater Operator - Florida  None  Water Operator - Florida  Wastewater Operator - Florida	Certification No.  0014091 0012476 0007527 0009320	Class B Class B Class B Class C Class C	Method of Allocatio See Footnote
eark Manor (tast Name loas loas loyd laring laring laring famiott	Wastewater) First Name Lester Charles, Joe John John Raiph Raiph Raiph Bemardo Paul	Employee Title Utility Tech II Lead Maixtenance Technician Senlor Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Water Operator - Florida	Certification No.  0014091 0012478 0007527 0009320 0007251	Certification Level  Class B Class B Class C Class C Class C	Method of Allocation See Footnote
Park Manor (1 ast Name loas loas loas loyd laring laring laring laring lariott Aarriott Aarriott Aarriott Codriguez Thompson Veaver	Wastewater) First Name Lester Charles, Joe John John Raiph Raiph Bemardo Paul Paul Daniel	Employee Title  Utility Tech II Lead Maixtenance Technician Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Facility Operator II Maintenance Field Coordinator Field Coordinator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  None  Water Operator  Watewater Operator  CDL  Water Treatment  Wastewater Operator - Florida  None  Water Operator - Florida  Wastewater Operator - Florida	Certification No.  0014091 0012478 0007527 0009320 0007251	Certification Level  Class B Class B Class C Class C Class C	Method of Allocation See Footnote
ark Manor (tast Name oas oyd aaring aring lamiott lamiott lamiott lamiott lamiott lamiott vodriguez hompson keaver	Wastewater; First Name Lester Charles, Joe John Raiph Raiph Raiph Bemardo Paul Paul Daniel  es (Water) First Name	Employee Title  Utility Tech II  Lead Maintenance Technician Senior Facility Operator Senior Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator Field Coordinator Utility Tech II  Employee Title	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  None  Water Operator  Wastewater Operator  COL  Water Treatment  Wastewater Operator - Florida  None  Water Operator - Florida  Wastewater Operator - Florida  None  Certification Description	Certification No.  0014091 0012478 0007527 0009320 0007251	Certification Level  Class B Class B Class C Class C Class C	Method of Allocatio See Footnote
ark Manor (tast Name oas oayd aring aring larriott larriott odriguez hompson Weaver	Wastewater; First Name Lester Charles, Joe John Ralph Ralph Ralph Bernardo Paul Paul Daniel  s (Water) First Name Santo	Employee Title  Utility Tech II  Lead Maintenance Technician Senior Facility Operator Senior Facility Operator II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator Field Coordinator Utility Tech II	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Water Operator - Florida Wastewater Operator - Florida None Certification Description None	Certification No.  0014091 0012478 0007527 0009320 0007251 0004894  Certification No.	Class B Class B Class B Class C Class C Class C Class C	Method of Allocatio See Footnote
ark Manor (1 ast Name oas oyd aring aring aring aring tarriott tar	Daniel  Wastewater; First Name  Lester Charles, Joe John John Raiph Raiph Bernardo Paul Paul Daniel  es (Water) First Name Santo Steve	Employee Title  Utility Tech II  Lead Maintenance Technician Senlor Facility Operator Senlor Facility Operator Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator Itility Tech II  Employee Title Utility Tech II Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Water Operator - Florida Wastewater Operator - Florida None  Certification Description None Water Operator - Florida	Certification No.  0014091 0012476 0007527 0009320 0007251 0004894  Certification No.	Class B Class B Class B Class C Class C Class C Class A Class A	Method of Allocatio See Footnote
ark Manor (tast Name ooss oyd laring laring laring lariott larriott larriott larriott hompson weaver	Daniel  Wastewater; First Name  Lester Charles, Joe John John Ralph Ralph Ralph Bernardo Paul Daniel  es (Water) First Name Santo Steve	Employee Title  Utility Tech II Lead Maintenance Technician Sentor Facility Operator Sentor Facility Operator Facility Operator II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator Field Coordinator Utility Tech II  Employee Title  Utility Tech I Sentor Facility Operator Sentor Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  None  Water Operator  Wastewater Operator  COL  Water Treatment  Wastewater Operator - Florida  None  Water Operator - Florida  None  Certification Description  None  Water Operator - Florida  Wastewater Operator - Florida  Wastewater Operator - Florida	Certification No.  0014091 0012476 0007527 0009320 0007251 0004894  Certification No.  0007519 0008937	Certification Level  Class B Class B Class B Class C Class C Class C Class A Class A Class A	Method of Allocatio See Footnote
ark Manor (tast Name ooss oyd laring laring laring laringt lariott lar	Daniel  Wastewater; First Name  Lester Charles, Joe John John Raiph Raiph Bernardo Paul Paul Daniel  es (Water) First Name Santo Steve	Employee Title  Utility Tech II  Lead Maintenance Technician Senlor Facility Operator Senlor Facility Operator Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator Itility Tech II  Employee Title Utility Tech II Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Water Operator - Florida Wastewater Operator - Florida None  Certification Description None Water Operator - Florida	Certification No.  0014091 0012476 0007527 0009320 0007251 0004894  Certification No.  0007519 0008937 0014147	Class B Class B Class B Class C Class C Class C Class A Class A Class A	Method of Allocation See Footnote
ark Manor (tast Name oas oyd aring aring tarriott tarriott tarriott odriguez hompson hompson veaver asmine Lake ast Name lemarco uller uller lostetler	Daniel  Wastewater; First Name  Lester Charles, Joe John John Ralph Ralph Ralph Bernardo Paul Daniel  es (Water) First Name Santo Steve	Employee Title  Utility Tech II Lead Maintenance Technician Sentor Facility Operator Sentor Facility Operator Facility Operator II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator Field Coordinator Utility Tech II  Employee Title  Utility Tech I Sentor Facility Operator Sentor Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  None  Water Operator  Wastewater Operator  COL  Water Treatment  Wastewater Operator - Florida  None  Water Operator - Florida  None  Certification Description  None  Water Operator - Florida  Wastewater Operator - Florida  Wastewater Operator - Florida	Certification No.  0014091 0012476 0007527 0009320 0007251 0004894  Certification No.  0007519 0008937	Certification Level  Class B Class B Class B Class C Class C Class C Class A Class A Class A	Method of Allocation See Footnote
ark Manor (tast Name oas oyd aring aring larriott larriot	Wastewater; First Name Lester Charles, Joe John Raiph Raiph Raiph Bemardo Paul Paul Daniel  es (Water) First Name Santo Steve Oonald	Employee Title  Utility Tech II Lead Maintenance Technician Sentor Facility Operator Sentor Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator Field Coordinator Utility Tech II Sentor Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None None None None Water Operator Wastewater Operator - Florida None Water Operator - Florida None Water Operator - Florida None Water Operator - Florida None Certification Description None Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida	Certification No.  0014091 0012476 0007527 0009320 0007251 0004894  Certification No.  0007519 0008937 0014147	Class B Class B Class B Class C Class C Class C Class A Class A Class A	Method of Allocation See Footnote
ark Manor (1 ast Name oas oas oyd aring aring aring aring tarriott tarriott tarriott tarriott tarriott arriott arriott tarriott t	Daniel  Wastewater; First Name  Lester Charles, Joe John Ralph Ralph Ralph Bernardo Paul Paul Daniel  es (Water) First Name Santo Steve Steve Donald Donald	Employee Title  Utility Tech II  Lead Maintenance Technician Senior Facility Operator Senior Facility Operator II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator Field Coordinator Utility Tech II  Employee Title  Utility Tech I Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description None None Water Operator Wastewater Operator - Florida None Water Treatment Wastewater Operator - Florida None Water Operator - Florida Wastewater Operator - Florida None  Certification Description None Water Operator - Florida Wastewater Operator - Florida	Certification No.  0014091 0012476 0007527 0009320 0007251 0004894  Certification No.  0007519 0008937 0014147 0008035	Class B Class B Class B Class C Class C Class C Class A Class A Class A Class B	Method of Allocation See Footnote
ark Manor (tast Name oose ooyd aring aring lamiott lam	Daniel  Wastewater; First Name  Lester Charles, Joe John John Raiph Raiph Bernardo Paul Paul Daniel  es (Water) First Name Santo Steve Steve Donald Donald Lucas	Employee Title  Utility Tech II  Lead Maixtenance Technician Senlor Facility Operator Senlor Facility Operator II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator Field Coordinator Utility Tech II  Employee Title  Utility Tech II  Senior Facility Operator Utility Tech II	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Water Operator - Florida Wastewater Operator - Florida None  Certification Description None Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida	Certification No.  0014091 0012478 0007527 0009320 0007251 0004894  Certification No.  0007518 0008937 0014147 0008035 4896	Ciass B Ciass B Ciass B Ciass C Ciass C Ciass C Ciass A Ciass A Ciass A Ciass C Ciass C Ciass C Ciass C Ciass B Ciass C Ciass C Ciass C Ciass C Ciass C	Method of Allocation See Footnote
eark Manor (tast Name loas loas loyd laring laring laring famiott	Daniel  Wastewater; First Name  Lester Charles, Joe John Relph Ralph Ralph Bemardo Paul Daniel  es (Water) First Name Santo Steve Donald Dunaid Lucas Dennis	Employee Title  Utility Tech II Lead Markenance Technician Senior Facility Operator Senior Facility Operator II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Field Coordinator Field Coordinator Utility Tech II  Employee Title Utility Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator Utility Tech II Area Coordinator	Duties and Responsibilities  See Appedix for descriptions as per job title	None None None None Water Operator Wastewater Operator CDL Water Treatment Wastewater Operator - Florida None Water Operator - Florida Wastewater Operator - Florida None  Certification Description None Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida	Certification No.  0014091 0012476  0007527 0009320  0007251 0004894  Certification No.  0007519 0008937 0014147 0008035 4896 0006452	Class B Class B Class B Class B Class C Class C Class C Class A Class A Class B Class B Class B Class C Class C Class C	Method of Allocatio See Footnote

#### Aqua Utilities Florida Docket 080121-WS Field Employee List 2007

ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
nahid	Victor	Senior Maintenance Technician	See Appedix for descriptions as per job title	Water Distribution Technician	4051	Class C	See Footnote
osko	Thomas	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
smine Lake	s (Wastewater)						
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0005675	Class C	See Footnote
/ans	David	Utility Tech ##	See Appedix for descriptions as per job title	Wastewater Collection Technician	3404	Class C	See Footnote
/ans	David	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1846	Class C	See Footnate
der	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0007519	Ciass B	See Footnote
iller	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008937	Class B	See Footnote
ostetler	Donald	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator - Florida	0014147	Class C	See Footnote
ostetier	Donald	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008035	Class B	See Footnote
nki	Lucas	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution Technician	4896	Class C	See Footnote
uldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0006452	Class A	See Footnote
uldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0005980	Class C	See Footnote
luldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Distribution Technician	3996	Class C	See Footnote
uldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Wastewater Collection Technician	3722	Class C	See Footnote
odríguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
hahid	Victor	Senior Maintenance Technician	See Appedix for descriptions as per job title	Water Distribution Technician	4051	Class C	See Footnote
osko	Thomas	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
ast Name	First Name Lester	Employee Title Utility Tech II	Outles and Responsibilities See Appedix for descriptions as per job title	Certification Description None	Certification No.	Certification Level	Method of Allocatio
aring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
aring	John	Senior Pacility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Class B	See Footnote
arriott	Raiph	Facility Operator II	See Appedix for descriptions as per job title	CDL	0012470	Class B	See Footnote
larriott	Ratoh	Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007527	Class C	See Footnote
lamott	Ralph	Facility Operator II	See Appedix for descriptions as per lob title	Wastewater Operator - Florida	0007327	Class C	See Footnote
				Trademaia Operator Tropica		CM298 C	OGG LOOKIDIR
chinir		liliëh Tach I	See Assertiv for descriptions as not lob title	None			Pag Cantage
	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None Water Operator, Florida	0007951	Close A	See Footnote
lcNair hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
nompson nompson	Paul Paul	Field Coordinator Field Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator- Florida Wastewater Operator - Florida	0007251 0004894	Class A Class A	See Footnote See Footnote
	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida			See Footnote
hompson hompson Veaver ungle Den (V	Paul Paul Daniel Wastewater)	Field Coordinator Field Coordinator Utility Tach II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None	0004894	Class A	See Footnote See Footnote See Footnote
nompson nompson /eaver ungle Den (V ast Name	Paul Paul Daniel Wastewater) First Name	Field Coordinator Field Coordinator Littlity Tach II  Employee Title	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title Duties and Responsibilities	Water Operator - Florida Wastewater Operator - Florida None  Certification Description			See Footnote See Footnote See Footnote See Footnote
nompson nompson /eaver ungle Den (V ast Name	Paul Paul Daniel  Wastewater) First Name Lester	Field Coordinator Field Coordinator Utility Tech II  Employee Title Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title  Duties and Responsibilities See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None  Certification Description None	0004894	Class A	See Footnote See Footnote See Footnote See Footnote See Footnote
ompson nompson /eaver ingle Den (V ast Name oas	Paul Paul Daniel  Wastewater) First Name Lester Charles, Joe	Field Coordinator Field Coordinator Utility Tech II  Employee Title Utility Tech II Lead Maintenance Technician	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title  Duties and Responsibilities See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None  Certification Description None None	0004894  Certification No.	Class A  Certification Level	See Footnote See Footnote See Footnote See Footnote See Footnote See Footnote
ompson nompson leaver angle Den (V ast Name pas pyd anng	Paul Paul Daniel Wastewater) First Name Lester Charles, Joe John	Field Coordinator Field Coordinator Utility Tech II  Employee Title Utility Tech II Lead Maintenance Technician Senior Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None  Certification Description None None Water Operator	Certification No.	Class A  Certification Level  Class 8	See Footnote
ompson nompson leaver angle Den (V list Name leas noyd aring aring	Paul Paul Daniel  Wastewater) First Name Lester Charles, Joe John	Field Coordinator Field Coordinator Utility Tach II  Employee Title Utility Tach II Lead Maintenance Technician Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None  Certification Description None None Water Operator Wastewater Operator	0004894  Certification No.	Class A  Certification Level	See Footnote
ompson ompson eaver  ingle Den (V ist Name obyd aring ordriguez	Paul Paul Daniel  Mastewater) First Name Lester Charles, Joe John John Bernardo	Field Coordinator Field Coordinator Utility Tech II  Employee Title Utility Tech II Lead Maintenance Technician Senior Facility Operator Maintenance Manager	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title   Duties and Responsibilities  See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None  Certification Description None None Water Operator Wastewater Operator None	0004894 Certification No. 0014091 0012476	Class A  Certification Level  Class B  Class B	See Footnote
nompson reaver  angle Den (V ast Name bas byd aring aring aring aring aring aring	Paul Paul Daniel  Wastewater) First Name Lester Charles, Joe John John Bernardo Carl	Field Coordinator Field Coordinator Utility Tech II  Employee Title Utility Tech II Lead Maintenance Technician Senior Facility Operator Maintenance Manager Maintenance Manager Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None  Certification Description None None Water Operator Wastewater Operator None Backflow Prevention License	0004894  Certification No.  0014091 0012476  A03-08-5479	Class A  Certification Level  Class 8  Class B  n/a	See Footnote
ompson ompson eaver  ungle Den (V sat Name opp opp opp opp opp opp opp opp opp op	Paul Paul Daniel Wastewater) First Name Lester Charles, Joe John John Benardo Carl	Field Coordinator Field Coordinator Utility Tech II  Employee Title Utility Tech II Lead Maintenance Technician Senior Facility Operator Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None Certification Description None None Water Operator Wastewater Operator None Backflow Prevention License Water Distribution	0004894  Certification No.  0014091 0012476  A03-08-5479 2086	Class A  Certification Level  Class B  Class B  n/a Class C	See Footnote
nompson reaver  ungle Den (V sat Name pas payd aring aring aring driguez tevens tevens	Paul Paul Daniel Wastewater) First Name Lester Charles, Joe John John Bernardo Carl Carl	Field Coordinator Field Coordinator Utility Tech II  Employee Title Utility Tech II Lead Maintenance Technician Senior Facility Operator Senior Facility Operator Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech	See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None  Certification Description None None Water Operator Wastewater Operator None Backflow Prevention License Water Distribution Wastewater Collection Technician	0004894  Certification No.  0014091 0012476  A03-08-5479 2086 2709	Class A  Certification Level  Class B  Class B  n/a Class C  Class C	See Footnote
nompson hompson heaver  ungle Den (V hast Name hompson	Paul Paul Daniel Wastewater) First Name Lester Charles, Joe John John Benardo Carl	Field Coordinator Field Coordinator Utility Tech II  Employee Title Utility Tech II Lead Maintenance Technician Senior Facility Operator Maintenance Manager Maintenance Tech Maintenance Tech Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida None Certification Description None None Water Operator Wastewater Operator None Backflow Prevention License Water Distribution	0004894  Certification No.  0014091 0012476  A03-08-5479 2086	Class A  Certification Level  Class B  Class B  n/a Class C	See Footnote

(ings Cove (\	First Name	Employee Title	Duties and Decreasibilities	Carlifortion Description	Cartification No.	Cardiffication I avail	Method of Allocation
ast Name		Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	See Footnote
drich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote
drich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Water Operator Florida	0006368	Class C	
yd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0005813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
ieath	Brian	Area Manager	See Appedix for descriptions as per job title	Water Operator- Florida	0005825	Class C	See Footnate
eath	Brian	Area Manager	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007522	Class C	See Footnote
issick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Distribution	589	Class A	See Footnote
Issick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Operator	0007846	Class C	See Footnote
lichaelsen	Adam	Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
eal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
uston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
weat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
/estrick	Todd	Utility Tech II	See Appedix for descriptions as per job title	None	• •		See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
ings Cove (1 ast Name	Wastewater) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ontaine	William	Fleid Coordinator	See Appedix for descriptions as per lob title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
lichaelsen	Adam	Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
Rodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
Obcowegni)	Water)						
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Aliocatio
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
icCarthy	Terence	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0004617	Class C	See Footnote
rtiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1271	Class C	See Footnote
rtiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Backflow Prevention	n/a	n/a	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-08-5479	n/a	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
levens	Carl	Maintenance Tech	See Appedix for descriptions as per lob title	Wastewater Collection Technician	2709	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per lob title	Wastewater Collections Operator	3155	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Distribution	2889	Class C	See Footnote
rendei	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0006411	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0009184	Class A	See Footnote
611461	T THINGS I	Colsol Facility Operator	Con Uhharin ini ndamihimia aa hat 100 ma	Headaugh Obsided	0000104	Amon V	940 1 228 MAD
ake Gibson ast Name	Estates (Water)	Employee This	Outles and Passanibilitie	Certification Description	Certification No.	Certification Level	Method of Allocation
	First Name	Employee Title	Dutles and Responsibilities		Ceruncadon NO.	CALMICATION FAABI	See Footnote
loyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None	2205077	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0005875	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Collection Technician	3404	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1846	Class C	
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0007519	Class B	See Footnote
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008937	Class B	See Footnote

#### Aqua Utilities Florida Docket 080121-WS Field Employee List 2007

Last Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
lahn	Jerry	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013832	Class C	See Footnote
ahn	Jerry	Facility Operator II	See Appedix for descriptions as per job title	Water Operator - Florida	0014331	Class C	See Footnote
ostetler	Donald	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator - Florida	0014147	Class C	See Footnote
ostetler	Donald	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008035	Class B	See Footnote
ink	Lucas	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution Technician	4898	Class C	See Footnote
lutdoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0006452	Class A	Sea Footnote
lutdoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0005980	Class C	See Footnote
luldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Distribution Technician	3996	Class C	See Footnote
luideon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Wastewater Collection Technician	3722	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0012040	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008946	Class C	See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
hahid	Victor	Senior Maintenance Technician	See Appedix for descriptions as per job title	Water Distribution Technician	4051	Class C	See Footnote
osko	Thomas	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-08-5479	n/a	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
ote Cite on I	Estates (Wastew	atori					
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
vans	David	Utility Tech (II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0006675	Class C	See Footnote
vans	David	Utility Tech Hi	See Appedix for descriptions as per job title	Wastewater Collection Technician	3404	Class C	See Footnote
vans vans	David	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1846	Class C	See Footnote
vans ulier	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0007519	Class B	See Footnote
nge. mer	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0001319	Class B	See Footnote
uwer Nahn	Jetta 2/646	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013832	Class C	See Footnote
iann Iahn	Jerry	Facility Operator II	See Appedix for descriptions as per job title	Water Operator - Florida	0013032	Class C	See Footnote
iaini Nako	Philip	Construction Coordinator	See Appedix for descriptions as per job title	None	0014331	Class C	See Footnote
nako Kodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
hahid	Victor	Senior Maintenance Technician	See Appedix for descriptions as per lob title	Water Distribution Technician	4051	Class C	See Footnote
stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
Stevens	Carl	Maintenance Tech	See Appeals for descriptions as per job title	Water Distribution	2086	Class C	
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote See Footnote
ake Josephi		F-1 Title	Pudled and Donnershilled	Certification Description	Carlonalian		
ast Name	First Name	Employee Title	Duties and Responsibilities	Backflow Prevention License	Certification No.	Certification Level	Method of Allocatio
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title		442	n/a	See Footnote
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	CDL Commission Control Improvedor - NC	C516421693310	Class C	See Footnote
hamberlam	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection Control Inspector - NC	0248	r/a	See Footnote
hamberlam	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection - Program Managers	PM096	n/a	See Footnote
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	DOT Physical Certification			See Footnote
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collection Technician	4693	Class C	See Footnote
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wøstewater Operator - Class C	0009465	Class C	See Footnote
hristmas	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013244	Class C	See Footnote
Brisham	Steven	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0012040	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008946	Class C	See Footnote
lodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
********	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
itevens							
itevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote

ast Name	e Estates (Water) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Backflow Prevention License	442	n/a	See Footnote
Chambedain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	CDL	C516421693310	Class C	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection Control Inspector - NC	0248	n/a	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection - Program Managers	PM096	n/a	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	DOT Physical Certification			See Footnote
Chambedain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collection Technician	4893	Class C	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Class C	0009465	Class C	See Footnote
Grisham	Steven	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
ake Suzy (W	/ater)						
.ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Backflow Prevention License	442	n/a	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	CDL	C516421693310	Class C	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection Control Inspector - NC	0248	r/a	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection - Program Managers	PM096	n/a	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	DOT Physical Certification			See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collection Technician	4693	Class C	See Footnote
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Class C	0009465	Ciass C	See Footnote
Davis	Michael	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
Desmaris	Allan	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
arrington	Randle	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator - Florida	0007484	Class D	See Footnote
amington	Randle	Senior Facility Operator	See Appedix for descriptions as per lob title	Wastewater Operator - Florida	0008737	Class C	See Footnote
/laio	Philip	Construction Coordinator	See Appedix for descriptions as per job title	None		<b>4</b>	See Footnote
Paver	Robert	Facility Operator II	See Appedix for descriptions as per lob title	Water Operator- Florida	0012040	Class C	See Footnote
Paver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Westewater Operator - Florida	0008946	Ciass C	See Footnote
.ake Suzy (W .ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
Brown	Howard	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Backflow Prevention License	442	n/a	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	CDL	C516421693310	Class C	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection Control Inspector - NC	0248	n/a	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection - Program Managers	PM096	n/a	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	DOT Physical Certification			See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collection Technician	4693	Class C	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Class C	0009465	Class C	See Footnote
Christmas	Raigh	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013244	Class C	See Footnote
Davis							
	Michael	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
	Michael Randle	Utility Tech I Senior Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title		0007484	Class D	See Footnote See Footnote
amington		Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator - Florida	0007484 0008737	Class D Class C	
arrington arrington	Randle Randle	Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida			See Footnote
arrington arrington Paver	Randle Randle Robert	Senior Facility Operator Senior Facility Operator Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida Water Operator- Florida	0008737	Class C Class C	See Footnote See Footnote
arrington arrington Paver Paver	Randle Randle Robert Robert	Senior Facility Operator Senior Facility Operator Facility Operator It Facility Operator It	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida	0008737 0012040	Class C	See Footnote See Footnote See Footnote See Footnote
amington amington Paver Paver Rodriguez	Randle Randle Robert Robert Bemardo	Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Maintenance Manager	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida Water Operator- Florida Wastewater Operator - Florida None	0008737 0012040 0008946	Class C Class C Class C	See Footnote See Footnote See Footnote See Footnote See Footnote
-arrington Farrington Paver Paver Rodriguez Stanfield	Randle Randle Robert Robert Bernardo Michael	Senior Facility Operator Senior Facility Operator Facility Operator It Facility Operator It Maintenance Manager Facility Operator \$	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida None Wastewater Operator - Florida	0008737 0012040 0008946 0007672	Class C Class C Class C Class C	See Footnote See Footnote See Footnote See Footnote See Footnote See Footnote
Farrington Farrington Paver Paver Rodriguez Stanfield Stevens	Randle Randle Robert Robert Bernardo Michael Carl	Senior Facility Operator Senior Facility Operator Facility Operator It Facility Operator It Maintenance Manager Facility Operator I Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida None Wastewater Operator - Florida Backflow Prevention License	0008737 0012040 0008946 0007672 A03-06-5479	Class C Class C Class C Class C n/a	See Footnote
Farrington Farrington Paver Paver Rodriguez Starfield Stevens Stevens	Randle Randle Robert Robert Bernardo Michael Carl Carl	Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Maintenance Manager Facility Operator I Maintenance Tech Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida None Wastewater Operator - Florida Backflow Prevention License Water Distribution	0008737 0012040 0008946 0007672 A03-06-5479 2086	Class C Class C Class C Class C n/a Class C	See Footnote
amington Farrington Paver Paver Rodriguez Stanfield Stevens Stevens	Randle Randle Robert Robert Bernardo Michael Carl	Senior Facility Operator Senior Facility Operator Facility Operator It Facility Operator It Maintenance Manager Facility Operator I Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida None Wastewater Operator - Florida Backflow Prevention License	0008737 0012040 0008946 0007672 A03-06-5479	Class C Class C Class C Class C n/a	See Footnote
Farrington Farrington Paver Paver Paver Stanffeld Stevens Stevens Stevens Leisure Lake	Randle Randle Robert Robert Bemardo Michael Carl Carl	Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Maintenance Manager Facility Operator I Maintenance Tech Maintenance Tech Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida None Wastewater Operator - Florida Backflow Prevention License Water Distribution Wastewater Collection Technician	0008737 0012040 0008946 0007672 A03-06-5479 2086 2709	Class C Class C Class C Class C n/a Class C Class C	See Footnote
Farrington Farrington Paver Paver Rodriguez Stanfield Stevens Stevens Stevens Leisure Lake	Randle Randle Randle Robert Robert Bernardo Michael Carl Carl Carl  \$ (Water) First Name	Senior Facility Operator Senior Facility Operator Facility Operator It Facility Operator It Maintenance Manager Facility Operator It Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Employee Title	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida None Wastewater Operator - Florida Backflow Prevention License Water Distribution Wastewater Collection Technician  Certification Description	0008737 0012040 0008946 0007672 A03-06-5479 2086 2709	Class C Class C Class C Class C n/a Class C class C Class C Class C Class C	See Footnote
arrington Paver Paver Rodriguez Stanfield Stevens Stevens Stevens Leisure Lake Last Name Christmas	Randle Randle Randle Robert Robert Bemardo Michael Carl Carl Carl Carl First Name Ralph	Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Maintenance Manager Facility Operator I Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Employee Title Facility Operator II	See Appedix for descriptions as per job title  Duties and Responsibilities See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida None Wastewater Operator - Florida Backflow Prevention License Water Distribution Wastewater Collection Technician  Certification Description Wastewater Operator - Florida	0008737 0012040 0008946 0007672 A03-06-5479 2086 2709 Certification No.	Class C Class C Class C Class C n/a Class C Class C Class C Class C Class C	See Footnote
arrington arrington aver Paver Codriguez Stanfield Stevens Stevens Stevens Leisure Laker Laker	Randle Randle Randle Robert Robert Bernardo Michael Carl Carl Carl  \$ (Water) First Name	Senior Facility Operator Senior Facility Operator Facility Operator It Facility Operator It Maintenance Manager Facility Operator It Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Employee Title	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida None Wastewater Operator - Florida Backflow Prevention License Water Distribution Wastewater Collection Technician  Certification Description	0008737 0012040 0008946 0007672 A03-06-5479 2086 2709	Class C Class C Class C Class C n/a Class C class C Class C Class C Class C	See Footnote

	(Water)(Continu						
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0012040	Class C	See Footnote
aver.	Robert	Facility Operator II	See Appedix for descriptions as per job title	Wasteweter Operator - Florida	0008946	Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
Stevens	Cart	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
elsure Lakes	(Wastewater)						
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Aliocatio
hristmas	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013244	Class C	See Footnate
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0012040	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008946	Class C	See Footnote
itevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per lob title	Water Distribution	2086	Class C	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
forningview (	Milato M						
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Faatnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Çlass B	See Footnote
urlow	John	Utility Tech i	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
eath	Brian	Area Manager	See Appedix for descriptions as per job title	Water Operator- Florida	0005825	Class C	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007522	Class C	See Footnote
(issick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Distribution	589	Class A	See Footnote
lissick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Operator	0007846	Class C	Ses Footnote
tichaelsen	Adam	Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013514	Class C	See Footnote
leal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
luston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
weat	Darreli	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
Vestrick	Todd	Utility Tech II	See Appedix for descriptions as per job title	None	0002	Giaso G	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorrei!	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
		• •		·			
	(Wastewater)	P 1 7/4	Dudles and Description	C-455-4 D			
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
ldnch	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote
ldnch	Howard	Facility Operator II	See Appedix for descriptions as per job title	Water Operator-Florida	0006368	Class C	See Footnote
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None		<b></b> - ·	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Fletd Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
/lichae/sen	Adam	Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013814	Class C	See Footnote
tuston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
Vorreil	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
Oakwood (Wa	iter)	-		· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	<u></u>	
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
Gerardo Gerardo	Alfred	Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0011993	Class C	See Footnote
Srav	Roger	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0014574	Class C	See Footnote
лау	vođe	racin's Oberaior ii	GOD LANGUIN IN GOOD HIGHER GO HEL TOD GOD	rivio Operator Fixina	0014014	CHESO C	ORB LOCATORS

ast Name	ater)(Continued) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
гау	Roger	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0014198	Class C	See Footnote
cCarthy	Terence	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0004617	Class C	See Footnote
rtiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1271	Class C	See Footnote
rtiz-Girau-	Eduardo	Utility Tech III	See Appedix for descriptions as per job title	Backflow Prevention	n/a	n/a	See Footnote
tevens	Cari	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
evens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
tevens	Çarl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collections Operator	3155	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Distribution	2889	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0006411	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0009184	Class A	See Footnote
cala Oaks (	Waterl						
ast Name	First Name	Employee Title	<b>Duties and Responsibilities</b>	Certification Description	Certification No.	Certification Level	Method of Allocation
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
risham	Steven	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
eath	Brian	Area Manager	See Appedix for descriptions as per job title	Water Operator- Florida	0005825	Class C	See Footnote
eath	Brian	Area Manager	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007522	Class C	See Footnote
issick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Distribution	589	Class A	See Footnote
ssick	Garv	Facility Operator II	See Appedix for descriptions as per job title	Water Operator	0007848	Class C	See Footnote
arch	Mark	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0007212	Class C	See Footnote
arch	Mark	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008287	Class C	See Footnote
cNair	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None	*******		See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
uston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per lob title	Water Operator- Florida	0007251	Class A	See Footnote
nompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0004894	Class A	See Footnote
Trance Hill /	Sugar Creek (Wa	tori				····	
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
hristmas	Raiph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013244	Class C	See Footnote
emarco	Santo	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0005675	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Collection Technician	3404	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per lob title	Water Distribution Technician	1848	Class C	See Footnote
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per Job title	Water Operator- Florida	0007519	Class B	See Footnote
ulter	Steve	Senior Facility Operator	See Appedix for descriptions as per lob title	Wastewater Operator - Florida	0008937	Class B	See Footnote
ahn	Јепу	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013832	Class C	See Footnote
ahn	Јепу	Facility Operator II	See Appedix for descriptions as per job title	Water Operator - Florida	0014331	Class C	Sea Footnote
	Lucas	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution Technician	4896	Class C	See Footnote
	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None	,000		See Foolnole
	Robert	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0012040	Class C	See Footnote
cNair		Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008946	Class C	See Footnote
lcNair aver					***************************************		See Footnote
cNair aver aver	Robert		See Appedix for descriptions as per lob title	None			
lcNair aver aver odriguez	Robert Bernardo	Maintenance Manager	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Water Distribution Technician	4051	Class C	Sea Footnote
lcNair aver aver odriguez hahid	Robert Bernardo Victor	Maintenance Manager Senior Maintenance Technician	See Appedix for descriptions as per job title	Water Distribution Technician	4051	Class C	
ink IcNair Paver Paver Rodriguez Shahid Gosko	Robert Bernardo Victor Thomas	Maintenance Manager Senior Maintenance Technician Utility Tech I	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Distribution Technician None		_	See Footnote See Footnote
lcNair aver aver codriguez chahid	Robert Bernardo Victor	Maintenance Manager Senior Maintenance Technician	See Appedix for descriptions as per job title	Water Distribution Technician	4051 A03-06-5479 2086	Class C n/a Class C	See Footnote

Aqua Utilities Florida Docket 080121-WS Field Employee List 2007

Palm Port (Wa		Employee Title	Dutton and Dannan Ibilities	Certification Description	O	O distriction Land	10.45.4.040
	First Name	Employee Title	Duties and Responsibilities		Certification No.	Certification Level	Method of Allocatio
oas	Lester	Utility Tech II	See Appedix for descriptions as per job title	None		_	See Footnote
aring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Ctass 8	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Water Operator- Florida	0005825	Class C	See Footnote
ieath	Brian	Area Manager	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007522	Class C	See Footnote
<b>l</b> arriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	CDL		Class B	See Footnote
/larriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007627	Class C	See Footnote
1arriott	Raiph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0009320	Class C	See Footnote
fcNair	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
itevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	nta	See Footnote
levens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per lob title	Wastewater Operator - Florida	0004894	Class A	See Footnote
Veaver	Daniel	Utility Tech II	See Appedix for descriptions as per job title	None	0004004	Oldse V	See Footnote
TOUTC.	Camer	Only Tourn	Oce - debount in accompanie de bot les une	110110			See FOURIOR
alm Port (Wa					<u> </u>	· <u> </u>	
ast Name	Firat Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
oas	Lester	Utility Tech II	See Appedix for descriptions as per Job title	None			See Footnote
laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Class B	See Footnote
/larriott	Raiph	Facility Operator II	See Appedix for descriptions as per job title	CDL		Class B	See Footnote
farriott .	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007527	Class C	See Footnote
farriott .	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0009320	Class C	See Footnote
itevens	Carl	Mainlenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
tevens	Cart	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnate
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
Thompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0004894	Class A	See Footnote
Veaver	Daniel	Utility Tech II	See Appedix for descriptions as per job title	None	000-00-7	CABOOA	See Footnote
	61/-4			<u> </u>			
alm Terrace ast Name	(water) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	\$2.45
		Utility Tech I	See Appedix for descriptions as per job title		Ceruikadon No.	Cestilicanoti Fasei	Method of Allocatio
Demarco	Santo			None		a. a	See Footnote
iostetler	Donald	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator - Florida	0014147	Class C	See Footnote
lostetler	Donald	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008035	Class B	See Footnote
ink	Lucas	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution Technician	4896	Class C	See Footnote
fuldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0006452	Class A	See Footnote
fuldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0005980	Class C	See Footnote
fuldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Distribution Technician	3996	Class C	See Footnote
fuldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Wastewater Collection Technician	3722	Class C	See Footnote
luston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
Shahid	Victor	Senior Maintenance Technician	See Appedix for descriptions as per job title	Water Distribution Technician	4051	Class C	See Footnote
Sosko	Thomas	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
alm Terrace	(Wastewater)						
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
Boyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None		ANI DITORNAL PRANT	See Footnote
oyu Demarco	Santo	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0007519	Class B	
		Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0006937		See Footnote
uller	Steve					Class B	See Footnote
-lostetier	Donald	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator - Florida	0014147	Class C	See Footnote

Last Name	(Wastewater)(Co First Name	Employee Title	Duties and Responsibilities	Certification Description	Cartification No.	Certification Level	Method of Allocation
iostetler	Donald	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008035	Class B	See Footnote
ink	Lucas	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution Technician	4896	Class C	See Footnote
fuldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0006452	Class A	See Footnote
luidoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0005980	Class C	See Footnote
fuldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Distribution Technician	3996	Class C	See Footnote
Auldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job little	Wastewater Collection Technician	3722	Class C	See Footnote
Shahid	Victor	Senior Maintenance Technician	See Appedix for descriptions as per job title	Water Distribution Technician	4051	Class C	See Footnote
Gosko	Thomas	Utility Tech I	See Appedix for descriptions as per job title	None	4001	Ciasa C	See Footnote
Palms Mobile	Home Park (Wa	ter)					
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
Boyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per lob title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Fleid Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
üssick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Distribution	589	Class A	See Footnote
üssick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Operator	0007846	Class C	See Footnote
Aichaelsen	Adam	Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
leal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
luston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
Vestrick	Todd	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
Naciola laise	od (Water)						
		Employee Title	Duties and Responsibilities	Cartification Description	Certification No.	Cartification Level	Method of Allocatio
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	
ast Name oyd	First Name Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ast Name Boyd ontaine	First Name Charles, Joe William	Lead Maintenance Technician Field Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Water Operator- Fiorida	0006813	Class C	See Footnote See Footnote
ast Name Boyd ontaine ontaine	First Name Charles, Joe William William	Lead Maintenance Technician Fleid Coordinator Field Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Water Operator-Florida Wastewater Operator - Florida	0006813 0007113	Class C Class B	See Footnote See Footnote See Footnote
ast Name Boyd ontaine ontaine urlow	First Name Charles, Joe William William John	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Water Operator- Fiorida Wastewater Operator - Fiorida CDL	0006813 0007113 30213258	Class C Class B Class A	See Footnote See Footnote See Footnote See Footnote
ast Name Boyd ontaine ontaine urlow Jichaelsen	First Name Charles, Joe William William John Adam	Lead Maintenance Technician Fleld Coordinator Fleld Coordinator Utility Tech I Facility Operator I	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Water Operator- Fiorida Wastewater Operator - Fiorida CDL Wastewater Operator - Fiorida	0006813 0007113 30213258 0013814	Class C Class B Class A Class C	See Footnote See Footnote See Footnote See Footnote See Footnote
ast Name Boyd ontaine ontaine outow Jichaelsen Neal	First Name Charles, Joe William William John Adam Martin	Lead Maintenance Technician Fleld Coordinator Fleld Coordinator Utility Tech I Facility Operator I Facility Operator I	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Water Operator- Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida	0008813 0007113 30213258 0013814 0010027	Class C Class B Class A Class C Class C	See Footnote See Footnote See Footnote See Footnote See Footnote See Footnote
ast Name Boyd ontaine containe curlow fichaelsen leal Ruston	First Name Charles, Joe William William John Adam Martin Micheal	Lead Maintenance Technician Fleid Coordinator Fleid Coordinator Utility Tech   Facility Operator   Facility Operator   Utility Tech   Utility Tech	See Appedix for descriptions as per job title	None Water Operator- Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Operator - Water Operator - Florida	0006813 0007113 30213258 0013814	Class C Class B Class A Class C	See Footnote
ast Name Boyd Intaine	First Name Charles, Joe William William John Adam Martin Micheal Todd	Lead Maintenance Technician Fleid Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Water Operator - Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Distribution None	0006813 0007113 30213258 0013814 0010027 3603	Class C Class B Class A Class C Class C Class C	See Footnote
Picciola Islan ast Name Boyd Fontaine Fontaine Furlow Vichaelsen Neal Ruston Viestrick Worrell	First Name Charles, Joe William William John Adam Martin Micheal	Lead Maintenance Technician Fleid Coordinator Fleid Coordinator Utility Tech   Facility Operator   Facility Operator   Utility Tech   Utility Tech	See Appedix for descriptions as per job title	None Water Operator- Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Operator - Water Operator - Florida	0008813 0007113 30213258 0013814 0010027	Class C Class B Class A Class C Class C	See Footnote See Footnote See Footnote See Footnote See Footnote See Footnote
ast Name loyd antaine ontaine unflow fiichaetsen leal tuston Vestrick Vorrell	First Name Charles, Joe William Villiam John Adam Martin Micheal Todd John John	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator	See Appedix for descriptions as per job title	None Water Operator- Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Distribution None Water Operator- Florida	0008813 0007113 30213258 0013814 0010027 3603	Class C Class B Class A Class C Class C Class C Class C	See Footnote
ast Name loyd ontaine ontaine unfow fichaelsen leal kuston Vestrick Vorrell Vorrell	First Name Charles, Joe William William John Adam Martin Micheal Todd John John	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title	None Water Operator - Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Distribution None Water Operator - Florida Wastewater Operator - Florida	0008813 0007113 30213258 0013814 0010027 3603 0006597 0007243	Class C Class B Class A Class C Class C Class C Class C Class C Class B	See Footnote
ast Name loyd ontaine ontaine unfow fichaelsen leal tuston Vestrick Vorrell Vorrell	First Name Charles, Joe William William John Adam Martin Micheal Todd John John First Name	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title	None Water Operator- Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Distribution None Water Operator - Florida Wastewater Operator - Florida Certification Description	0008813 0007113 30213258 0013814 0010027 3603 0008597 0007243	Class C Class B Class C Class C Class C Class C Class C Class C Class B	See Footnote
ast Name loyd ontaine ontaine ontaine unlow fichaelsen leal tuston Vestrick Vorrell Vorrell Viney Woods ast Name	First Name Charles, Joe William Villiam John Adam Martin Micheal Todd John John  (Water) First Name Howard	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II	See Appedix for descriptions as per job title Duttes and Responsibilities See Appedix for descriptions as per job title	None Water Operator - Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Wastewater Operator - Florida Certification Description Wastewater Operator - Florida	0008813 0007113 30213258 0013814 0010027 3603 0006597 0007243	Class C Class B Class C	See Footnote
ast Name loyd ontaine ontaine ontaine unlow flichaetsen leal tuston Vestrick Vorrell Vorrell Vorrell sast Name udrich	First Name Charles, Joe William William John Adam Martin Micheal Todd John John John Howard Howard Howard	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II Facility Operator II Facility Operator II	See Appedix for descriptions as per job title  Dutles and Responsibilities  See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Water Operator - Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Distribution None Water Operator - Florida Wastewater Operator - Florida  Certification Description Wastewater Operator-Florida Water Operator-Florida	0008813 0007113 30213258 0013814 0010027 3603 0008597 0007243	Class C Class B Class C Class C Class C Class C Class C Class C Class B	See Footnote
ast Name loyd ontaine ontaine ontaine unlow fichaelsen leal tuston Vestrick Vorrell Vorrell Vorrell Idicth Iddrich	First Name Charles, Joe William William John Adam Martin Micheal Todd John John  Sel (Water) First Name Howard Howard Charles, Joe	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician	See Appedix for descriptions as per job title	None Water Operator- Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Wastewater Operator - Florida  Certification Description Wastewater Operator-Florida Water Operator-Florida None	0008813 0007113 30213258 0013814 0010027 3603 0008597 0007243 Certification No. 0008854 0006368	Class C Class B Class A Class C Class C Class C Class C Class B	See Footnote
ast Name oyd oyd ontaine ontaine urlow lichaelsen leal tuston Vestrick Vorrell Vorrell liney Woods ast Name lidrich oyd ontaine	First Name Charles, Joe William William John Adam Martin Micheal Todd John John First Name Howard Howard Charles, Joe William	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator	See Appedix for descriptions as per job title	None Water Operator- Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator- Florida Water Distribution None Water Operator- Florida Wastewater Operator - Florida  Certification Description Wastewater Operator-Florida None Water Operator-Florida None Water Operator- Florida	0008813 0007113 30213258 0013814 0010027 3603 0006597 0007243 Certification No. 0008854 0006368	Class C Class B Class C	See Footnote
ast Name loyd ontaine ontaine ontaine unlow fichaelsen leal tuston Vestrick Vorrell Vorrell Vorrell Idrich loyd ontaine ontaine	First Name Charles, Joe William John Adam Martin Micheal Todd John John  (Water) First Name Howard Howard Charles, Joe William William	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator	See Appedix for descriptions as per job title	None Water Operator - Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Distribution None Water Operator - Florida Wastewater Operator - Florida  Certification Description Wastewater Operator-Florida Water Operator-Florida None Water Operator - Florida Wastewater Operator - Florida	0008813 0007113 30213258 0013814 0010027 3603 0006597 0007243 Certification No. 0008854 0006368	Class C Class B Class C Class B	See Footnote
ast Name loyd ontaine ontaine ontaine unlow dichaelsen leal tuston Vestrick Vorrell Vorrell Vorrell dirich ldrich loyd ontaine ontaine unlow	First Name Charles, Joe William John Adam Martin Micheal Todd John John First Name Howard Howard Charles, Joe William Villiam John	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I	See Appedix for descriptions as per job title	None Water Operator - Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Wastewater Operator - Florida  Certification Description Wastewater Operator-Florida Water Operator-Florida None Water Operator - Florida Wastewater Operator - Florida CDL CDL	0008813 0007113 30213258 0013814 0010027 3603 0006597 0007243 Certification No. 0008854 0006368	Class C Class B Class C	See Footnote
ast Name loyd ontaine ontaine ontaine unlow dichaetsen leal kuston Vestrick Vorrell Vorrell Udrich lddrich lddrich lddrich ldrich	First Name Charles, Joe William John Adam Martin Micheal Todd John John  (Water) First Name Howard Howard Charles, Joe William Vificiam John Brian	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager	See Appedix for descriptions as per job title	None Water Operator- Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Operator- Florida Water Operator- Florida Wastewater Operator - Florida  Certification Description Wastewater Operator-Florida None Water Operator- Florida None Water Operator - Florida Wastewater Operator - Florida CDL Water Operator - Florida CDL Water Operator - Florida	0008813 0007113 30213258 0013814 0010027 3603 0006597 0007243 Certification No. 0008854 0006368 0008813 0007113 30213258 0005825	Class C Class B Class C	See Footnote
ast Name loyd ontaine ontaine unlow filchaelsen leal tuston Vestrick Vorrell Vorrell Vorrell Jdrich Jdrich Joyd ontaine ontaine unlow teath	First Name Charles, Joe William John Adam Martin Micheal Todd John John  (Water) First Name Howard Howard Howard Charles, Joe William Wifitam John Brian Brian	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager	See Appedix for descriptions as per job title	None Water Operator - Fiorida Wastewater Operator - Fiorida CDL Wastewater Operator - Fiorida Water Operator - Fiorida Water Obstribution None Water Operator - Fiorida Wastewater Operator - Fiorida  Certification Description Wastewater Operator-Fiorida Water Operator-Fiorida Water Operator-Fiorida Water Operator - Fiorida Wastewater Operator - Fiorida CDL Water Operator - Fiorida Wastewater Operator - Fiorida CDL Water Operator - Fiorida	0008813 0007113 30213258 0013814 0010027 3603 0006597 0007243 Certification No. 0008854 0006368 0006813 0007113 30213258 0006825 0007522	Class C Class B Class C	See Footnote
ast Name loyd ontaine ontaine unlow fichaelsen leal tuston Vestrick Vorrell Vorrell Vorrell Idrich loyd ontaine unlow leath leath leath leath leath	First Name Charles, Joe William John Adam Martin Micheal Todd John John  • (Water) First Name Howard Howard Howard Charles, Joe William John Brian Brian Gary	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II	See Appedix for descriptions as per job title	None Water Operator - Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Distribution None Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator-Florida Water Operator-Florida None Water Operator - Florida Wastewater Operator - Florida CDi. Water Operator - Florida Wastewater Operator - Florida	0008813 0007113 30213258 0013814 0010027 3603 0008597 0007243 Certification No. 0008854 0006368 0008813 0007113 30213258 0005825 00075622 589	Class C Class B Class C Class B  Certification Level Class C Class A Class C Class C Class C Class C Class C Class C	See Footnote
ast Name loyd ontaine ontaine ontaine unlow dichaelsen leal tuston Vestrick Vorrell Vorrell Vorrell dirich ldrich loyd ontaine ontaine ontaine turlow teath death death death destick Gssick	First Name Charles, Joe William John Adam Martin Micheal Todd John John First Name Howard Howard Charles, Joe William John Brian Brian Gary Gary	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator	See Appedix for descriptions as per job title	None Water Operator - Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Wastewater Operator - Florida  Certification Description Wastewater Operator - Florida Water Operator - Florida None Water Operator - Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Waster Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida	0008813 0007113 30213258 0013814 0010027 3603 0006597 0007243 Certification No. 0008854 0006368 0006813 0007113 30213258 0006825 0007522	Class C Class B Class C Class B  Certification Level Class C	See Footnote
ast Name Soyd Sontaine	First Name Charles, Joe William John Adam Martin Micheal Todd John John  • (Water) First Name Howard Howard Howard Charles, Joe William John Brian Brian Gary	Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II	See Appedix for descriptions as per job title	None Water Operator - Florida Wastewater Operator - Florida CDL Wastewater Operator - Florida Water Operator - Florida Water Distribution None Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator-Florida Water Operator-Florida None Water Operator - Florida Wastewater Operator - Florida CDi. Water Operator - Florida Wastewater Operator - Florida	0008813 0007113 30213258 0013814 0010027 3603 0008597 0007243 Certification No. 0008854 0006368 0008813 0007113 30213258 0005825 00075622 589	Class C Class B Class C Class B  Certification Level Class C Class A Class C Class C Class C Class C Class C Class C	See Footnote

Last Name	(Water)(Continue First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
McCarthy	Terence	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0004617	Class C	See Footnote
viccarity vichaelsen	Adam	Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
viici laeiseii Neal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	
				Water Distribution			See Footnote
Ruston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	· · · · · · · · · · · · · · · · · ·	3603	Class C	See Footnote
Sweat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnate
<b>Vestrick</b>	Todd	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnate
Worre⊪	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0008597	Class C	See Footnote
Worrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
Pomona Park	(Water)						
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
oas	Lester	Utility Tech II	See Appedix for descriptions as per job title	None '			See Footnote
- -laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Class B	See Footnote
/larriott	Raiph	Facility Operator II	See Appedix for descriptions as per job title	CDL	02/21/3	Class B	See Footnate
/lamott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007527	Class C	See Footnote
Viamot Viamot	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0009320	Class C	See Footnote
viai i i i i i i i i i i i i i i i i i i	Wesley	Utility Tech I	See Appeals for descriptions as per job little	None	000020	Omes O	See Footnote
Rodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
kounguez Stevens	Carl	Maintenance Manager Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-08-5479	n/a	See Footnote
				Water Distribution			
levens	Carl	Maintenance Tech	See Appedix for descriptions as per job title		2086	Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	Sea Footnote
	Paul	Field Coordinator					Con Engineir
	Daniel	Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida None	0004694	Class A	See Footnote See Footnote
Veaver ⊋uail Ridge (	Daniel Water)	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
Veaver Quail Ridge ( ast Name	Daniel Water) First Name	Utility Tech II  Employee Title	See Appedix for descriptions as per job title  Duties and Responsibilities	None  Certification Description	Certification No.	Certification Level	See Footnote  Method of Allocation
Veaver ⊋uail Ridge ( ast Name	Daniel  Water) First Name Charles, Joe	Utility Tech II  Employee Title Lead Maintenance Technician	See Appedix for descriptions as per job title  Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description	Certification No.	Certification Level	See Footnote  Method of Allocatic  See Footnote
Neaver Quall Ridge ( ast Name Boyd Fontaine	Water) First Name Charles, Joe William	Utility Tech II  Employee Title Lead Maintenance Technician Field Coordinator	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title	Certification Description None Water Operator- Florida	Certification No.	Certification Level Class C	See Footnote  Method of Allocation
Veaver Quall Ridge ( ast Name Boyd Containe	Daniel  Water) First Name Charles, Joe	Utility Tech II  Employee Title Lead Maintenance Technician Field Coordinator	Duties and Responsibilities  See Appeals for descriptions as per job title	Certification Description None Water Operator- Florida Wastewater Operator - Florida	Certification No. 0008813 0007113	Certification Level  Class C  Class B	See Footnote  Method of Allocatic  See Footnote
Neaver Quall Ridge ( ast Name Boyd Fontaine Fontaine	Water) First Name Charles, Joe William	Utility Tech II  Employee Title Lead Maintenance Technician Field Coordinator	Duties and Responsibilities  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title  See Appedix for descriptions as per job title	Certification Description None Water Operator- Florida	Certification No.	Certification Level Class C	See Footnote  Method of Allocatic See Footnote See Footnote
Veaver  Quall Ridge ( ast Name  Boyd  Fontaine  Fontaine  Furlow	Daniel  Water) First Name Charles, Joe William William	Utility Tech II  Employee Title Lead Maintenance Technician Field Coordinator	Duties and Responsibilities  See Appeals for descriptions as per job title	Certification Description None Water Operator- Florida Wastewater Operator - Florida	Certification No. 0008813 0007113	Certification Level  Class C  Class B	Method of Allocatic See Footnote See Footnote See Footnote
Neaver  Quall Ridge ( Last Name  Boyd Fontaine Fontaine Furlow  Kissick	Daniel  Water) First Name Charles, Joe William John	Utility Tech II  Employes Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None  Water Operator- Florida  Wastewater Operator - Florida  CDL	Certification No.  0008813 0007113 30213258	Certification Level Class C Class B Class A	Method of Allocation See Footnote See Footnote See Footnote See Footnote
Veaver  Quall Ridge ( ast Name  Boyd  Containe  Containe  Griow  Gissick  Gissick	Water) First Name Charles, Joe William John Gary	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None Water Operator - Florida Wastewater Operator - Florida CDL Water Distribution	Certification No.  0006813 0007113 30213258 589	Certification Level Class C Class B Class A Class A	Method of Allocatic See Footnote See Footnote See Footnote See Footnote See Footnote
Veaver  Quall Ridge ( _ast Name  Goyd  Fontaine  Furlow  Cissick  Cissick  Neal	Daniel  Water) First Name Charles, Joe William Villiam John Gary Gary	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II	Duties and Responsibilities  See Appedix for descriptions as per job title	Certification Description  None Water Operator- Florida Wastewater Operator - Florida CDL Water Distribution Water Operator	Certification No.  0008813 0007113 30213258 589 0007846	Class C Class B Class A Class A Class C	Method of Allocatic See Footnote
Veaver  Quall Ridge ( _ast Name  Goyd  Fontaine  Fontaine  Furlow  Gissick  Kissick  Neal  Ruston	Water) First Name Charles, Joe William John Gary Gary Martin Micheal	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech I Utility Tech II	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  Water Operator - Florida  Wastewater Operator - Florida  CDL  Water Distribution  Water Operator  Water Operator  Water Operator  Water Operator	Certification No.  0008813 0007113 30213258 589 0007846 0010027	Certification Level  Class C Class B Class A Class C Class C Class C Class C	Method of Allocatic See Footnote
Weaver  Quall Ridge ( ast Name  Goyd  Containe  Containe  Furlow  Gissick  Gissick  Neal  Ruston  Gweat	Daniel  Water) First Name Charles, Joe William John Gary Gary Martin Micheal Darroll	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator I Utility Tech II Utility Tech II Utility Tech III	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None Water Operator - Florida COL Water Distribution Water Operator Water Operator Water Distribution Water Distribution Water Distribution Water Distribution Water Distribution Water Distribution	Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552	Certification Level Class C Class B Class A Class C Class C Class C Class C Class C	Method of Allocation See Footnote
Veaver  Quall Ridge ( ast Name  Goyd  Containe  Fontaine  Fortick  Gissick  Gissick  Real  Ruston  Sweat  Trendel	Water) First Name Charles, Joe William John Gary Gary Martin Micheal Darrell William	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None Water Operator- Florida Wastewater Operator - Florida CDL Water Distribution Water Operator Water Operator- Florida Water Distribution Water Distribution Technician Wastewater Collections Operator	Certification No.  0008813 0007113 30213258 589 0007846 0010027 3603 3552 3155	Class C Class B Class A Class A Class C	Method of Allocatic See Footnote
Veaver  Quall Ridge ( _ast Name Goyd  Goyd  Containe  Containe  Curlow  Gissick  Gissick  Neal  Ruston  Sweal  Trendel  Frendel	Water) First Name Charles, Joe William John Gary Gary Martin Micheal Darrell William William William	Employes Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  Water Operator- Florida  Wastewater Operator - Florida  CDL  Water Distribution  Water Operator  Water Operator  Water Operator- Florida  Water Distribution  Water Distribution Technician  Wastewater Collections Operator  Water Distribution	Certification No.  0008813 0007113 30213258 589 0007848 0010027 3603 3552 3155 2889	Class C Class A Class A Class C	Method of Allocatic See Footnote
Veaver  Quall Ridge (     ast Name  Goyd  Containe  Furlow  Gissick  Gissick  Neal  Ruston  Sweat  Trendel  Frendel  Frendel	Daniel  Water) First Name Charles, Joe William John Gary Martin Micheal Darrell William William William William William	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech ! Facility Operator !! Facility Operator !! Facility Operator ! Utility Tech !! Utility Tech !! Utility Tech !! Senior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  Water Operator - Florida  Wastewater Operator - Florida  CDL  Water Distribution  Water Operator  Water Operator - Florida  Water Distribution  Water Distribution Technician  Wastewater Collections Operator  Water Distribution  Water Operator  Water Operator  Water Operator  Water Operator	Certification No.  0006813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411	Class C Class A Class C	Method of Allocation See Footnote
Veaver  Quall Ridge ( ast Name  Goyd  Containe  Containe  Furlow  Gissick  Gissick  Neal  Ruston  Gweat  Trendel  Trendel  Trendel  Trendel	Water) First Name Charles, Joe William John Gary Gary Martin Micheal Darrell William William William William William William	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator I Utility Tech II Utility Tech III Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None Water Operator - Fiorida Wastewater Operator - Fiorida COL Water Distribution Water Operator Water Operator-Florida Water Distribution Water Distribution Water Distribution Water Distribution Water Distribution Water Distribution Water Operator Water Operator Wastewater Operator Wastewater Operator	Certification No.  0008813 0007113 30213258 589 0007848 0010027 3603 3552 3155 2889	Class C Class A Class A Class C	Method of Allocation See Footnote
Weaver  Chuail Ridge ( Last Name Boyd Fontaine Fontaine Furlow Kissick Kissick Neal Ruston Sweat Trendel Trendel Trendel Westrick	Daniel  Water) First Name Charles, Joe William William John Gary Gary Martin Micheal Darnell William William William William William William Todd	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Tech II Utility Tech II Senior Facility Operator Utility Tech II	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None Water Operator- Florida Wastewater Operator - Florida CDL Water Distribution Water Operator Water Operator- Florida Water Operator- Florida Water Distribution Technician Wastewater Collections Operator Water Distribution Water Operator Water Operator Water Operator Wastewater Operator None	Certification No.  0008813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0008411 0009184	Class C Class B Class A Class A Class C	Method of Allocatic See Footnote
Weaver  Quail Ridge ( Last Name  Goyd  Fontaine  Fontaine  Furlow  (issick  (issick  Neal  Ruston  Sweat  Trendel  Trendel  Trendel  Trendel  Westrick  Worrell	Water) First Name Charles, Joe William John Gary Gary Martin Micheal Darrell William William William William William William Todd John	Employes Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator I Facility Operator I Utility Tech II Utility Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator Utility Tech II Senior Facility Operator Utility Tech II Senior Facility Operator Utility Tech II Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  Water Operator- Florida  CDL  Water Distribution  Water Operator  Water Operator  Water Operator  Water Operator- Florida  Water Distribution  Water Distribution Technician  Wastewater Collections Operator  Water Distribution  Water Distribution  Water Operator  Wastewater Operator  None  Water Operator- Florida	Certification No.  0008813 0007113 30213258 589 0007848 0010027 3603 3552 3155 2889 0008411 0009184	Class C Class A Class C	Method of Allocatic See Footnote
Veaver  Quail Ridge ( _ast Name Goyd  Containe Fontaine Furlow Gissick Gissick Gissick Ruston Sweat Frendel Frendel Frendel Frendel Frendel Frendel Westrick Worrell	Daniel  Water) First Name Charles, Joe William William John Gary Gary Martin Micheal Darnell William William William William William William Todd	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Tech II Utility Tech II Senior Facility Operator Utility Tech II	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None Water Operator- Florida Wastewater Operator - Florida CDL Water Distribution Water Operator Water Operator- Florida Water Operator- Florida Water Distribution Technician Wastewater Collections Operator Water Distribution Water Operator Water Operator Water Operator Wastewater Operator None	Certification No.  0008813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0008411 0009184	Class C Class B Class A Class A Class C	Method of Allocatic See Footnote
Veaver  Quall Ridge ( _ast Name Goyd  Goyd  Fontaine Furlow  Gissick  Gissick  Neat  Ruston  Sweat  Trendel  Trendel  Trendel  Trendel  Westrick  Worrell  Worrell	Daniel  Water) First Name Charles, Joe William John Gary Martin Micheal Darrell William William William William William Todd John John	Employes Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech II Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Utility Tech II Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  Water Operator - Florida  CDL  Water Distribution  Water Operator - Florida  Water Operator - Florida  Water Operator - Florida  Water Distribution  Water Distribution Technician  Wastewater Collections Operator  Water Distribution  Water Distribution  Water Operator  Wastewater Operator  None  Water Operator - Florida  Wastewater Operator - Florida  Wastewater Operator - Florida	Certification No.  0008813 0007113 30213258 589 0007848 0010027 3603 3552 3155 2889 0008411 0009184  0006597 0007243	Class C Class A Class A Class C	Method of Allocation See Footnote
Veaver  Quall Ridge ( _ast Name )  Goyd  Goyd  Containe  Fontaine  Furlow  Gissick  Gissick  Neat  Ruston  Sweat  Frendel  Frendel  Frendel  Westrick  Morrell  Worrell  Ravenswood  Last Name	Daniel  Water) First Name Charles, Joe William John Gary Martin Micheal Darrell William William William William William William William I Todd John John  (Water) First Name	Employes Title  Lead Maintenance Technician Field Coordinator Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech II Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Utily Tech II Senior Facility Operator Utily Tech II Senior Facility Operator Utily Tech II Senior Facility Operator Senior Facility Operator Utily Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  Water Operator - Florida  CDL  Water Distribution  Water Operator - Florida  Water Operator - Florida  Water Operator - Florida  Water Distribution Technician  Wastewater Collections Operator  Water Distribution  Water Distribution  Water Operator  Wastewater Operator  None  Water Operator - Florida  Wastewater Operator - Florida  Certification Description	Certification No.  0008813 0007113 30213258 589 0007848 0010027 3603 3552 3155 2889 0008411 0009184	Class C Class A Class C	Method of Allocatic See Footnote
Weaver  Quail Ridge ( Last Name Goyd  Goyd  Fontaine Fontaine Fontaine Furlow  (issick  (issick  Neal  Ruston  Sweat  Trendel  Trendel  Trendel  Westrick  Worrell  Worrell  Ravenswood  Last Name	Daniel  Water) First Name Charles, Joe William John Gary Gary Martin Micheal Darrell William William William William William William Todd John John I (Water) First Name Charles, Joe	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator I Facility Tech II Utility Tech II Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Utility Tech II Senior Facility Operator Utility Tech II Senior Facility Operator Utility Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None Water Operator- Florida Wastewater Operator - Florida CDL Water Distribution Water Operator- Florida Water Operator- Florida Water Distribution Technician Wastewater Collections Operator Water Distribution Water Operator Water Operator Water Operator Water Operator Wastewater Operator None Water Operator- Florida  Certification Description None	Certification No.  0008813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184 0006597 0007243  Certification No.	Certification Level  Class C Class B Class A Class C Class B	Method of Allocatic See Footnote
Weaver  Quall Ridge ( ast Name  Goyd  Containe  Containe  Curlow  Gissick  Gissick  Neal  Ruston  Gweat  Trendel  Trendel  Trendel  Trendel  Trendel  Westrick  Worrell  Worrell  Worrell  Ravenswood  ast Name	Daniel  Water) First Name Charles, Joe William John Gary Martin Micheal Darrell William William William William William William William I Todd John John  (Water) First Name	Employes Title  Lead Maintenance Technician Field Coordinator Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Utility Tech II Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Utily Tech II Senior Facility Operator Utily Tech II Senior Facility Operator Utily Tech II Senior Facility Operator Senior Facility Operator Utily Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  Water Operator - Florida  CDL  Water Distribution  Water Operator - Florida  Water Operator - Florida  Water Operator - Florida  Water Distribution Technician  Wastewater Collections Operator  Water Distribution  Water Distribution  Water Operator  Wastewater Operator  None  Water Operator - Florida  Wastewater Operator - Florida  Certification Description	Certification No.  0008813 0007113 30213258 589 0007848 0010027 3603 3552 3155 2889 0008411 0009184  0006597 0007243	Class C Class A Class A Class C	Method of Allocation See Footnote
Weaver  Quail Ridge ( Last Name Goyd Fontaine Fontaine Fortaine Mestrick Worrell Worrell Ravenswood Last Name Boyd Fontaine	Daniel  Water) First Name Charles, Joe William John Gary Gary Martin Micheal Darrell William William William William William William Todd John John I (Water) First Name Charles, Joe	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator I Facility Tech II Utility Tech II Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Utility Tech II Senior Facility Operator Utility Tech II Senior Facility Operator Utility Tech II Senior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None Water Operator- Florida Wastewater Operator - Florida CDL Water Distribution Water Operator- Florida Water Operator- Florida Water Distribution Technician Wastewater Collections Operator Water Distribution Water Operator Water Operator Water Operator Water Operator Wastewater Operator None Water Operator- Florida  Certification Description None	Certification No.  0008813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184 0006597 0007243  Certification No.	Certification Level  Class C Class B Class A Class C Class B	Method of Allocatic See Footnote
Thompson Weaver  Quall Ridge ( Last Name Boyd Fontaine Fontaine Fontaine Fortiow Kissick Kissick Neal Ruston Sweat Trendel Trendel Trendel Trendel Westrick Worrell Worrell Worrell Ravenswood Last Name Boyd Fontaine Fontaine Fontaine Fontaine Fontaine Fontaine Fontaine Fontaine	Daniel  Water) First Name Charles, Joe William John Gary Gary Martin Micheal Darrell William William William William William William William (Water) First Name Charles, Joe William	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Facility Operator I Utility Tech II Utility Tech II Utility Tech III Senior Facility Operator	Duties and Responsibilities  See Appedix for descriptions as per job title	None  Certification Description  None  Water Operator- Florida  Wastewater Operator - Florida  CDL  Water Distribution  Water Operator  Water Operator- Florida  Water Distribution Technician  Wastewater Collections Operator  Water Distribution  Water Distribution  Water Distribution  Water Operator  Water Operator  Wastewater Operator  Wastewater Operator  None  Water Operator- Florida  Certification Description  None  Water Operator- Florida	Certification No.  0008813 0007113 30213258 589 0007846 0010027 3603 3552 3155 2889 0006411 0009184 0006597 0007243  Certification No.	Class C Class A Class C	Method of Allocatio See Footnote

Last Name	I (Water)(Continue First Name	Employee Title	Duties and Responsibilities	Certification Description	0 M M -	Continuation ( mr-1	Method of Allocation
leal	Martin				Certification No.	Certification Level	See Footnote
	Martin Bernardo	Facility Operator (	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
odriguez	Bernardo Micheal	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
Ruston		Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3803	Class C	
Vestrick	Todd	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
Vorrett	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
River Grove	(Water)						
.ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
Boas	Lester	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
Haring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
-laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Class B	See Footnote
/lerriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	CDL	•	Class B	See Footnote
/larriott	Raiph	Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007527	Class C	See Footnote
Marriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0009320	Class C	See Footnote
VicNair	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None		<del></del> -	See Footnote
Rodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2088	Class C	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
Thompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
Thompson	Paul	Field Coordinator	See Appedix for descriptions as per lob title	Wastewater Operator - Florida	0004894	Class A	See Footnote
Weaver	Daniel	Utility Tech II	See Appedix for descriptions as per job title	None	0004004	Cidoo	See Footnote
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation See Footnote
Christmas Demarco	Raiph Santo	Facility Operator (I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013244	Class C	••••
		i Hiller Took I	Can be and be for dependentians as a section title				Con Englanta
		Utility Tech I	See Appedix for descriptions as per job title	None		Class C	See Footnote
Evans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0005675	Class C	See Footnote
Evans Evans	David David	Utility Tech III Utility Tech III	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician	3404	Class C	See Footnote See Footnote
Evans Evans Evans	David David David	Utility Tech III Utility Tech III Utility Tech III	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician	3404 1846	Class C Class C	See Footnote See Footnote See Footnote
Evans Evans Evans Fuller	David David David Steve	Utilify Tech III Utility Tech III Utility Tech III Senior Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida	3404 1848 0007519	Class C Class C Class B	See Footnote See Footnote See Footnote See Footnote
Evans Evans Evans Fuller Fuller	David David David Steve Steve	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida	3404 1846 0007519 0008937	Class C Class C Class B Class B	See Footnote See Footnote See Footnote See Footnote See Footnote
Evans Evans Evans Fuller Fuller Hahn	David David David Steve Steve Jerry	Utilify Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida	3404 1846 0007519 0008937 0013832	Class C Class C Class B Class B Class C	See Footnote See Footnote See Footnote See Footnote See Footnote See Footnote
Evans Evans Evans Fuller Fuller Hahn Hahn	David David David Steve Steve Jerry Jerry	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator - Florida	3404 1848 0007519 0008937 0013832 0014331	Class C Class C Class B Class B Class C Class C	See Footnote
Evans Evans Evans Fuller Fuller Hahn Hahn Link	David David David Steve Steve Jerry Jerry Lucas	Utility Tech III Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Obstribution Technician	3404 1848 0007519 0008937 0013832 0014331 4896	Class C Class C Class B Class B Class C Class C Class C	See Footnote
Evans Evans Evans Fuller Fuller Hahn Hahn Link Paver	David David David Steve Steve Jerry Jerry Lucas Robert	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Ostribution Technician Water Operator - Florida	3404 1846 0007519 0008937 0013832 0014331 4896 0012040	Class C Class C Class B Class B Class C Class C Class C Class C Class C	See Footnote
Evans Evans Fuller Fuller Hahn Hahn Link Paver	David David Steve Steve Jerry Jerry Lucas Robert Robert	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Facility Operator II Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Wastewater Operator - Florida	3404 1848 0007519 0008937 0013832 0014331 4896	Class C Class C Class B Class B Class C Class C Class C	See Footnote
Evans Evans Evans Fuller Fuller Hahn Hahn Link Paver Paver Rodriguez	David David David Steve Steve Jerry Jerry Lucas Robert Robert Bernardo	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Facility Operator II Maintenance Manager	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Ofstribution Technician Water Operator - Florida Wastewater Operator - Florida None	3404 1846 0007519 0008937 0013832 0014331 4896 0012040	Class C Class C Class B Class B Class C Class C Class C Class C Class C	See Footnote
Evans Evans Fuller Hahn Hahn Link Paver Paver Rodriguez Sosko	David David David Steve Steve Jerry Lucas Robert Bernardo Thomas	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Facility Operator II Maintenance Manager Utility Tech I	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Waster Operator - Florida Water Operator - Florida Water Ofstribution Technician Water Operator - Florida Water Operator - Florida Nater Operator - Florida None None	3404 1848 0007519 0008937 0013832 0014331 4898 0012040	Class C Class B Class B Class C	See Footnote
Evans Evans Evans Fuller Fuller Hahn Link Paver Rodriguez Sosko Stevens	David David David Steve Steve Jerry Lucas Robert Robert Bernardo Thomas Carl	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Utility Tech I Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Ostribution Technician Water Operator - Florida Wastewater Operator - Florida None None Backflow Prevention License	3404 1846 0007519 0008937 0013832 0014331 4896 0012040 0008948	Class C Class B Class B Class C	See Footnote
Evans Evans Evans Fuller Fuller Hahn Hahn Hahn Paver Paver Rodriguez Sosko Stevens Stevens	David David David Steve Steve Jerry Jerry Lucas Robert Robert Bernardo Thomas Carl	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Maintenance Manager Utility Tech I Maintenance Tech Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Wastewater Operator - Florida None None Backflow Prevention License Water Distribution	3404 1846 0007519 0008937 0013832 0014331 4890 0012040 0008946	Class C Class C Class B Class B Class C Class C Class C Class C Class C Class C	See Footnote
Evans Evans Evans Fuller Fuller Hahn Link Paver Paver Rodriguez Sosko Stevens Stevens	David David David Steve Steve Jerry Lucas Robert Robert Bernardo Thomas Carl	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Utility Tech I Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Ostribution Technician Water Operator - Florida Wastewater Operator - Florida None None Backflow Prevention License	3404 1846 0007519 0008937 0013832 0014331 4896 0012040 0008948	Class C Class B Class B Class C	See Footnote
Evans Evans Evans Fuller Fuller Hahn Hahn Hahn Paver Rodriguez Sosko Stevens Stevens	David David David Steve Steve Jerry Jerry Lucas Robert Robert Bernardo Thomas Carl	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Maintenance Manager Utility Tech I Maintenance Tech Maintenance Tech	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Wastewater Operator - Florida None None Backflow Prevention License Water Distribution	3404 1846 0007519 0008937 0013832 0014331 4890 0012040 0008946	Class C Class C Class B Class B Class C Class C Class C Class C Class C Class C	See Footnote
Evans Evans Evans Fuller Fuller Fuller Fahn Fahn Fahr Faver Fodriguez Sosko Stevens Stevens Stevens Rosalie Oaks Last Name	David David David Steve Steve Jerry Lucas Robert Robert Bernardo Thomas Carl Carl Carl Steve Steve Jerry Lucas Robert Steve Steve Jerry Lucas Robert Steve Steve Jerry Lucas Robert Robert Steve Steve First Name	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Utility Tech I Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Employee Title	See Appedix for descriptions as per job title See Appedix for descri	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Ostribution Technician Water Operator - Florida Water Operator - Florida Wastewater Operator - Florida None Rockflow Prevention License Water Distribution Wastewater Collection Technician	3404 1846 0007519 0008937 0013832 0014331 4890 0012040 0008946	Class C Class C Class B Class B Class C Class C Class C Class C Class C Class C	See Footnote
Evans Evans Evans Fuller Fuller Hahn Hahn Link Paver Rodriguez Sosko Stevens Stevens Stevens Rosalie Oake Last Name	David David David Steve Steve Jerry Lucas Robert Robert Robert Bernardo Thomas Carl Carl Carl Steve Steve Jerry Lucas Robert Rob	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Utility Tech I Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Lead Maintenance Technician	See Appedix for descriptions as per job title Dutles and Responsibilities	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Official Technician Water Operator - Florida Water Operator - Florida Water Operator - Florida None Backflow Prevention License Water Distribution Wastewater Collection Technician  Certification Description None	3404 1846 0007519 0008937 0013832 0014331 4896 0012040 0008946  A03-08-5479 2086 2709  Certification No.	Class C Class B Cless B Class C	See Footnote
Evans Evans Evans Evans Fuller Fuller Hahn Link Paver Rodriguez Gosko Stevens Stevens Stevens Rosalie Oake Last Name	David David David Steve Steve Jerry Lucas Robert Robert Bernardo Thomas Carl Carl Carl Steve Steve Jerry Lucas Robert Steve Steve Jerry Lucas Robert Steve Steve Jerry Lucas Robert Robert Steve Steve First Name	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Utility Tech I Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Employee Title	See Appedix for descriptions as per job title See Appedix for descri	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Ostribution Technician Water Operator - Florida Water Operator - Florida Wastewater Operator - Florida None Rockflow Prevention License Water Distribution Wastewater Collection Technician	3404 1848 0007519 0008937 0013832 0014331 4896 0012040 0008946 A03-06-5479 2086 2709	Class C Class B Class B Class C	See Footnote
Evans Evans Evans Fuller Fuller Hahn Link Paver Paver Faver Sosko Stevens Stevens Stevens Rosalie Oaks Last Name Boyd Christmas	David David David Steve Steve Jerry Lucas Robert Robert Robert Bernardo Thomas Carl Carl Carl Steve Steve Jerry Lucas Robert Rob	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Utility Tech I Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Lead Maintenance Technician	See Appedix for descriptions as per job title Dutles and Responsibilities	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Official Technician Water Operator - Florida Water Operator - Florida Water Operator - Florida None Backflow Prevention License Water Distribution Wastewater Collection Technician  Certification Description None	3404 1846 0007519 0008937 0013832 0014331 4896 0012040 0008946  A03-08-5479 2086 2709  Certification No.	Class C Class B Cless B Class C	See Footnote
Evans Evans Evans Evans Fuller Fuller Hahn Hahn Hahn Paver Pover Rodriguez Sosko Stevens Stevens Stevens Constant Confistmas Evans	David David David Steve Steve Jerry Jerry Lucas Robert Robert Bernardo Thomas Carl Carl Carl Steve Steve Jerry Lucas Robert Robe	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Maintenance Manager Utility Tech I Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Lead Maintenance Technician Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator - Florida Water Ostribution Technician Water Operator - Florida Wastewater Operator - Florida None None Backflow Prevention License Water Distribution Wastewater Collection Technician  Certification Description None Wastewater Operator - Florida	3404 1846 0007519 0008937 0013832 0014331 4896 0012040 0008948 A03-06-5479 2086 2709	Class C Class B Class B Class C	See Footnote
Evans Evans Evans Evans Fuller Fuller Hahn Link Paver Paver Rodriguez Sosko Stevens Stevens	David David David Steve Steve Jerry Jerry Lucas Robert Robert Bernardo Thomas Carl Carl Carl Stiwastewater First Name Charles, Joe Ralph David	Utility Tech III Utility Tech III Utility Tech III Senior Facility Operator Senior Facility Operator Facility Operator II Facility Operator II Utility Tech II Facility Operator II Facility Operator II Facility Operator II Maintenance Manager Utility Tech I Maintenance Tech Lead Maintenance Technician Facility Operator II Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator - Florida Wastewater Collection Technician Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Water Operator - Florida None None Backflow Prevention License Water Distribution Wastewater Collection Technician  Certification Description None Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida	3404 1848 0007519 0008937 0013832 0014331 4896 0012040 0008946 A03-06-5479 2086 2709	Class C Class B Cless B Class C	See Footnote

Last Name	First Name	entinued) Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per lob title	Wastewater Operator - Florida	0008937	Class B	See Footnote
ahn	Јепу	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013832	Class C	See Footnote
ahn	Јепу	Facility Operator II	See Appedix for descriptions as per job title	Water Operator - Florida	0014331	Class C	See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None	0014001	VI656 U	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
levens	Carl	Maintenance Tech	See Appedix for descriptions as per job titte	Water Distribution	2086	Class C	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per lob title	Wastewater Collection Technician	2709	Class C	See Footnote
west	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
bring Lake	, ,	<b>-</b>					
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
hamberlain	Jahnny	Senior Facility Operator	See Appedix for descriptions as per job title	Backflow Prevention License	442	nia	See Footnote
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	CDL	C516421693310	Class C	See Footnote
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection Control Inspector - NC	0248	n/a	See Footnote
namberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection - Program Managers	PM096	n/a	See Footnote
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	DOT Physical Certification			See Footnote
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collection Technician	4693	Class C	See Footnote
namberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Class C	0009465	Class C	See Footnote
hristmas	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013244	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0012040	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008946	Class C	See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
evens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
evens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
levens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
to and also to	adadaa (18/aadaan)	Chama Olivani					
	states / Western First Name	Shores (Water) Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocati
ast Name			Duties and Responsibilities See Appedix for descriptions as per job title	Certification Description Wastewater Operator-Florida	Certification No.	Certification Level Class C	Method of Allocati
ist Name drich	First Name	Employee Title					
ist Name drich drich	First Name Howard	Employee Title Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote See Footnote
ast Name drich drich oyd	First Name Howard Howard Charles, Joe	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None	0008854 0006368	Class C Class C	See Footnote See Footnote See Footnote
ist Name drich drich byd ontaine	First Name Howard Howard	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida	0008854 0006368 0006813	Class C Class C Class C	See Footnote See Footnote See Footnote See Footnote
ast Name drich drich oyd ontaine ontaine	First Name Howard Howard Charles, Joe William William	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida	0008854 0006368 0006813 0007113	Class C Class C Class C Class B	See Footnote See Footnote See Footnote See Footnote See Footnote
ast Name drich drich byd ontaine ontaine urlow	First Name Howard Howard Charles, Joe William William John	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL	0008854 0006368 0006813 0007113 30213258	Class C Class C Class C Class B Class A	See Footnote See Footnote See Footnote See Footnote See Footnote See Footnote
ast Name Idrich Idrich ontaine ontaine urtow eath	First Name Howard Howard Charles, Joe William William John Brian	Employee Title Facility Operator II Facility Operator III Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator - Florida	0008854 0006368 0006813 0007113 30213258 0005825	Ciass C Ciass C Ciass B Ciass A Ciass C	See Footnote
ast Name drich drich oyd ontaine ontaine artow eath	First Name Howard Howard Charles, Joe William William John Brian Brian	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida	0008854 0008368 0006813 0007113 30213258 0005825 0007522	Class C Class C Class B Class A Class C Class C	See Footnote
ast Name drich drich byd ontaine ontaine wrow eath eath	First Name Howard Howard Charles, Joe William William John Brian Brian Gary	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida	0008854 0006368 0006813 0007113 30213258 0005825 0007522 589	Class C Class C Class B Class A Class C Class C Class C Class A	See Footnote
ast Name  drich  drich  byd  ontaine  ontaine  stow  path  eath  ssick  ssick	First Name Howard Howard Charles, Joe William John Brian Brian Gary Gary	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator Operator - Florida Water Distribution Water Operator	0008854 0008368 0006813 0007113 30213258 0005825 0007522	Class C Class C Class B Class A Class C Class C	See Footnote
ast Name  drich  drich  byd  ontaine  ortaine  artow  eath  esth  ssick  ssick  aio	First Name Howard Howard Charles, Joe William William John Brian Brian Gary Gary Philip	Employee Title Facility Operator II Facility Operator III Lead Maintenance Technician Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Construction Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Distribution Water Operator None	0008854 0006368 0006813 0007113 30213258 0005825 0007822 589 0007846	Class C Class C Class B Class A Class C Class C Class C Class C Class C	See Footnote
ast Name drich drich drich oyd ontaine ontaine whow eath eath sssick ssick aio ichaelsen	First Name Howard Howard Charles, Joe William William John Brian Brian Gary Gary Philip Adam	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Construction Coordinator Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Distribution Water Operator None Wastewater Operator - Florida	0008854 0008368 0006813 0007113 30213258 0005825 0007522 589 0007846	Class C Class C Class B Class B Class A Class C Class C Class C Class C Class C Class C	See Footnote
ast Name drich drich drich oyd ontaine ontaine stow eath eath ssick ssick aio chaelsen eal	First Name Howard Howard Charles, Joe William William John Brian Brian Gary Gary Philip Adam Martin	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Construction Coordinator Facility Operator I Facility Operator I Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator None Wastewater Operator - Florida Water Operator - Florida Wastewater Operator - Florida	0008854 0006368 0006813 0007113 30213258 0005825 0007822 589 0007846	Class C Class C Class B Class A Class C Class C Class C Class C Class C	See Footnote
est Name drich drich obyd intaine intaine eath eath eath eath eath eath eath eat	First Name Howard Howard Charles, Joe William William John Brian Brian Gary Gary Philip Adam Martin Bernardo	Employee Title  Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Construction Coordinator Facility Operator I Facility Operator I Facility Operator I Facility Operator I Maintenance Manager	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Distribution Water Operator None Wastewater Operator - Florida Water Operator - Florida None	0008854 0006368 0006813 0007113 30213258 0005825 0007522 589 0007846 0013614 0010027	Class C Class C Class B Class A Class C	See Footnote
est Name drich dri	First Name Howard Howard Charles, Joe William William John Brian Brian Gary Gary Philip Adam Martin Bernardo Micheal	Employee Title Facility Operator II Facility Operator III Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Construction Coordinator Facility Operator I Facility Operator I Facility Operator I Maintenance Manager Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Distribution Water Operator None Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida None Water Operator - Florida	0008854 0008368 0006813 0007113 30213258 0005825 0007522 589 0007846 0013614 0010027	Class C Class C Class B Class B Class C	See Footnote
ust Name drich drich drich dryd drich dryd drich dryd drich dryd drich dryd drich drich dryd drich dri	First Name Howard Howard Charles, Joe William William John Brian Brian Gary Gary Philip Adam Martin Bernardo Micheal Carl	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Facility Operator II Facility Operator I Facility Operator I Facility Operator I Maintenance Manager Utility Tech II Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Water Distribution Water Operator None Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida None Water Distribution Backflow Prevention Licanse	0008854 0006368 0006813 0007113 30213258 0005825 0007522 589 0007846 0013614 0010027 3603 A03-06-5479	Class C Class C Class B Class A Class C	See Footnote
ist Name drich dri	First Name Howard Howard Charles, Joe William William John Brian Brian Gary Gary Philip Adam Martin Bernardo Micheal Carl Carl	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Construction Coordinator Facility Operator I Facility Operator I Maintenance Manager Utility Tech II Maintenance Tech Maintenance Tech Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Water Distribution Water Operator None Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida None Waster Operator - Florida None Water Distribution Backflow Prevention License Water Distribution	0008854 0006368 0006813 0007113 30213258 0005825 0007522 589 0007846 0013614 0010027 3603 A03-06-5479 2086	Class C Class C Class B Class A Class C	See Footnote
ist Name drich driguez uston dvens evens evens	First Name Howard Howard Charles, Joe William William John Brian Brian Gary Gary Philip Adarn Martin Bernardo Micheal Carl Carl	Employee Title Facility Operator II Facility Operator III Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Construction Coordinator Facility Operator I Facility Operator I Facility Operator I Maintenance Manager Utility Tech II Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Distribution Water Operator None Wastewater Operator - Florida Water Operator - Florida None Wastewater Operator - Florida None Water Operator - Florida None Water Operator - Florida None Water Distribution Backflow Prevention License Water Distribution Wastewater Collection Technician	0008854 0006368 0006813 0007113 30213258 0005825 0007522 589 0007846 0013614 0010027 3603 A03-08-5479 2086 2709	Class C Class C Class B Class B Class C	See Footnote
ist Name drich drich drich drich dryd intaine intaine intaine intaine saith sa	First Name Howard Howard Charles, Joe William William John Brian Brian Brian Gary Philip Adam Martin Bernardo Micheal Carl Carl Carl Darrell	Employee Title Facility Operator II Facility Operator III Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Construction Coordinator Facility Operator I Facility Operator I Facility Operator I Maintenance Manager Utility Tech II Maintenance Tech Maintenance Tech Maintenance Tech Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Water Distribution Water Operator None Wastewater Operator - Florida Water Operator Wastewater Operator - Florida Water Operator - Florida Water Operator - Florida None Wastewater Operator - Florida None Water Distribution Backflow Prevention License Water Distribution Wastewater Collection Technician Water Distribution Technician	0008854 0008368 0006813 0007113 30213258 0005825 0007522 589 0007846 0013614 0010027 3603 A03-06-5479 2086 2709	Class C Class C Class B Class B Class A Class C	See Footnote
ust Name drich dri	First Name Howard Howard Charles, Joe William William John Brian Brian Brian Gary Philip Adam Martin Bernardo Micheal Carl Carl Carl Carl Carl Unitiam	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Facility Operator II Facility Operator I Facility Operator I Facility Operator I Maintenance Manager Utility Tech II Maintenance Tech Maintenance Tech Maintenance Tech Utility Tech III Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Water Distribution Water Operator None Wastewater Operator - Florida Water Operator - Florida None Water Distribution Backflow Prevention License Water Distribution Wastewater Collection Technician Water Distribution Water Distribution Water Distribution Technician Water Distribution Technician Water Distribution Technician	0008854 0006368 0006813 0007113 30213258 0005825 0007522 589 0007846 0013614 0010027 3603 A03-06-5479 2086 2709 3552 3155	Class C Class C Class C Class B Class A Class C	See Footnote
ast Name drich drich drich oyd ontaine ontaine urlow eath eath estick esick aio ichaelsen eal odriguez uston evens evens evens evens event	First Name Howard Howard Charles, Joe William William John Brian Brian Gary Gary Philip Adam Martin Bernardo Micheal Carl Carl Carl Carl Unilliam William William	Employee Title Facility Operator II Facility Operator III Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Facility Operator II Construction Coordinator Facility Operator I Maintenance Manager Utility Tech II Maintenance Tech Maintenance Tech Maintenance Tech Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Distribution Water Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida None Wastewater Operator - Florida None Water Distribution Backflow Prevention License Water Distribution Technician Wastewater Collection Technician Wastewater Collections Operator Water Distribution Technician	0008854 0008368 0006813 0007113 30213258 0005825 0007522 589 0007846 0013614 0010027 3603 A03-06-5479 2086 2709	Class C Class C Class B Class A Class C	See Footnote
ast Name drich drich obyd ontaine ontaine ath eath eath eath eath cichaelsen eal odriguez uston eevens eevens eevens eevens eendel	First Name Howard Howard Charles, Joe William William John Brian Brian Brian Gary Philip Adam Martin Bernardo Micheal Carl Carl Carl Carl Carl Unitiam	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Facility Operator II Facility Operator I Facility Operator I Facility Operator I Maintenance Manager Utility Tech II Maintenance Tech Maintenance Tech Maintenance Tech Utility Tech III Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator None Wastewater Operator - Florida Water Operator - Florida None Water Operator - Florida None Water Operator - Florida None Water Distribution Backflow Prevention License Water Distribution Wastewater Collection Technician Wastewater Collections Operator Water Distribution Water Operator	0008854 0006368 0006813 0007113 30213258 0005825 0007522 589 0007846 0013614 0010027 3603 A03-06-5479 2086 2709 3552 3155	Class C Class C Class C Class B Class A Class C	See Footnote
ast Name  Idrich	First Name Howard Howard Charles, Joe William William John Brian Brian Gary Gary Philip Adam Martin Bernardo Micheal Carl Carl Carl Carl Unilliam William William	Employee Title Facility Operator II Facility Operator III Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Facility Operator II Facility Operator II Facility Operator II Construction Coordinator Facility Operator I Maintenance Manager Utility Tech II Maintenance Tech Maintenance Tech Maintenance Tech Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Distribution Water Operator - Florida Water Operator - Florida Water Operator - Florida Water Operator - Florida None Water Distribution Backflow Prevention License Water Distribution Technician Wastewater Collection Technician Wastewater Collections Operator Water Distribution Technician Wastewater Collections Operator Water Distribution	0008854 0006368 0006813 0007113 30213258 0005825 0007522 589 0007846 0013614 0010027 3603 A03-06-5479 2086 2709 3552 3155 2889	Class C Class C Class B Class A Class C	See Footnote
itver Lake E ast Name Idrich Idrich Idrich oyd ontaine ontaine urlow eath Issick Issic	First Name Howard Howard Charles, Joe William William John Brian Brian Gary Gary Philip Adarn Martin Bernardo Micheal Carl Carl Carl Carl Darrell William William William William	Employee Title Facility Operator II Facility Operator III Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Area Manager Area Manager Area Manager Facility Operator II Facility Operator II Construction Coordinator Facility Operator I Facility Operator I Maintenance Manager Utility Tech II Maintenance Tech Maintenance Tech Maintenance Tech Utility Tech III Senior Facility Operator Senior Facility Operator Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Water Operator None Wastewater Operator - Florida Water Operator - Florida None Water Operator - Florida None Water Operator - Florida None Water Distribution Backflow Prevention License Water Distribution Wastewater Collection Technician Wastewater Collections Operator Water Distribution Water Operator	0008854 0006368 0006813 0007113 30213258 0005825 0007522 589 0007846 0013614 0010027 3603 A03-06-5479 2086 2709 3552 3155 2889 0006411	Class C	See Footnote

.ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
/orrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Waslewater Operator - Florida	0007243	Class B	See Footnote
lver Lake O	aks (Water)		<u> </u>				
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
oas	Lester	Utility Tech II	See Appedix for descriptions as per job title	None	-		See Footnote
aring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
aring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Class B	See Footnote
lamiott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	CDL		Class B	See Footnote
larriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007527	Class C	See Footnote
larriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0009320	Class C	See Footnote
<b>IcN</b> air	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
tevens	Cart	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
levens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0004894	Class A	See Footnote
Veaver	Daniel	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
ilver Lake O	aks (Wastewater	·					
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
oas	Lester	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
oyd	Chartes, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Class B	See Footnote
Aarriott	Raiph	Facility Operator II	See Appedix for descriptions as per job title	CDL		Class B	See Footnote
/larriott	Raiph	Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007527	Class C	See Footnote
famott	Raiph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0009320	Class C	See Footnote
1cNair	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
lodríguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0004894	Class A	See Footnote
Veaver	Danlei	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
kycrest (Wa							
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
loyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Foolnote
ontaine	William .	· Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
lichaelsen	Adam	Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
eal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
luston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
weat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
vestrick	Todd	Utlity Tech II	See Appedix for descriptions as per job title	None			See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
	John	Senior Facility Operator	See Appedix for descriptions as per lob title	Wastewater Operator - Florida	0007243	Class B	See Footnote

Aqua Utilities Florida Docket 080121-WS Fleid Employee List 2007

South Seas (V		Familiana Titi -	Musikan and Marian at Wilde	C-ME-M- Parad-C-			
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Backflow Prevention License	442	n/a	See Footnote
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	CDL	C516421693310	Class C	See Footnote
hambertain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection Control Inspector - NC	0248	n/a	See Footnote
hambertain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Cross Connection - Program Managers	PM096	n/a	See Footnote
hamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	DOT Physical Certification			See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collection Technician	4693	Class C	See Footnote
Chamberlain	Johnny	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Class C	0009465	Class C	See Footnote
Davis	Michael	Utility Tech I	See Appedix for descriptions as per job title	None		•	See Footnote
amington	Randle	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator - Florida	0007484	Class D	See Footnote
arrington	Randle	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008737	Class C	See Footnote
antelias	Nick	Facility Operator I	See Appedix for descriptions as per job title	Water Operator - Florida	0014940	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0012040	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008946	Class C	See Footnote
Rodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None	00000	Crase C	See Footnote
it, John's Hig .ast Name	hlands (Water) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
laring (aring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Class B	See Footnote
nenny. AcNair	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None	UU12410	CHIES D	
vicivair Veaver	Daniel	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote See Footnote
		<b>,</b> ,					0001000
tone Mounta	in (Water) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Aliocatio
ovd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per lob title	None	Certification No.	Cerdicadon Lever	See Footnote
ontaine	Willam	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0000013		See Footnote
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL CDL		Class B	See Footnote
veal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	30213258	Class A	See Footnote
veai Ruston	Micheal	Utility Tech II		Water Operator- Florida Water Distribution	0010027	Class C	See Footnote
			See Appedix for descriptions as per job title		3603	Class C	See Footnote
weat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
Vestrick	Todd	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
Norreli	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Norrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
Summit Chas				***************************************			
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
ldrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote
Jerich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Water Operator-Florida	0006368	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
üssick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Distribution	589	Class A	See Footnote
issick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Operator	0007846	Class C	See Footnote
lichaelsen	Adam	Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
leal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
luston	Micheal	Utility Tech il	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
		Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collections Operator	3052 3155	Ciass C	See Footnote
Sweat			COLUMN CO	A THOMPSON OF CONTROL		<b>4</b>	oee roothole
Sweat Frendel	William		San Annadiv for descriptions as not interest	Water Dietribution	0000	Cinc- C	Can F
Sweat Trendel Trendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Distribution	2889	Class C	See Footnote
Sweat Trendel Trendel Trendel Trendel			See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Distribution Water Operator Wastewater Operator	288 <i>9</i> 0006411 0009184	Ciass C Ciass C Ciass A	See Footnote See Footnote See Footnote

.est Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
Vestrick	Todd	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
/orreti	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
iummit Cha	e (Wastewater)			· · · · · · · · · · · · · · · · · · ·			
.ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
Jdrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote
ldrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Water Operator-Florida	0006368	Class C	See Footnote
loyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
urlow	John .	Utility Tech !	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
lichaelsen	Adam	Facility Operator 1	See Appedix for descriptions as per job little	Wastewater Operator - Florida	0013614	Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
itevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
Sweat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job titte	Wastewater Operator - Florida	0007243	Class 8	See Footnote
Sunny Hills (	Water)	<del>-</del>					
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Water Operator- Florida	0005825	Class C	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007522	Class C	See Footnote
edbetter	Kenneth	Utility Tech i	See Appedix for descriptions as per job title	None			See Footnote
//aio	Philip	Construction Coordinator	See Appedix for descriptions as per job title	None			See Footnote
Pitzer	Jean	Facility Operator II	See Appedix for descriptions as per loo title .	Water Operator- Florida	0007605	Class C	See Footnote
tzer	Jean	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Collection Technician	0001409	Class C	See Footnote
itzer	Jean	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator- Florida	0006659	Class B	See Footnote
Rodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None		¥	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0004894	Class A	See Footnote
unav klille f	Wastewater)					· · · · · · · · · · · · · · · · · · ·	
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
edbetter	Kenneth	Utility Tech !	See Appedix for descriptions as per job title	None			See Footnote
taio	Philip	Construction Coordinator	See Appedix for descriptions as per Job title	None		_	See Footnote
itzer	Jean	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0007605	Class C	See Footnote
itzer	Jean	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Collection Technician	0001409	Class C	See Footnote
ritzer	Jean	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator- Florida	0006659	Class B	See Footnote
Rodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
angerine (V	/ater)						
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
idrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote
ldrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Water Operator-Florida	0006388	Class C	See Footnote
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
							0 F4-ste
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0007519	Class B	See Footnote

#### Aqua Utilities Fiorida Docket 080121-WS Field Employee List 2007

	ater)(Continued)						
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
iray	Roger	Facility Operator (I	See Appedix for descriptions as per job title	Water Operator- Florida	0014574	Class C	See Footnote
ray	Roger	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0014198	Class C	See Footnote
lahn	Jerry	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013832	Class C	See Footnote
lahn	Jerry	Facility Operator II	See Appedix for descriptions as per job title	Water Operator - Florida	0014331	Class C	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Water Operator- Florida	0005825	Class C	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007522	Class C	See Footnote
1aio	Philip	Construction Coordinator	See Appedix for descriptions as per job title	None			See Footnote
IcCarthy	Terence	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0004617	Class C	See Footnote
lichaelsen	Adam	Facility Operator 1	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
leal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None		<b>U.C.</b> 1	See Footnote
Ruston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
weat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job little	Wastewater Collections Operator	3155	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Distribution	2889	. Class C	See Footnote
rende!	William	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0008411	. Class C	
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0009184	Class A	See Footnote
renoei Vestrick	Todd	Utility Tech II	See Appedix for descriptions as per job title	None	VU09104	GIESS A	See Footnote
vesinck Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Olean C	See Footnote
vorreii Vorreii	John	Senior Facility Operator Senior Facility Operator	See Appeals for descriptions as per job title	Wastewater Operator - Florida	0007243	Class C Class S	See Footnote See Footnote
			· · · · · · · · · · · · · · · · · · ·			·····	
he Woods (V ast Name	vater) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
ldrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote
ldrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Water Operator-Florida	0006368	Class C	See Footnote
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per lob title	Water Operator- Florida	0005825	Class C	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007522	Class C	See Footnote
leal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
luston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
Vestrick	Todd	Utlity Tech II	See Appedix for descriptions as per job title	None	*****	0.250	See Footnote
Vorreli	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnate
Vorreli	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
he Woods (V							······································
ast Name	First Name	Employee Title	Dutles and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
ldrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote
Idrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Water Operator-Florida	0006368	Class C	See Footnote
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
iray	Roger	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0014574	Class C	See Footnote
rav	Roger	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0014198	Class C	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Water Operator- Florida	0005825	Class C	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007522	Class C	See Footnote
leal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None	0010021	Cispo C	See Footnote
tuston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	
		,					See Footnote
itevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	U/a	See Footnot

ast Name	Wastewater)(Cont First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
				Water Distribution		Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title		2086		See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per lob title	Wastewater Collection Technician	2709	Class C	See Footnote
weat	Darrell	Utility Tech III	See Appedix for descriptions as per lob title	Water Distribution Technician	3552	Class C	See Footnote
Vestrick	Todd	Utility Tech II	See Appedix for descriptions as per job title	None			
Vorrell	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
Vorretl	Jahn	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
omoka / Tw	in Rivers (Water)						
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
oas	Lester	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
laring	Jahn	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Class B	See Footnote
larriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	CDL		Class B	See Footnote
/lamiott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007527	Class C	See Footnote
/lamiott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0009320	Class C	See Footnote
/IcNair	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
Rodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0004894	Class A	See Footnote
Veaver	Daniel	Utility Tech II	See Appedix for descriptions as per job title	None			
ast Name Boyd	First Name Charles, Joe	Employee Title Lead Maintenance Technician	Duties and Responsibilities See Appedix for descriptions as per job title	Certification Description None	Certification No.	Certification Level	Method of Allocation See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per lob title	Wastewater Operator - Florida	000010	Class B	See Footnate
Furlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL CDL	30213258	Class A	See Footnote
eath	Brian	Area Manager	See Appedix for descriptions as per job title	Water Operator- Florida	0005825	Class C	See Footnote
leath	Brian	Area Manager	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007522	Class C	See Footnote
(issick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Distribution	589	Class A	See Footnote
(issick	Gary	Facility Operator II	See Appedix for descriptions as per job title	Water Operator	0007846	Class C	See Footnote
vaio	Philip	Construction Coordinator	See Appedix for descriptions as per job title	None	00010-0	0.000	See Footnote
vichaelsen	Adam		See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
viichaeisen Veal	Martin	Facility Operator I Facility Operator I	See Appedix for descriptions as per job title	Water Operator - Florida	0010027	Class C	See Footnote
			See Appedix for descriptions as per job title	None	0010021	Olass C	See Footnote
Rodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
Ruston	Micheal Darreil	Utility Tech II Utility Tech III		Water Distribution Technician	3552	Class C	See Footnote
Sweat Montriol	<i>∪arre⊪</i> Todd	•	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None	3502	Oldas C	See Footnote
Vestrick Vorrell	John	Utility Tech II	See Appedix for descriptions as per job title	Water Operator- Florida	0006597	Class C	See Footnote
		Senior Facility Operator				Class B	See Footnote
	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	CHAZE D	Ged LONGING
Worrell							
/alencia Ter	race (Wastewater	•	Marking and Market and Indian	Cardiffeetten Decart 41-	A-418- 11 - 11	Cartification	BEARDON AS A Harrest
Valencia Ter Last Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocati
Valencia Ter Last Name Boyd	First Name Charles, Joe	Employee Title Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
Valencia Ten Last Name Boyd Fontaine	First Name Charles, Joe William	Employee Title Lead Maintenance Technician Field Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Water Operator- Florida	0006813	Cines C	See Footnote See Footnote
Valencia Ten ast Name Boyd Fontaine Fontaine	First Name Charles, Joe Willam William	Employee Title  Lead Maintenance Technician Field Coordinator Field Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Nona Water Operator- Florida Wastewater Operator - Florida	0006813 0007113	Ciass C Class B	See Footnote See Footnote See Footnote
Valencia Ten ast Name Boyd Fontaine Fontaine Michaelsen	First Name Charles, Joe William William Adam	Employee Title Lead Maintenance Technician Field Coordinator Field Coordinator Facility Operator I	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	None Water Operator- Florida Wastewater Operator - Florida Wastewater Operator - Florida	0006813	Cines C	See Footnote See Footnote See Footnote See Footnote
	First Name Charles, Joe Willam William	Employee Title  Lead Maintenance Technician Field Coordinator Field Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Nona Water Operator- Florida Wastewater Operator - Florida	0006813 0007113	Ciass C Class B	See Footnote See Footnote See Footnote

#### Aqua Utilities Florida Docket 980121-WS Field Employee List 2007

Last Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
Vestrick	Todd	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
Vorreli	John	Senior Facility Operator	See Appedix for descriptions as per lob title	Water Operator- Florida	0006597	Class C	See Footnote
Norreli	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007243	Class B	See Footnote
			**************************************			V 5	200,000,000
enetian Villa						<u>,,</u>	<u> </u>
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
Vidrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	See Footnote
Midrich	Howard	Facility Operator II	See Appedix for descriptions as per job title	Water Operator-Florids	0006368	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0006813	Class C	See Footnote
ontaine	William	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0007113	Class B	See Footnote
urlow	John	Utility Tech I	See Appedix for descriptions as per job title	CDL	30213258	Class A	See Footnote
/lichaelsen	Adam	Facility Operator I	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013614	Class C	See Footnote
leal	Martin	Facility Operator I	See Appedix for descriptions as per job title	Water Operator- Florida	0010027	Class C	See Footnote
odriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
Ruston	Micheal	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution	3603	Class C	See Footnote
Sweat	Darrell	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	3552	Class C	See Footnote
Trendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Collections Operator	3155	Class C	See Footnote
Trendel	Willam	Senior Facility Operator	See Appedix for descriptions as per job title	Water Distribution	2889 *	Class C	See Footnote
Trendel	William	Senior Facility Operator	See Appedix for descriptions as per job litle	Water Operator	0006411	Class C	See Footnote
rendel	William	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0009184	Class A	See Footnote
<b>Nestrick</b>	Todd	Utlity Tech II	See Appedix for descriptions as per job title	None			See Footnote
Norrell Norrell	John John	Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator- Florida Wastewater Operator - Florida	0006597 0007243	Class C Class B	See Footnote See Footnote
enetian Villa	ige (Wastewater)	-1					
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
ast Name			Duties and Responsibilities See Appedix for descriptions as per job title	Wastewater Operator-Florida	0008854	Class C	Method of Allocatio
ast Name Adrich	First Name	Employee Title Facility Operator II Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida			
ast Name Aldrich Aldrich	First Name Howard	Employee Title Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None	0008854 0006368	Class C Class C	See Footnote
ast Name Adrich Aldrich Boyd	First Name Howard Howard	Employee Title Facility Operator II Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida	0006854 0006368 0006813	Class C Class C Class C	See Footnote See Footnote See Footnote See Footnote
ast Name Adrich Adrich Soyd Fontaine	First Name Howard Howard Charles, Joe	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida	0008854 0006368 0006813 0007113	Class C Class C	See Footnote See Footnote See Footnote
Adrich Aldrich Boyd Fontaine	First Name Howard Howard Charles, Joe William	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Floride None Water Operator- Florida Wastewater Operator - Florida CDL	0006854 0006368 0006813 0007113 30213258	Class C Class C Class C	See Footnote See Footnote See Footnote See Footnote
ast Name Aldrich Soyd Fontaine Funtaine	First Name Howard Howard Charles, Joe William William	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida COL Water Operator - Florida	0006854 0006368 0006813 0007113 30213258 0014574	Class C Class C Class C Class B	See Footnote See Footnote See Footnote See Footnote See Footnote
ast Name Aldrich Boyd Containe Containe Curlow Gray	First Name Howard Howard Charles, Joe William William John	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Floride None Water Operator- Florida Wastewater Operator - Florida CDL	0006854 0006368 0006813 0007113 30213258	Class C Class C Class C Class B Class A	See Footnote See Footnote See Footnote See Footnote See Footnote See Footnote
ast Name Adrich Addrich Soyd Fontaine Funtow Ray Gray Alichaelsen	First Name Howard Howard Charles, Joe William William John Roger Roger Adam	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator II Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida COL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida	0006854 0006368 0006813 0007113 30213258 0014574	Class C Class C Class C Class B Class A Class C	See Footnote
ast Name Adrich Addrich Soyd Fontaine Funtow Ray Gray Alichaelsen	First Name Howard Howard Charles, Joe William William John Roger Roger	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Maintenance Manager	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Wastewater Operator - Florida None	0008854 0006368 0006813 0007113 30213258 0014574 0014198 0013814	Class C Class C Class B Class A Class C Class C Class C Class C	See Footnote
Last Name  Addrich  Addrich  Soyd  Containe  Fontaine  Fortaine  Fray  Aray	First Name Howard Howard Charles, Joe William William John Roger Roger Adam	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator II Facility Operator II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution	0008854 0006368 0006813 0007113 30213258 0014574 0014198 0013814	Class C Class C Class B Class A Class C Class C Class C Class C Class C	See Footnote
ast Name Addrich Addrich Soyd Fontaine Fontaine Furlow Gray Vikchaelsen Rodriguez Ruston	First Name Howard Howard Charles, Joe William William John Roger Roger Adam Bemardo	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Maintenance Manager	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Wastewater Operator - Florida None	0008854 0006368 0006813 0007113 30213258 0014574 0014198 0013814	Class C Class C Class B Class A Class C Class C Class C Class C	See Footnote
ast Name Akdrich Addrich Soyd Fontaine Funtow Gray Gray Gray Gray Rodriguez Ruston Sweat	First Name Howard Howard Charles, Joe William William John Roger Roger Adam Bemardo Micheal	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator II Facility Operator I Maintenance Manager Utility Tech II	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution	0008854 0006368 0006813 0007113 30213258 0014574 0014198 0013814 3603 3552 0006597	Class C Class C Class B Class A Class C Class C Class C Class C Class C	See Footnote
Last Name  Aldrich  Aldrich  Boyd  Containe  C	First Name Howard Howard Charles, Joe William William John Roger Roger Adam Bemardo Micheal Darrell	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech II Facility Operator II Facility Operator II Facility Operator I Maintenance Manager Utility Tech II Utility Tech III	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution Water Distribution	0008854 0006368 0006813 0007113 30213258 0014574 0014198 0013814 3603 3552	Class C Class C Class B Class A Class C Class C Class C Class C Class C	See Footnote
ast Name Aidrich Aidrich Soyd Fontaine Furlow Sray Aidrich Sray Aidrich Sray Aidrich Sray Aidrich Sweat Norrell Norrell	First Name  Howard Howard Charles, Joe William William John Roger Roger Adam Bemardo Micheal Darrell John John	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Maintenance Manager Utility Tech II Senlor Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida COL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution Water Distribution Water Operator - Florida Water Operator - Florida None Water Operator - Florida Water Operator - Florida	0008854 0006368 0006813 0007113 30213258 0014574 0014198 0013814 3603 3552 0006597	Cless C Class C Class B Class A Class C Class C Class C Class C Class C Class C	See Footnote
Last Name  Aidrich  Aidrich  Aidrich  Boyd  Containe  Co	First Name  Howard Howard Charles, Joe William William John Roger Roger Adam Bemardo Micheal Darrell John John	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Maintenance Manager Utility Tech II Utility Tech III Senlor Facility Operator Senlor Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida COL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution Water Distribution Water Operator - Florida Water Operator - Florida None Water Operator - Florida Water Operator - Florida	0008854 0006368 0006813 0007113 30213258 0014574 0014198 0013814 3603 3552 0006597 0007243	Cless C Class C Class B Class A Class C	See Footnote
ast Name  Iddich  Iddi	First Name Howard Howard Charles, Joe William William John Roger Roger Adam Bemardo Micheal Darrell John John John (Water) First Name	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Facility Operator I Maintenance Manager Utility Tech II Utility Tech III Senlor Facility Operator Senlor Facility Operator Employee Title	See Appedix for descriptions as per job title See Appedix for descriptions as per job title Duties and Responsibilities	Wastewater Operator-Florida Water Operator-Florida None Water Operator- Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Certification Description	0008854 0006368 0006813 0007113 30213258 0014574 0014198 0013814 3603 3552 0006597 0007243	Class C Class C Class B Class A Class C Class B	See Footnote
ast Name  lidrich  lidrich  lidrich  loyd  containe  con	First Name Howard Howard Charles, Joe William William John Roger Roger Adam Bemardo Micheal Darrell John John John First Name Relph	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator II Facility Operator II Facility Tech II Utility Tech II Utility Tech III Senlor Facility Operator Senlor Facility Operator  Employee Title Facility Operator II	See Appedix for descriptions as per job title Duties and Responsibilities See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida CDL Water Operator- Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Certification Description Wastewater Operator - Florida	0008854 0006368 0006813 0007113 30213258 0014574 0014198 0013814 3603 3552 0006597 0007243	Cless C Class C Class B Class A Class C	See Footnote
aat Name  kidrich  ki	First Name Howard Howard Charles, Joe William William John Roger Roger Adam Benardo Micheal Darrell John John Witter) First Name Relph Santo	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator I Maintenance Manager Utility Tech II Utility Tech III Senlor Facility Operator Senlor Facility Operator  Employee Title Facility Operator II Utility Tech II Utility Tech III Utility Tech III Company Company  Employee Title Facility Operator II Utility Tech II	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Certification Description Wastewater Operator - Florida None Wastewater Operator - Florida None	0008854 0006368 0006368 0007113 30213258 0014574 0014198 0013814 3603 3552 0006597 0007243	Class C Class C Class B Class B Class A Class C	See Footnote
ast Name  kidrich  ki	First Name Howard Howard Charles, Joe William William John Roger Adam Bemardo Micheal Darrell John John (Water) First Name Relph Santo David	Employee Title Facility Operator II Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator II Facility Operator I Maintenance Manager Utility Tech III Senior Facility Operator Senior Facility Operator  Employee Title Facility Operator II Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida COL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Certification Description Wastewater Operator - Florida None Wastewater Operator - Florida	0008854 0006368 0006813 0007113 30213258 0014574 0014198 0013814 3603 3552 0006597 0007243 Certification No. 0013244	Class C Class C Class B Class A Class C	See Footnote
ast Name  Idrich  Idri	First Name Howard Howard Charles, Joe William William John Roger Roger Adam Bernardo Micheal Darrell John John John First Name Reiph Santo David David	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech II Facility Operator II Facility Operator II Facility Operator II Facility Operator II Facility Tech III Utility Tech III Senlor Facility Operator Senlor Facility Operator  Employee Title Facility Operator II Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Certification Description Wastewater Operator - Florida None Wastewater Operator - Florida None Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida	0008854 0006368 0006368 0007113 30213258 0014574 0014198 0013814 3603 3552 0006597 0007243 Certification No. 0013244	Class C Class C Class B Class A Class C	See Footnote
ast Name  lidrich  lidrich  lidrich  loyd  containe  con	First Name Howard Howard Charles, Joe William William John Roger Roger Adam Bemardo Micheal Darrell John John John Witter) First Name Reigh Santo David David David David David	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator II Facility Operator I Maintenance Manager Utility Tech II Utility Tech III Senlor Facility Operator Senlor Facility Operator  Employee Title Facility Operator II Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution Water Distribution Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Wastewater Operator - Florida None Wastewater Operator - Florida	0008854 0006368 0006368 0007113 30213258 0014574 0014198 0013814 3603 3552 0006597 0007243 Certification No. 0013244 0005675 3404 1846	Class C Class C Class C Class B Class A Class C	See Footnote
aat Name  kidrich  ki	First Name Howard Howard Charles, Joe William William John Roger Roger Adam Benardo Micheal Darrell John John John First Name Relph Santo David David David David Steve	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Field Coordinator Utility Tech II Facility Operator II Facility Operator II Facility Operator II Facility Operator II Facility Tech III Utility Tech III Senlor Facility Operator  Employee Title Facility Operator  Employee Title Facility Operator II Utility Tech III Senlor Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida COL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution Water Distribution Technician Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Wastewater Operator - Florida None Wastewater Operator - Florida Water Distribution Technician Water Operator - Florida	0008854 0006368 0006813 0007113 30213258 0014574 0014198 0013814 3603 3552 0006597 0007243 Certification No. 0013244 0005675 3404 1846 0007519	Class C Class C Class B Class B Class A Class C	See Footnote
Venetian Villa Last Name Aldrich Aldrich Boyd Fontaine Fontaine Containe Co	First Name Howard Howard Charles, Joe William William John Roger Roger Adam Bemardo Micheal Darrell John John John Witter) First Name Reigh Santo David David David David David	Employee Title Facility Operator II Facility Operator II Lead Maintenance Technician Field Coordinator Field Coordinator Utility Tech I Facility Operator II Facility Operator II Facility Operator II Facility Operator I Maintenance Manager Utility Tech II Utility Tech III Senlor Facility Operator Senlor Facility Operator  Employee Title Facility Operator II Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator-Florida Water Operator-Florida None Water Operator-Florida Wastewater Operator - Florida CDL Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Water Distribution Water Distribution Water Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida Wastewater Operator - Florida None Wastewater Operator - Florida None Wastewater Operator - Florida	0008854 0006368 0006368 0007113 30213258 0014574 0014198 0013814 3603 3552 0006597 0007243 Certification No. 0013244 0005675 3404 1846	Class C Class C Class C Class B Class A Class C	See Footnote

# Aqua Utilitles Florida Docket 080121-WS Field Employee List 2007

	(Water)(Continued		B. M B				
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
nk	Lucas	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution Technician	4896	Class C	See Footnote
aio	Philip	Construction Coordinator	See Appedix for descriptions as per job title	None			See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Water Operator- Florida	0012040	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008946	Class C	See Footnote
osko	Thomas	Utility Tech i	See Appedix for descriptions as per job title	None			
F0						· <del></del>	
mage water i ast Name	(Wastewater) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
oyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None		<del>-</del> .	See Footnote
hristmas	Ratph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Fiorida	0013244	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0005675	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Collection Technician	3404	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1845	Class C	See Footnote
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0007519	Class B	See Footnote
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008937	Class B	See Footnote
ahn	Jerry	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013832	Class C	See Footnote
lahn	Јепу	Facility Operator II	See Appedix for descriptions as per job title	Water Operator - Florida	0014331	Class C	See Footnote
ink	Lucas	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution Technician	4896	Class C	See Footnote
laio	Philip	Construction Coordinator	See Appedix for descriptions as per job title	None	4000		See Footnote
fuldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0006452	Class A	See Footnote
luidoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0005980	Class C	See Footnote
fuldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Distribution Technician	3998	Class C	See Footnote
luidoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Wastewater Collection Technician	3722	Class C	See Footnote
odriguez	Bemardo	Maintenance Manager	See Appedix for descriptions as per job title	None	3722	Older O	See Footnote
hahid	Victor	Senior Maintenance Technician	See Appedix for descriptions as per job title	Water Distribution Technician	4051	Class C	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-08-5479	n/a	See Footnote
Stevens	Cari	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2088	Class C	See Footnote
Stevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
Wetaka / Sarat							<del></del>
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
oas	Lester	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
loyd	Charles, Joe	Lead Maintenance Technician	See Appedix for descriptions as per job title	None			See Footnote
laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator	0014091	Class B	See Footnote
laring	John	Senior Facility Operator	See Appedix for descriptions as per job title	Wastewater Operator	0012476	Class B	See Footnote
lamott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	CDL		Class B	See Footnote
farriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007527	Class C	See Footnote
lamiott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0009320	Class C	See Footnote
IcNair	Wesley	Utility Tech I	See Appedix for descriptions as per job title	None			See Footnote
lodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
hompson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0007251	Class A	See Footnote
homoson	Paul	Field Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0004894	Class A	See Footnote
Veaver	Daniel	Utility Tech II	See Appedix for descriptions as per job title	None	COGNOCT	3.007.	<b>930</b> , 552,656
	·				<del></del>		
Vootens (Wat ast Name	er) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocatio
ast Name	Lester	Utility Tech II		None	CALIFICATION NO.	Centrication Level	See Footnote
			See Appedix for descriptions as per job title	- · · · · · · ·			
	1-4-						
Haring Haring	John John	Senior Facility Operator Senior Facility Operator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title	Water Operator Wastewater Operator	0014091 0012476	Class B Class B	See Footnote See Footnote

The method of allocation is the time spent reported by the individual employee.

# Aqua Utilities Florida Docket 080121-WS Field Employee List 2007

Last Name	ter)(Continued) First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
Marriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	CDL		Class B	See Footnote
/arriott	Raioh	Facility Operator II	See Appedix for descriptions as per job title	Water Treatment	0007527	Class C	See Footnote
1arriott	Ralph	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0009320	Class C	See Footnote
lcNair	Wesley	Utility Tech i	See Appedix for descriptions as per job title	None	0000020	Class o	See Footnote
odriquez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None			See Footnote
tevens	Cart	Maintenance Tech	See Appetition descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
levens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
hempson	Paul	Field Coordinator	***	Water Operator- Florida	0007251		See Footnote
	Paul	Field Coordinator	See Appedix for descriptions as per job title See Appedix for descriptions as per job title			Class A	
hompson				Wastewater Operator - Florida	0004894	Class A	See Footnote
Veaver	Daniel	Utility Tech II	See Appedix for descriptions as per job title	None			See Footnote
ephyr Shores							
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
emarco	Santo	Utility Tech (	See Appedix for descriptions as per job title	None			See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0005675	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Collection Technician	3404	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1846	Class C	See Footnote
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Water Operator- Florida	0007519	Class B	See Footnote
uller	Steve	Senior Facility Operator	See Appedix for descriptions as per job title	Wastswater Operator - Florida	0008937	Class B	See Footnote
ahn	Jerry	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013832	Class C	See Footnote
ahn	Jerry	Facility Operator II	See Appedix for descriptions as per job title	Water Operator - Florida	0014331	Class C	See Footnote
nk	Lucas	Utility Tech II	See Appedix for descriptions as per job title	Water Distribution Technician	4896	Class C	See Footnote
laio	Philip	Construction Coordinator	See Appedix for descriptions as per job title	None			See Footnote
luldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0006452	Class A	See Footnote
fuldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Operator- Florida	0005980	Class C	See Footnote
luldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Water Distribution Technician	3996	Class C	See Footnote
fuldoon	Dennis	Area Coordinator	See Appedix for descriptions as per job title	Wastewater Collection Technician	3722	Class C	See Footnote
aver	Robert	Facility Operator il	See Appedix for descriptions as per lob title	Water Operator- Florida	0012040	Class C	See Footnote
aver	Robert	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0008946	Class C	See Footnote
Rodriguez	Bernardo	Maintenance Manager	See Appedix for descriptions as per job title	None	33333,7	V-250 F	See Footnote
hahid	Victor	Senior Maintenance Technician	See Appedix for descriptions as per job title	Water Distribution Technician	4051	Class C	See Footnote
osko	Thomas	Utility Tech I	See Appedix for descriptions as per job title	None	4031	Oldar O	See Footnote
levens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Backflow Prevention License	A03-06-5479	n/a	See Footnote
levens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Water Distribution	2086	Class C	See Footnote
tevens	Carl	Maintenance Tech	See Appedix for descriptions as per job title	Wastewater Collection Technician	2709	Class C	See Footnote
ephyr Shore	s (Wastewater)						
ast Name	First Name	Employee Title	Duties and Responsibilities	Certification Description	Certification No.	Certification Level	Method of Allocation
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0005675	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Wastewater Collection Technician	3404	Class C	See Footnote
vans	David	Utility Tech III	See Appedix for descriptions as per job title	Water Distribution Technician	1846	Class C	See Footnote
lahn	Jerry	Facility Operator II	See Appedix for descriptions as per job title	Wastewater Operator - Florida	0013632	Class C	See Footnote
	Jerry	Facility Operator II	See Appedix for descriptions as per job title	Water Operator - Florida	0014331	Class C	See Footnote
		Maintenance Manager	See Appedix for descriptions as per lob title	None	0014331	Cless C	See Footnote
ahn	Remanio						
ahn odriguez	Bernardo Victor			Water Distribution Technicism	4054	Class C	See Footests
ahn odriguez hahid	Victor	Senior Maintenance Technician	See Appedix for descriptions as per job title	Water Distribution Technician	4051	Class C	See Footnote
lahn Rodriguez Shahid Stevens				Water Distribution Technician Backflow Prevention License Water Distribution	4051 A03-06-5479 2086	Class C n/a Class C	See Footnote See Footnote See Footnote

# Aqua Utilities Florida, Inc. Field Employee List Appendix Duties and Responsibilities

Name of Job Title	<u>Page Number</u>
Area Coordinator	79
Area Manager	80
Construction Coordinator	81
Facility Operator I	82
Facility Operator II	83
Field Coordinator	84
Lead Maintenance / Technician	85
Maintenance Manager	86
Maintenance / Technician	87
Senior Facility Operator (South)	88
Senior Facility Operator (North)	89
Senior Maintenance Technician	90
Utility Technician I	91
Utility Technician II	92
Utility Technician III (North)	93
Utility Technician III (South)	94

DOCUMENT NUMBER-DATE

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

AREA COORDINATOR

# PRIMARY DUTIES AND RESPONSIBILITIES:

 Manages both operation, and maintenance of prescribed contract operation and company owned utility water/wastewater systems.

- Assigns subordinate responsibilities and establish guidelines for personal training, evaluations, scheduling, discipline, daily operations, and preventative maintenance.
- 3. Oversee all subordinate operational tasks and duties including the production and completion of the monthly operation reports and sample collection.
- Helps to maintain compliance with environmental, health, safety and operational standards of all associated facility operation and maintenance.
- Helps to determine funding requirements, prepares budget documents, monitors status of allocated funds, and controls expenses.
- Investigates and remedies facility operation and production problems related to operational management and maintenance.
- Coordinates projects with the managerial team, operational staff and contractual staff to ensure the achievement of the teams recognized goals, objectives and or assigned projects.
- Helps to identify immediate and long-term resource needs and provides accurate accounting of necessary inventory needs with making recommendations for purchase.
- Utilize and express exceptional communication skills to customers both inside and outside of the organization.
- Provide additional help both administratively and operationally to all levels of field personnel when needed.
- 11. Other duties as assigned.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

AREA MANAGER

- Establish performance measures and implement performance management.
   Practices, reviews, interview results and approve hiring recommendations, approve training and travel. Determine staffing level, etc., establish level of service, review management of budget by staff, direct preparation of annual budget for operations, maintenance, personnel, major water /wastewater facility rebuilds, etc.
- To frequently review all procedures and practices in helping to insure the proper operation of all facilities within state and federal compliance standards. Overseeing supervisors in regards to insuring stringent water quality guidelines in both water and wastewater for the protection of public health.
- 3. Participation in problem solving and approve and implement solutions to critical public safety and health issues.
- Develop and administer a comprehensive plan for maintaining facilities compliance while taking into consideration all facets of providing cost effective water and wastewater operations and maintenance.
- 5. Develop, administer and monitor parameters and procedures used to measure effectiveness and efficiency of all services and materials utilized.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

CONSTRUCTION COORDINATOR

- 1. Coordination of the installation of new developer systems.
- Preparation of submittal package to the Utilities Commission. Includes certified cost, signed contracts, as-built maps of systems, regulatory approvals, drawdown and analytical test results
- 3. Field coordination of capital improvement projects
- 4. Pre-construction meetings with contractors
- Routine inspection of contractor work ensuring that work is completed in accordance with approved plans and Aqua Florida minimum specifications.
- Coordinate with Operations Staff making sure that new systems get activated for monitoring and sampling.
- 7. Coordinate with Area Managers to ensure that capital projects are completed.
- 8. Administer inspection of construction and initial markup of as-built drawings
- 9. Conduct field tests as required to verify system operation.
- Participate in activities of various professional organizations, and attend seminars and training courses when necessary to maintain technical competency.
- 11. Participate on company committees and programs, as required.
- Act as liaison between Company and developers/municipal officials with respect to new business matters.
- 13. Capable of reading and interpreting subdivision plans and engineering drawings.
- 14. Maintain department files for contract agreements.
- Communicate with the Recorder of Deeds for the recording of Easement and Right-of-Way documents.
- 16. Can assist State Engineer in the performance of his/her duties.
- 17. Special Projects as assigned.

DIVISION: AQUA UTILITIES FLORIDA, INC.

JOB TITLE: FACILITY OPERATOR I

# PRIMARY DUTIES AND RESPONSIBILITIES:

 Performs scheduled plant inspections, and serves as Operator in Responsible Charge of assigned systems.

- Monitors gauges, meters and control panels; and controls variations and operating conditions of the treatment process. Records meter and gauge readings.
- Maintains all records pertaining to production, maintenance and treatment as required including reading charts, flow meters, and gauges to detect equipment malfunctions.
- 4. Collects samples and performs necessary chemical analysis in accordance with system sampling requirements.
- Extracts samples and performs routine laboratory tests, documenting and certifying test results.
- Performs other duties or special projects as requested related to the area of responsibility.
- 7. Must be available to work overtime and "on call" responsibilities as scheduled.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

**FACILITY OPERATOR II** 

- Performs scheduled plant inspections, and serves as Operator in Responsible Charge of assigned systems.
- Monitors gauges, meters and control panels; and controls variations and operating conditions of the treatment process. Records meter and gauge readings.
- Maintains all records pertaining to production, maintenance and treatment as required including reading charts, flow meters, and gauges to detect equipment malfunctions.
- Collects samples and performs necessary chemical analysis in accordance with system sampling requirements.
- Extracts samples and performs routine laboratory tests, documenting and certifying test results.
- Performs other duties or special projects as requested related to the area of responsibility.
- 7. Must be available to work overtime and "on call" responsibilities as scheduled.
- 8. Must obtain minimum of dual Class C license in water and wastewater.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

FIELD COORDINATOR

- Must be qualified, willing and able to assume facility operator duties as necessary.
   Directs operators in day-to-day operations and assists Area Manager in resolving problems and issues. Recommends solutions when options are available in an effort to achieve goals or initiatives.
- Coordinates Utility Technicians daily activities distributing manpower efficiently
  and effectively. Accesses problems and makes recommendations to complete
  necessary work internally or utilize contractors. Assists Area Manager in
  supervising external contractors on job sites.
- Assists the Area Manager in coordinating completion of programs and special
  projects, developing operating procedures, planning and organization. Implement
  strategies to improve the efficiency of employees to meet goals and objectives
  defined by the management team.
- 4. Assist management in forecasting, planning and funding for long and short term needs of individual systems. Monitors and controls spending and resources.
- Performs operational reviews and inspections of facilities. Prepare oral and written reports to assist the Area Manager in improving the efficiency of daily operations.
- Escort regulatory officials on inspections of facilities. Recommend and execute corrective actions required by regulators and insure facilities are in compliance with rules, regulations and company policies.
- Addresses customer issues unresolved by technicians and operators during completion of service orders and emergency repairs or construction projects.
- Must be willing and able to perform duties outdoors with exposure to inclement weather conditions, dust dirt, noise, odors and potentially hazardous substances and conditions.
- Assist Area Manager in interviewing candidates for open positions, recommend individuals for hiring, appraising employee's performance, counseling employees and employee training.
- Must be proficient in the use of tools and equipment utilized in the daily operations
  of facilities and systems.
- Must be available for on-call duty and other assigned as assigned by Area Manager.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

LEAD MAINTENANCE / TECHNICIAN

# PRIMARY DUTIES AND RESPONSIBILITIES:

1. Be able to troubleshoot electrical control panels

- Responsible for all preventive maintenance on all pumps and electric motors to assure proper operations, make adjustment and repair as need it.
- 3. Check Lift Stations weekly and record performance
- 4. Maintain a check list on generators, test every visit to sites, and perform visual inspections on gauges coolants and batteries
- 5. Be able to replaced and install new control panels and electrical branch circuits.
- 6. Be able to travel long distances and response to emergency calls.
- 7. Perform the duties and responsibilities in accordance with company policies
- 8. Proper use various tools and instruments required to perform jobs tasks and installations
- 9. Able to lift 100 + lbs
- Additional work to install new electrical in pre existing buildings encompassing switches, breaker boxes lights etc.
- 11. Perform field inspections of the equipment in the facilities for proper operations
- 12. Insure the proper maintenance of the company owned water and wastewater systems
- 13. Keep maintenance records including work orders and pump records.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

MAINTENANCE MANAGER

- Supervises work crews in the repair, alteration and modification of water distribution and, wastewater by scheduling, assigning and reviewing work, providing training and counseling and evaluate performance.
- 2. Supervise work crews in the installation, modification, maintenance and repair of electrical, mechanical and electronic systems.
- Reviews plans such as writing diagrams and schematics for existing and new systems and make recommendations for acceptance, modifications and or implementations.
- Reviews and performs contract management on contracts on contract pertaining to maintenance and equipment.
- Coordinates special projects with participating groups for overall input of selective knowledge and skills to insure successful job accomplishment.
- Maintains records, to include project development, equipment utilization, maintenance scheduling and repair cost and to provide comprehensive data of work progress and completion.
- 7. Administers and oversees current job or sight work safety program.
- 8. Inspects work sites to insure safety standards and that all equipment, tools and supplies are used in a safe and efficient manner.
- Directs and performs quality control inspections to insure adhesion to industry maintenance standards.
- 10. Prepares technical specifications for equipment acquisition.
- Requisitions and maintains replacement parts in a central stock to permit the completion of scheduled and unscheduled repairs.
- 12. Performs related duties as required.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

MAINTENANCE/ TECHNICIANS

- 1. Be able to troubleshoot electrical control panels
- 2. Responsible for all preventive maintenance on all pumps and electric motors to assure proper operations, make adjustment and repair as need it.
- 3. Check Lift Stations weekly and record performance
- Maintain a check list on generators, test every visit to sites, and perform visual inspections on gauges coolants and batteries
- 5. Be able to replaced and install new control panels and electrical branch circuits.
- 6. Be able to travel long distances and response to emergency calls.
- 7. Perform the duties and responsibilities in accordance with company policies
- 8. Proper use various tools and instruments required to perform jobs tasks and installations
- 9. Able to lift 100 + lbs
- Additional work to install new electrical in pre existing buildings encompassing switches, breaker boxes lights etc.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

SENIOR FACILITIES OPERATOR (SOUTH)

- Oversees and/or manages the operation of water/wastewater facilities and machinery that includes pumps, chlorinators, and booster pumps.
- Oversees and/or manages the sampling of the distribution system and production and treatment facilities as needed.
- Maintains all records pertaining to production, maintenance and treatment as required including reading charts, flow meters, and gauges to detect equipment malfunctions.
- Responsible for reporting all required data and sample results to the proper local, state, and federal agencies on a timely basis including DMR and MORs.
- Oversees and/or manages the operation of lift stations and/or reuse pump stations.
- 6. May fill in for operations during vacations, sick leave. Etc.
- Batching of chemicals and may purchase chemical additives, parts and other items necessary to continue plant operations.
- 8. Dispatcher responsibilities on service link.
- 9. Travel to off location systems for plant operations and/or maintenance.
- 10. Interviewing, hiring and training employees, appraising performance, rewarding and counseling employees.
- 11. Trains junior operators.
- 12. Assists the Utility Tech Cord. in day-to-day operations and maintenance and may be responsible in the Area Coordinator's absence.
- 13. Performs other related duties and assignments as required.
- 14. Participates in on-call duty.
- Performs the duties listed above in a safe manner following TCEQ, OSHA, IDOL, USDOT, Company and other applicable safety related rules and regulations.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

SENIOR FACILITY OPERATOR (NORTH)

#### PRIMARY DUTIES AND RESPONSIBILITIES:

 Performs required/scheduled plant inspections, monitors gauges, meters and control panels. Adjust controls accordingly to achieve desired water quality. Records and documents information and numerical values as collected. Serves as Operator in responsible charge of assigned systems. Assists coworkers in trouble shooting problems with systems and recommends resolutions to employees and supervisors.

- Identifies and collects samples required by permit or rule within compliance with acceptable methods and schedules for each system in assigned area of responsibility.
- 3. Assists supervisor as a team leader in the construction, renovation, servicing and maintenance of facilities including distribution and collection systems.
- Completes both internally and externally generated service orders involving individual systems, customer connections and accounts via Service Link.
- Serves on rotating emergency call duty for total systems after hours and weekends. This is a first responder to facilities, lift stations, distribution and collection systems.
- Ensures a clean and safe work environment at facilities. Maintains assigned tools, equipment and vehicle.
- Performs other duties and special projects as needed related to the area of responsibility.
- 8. Must perform duties outdoors with exposure to inclement weather conditions, dirt, dust, noise, odors and potentially hazardous substances and conditions.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

SENIOR MAINTENANCE TECHNICIAN

# PRIMARY DUTIES AND RESPONSIBILITIES:

1. Assists higher level maintenance personnel with repairs and modifications.

- Assists in installing, overhauling, repairing, receiving, and maintaining equipment such as pumps, motors, chemical feed pumps, gas and diesel engines, compressors, communicators, and other types of utility and or mechanical equipment.
- 3. Assists in oxygen acetylene and electric welding, brazing soldering and painting.
- 4. Performs periodic inspections and preventative maintenance on equipment to insure proper functioning.
- 5. Performs routine maintenance repairs such as adjusting chain drives, belts, installing guards, and repairing meter gauges.
- 6. Answers emergency calls to assist in repair of equipment when needed.
- 7. Performs related duties as required.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

**UTILITY TECHNICIAN I** 

- Performs semi skilled installation, maintenance and repair of valves, meters, gauges, pumps, and associated equipment used in water distribution systems or wastewater collection systems.
- 2. Operation and routine maintenance of equipment and vehicles; i.e. trucks, digging, trenching equipment, and other equipment as required.
- Loading and unloading various equipment, chemicals and supplies at worksites and store areas.
- 4. Performs ground keeping and custodial work as required.
- 5. Reads meters as required.
- 6. Performs other duties or special projects as requested related to the area of responsibility.
- 7. Must be available to work overtime and "on call" duty as scheduled.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

**UTILITY TECHNICIAN II** 

# PRIMARY DUTIES AND RESPONSIBILITIES:

 Performs semi skilled installation, maintenance and repair of valves, meters, gauges, pumps, and associated equipment used in water distribution systems or wastewater collection systems.

- 2. Operation and routine maintenance of equipment and vehicles; i.e. trucks, digging, trenching equipment, and other equipment as required.
- Operation of medium construction equipment under the supervision of a qualified operator.
- 4. Loading and unloading various equipment, chemicals and supplies at worksites and store areas.
- 5. Performs ground keeping and custodial work as required.
- Performs other duties or special projects as requested related to the area of responsibility.
- 7. Must be available to work overtime and "on call" duty as scheduled.
- Within 18 months must obtain either Water Distribution Certification Class C or Wastewater Collections Certification Class D

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

**UTILITY TECHNICIAN III (NORTH)** 

- 1. Performs work necessary to complete both internally and externally generated service orders and documents completed work in service link.
- Performs as a team leader in completing or contracting minor and major repairs to distribution and collection systems and facilities as necessary. Assists supervisors with construction and special projects.
- 3. Locates existing underground lines to prevent damage during digging operations.
- Performs routine maintenance of distribution and collection systems such as but not limited to valve exercising, hydrant flushing, service line replacement and meter set/meter box replacement.
- Knowledge and ability to operate various types of equipment associated with utility repair such as but not limited to mud pumps, compactors, cut-off saws, pipe threaders, portable generators, and hand tools.
- May operate medium duty construction equipment under the supervision of qualified operators. Inspects vehicles and equipment to insure safe and proper operation.
- 7. Completes customer meter reading as required by supervisor.
- Must have the ability and willingness to perform duties outdoors with exposure to inclement weather conditions, dirt, dust, noise, odors and potentially hazardous substances and conditions.
- Must be available to work overtime and serve on a rotating on-call duty for total systems including treatment facilities and distribution/collection systems.

AQUA UTILITIES FLORIDA, INC.

JOB TITLE:

**UTILITY TECHNICIAN III (SOUTH)** 

- 1. Assists the utility tech coordinator.
- Makes and/or coordinates repairs to water and wastewater lines to include: laying, pipe cutting, tapping mains and service lines and setting meters and flushing and evacuating clogged wastewater lines.
- Performs semi skilled installation, maintenance and repair of valves, meters, gauges, pumps, and associated equipment used in water distribution systems or wastewater collection systems.
- 4. Locates existing water and wastewater lines to prevent damage during construction and digging operation.
- Operates various equipment associated with water / wastewater utility repair and construction.
- Assists in excavation work site, as required to facilitate installation, maintenance, or repair of water and/or wastewater lines and restoring site to original conditions when work is complete.
- Operates medium construction equipment under the supervision of a qualified operator.
- 8. Performs ground keeping and custodial work as required.
- Provides instruction and guidance to subordinate employees as required.
- 10. Reads water meters when necessary.
- 11. Completes assigned service work via Service Link.
- 12. Performs related duties as required.
- Coordination of jobs, submission of required paperwork and maintenance of records.
- 14. Direct a maintenance crew of up to six employees.
- 15. Able to conduct compliance sampling along with associated paperwork.
- 16. Operate and maintain lift stations and collections system.
- 17. Must be available to work overtime and "on-call" duty as required.

# Aqua Utilities Florida, Inc. Vehicle List All Systems Combined

Name of System

All Systems Combined

97

DOCUMENT NUMBER-DATE

04303 MAY 22 %

FPSC-COMMISSION CLERK

Aque Utilities Florida Docket 080121-WS Vehicle List 2007

Mfg. Year Plate	Unit Serial Number	ACHICLE MIGHE	ABINCIE MODEL		Criginal Cost	Off Road Date	CONCRETOR	Lease Cost	Allocation	5
5 PD88VH	4 2G1WH52K859181143	Chevrolet	elecm)	Jost, signaturi	15975.00	8/9/2/005	passa	4 633 07	Customer Co	Š
_		BEICK	LaCrosse	Smith Carl	17525.00	8/2/2006	Leased	5 223 72	Customer Count	5
		Chevrolet		Paver, Robert	19198.83	5/10/2005	Leased	5,564,52		Solution
•		Chevrolet		Westrick, Todd	13818.98	6/18/2004	Leased	3 945 36		Color
	1GCEC14X94Z333826	Chevrolet	1500	Unassigned	13818.98	6/16/2004	Pessed	3,945.36		Sound
X71YDZ		Chevrolet	1500	Michaelson, Adam	13818.98	6/18/2004	Leased	3.945.36		Count
		Chevrolet	1500	Ferrington, Randall	13818.98	6/16/2004	Leased	3,945,36		2
		Chevrolet	1500	Kissick, Gary	(3618.98	6/16/2004	Leased	3.945.36		Solar
4 U960DB		Chevrolet	1500	Pitzer, Jean	13818.98	6/18/2004	Leased	3.945.36		South
		Chevrolet	1500	McCarthy, Terry	13818.98	6/16/2004	Leased	3,945.36		Colem
1 X48YDZ		Chevrolet	1500	McNair, Wasley	13818.98	6/18/2004	Leased	3.945.36	Customer	8
		Chevrolet	1500	Haring, John David	13818.98	6/18/2004	pessed	3,945,36	Customer	Count
		Chevrolet	1500	Hostetler, Don	13818.98	6/18/2004	Leased	3.945.36	Customer	Solution
		Chevrolet	1500	Trendel, Bill	13818.98	8/18/2004	eased	3.945.36		Š
		Chevrolet	1500	Christmas, Ralph	13818.98	6/18/2004	Leased	3.945.36		8
		Chevrolet	1500	Aldrich, Jav	13818.98	6/16/2004	Leased	3.945.36		3
		Chevrolet	1500	Hahn Jemy	13818 98	6/18/2004	RESEC	3 945 36		3
		Chavrolet	1500	Filler Steve	13818 98	6/16/2/104	passed	3 945 36		Ì
X59YDZ		Chevrolet	1500 Evt	Thompson Park	16979 71	6/18/2004	Deser	4 B47 E2		1
		Chevrolet	1505	Muldoon Dennie	10070.1	700000	Dogge	20.7.50		í
		Don't	3	Dom Vohido	27078	7000001	2000	40. 4F9.F		Í
	1701401314067	area Cariol	2 5	Dept Vehicle	37848.00	2002/2004			¥2.	
	LV01101	Station	2500	Dept venicle	3/848.00	7723/2004	DBUMO C		¥ :	
		Sierre C	2000	Poor venice	30690.48	4002/8C/8		4,000		-
•		Chermical	SOUCKDINES	Sugarguez, Definite	200/02/2	0/29/2004	Deser	/,010,4U	Customer Count	Ĕ
TMTCM AGG		Cheviolet	200	Owie Eddin	2708070	002/1/0			¥ 2	
1 1 1 2 5 C 7			MAKEON CORP. Co. ex.	Cour, richie	20/03/10	\$0071.80 \$000.00	Dame of		<b>S</b>	
		CANC	WASSU CAS CVAR	Coupener, Nem Custon, Milko	20410.00	8007/L80			<b>4</b> 5	
		o de la compa	1500	Shabid Victor	00.2002	20000000	Delias I	211 62		1
		Spender C	3 5	March Mad	40704	20000000		20.7.00	Customen	
		Chevrolet	8 5	Greek Pools	10761.13	12020003	10000	0,008.44 5 5.30 44		<b>5</b> 5
		Chevrolet	3500 LD	Figor Dave	OL NOTE:	OMADON	Topped C	1		į
		Chavenlet	150	Merclet Dalph	2005500	40000V	Total I	5 040 36	1	1
		Chevrolet	8 5	Crishen Stew	46570.00	2002047	Cassad	0,010,00		
	10N00120242001001	Chevmlet	Tentiblesee	College Course	100/000	4 14 KOOS	Dagger	4,010,04	Customer	
		Chember	3500	Standing Cod	100,000,000 ERECTO DE	1100000		+2" /go't	Customer Course	Š
	_		3600	Don't Chades least	50003.90	11/20/2000			¥ 2	
		Carolet	355	Doyd, Charles Justin	08.0000	ווכתבחתם				
•	16003190403299487	Chevrolet	Colorado Ext	Chamberlain, Johnny	15810.38	5/10/2006	Pessed	4,685.24		Ĕ .
-		Cheviolet	Colorado Ext	Demarco, sento	BC.DTBCT	2707500	Leased	4,080.24		5
•		Crewroker	Colorado Ext	LINK, LUCZI	38.018c1	90020176	Leased	4,085.24	Customer Count	Ĕ
		Cleviole	200	ream, chan	50.7507.2	1000000			¥ :	
_		Chevrolet	3300	Davis, Mike	00000	1720/2006			W.W	
2006 382080	16CEC19X96Z284557	Chevrolet	1500 Ext	Fontaine, Will	19122.83	9/10/2006	Leased	5,679.00	Customer Count	Ĕ
-		Chevrolet	2500 HD	Shahid, Victor	35347.14	9/26/2006	Owned			
		Pontiac	Vibe	Maio, Ph	16730.17	9/15/2006	Ceased	4,958.76	tomer	Solai Colai
	_	S.	Ranger	Pool Vehicle	13791.82	9/1/2004	Owned		¥	
	_	Pod	Ranger	Unassigned	12830.35	9/1/2001	Owned		¥N.	
	•	For	F-250	Brown, Howard	24855.45	9/1/2001	Owned		¥X	
2003 X74HWC	•	Chevrolet	S-10 Ext	Furlow, John	15707,00	11/25/2003	Leased	4,407.60	Customer	COUNTY
		Chevrolet	S-10 Ext	Worrell, John	15872,00	11/25/2003	Pested.	4,454,20	Customer	300
2003 JSGDLK	•	Chevrolet	Impala	Poal Vehicle	12775.00	2/10/2004	Leased	3,567,96	Customer	300
	>	Ford	F-350 Ext	Weaver, Daniel	36583,12	7/22/2003	Owned		¥%	
:	JALC4B16X57006319	GMC	W4500 Cab Over	Stevens, Carl	43855.06	2002	Owned		ΝA	
19174767										

Vehicle allocation based on customer count as follows: Jan - June 2007 12/31/66 customer count July - Dec 2007 6/30/07 customer count

\* Removed from Service 2/07
\*\* Transfered to North Carolina 1/07
\*\*\* Transfered to Pennsylvania 4/07

# Aqua Utilities Florida, Inc. Customer Complaints All Systems Combined

Name of System

Page Number(s)

All Systems Combined

101 -128

DOCUMENT NUMBER-DATE

04303 HAY 22 8

FPSC-COMMISSION CLERE

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
762958W	2007-12-28 3:44 PM	ANDREW YUHAS	Estimated Bills	2008-1-18 1:24 PM	In response to Mr. Yuhas compilant, the billing statements that were issued from 10/23/2007 to 12/19/2007 were based on estimated readings. These statements were cancelled. On 12/28/2007, Aqua was at your property and obtained an actual meter reading of 48100. Prior to the 12/28/2007 reading, an actual reading was obtained on 9/24/2007. The account was re-billed from 9/24/2007 to 12/28/2007. The consumption for the period 9/24/2007 to 12/28/2007 was 9,500 gallons in 95 days. The average daily consumption was 101 gallons. A new bill was issued on 1/7/2008, with a due date of 1/29/2008. During this timeframe, Mr. Yuhas made a payments in the amount of \$70.13 on 11/23/2007 and \$50.00 on 12/10/2007. Both payments were applied to the account. On 1/18/2008, a company representative attempted to reach Mr. Yuhas, no answer a voice message was left and a letter mailed as a follow-up to message.
762813W	2007-12-24 4:10 PM	NANCY EVANS	Estimated Bills	2008-1-16 3:11 PM	In response to Mrs. Evans compliant regarding billing statements issued from 9/21/2007 to 10/22/2007 consumption 5,000 gallons, average daily usage 161 gallons per day and 10/22/2007 to 11/21/2007 consumption 5,700 gallon, average daily usage 190 gallons per day were billed based on actual meter readings. The customer's monthly cycle reading was 12/21/2007 and an actual reading of 220 was obtained. In addition to the monthly cycle reading, Aqua visited the property on 19/2008, and obtained a check reading of 250 and confirmed that the meter and Electronic Receiver Transmitter was functioning as designed. The meter in place was in installed at the property on 8/25/2007. On 18/2008, Kimberty Joyce, Manager of Regulatory Relations spoke to Mrs. Evans and reviewed the account with her. The company is committed to address all Mrs. Evans concerns and have taken steps in making sure that the account is being billed besed on actual readings.
762795W	2007-12-24 1:04 PM	DOROTHY FALK	Property Damage/Maint/Dist.	2008-1-21 4:39 PM	Ms. Falk outlined three issues in the complaint; 1) sewer problem at 35143 Dale Ave, Zephyrfillis, FL which resulted in the customer paying \$347.02 (seeking reimbursement) 2) status of backup capability, second well installation and 3) lack of response from customer service department in August 07.1). A company propersentative spoke with Ms. Falk on 1/18/08 and discussed the work performed by Bruce Carrigan Plumbing Service. Ms. Falk indicated that she is satisfied with the work in addition an Aqua representative contacted Bruce Carrigan Plumbing and discussed the repair work that was performed. It was identified that the sewer problem was a company problem that should have been addressed. The company will be reimbursing Ms. Falk \$347.02. On 1/21/008, a Claims & Risk Management representative contacted Ms. Falk and edvised her that the necessary paperwork will be forwarded to her for reimbursement.  2). As stated in Mr. Ellis's memo, Aqua has drilled two new wells. One well is in service and the second well is work in progress and sepacted to be online by mid to late February 2008. 3). Additional training will be provided to all customer service representatives for calendar year 2008. On 1/21/2008, i spoke directly with Ms. Falk and addressed each issue with her and extended my spology for the poor customer service that she received back in August, 2007. Ms. Falk accepted my spology and was grateful that the issues have been addressed. I advised Ms. Falk once she receives the paperwork from Aqua's claims department to return with signature so the refund check can be processed and mailed.
762473W	2007-12-19 4:12 PM	RANDY HUNT	Billing Dispute	2008-1-14 2:39 PM	On 1/4/2008, Mr. Patterson (billing supervisor) spoke to Mrs. Hunt regarding her account. Mr. Patterson provided Mrs. Hunt with a spreadsheat that provided detail information regarding billing from 10/2006 through 12/2007. It is my understanding that Mrs. Hunt understood the reconciliation process however requested additional information showing the usage (gallone) per each month. Mr. Patterson has committed to provide this information and will forward to Mrs. Hunt. On 1/8/2006, Mrs. Hunt spoke to Mrs. Dix regarding her account. Mrs. Hunt indicated that she filled her pool but did not give specific dates. Mrs. Hunt requested tast 13 billing statements issued. Copies were faxed to Mrs. Hunt per her request.
762373W	2007-12-18 4:19 PM	NEIL WHIPPLE	Billing Dispute	2008-1-11 3:06 PM	On 1/15/06 an Aqua representative 116 and 118 Quiver Leaf St and verified the meter and electronic receiver transmitter number for both properties. The meter information in the field did not coincide with the meter information in Aqua's billing system. On 1/24/08, Aqua's billing system was corrected to reflect the correct address and the correct meter number, it appears that there was a meter exchange that took place on 9/5/07 but was not updated in the billing system. The account is in the process of being billed from the date of the meter exchange 9/5/07 to date. I spoke with Mr. Whipple on 1/24/08, explained the corrections made. I Informed him that the account was in the process of being billed and he should receive a billing statement in the next 2 weeks. Mr. Whipple expressed concern about the credit on the account. I advised that there is a credit of \$186.69 that will be credited to the account once billed however since that the bill will cover a long period of time I couldn't quote weather he would still have a credit once the bill has been processed. I mentioned the option of payment arrangements.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
762180W	2007-12-17 1:13 PM	JAMES STANFORD	Billing Dispute	2008-1-9 4:02 PM	In reference to the billing issues that Mr. Stanford outlined in his compliant, Aque has taken steps to correct the account. Mr. Stanford will receive a revised bill dated from 6/01/2005 to 6/8/2006 for services rendered. All billing statements issued from 06/08/2006 through 11/1/2006 will be cancelled and a revised billing statement will be prepared for services rendered from 11/1/2006 through 5/1/2007. On 1/8/2007, a company representative spoke with Mr. Stanford and explained the corrections and revisions that are being made to the account. Mr. Stanford was in agreement and stated that he would have the new tenant to contact Aque's business office to apply for service. It was also explained to Mr. Stanford that it could take 3 to 4 weeks or sooner for him to receive the revised billing. A contact name and telephone number was provided to Mr. Stanford for future questions.
762072W	2007-12-14 5:16 PM	MR & MRS TRUMAN	Billing Dispute	2008-1-8 10:04 AM	On 5/29/2007, Aqua exchanged the meter at the property. However, due to an internal error the information was not updated in Aqua's billing system. The usage was estimated for billing statements issued from 5/29/2007 through 11/27/2007, the billing statements were cancelled. The company obtained an actual meter reading of 12600 on 12/10/2007. The account was re-billed with this meter reading and a new billing statement was issued from 5/29/2007 to 7/14/2007 (old meter) for 46 days of service and 7/14/2007 to 12/10/2007 (new meter) for 149 days of service. The billing statement issued was for 195 days of service. On 17/2008, Mr. Truman returned my call from 1/4/2008, and I explained the cancellation and rebilling on the account. I advised Mr. Truman that once he receives the revised billing statement to review and contact me directly if he has any follow-up questions.
761885W	2007-12-13 12:30 PM	DALLAS TWIFORD	Billing Dispute	2008-1-7 4:28 PM	On 12/10/2007, Aqua visited the property end exchanged the meter at the customer's request. The billing statement issued from 11/21/2007 through 12/21/2007 was cancelled. The account was re-billed on the old meter from 11/21/2007 for a total of 19 days of service and billied on the new meter from 12/10/2007 for 12/27/2007 for a total of 36 days. Total usage 5,900 gallons, the average daily consumption was 163 gallons. The revised billing statement was mailed to Mr. Twiford. On 1/3/2008, a company representative contacted Mr. Twiford and explained the revised billing. There is a total account belance of \$39.92 which is due 1/22/2008.
761524W	2007-12-11 12:10 PM	STACEY ZINSMEISTER	Billing Dispute	2008-1-3 3:22 PM	On 1/4/2008, I spoke with Ms. Zinsmeister regarding account. Explained the account was billed from 6/1/2007 to 12/6/2007 for 188 days of service bill rendered for \$374.34. Customer was put on a 6 month payment arrangement to pay \$62.39 month plus current bills. Ms. Zinsmeister was fine with the results and thanked me for the follow-up, I advised if any questions in the future she has my name and number to call me directly.
761497W	2007-12-11 11:50 AM	MATTHEW JONES	High BIII	2007-12-21 11:16 AM	A company representative contacted Mr. Jones on 1/21/2008. A detail billing explanation was provided in addition an explanation on Aque's payment arrangement process. There was some confusion on Mr. Jones's part as to having to pay the current bill in addition to the payment errangement. Since Mr. Jones default because he did not understand the payment arrangement process, Aque granted one last payment errangement. Mr. Jones has agreed to pay \$84.67 each month starting 2/29/2008 plus all current bills as due. The account balance is \$1,016.04 which is the dollar amount the payment arrangement was based on.
76151 <b>6W</b>	2007-12-11 11:16 AM	CHARLES SUGGS	Property Damage/Maint/Dist.	2007-12-28 3:20 PM	On 12/10/2007, Aqua representatives were out to the property to meet with Mr. Suggs. The water main lines were checked and reported running fine (no blockage). During the visit, Mr. Suggs stated to the representatives that the plumber's camere showed roots but the plumber did not cut them out for him. The company representatives explained to Mr. Suggs that he need to contact the plumber again. The water mains were the company responsibility only and since there was no blockage in the company lines, it was his responsibility. There have been no reports from neighbors regarding blockage, therefore it was suggested to Mr. Suggs that the problems he was experiencig is his responsibility. A call was placed to the customer's home on 12/28/2007, no answer. A letter was mailed to the property as a follow-up.
761076W	2007-12-7 5:05 PM	EDWARD HEADINGTON	Billing Dispute	2007-12-28 12:54 PM	In addressing Mr. Headington's concerns regarding his billing, an Aqua representative visited the property on 12/21/07, to check the meter and obtain a reading. The reading was consistent with previous readings but it was determine that when the information was transmitted there was a data entry error which caused the customer to be billied for increased usage. The billing statement issued from 9/7/07 to 10/4/27 was billed with a reading of 557 (54,500 gallons) when it should have been a reading of 55 (4800 gallons). This error was corrected by canceling all billing statements that were issued from 10/4/07 to 12/5/07. With the revisions, the customer has a credit balance of \$17.51. The error was discussed with the field service representative and additional training was provided. On 12/28/07, a company representative contacted Mr. Headington and explained the company error and the revised four additional questions once Mr. Headington receives the revised billing statement.
760629W	2007-12-4 3:45 PM	JANIS DUNN	Water Quality	2007-12-24 11:26 AM	There has been a refund credit adjustment of \$279.18 credited to Ms. Dunn's account. The customer currently has a credit balance of \$138.14. The company has made an attempt to reach Ms. Dunn/Mr. Don Soule at 407-907-9006 however this is a non working number. In order to test the water and check pressure access to the property is needed. A latter will be mailed to the property requesting the customer to contact Aqua's business office.

Case Number	Date Received	Customer 2 10 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	RootCause	Date Sent to PUC	Resolution
760595W	2007-12-4 3:36 PM	JAMES NAPPI JR	High Bill		On two attempts the company tried to reach Mr. Nappi via telephone but was not successful. To provide detail information on the account regarding his billing. On 12/13/2007 the company visited the property to check the meter and obtained a reading on 12/13/2007 (6107). This reading is in line with the reading that was taken on 11/14/2007 (6002). The current billing statement that was issued from 11/14/2007 to 12/14/2007 for 10,500 gallons was based on actual readings and indicates that the usage has returned back to normal. The previous billing statement issued from 10/15/2007 to 11/14/2007 for 32,300 gallons was an increase in usage however, it does indicated that there was some type of event that took place at the property to cause such an increase. Aqua would like to discuss in detail to assist in identifying if there are any leaks at the property. A letter was mailed to Mr. Nappi providing an update status on billing issues.
759898W	2007-11-28 10:41 AM	ROBYN ZEIGER	High Bill	2007-12-19 3:58 PM	On 12/18/ 2007, Aqua visited the property and flushed the lines. After flushing the lines the water was tested for chlorine. The chlorine level tested 1.2 residual. A door hanger was left for the customer. The pressure was checked as well. The customer's billing statements have been based on actual readings. A follow-up call was placed to the property on 12/16/2007, no answer a message was left for the customer to contact the business office.
759894W	2007-11-28 10:25 AM	MEGAN TANIS	High Bill	2007-12-18 4:07 PM	On 12/13/2007, a company representative attempted to reach Ms. Tanis to Inform her that a company representative would be visiting the property on 12/14/2007 to obtain a check reading. On 12/17/2007, a company representative spoke with Ms. Tanis regarding her account referencing the high usage and credit refund, it was explained that the credit refund amount was \$139.08 however; there was a billing statement issued from 10/22/2007 to 11/20/2007 for \$94.40. The bill was applied to the credit which left a credit batance of \$44.68, in addressing the high usage, a company representative visited the property on 12/14/2007 to obtain a check reading with instructions to leave a door hanger with the results. The reading obtained was 4690 which is in line with the reading obtained on 11/20/2007, 4554. The representative advised Ms. Tanis to monitor the usage by taking a reading in the morning before she leaves for work and then when she returns check the reading. If there is usage and no one was at home during the day then it is possible that she has a silent leak. Ms. Tanis stated she will monitor the usage and if she has any further questions, she has a direct telephone number.
759611W	2007-11-26 12:49 PM	CLINTON SPIELBAUER	Billing Dispute	2007-12-17 4:35 PM	On 12/17/2007, I spoke with Mrs. Spielbeuer regarding the account. I explained that I would cancel all billing statements issued after 4/27/2007 since she requested the account to be closed while she was eway for the summer. The billing will be cancelled and taken out of the name of Clinton Spielbeuer (husband has been decased since 2003). The account will be placed in the name of Edith L. Spielbeuer effective 11/15/2007. The turn on fee of \$15.00 will be waived due to the inconvenience to the customer. I have committed to contact Mrs. Spielbeuer once all cancellation of billing completed and account placed in her name.
759167W	2007-11-19 2:55 PM	CARLOS NUNEZ	Incomplete Work Order	2007-12-12 4:13 PM	The service at 7904 knohest Drive, Port Richey, and FL has been placed in the name of David Burch effective 6/28/2007 and taken out of the name of Carlos Nunez, All billing statements that were issued to Mr. Nunez from 6/2007 to 11/2007 have been cancelled. A revised billing statement will be issued under the name of David Burch. On 12/11/2007, a company representative spoke with Mrs. Nunez and advised her that the service was placed in the tenant's name David Burch and taken out of Carlos Nunez name and all billing statements have been cancelled. The representative extended an apology on behalf of the company. When Mr. Burch contacted the company to request service in his name, the procedure was not completed by the customer service representative. This was addressed and has been identified as a training opportunity.
758946W	2007-11-16 11:33 AM	MICHAEL LACROIX	Billing Dispute	2007-12-11 4:17 PM	The company was given a deadline date of 11/30/2007 to refund customer accounts with the credit refund for the interim rate increase. The bitling statement issued from 10/17/2007 to 11/13/2007 dated 11/21/2007 itemizes the credit refund to the customer in the amount of \$49.89. The meter that was installed at the property was 5/8 inch with black poly tubing which is standard installation. A company representative made an attempt to reach Mr. Lacrotix via telephone, no answer a message was left for him to contact an issues Resolution representative. A direct telephone number was provided.
758719W	2007-11-15 8:23 AM	JEFFREY TARR	Service Termination (informal)	2007-11-30 6:08 PM	Customer contacted Aqua on 11/15/07 to report that their service had been terminated on 11/14/07. Customer was mailed a 10-day notice informing them to pay \$360.47 by 10/31/07 to avoid termination. Company greated a service order to move the client into the address dating back to 2/12/07 to ensure proper billing. Company inspected meter and found it to be working correctly but replaced in on 11/15/07 per customers request. Company scheduled to have water turned on same day 11/15/07. Customers account has been corrected and new meter installed. Customer has an account balance of \$337.33 due 12/20/07. Company is willing to offer payment arrangements on the current belance of \$337.33.
758449W	2007-11-13 4:39 PM	EARL KENSER	Billing Dispute	2007-12-6 6:58 PM	A compeny representative spoke with Mrs. Kenser on 12/5/2007, advised her that the account will be finalized as of 6/29/2007. All billing statements that were issued would be cancelled. Any refund due to the customer will be mailed to 107 Swiss Lane, East Peoria, It, 61611. Mrs. Kenser indicated that she would contact the company when she returns in January, 2008. The representative apologized for the inconvenience to the customer.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
758373W	2007-11-13 3:55 PM	FRANK & LOIS VARA	Payment/Credit Processing	2007-12-6 6:24 PM	A company representative spoke with Mr. Vara and advised him that the account had been corrected. The service was taken out of his name effective 6/9/2007 per his request. All billing statements that were issued were cancelled and a refund in the amount of \$135.18 will be refunded. The processing of the refund is 3 to 4 weeks. The service will resume under Mr. Vara's name effective October 16th. The representative apologized for the company error.
758369W	2007-11-13 3:46 PM	PHILIP SCHMIDT	Incomplete Work Order	2007-12-4 5:29 PM	On 12/4/2007, a company representative made an attempt to reach Mr. Schmidt via telephone no answer a message was left. On 12/11/2007, a company representative spoke with Mrs. Schmidt and informed her that the account had been updated with an effective move in date of 8/29/2007. The turn on fee of \$15,00 was waived as a courtesy due to the inconvenience to the customer. Mrs. Schmidt was provided a billing explanation and advised that she has a credit balance in the amount of \$96,04. Mrs. Schmidt stated she was fine with the results.
757789W	2007-11-6 3:51 PM	SCOTT SINCLAIR	Billing Dispute	2007-11-28 2:41 PM	On 11/20/2007 and 11/27/2007, an Aqua representative made an attempt to contact the customer via telephone however there was no answer and a message was left providing a direct telephone number for the customer to contact Aqua's business office to discuss his concerns. In reviewing the customer's account, Aqua has not received a returned mail notice from the post office. Mr. Sincleir's current billing statement was mailed on 11/28/2007 with a due date of 12/20/2007 (for services rendered from 10/22/2007 to 11/20/2007). The bill is in the amount of \$76.07 however, due to the credit refund (interim rate adjustment credit refund) on the customer's account of \$128.48 the customer's account balance is a credit of \$52.41. The customer's billing statements are generally mailed at the end of the month. Mr. Sincleir has not returned the catle placed to his home therefore a letter was mailed providing a time frame as to when he should receive his monthly billing statements.
W\$768	2007-11-6 1:46 PM	DONALD JENNESS	Service Termination (informal)	2007-11-19 4:03 PM	This is not an official complaint. Aque had someone go to the property to turn the services on for Mr. Jenness. In researching the account, it appears that CSR have move-in Ms. Burdenshaw into the property in error. Mr. Jennesse should be at this address and Ms. Burdenshaw lives at 11475 Couty RO 675W, Webster, FL. Lynn Powers is working to update both accounts. Any questions, please see Alice Greene. Note. Mike, please file for tracking not an official complaint. Thanks Alice
756280W	2007-10-25 11:15 AM	MAXIE HASSLER	Hìgh Bill	2007-11-16 3:08 PM	Ms. Hassier contacted Aqua business office on 6/15/07, requesting the service to be discontinued effective 6/22/07 (out of town for 3 to 4 months and did not want to pay the customer charge). The request was not processed properly (internal error) and Ms. Hassier continued to receive billing statements. On 11/13/07, a company representative contacted Ms. Hassier and apologized for the error and advised her that the account will be corrected. All billing statements that were issued from 6/22/07 through 10/4/07 totaled \$135.11 will be cancelled. Ms. Hassier requested that the service be placed back into her name effective 10/4/07. The account will be placed back into Ms. Hassier name effective 10/4/07 and billed moving forward. The billing adjustment will take place after the company completes the process of refunding customers credit refunds due to the interim rate increase being withdrawn. Aqua has committed to the Florida PSC that the refund process will be completed by 11/30/2007. After this date the corrections to the account will take place.
756197W	2007-10-24 3:28 PM	RICHARD&PEGGY COX	Hìgh Bill	2007-11-19 3:58 PM	On 11/2/2007, Aqua obtained a reading of 8552 which is in line with the reading obtained on 9/4/2007 (8501), the field service representative confirmed that there were no leaks at the property. The reading that was obtained on 10/1/2007 was incorrect. The billing statement that was issued from 9/4/2007 to 10/1/2007 for 32,700 gallons for 27 days of service was cancelled. A revised bill from 9/4/2007 to 11/2/2007 for 5,100 gallons with an everage daily use of 86 gallons for a period of 59 days was issued to the customer. On 11/19/2007, a company representative contacted Mr. Cox and informed him of the check reading obtained on 11/2/2007 and explained the revised bill that was issued. The account balance is \$17.54 which is due 12/10/2007. Mr. Cox was satisfied with the resolution.
755844W	2007-10-23 4:12 PM	HAROLD MILLER	Bül Format	2007-11-12 1:21 PM	On 10/22/2007, a company representative apoke with Mrs. Miller and informed her that the payment she made in the amount of \$79.04 was posted to the account on 10/11/2007. The billing statement issued from 9/7/2007 to 10/8/2007 dated October 9, 2007 was issued before the payment of \$79.04 posted to the account which is the reason why the payment was not showing on the billing statement. After the payment posted to the account, there was a balance of \$30.73 which was due 10/31/2007. This payment was received and posted to the account leaving a balance of zero to date. Mrs. Miller was astisfied with the explanation. An apology letter was mailed to the customer for any inconvenience.
755486W	2007-10-19 11:25 AM	J PEREZ	High Bill	2007-11-8 3:22 PM	The customer was billed penalty charges in the amount of \$5.00 on \$/21/2007 and 9/26/2007. Credit adjustments were applied to the account on 9/28/2007 for \$5,00 and on 11/28/2007 in the amount of \$5.00.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
755280W	2007-10-18 12:51 PM	RICHARD BOYER	Property Damage/Maint./Dist.	2007-11-5 1:48 PM	A company representative contacted Mr. Boyer on 10/23/2007 and informed him that a company representative would be visiting his property on 10/24/2007 to address his concerns regarding the noise from pump station. On 10/24/2007, an Aqua representative visited the property and spoke with Mr. Boyer. The representative explained to Mr. Boyer that the plant is running as designed and the noise is when the well kicks on and off. Aqua does not have any elevated tanks or stand pipes at this location therefore in order to maintain the constant pressure in the system the well comes on when needed. It is my understanding that the sewer treatment facility serving the Morningview customers has been in operation over twenty-five years and the noise level has been the same. Currently there are no immediate plans in place to modify the system. Mr. Boyer acknowledged the representatives explanation.
754815W	2007-10-12 1:16 PM	JOHN MERRITT	High Bill	2007-11-1 4:52 PM	On 10/10/07, a field representative visited the property and confirmed that there might be some type of leak water was turned off at the curb. In a letter dated 11/20/07, from Mr. Merritt he shared with the company representative that he made some milnor adjustments (change water days, adjust spray and adjustment to sprinkler, due to dripping toillet the innands were replaced). Respecting the fact that Mr. Merritt indicated there were no leaks at the property, the readings obtained on 9/20/07 and 10/18/2007 indicated high usage (potential leak) or some type of event took place at the property.  The readings that Mr. Merritt provided were consistent with the readings obtained by Aqua. The scheduled reading on 11/20/07 was consistent and indicated that the usage returned back to normal. On 12/4/07, a company representative attempted to reach Mr. Merritt via telephone. There was no answer a message was left. The company is willing to offer an adjustment in the amount of \$140.78. This amount was arrived by taking the high billing months (September and October minus the customer charges and July and August which represents normal usage minus the customer charges.
754623W	2007-10-12 12:47 PM	PATRICIA DEASE	High Bill	2007-10-31 4:39 PM	As a follow-up to the report dated 10/31/2007, Mrs. Dease was issued a revised billing statement from 3/19/2007 to 10/31/2007 for a total of 226 days of service. The customer was contacted on 11/13/2007 and again on 12/11/2007 to confirm she received the revised statement and to address any follow-up questions. Mrs. Dease is out of town but Mr. Dease was available and the company representative explained the revised billing to him in detail. Mr. Dease stated he would share the information with Mrs. Dease and if she had any follow-up questions, the representative provided her direct telephone number. The credit refund for the interim rate increase was \$593.97 which was applied to Mrs. Dease account.
754512C	2007-10-11 3:39 PM	AMIE CARNEY	Billing Dispute	2007-10-27 12:31 PM	On 10/10/2007, Ms. Cerney contacted Aque's business office and provided a confirmation number for payment made in the amount of \$183.44. The service was reconnected on 10/10/2007. On 10/27/2007, I attempted to contact Ms. Carney as a follow-up no answer left voice message for her to call me direct if she needs assistance with account in the future. Alice Greene
754231W	2007-10-10 9:40 AM	DEBORAH TAUBE	Billing Dispute	2007-10-27 1:27 PM	On 10/27/2007, a company representative contacted Ms. Yaube regarding her account. The representative reviewed all payments posted to the account; the company acknowledges that there was an overpayment in the amount of \$50.00 which will be refunded to Ms. Taube. The representative advised that it will take 2 to 3 weeks for processing before mailing. Ms. Taube requested a billing history from 2006 through 2007 to be mailed to her new address (8620 N.W. 13th Street, Apt #432, Gaineaville, Fl 32653) this will be melled.
753991W	2007-10-8 4:11 PM	EVELYN DICKINSON	Billing Dispute	2007-10-29 2:54 PM	Reviewing Ms. Dickinson's eccount all billing statements issued were based on actual readings. The statement issued from 6/22/07 to 726/07 for 34 days of service showed an increase in usage. However the current statement from 9/19/07 to 10/18/07 shows a decrease in usage which is in line with customer normal usage. On 10/29/07, an Aqua representative spoke with Ms. Dickinson and she indicated that she just turned off sprinkler system about a month ago. Ms. Dickinson stated she would have the sprinkler system check for leaks. Prior to interim rate increase, Ms. Dickinson's bills range between \$40 and \$50.00. With the rate increase being withdrawn Ms. Dickinson will see a decrease in her billing statements as well as a refund by 11/20/07. Per Ms. Dickinson's request, Aqua visited the property on 10/29/07 and exchanged the meter. The old meter# 95809035 with an out reading of 60894 and the new meter# 56576188 ERT# 57763321 reading 00001. The new meter was tested low flow 98.5 %, medium flow 101.0% and high flow 99.4%. The representative placed a 30 day hold on the account and provided a direct phone number if Ms. Dickinson had further questions.
753852W	2007-10-8 10:44 AM	CAROL FALLIER	Billing Dispute	2007-10-25 4:27 PM	On 10/22/07, I spoke with Mrs. Fallier and informed her that payments that she made on 6/1/2007 (\$18.69), 7/2/07 (\$17.83), 7/31/2007 (\$17.31) and 9/27/07 (\$17.49) which totaled \$71,32 was posted to account number \$8854290628920 which was in the name of Skip Fallier. Those payments were transferred and posted to account number #11238750628920 which is under the name of Carol Fallier. It seems that the account # that is being used by the bank is the account number for Skip Fallier who is now deceased, in speaking with Mrs. Fallier she indicated that she spoke with the bank and the correction was made. I called the bank and requested a 3 way conversation to make sure that the bank has the correct account number for future payments. I believe the problem is when Mrs. Fallier made the correction she edited the account number. My understanding in speaking with the bank representatives that with the online banking if a correction has to be made the customer must create a new file. This will be confirmed with the bank. Mrs. Fallier agreed to the 3 way conversation with the bank representative to resolve this issue. All payments have been transferred to the proper account.

Case Number 🦠	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
742335W	2007-10-5 4:20 PM	ROBERT GILLER	High Bill	2007-10-17 3:54 PM	In researching the customer's account, the billing statements that were issued from 4/18/07 through 8/20/07 were billed based on the interim rate schedule that went into effect 4/12/07 when the Florida Public Service Commission approved an interim rate sincrease. Because the requested rate increase has been withdrawn, the customer will receive a refund in the form of a credit on the account for the interim rates that he or she paid plus interest by 11/30/07. There is a payment in the amount of \$230.17 which was posted to the customer's account on 5/140/2007 that was applied to the arrears balance. The billing statements that were issued at the interim rates, the customer did not make any payments toward those billing statements. Once the account has been adjusted, if the customer has an outstanding balance, Aqua is willing to provide the customer with a payment arrangement. On 10/17/2007, a company representative made an attempt to reach the customer via telephone however there was no answer. A voice message was left requesting the customer to contact Aqua's business office so the billing could be explained. All billing statements that were issued were based on actual readings.
753520W	2007-10-4 1:24 PM	KENNETH DUNCAN	Billing Dispute	2007-10-25 3:08 PM	An Aqua representative contacted Mr. Duncan on 10/25/07, regarding statements that were issued from 5/10/07 to 6/20/07 for 8400 gallions and 6/20/07 to 7/20/07 for 8500 gallions. Both statements were based on estimated readings. Both statements were cancelled. An Aqua representative visited the property on 7/27/07 and found that the meter was stuck. The meter was exchange on 7/27/07 (removal reading 8000 which is the same reading that was recorded on 5/10/07). The statements issued from 7/28/07 to 8/21/07 for 0 consumption and 8/21/07 to 9/24/07 for 97800 gallons were both based on estimated readings and therefore cancelled. With the meter exchange in place, a revised statement was issued from 5/10/07 to 7/28/07 for 79 days of service in the amount of \$83,22. The current billing statement that was issued from 7/28/07 to 10/5/07 for 69 days of service is based on actual readings in the amount of \$133.85 and mailed to Mr. Duncan on 10/17/07. Mr. Duncan made a payment on 9/17/07 in the amount of \$125.00. This payment was applied toward the \$93.22 billing statement and the difference of \$31.78 was applied to the current billing statement from 7/28/07 to 10/5/07 (\$133.68) leaving an account balance of \$101.87.
753472W	2007-10-3 4:19 PM	LAWRENCE CARUSO	Billing Dispute	2007-10-24 4;02 PM	Aqua Utilities mailed a certified letter to Mr. Caruso dated 11/19/2007. On 11/27/2007, Mr. Caruso contacted Aqua business office and provided a reading of 1609300. Based on the reading provided by Mr. Caruso, Aqua issued a revised billing statement from 3/24/2007 to 11/27/2007 for a period of 248 days of service for 16,900 gallons. The revised billing was discussed with Mr. Caruso. There is a credit balance on the account in the amount of \$26,10.
752964W	2007-10-1 1:04 PM	MARY LAHNERS	Miscellaneous	2007-10-18 3:14 PM	On 10/16/2007, a company representative contacted Ms. Lahners. The representative explained Aqua's process when a customer request to have service taken out of their name if the customer is moving to another location. The representative apologized on behalf of Aqua and assured Ms. Lahners that her concerns were shared with the management team and will be addressed through Aqua's training limitative. The representative provided Ms. Lahners with a direct telephone number to call should she have any questions or concerns in the future.
752894W	2007-10-1 11:06 AM	HAZELLA WHITE	Billing Dispute	2007-10-22 2:18 PM	On October 16th and 18th Aqua attempted to contact Ms. White. A message was left with Anthony (son) requesting that she contact Aqua's business office. On 10/19/2007, a company representative spoke with Ms. White she expressed that she was not happy with the customer service she had received when she contacted the business office. The company representative epologized and assured Ms. White that Aqua values its customers and one of the company's goals is to provide good customer service. Ms. White expressed that she was not happy with the water quality and high usage. A high consumption test package was mailed to the property. The representative reviewed the customer's usage which everages 165 gallon per day. Ms. White indicated it was 2 adults at the property. It was explained that the usage she is using daily is the average for 2 people living at the property. The billing statements are based on actual readings. Ms. White was okay with the usage explanation. A field representative is scheduled at the property on 10/22/2007 to test for chemical content. Ms. White was satisfied with the billing explanation.
752753C	2007-9-28 11:28 AM	NEAL SINER	он	2007-10-3 5:54 PM	This case came in from PSC however they instructed Aqua not to handle as a PUC, PSC wanted Aqua to contact customer as to why no water service. Lyn Powers contacted the customer and explained water main break in area was the reason for service interruption. Angreene.
752221W	2007-9-25 11:12 AM	ORLANDO PASQUALE	Billing Dispute	2007-10-12 2:53 PM	On 10/11 and 10/12 I spoke with Mrs. Crews daughter of the deceased (Orlando Pasquale). I informed Mrs. Crew's that the account in her father's name had been finaled as of 4/27/2007 which is the start date of the new tenants Larry and Crystal Howell. Mrs. Crews indicated that her father passed away May 2006, Aqua obtained a reading in 2/2007; there was zero consumption on the meter which confirms that the property had been vacant. On 9/28/2007, a refund in the amount of \$56.02 was processed (2 to 3 weeks to be mailed) and an additional refund in the amount of \$45.52 was processed on 10/12/2007. I explained to Mrs. Crews that she will probably get the \$45.52 refund within the next 2 to 3 weeks to allow for internal processing. The total refund is \$07.60. I have committed to Mrs. Crews that I will monitor the account and follow-up with her in the next few weeks to make sure she has received both refund checks. Mrs. Crews was satisfied with the outcome of our discussion and accepted my apology on behalf of the company. I provided my name and telephone number for additional questions.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	
751894W	2007-9-21 12:35 PM	HOWARD WATKINS	Billing Dispute	2007-10-12 3:25 PM	On 10/11/2007, Aqua visited the property to test the meter. A company representative spoke with Mrs. Watkins on 10/12 however, she requested that the representative speak with her husband who was not at home at the time. The representative provided a telephone number for Mr. Watkins to call back. Based on the reading (090501) that was obtained on 10/11/2007, the consumption read 4,500 gallons for 28 days which equals 160 gallons per day. The usage falls in time with previous usage before the billing statement issued from 7/16/2007 to 8/14/2007 that was due 9/10/2007.  Aqua will place another call to Mr. Watkins if he does not make contact first. A detail billing explanation will be provided. Perhaps there was some type of event that took place at the property that increased the usage for that period of time (leak, imigation). Test Results. Meter Date 10/11/2007, Technician – Damell Sweat, Bucket test 5 gallons was ran through the meter at high flow and 5 gallons ran through meter at low flow. Meter tested at 99% accuracy. Start read (090501) end read (090502). Mrs. Watkins Indicated that she was in and out of the house on 10/11/2007 and did not witness the test.
751666W	2007-9-20 10:38 AM	PAUL HEMBY	Billing Dispute	2007-10-11 3:07 PM	The customer's account was billed from 10/17/2006 through 11/9/2007 under the incorrect rates. The account was corrected and re-billed under the correct rates from 10/17/2006 to 11/9/2007.
751013W	2007-9-19 9:04 AM	THOMAS MAYO SR	Billing Dispute	2007-10-10 3:22 PM	On 10/10/2007, a company representative contacted Mr. Mayo regarding the billing statements issued from 11/20/2006 through 9/13/2007. These billing statements were cancelled due to the account being billed at the incorrect rate schedule. To correct the problem, the account was re-billed from 11/20/2006 through 8/13/2007 at the correct rate schedule which was the interim rate achedule effective 4/12/2007. To address Mr. Mayo's concern regarding a credit due to him. Aque is in the process of updating customers' accounts with the rates that were in effect prior to April 12, 2007 when the Florida Public Service Commission approved an interim rate increase. Because the rate increase has been withdrawn, he will receive a refund in the form of a credit on his bill for the interim rates paid plus interest by November 30, 2007. An in-depth explanation was provided on how payments were applied to the account from 12/2008 to current. Mr. Mayo appreciated the explanation and accepted the compeny's apology.
751311W	2007-9-18 3:09 PM	GUS ALEXAKOS	Billing Dispute	2007-10-9 6:26 PM	On 10/9/2007, a company representative contacted Mr. Alexakos to discuss billing statement received 6/1/2007 showing a zero balance, it was explained that the billing statement received was for the period 3/28/2007 to 4/25/2007 in the amount of \$120.87. This bill was cancelled because it was billed at an incorrect rate. The billing statement was revised for 3/28/2007 to 4/25/2007 and reissued, Mr. Alexakos made a payment on 5/1/2007 in the amount of \$120.87 therefore; there was no balance due when the account was re-billed on 6/1/2007. It was also explained that the billing statement from 4/25/2007 to 6/25/2007 was for \$280.83. Mr. Alexakos stated he understood the billing explanation and was satisfied.
75 <i>0</i> 990W	2007-9-18 9:28 AM	DAVID SCHEFFEL	Billing Dispute	2007-10-5 12:22 PM	On 10/52007, a company representative spoke with Mr. Scheffel regarding his account. In researching the account, the customer's account was billed incorrectly for billing periods 10/17/2008 through 8/13/2007. The account was billed based on the rate schedule for Jungle Den customers. The account has been corrected and a revised billing statement from 10/17/2008 to 8/13/2007 was reissued. The total consumption was 43,700 gaillons for 300 days of service with an average daily use of 146 gaillons per day. The billing was based on actual readings. Mr. Scheffel also questioned the rate per gallons. He was under the impression that he should be billed a specific rate if total consumption was between 0 – 6,000 gaillons. It was explained that the rate schedule is based on per 1,000 gaillons. A rate schedule was mailed to Mr. Scheffel. An in-depth billing explanation was provided to Mr. Scheffel. Aqua has addressed the other accounts that were impacted by this error and have contracted the individual customers.
750919W	2007-9-14 3:58 PM	ANALYTICAL & BIOLOGICAL LABS	Billing Dispute	2007-10-3 5:50 PM	On 10/2/2007, a company representative spoke with Mr. Deniel regarding the billing statements that were issued based on estimated readings. The representative explained that all billing statements issued for the calendar year 2008 were based on estimated readings. An actual reading was obtained on 1/18/2007, the billing statements that were issued for the periods 11/18/2007. Based on the reading obtained on 1/18/2007, the billing statements that were issued for the periods 11/18/2006 to 11/27/2006 and 11/27/2006 and 11/27/2006 to 11/27/2006 and 11/27/2006 to 11/27/2006 and 11/27/2006 to 11/27/2007 to 11/27/2007 all readings have been based on estimated entire customer is being billed for actual usage that went through the meter.  Mr. Daniel understood the billing explanation that was provided. He understood that the readings were estimated and the reason why he was paying \$75,00 was due to the estimates. Mr. Daniel stated that the company would not be able to gain access to the meter because the meter location is under lock and key. He recalls a few instances where he was at the property and was able to provide the company representative access to the meter. Mr. Daniel has agreed to have a radio frequency meter installed at the property to avoid any bills being estimated in the future. Mr. Daniel will be going out of town for a few weeks but has committed to contacting Aqua when he returns to schedule an appointment to have the radio frequency meter installed. The company representative offered Mr. Daniel payment errangements however he declined. He will submit the payment. Mr. Daniels thenked the representative and indicated that he was satisfied and appreciated the call.

Casa Number	Date Received to Police 6-53.5	Customer 14	RootCause	Date Sent to BI IO	(Perpliting
727635W	2007-8-14 12:51 PM	VIRGINIA PETERSON	Billing Dispute	2007-10-4 4:12 PM	A company representative contacted Ms. Peterson regarding her billing statements. Ms. Peterson believes that the bills are high. In reviewing the account, it was explained to Ms. Peterson that all billing statements issued were based on actual readings. There were 2 billing statements that were issued for over 30 days of service which would be a little higher than a 30 day cycle bill. Also it was explained to Ms. Peterson that she was billed based on the April 12, 2007, rate increase which would have an impact on the bills being slightly higher.  The representative shared with Ms. Peterson that Aqua withdraw the rate increase and she would be getting a refund by November 30, 2007, plus interest. Ms. Peterson also expressed concern that the billing statement from 4/4/2007 to 5/3/2007 for \$85.50 was a double bill. What was explained to Ms. Peterson was she had a previous billing carried over from the previous billing period that was not peid by the due date therefore it was a balance carried over. Ms. Peterson said she understood the billing explanation and would see the difference once the billing is reverted back to the old rates.
750048W	2007-9-10 4:27 PM	DOUGLAS CRANDALL	Billing Dispute	2007-9-28 1:39 PM	On 9/27/07 an Aqua representative contacted Mr. Crandall to discuss his concerns around the July billing statement issued and the termination notice he received. The representative informed him that Aqua performed a meter exchange at the property on 6/5/07. The exchange took place due to a company initiative to install radio frequency meters (meter change out program). The meter information was not updated on his account and he was issued a billing statement based on estimated readings. To correct the problem the new meter information was updated on the account. The billing statements from 7/31/07 to 9/21/07 were cancelled and a revised statement will be issued from 5/30/07 to 9/21/07 which will include the missing June billing data. The revised billing statement will show the last actual reading prior to the meter exchange. A 10 day termination notice was mailed to the property on 8/31/07 for 9/13/07 in the amount of \$269.17. The notices are automatically sent to customers 7 days after the due date if payment is not received. The Aqua representative apologized to Mr. Crandall for the Internal error. The revised billing statement will be maifed the week of 10/01/07.
746391W	2007-9-10 3:08 PM	RUSSELL MOYER	Billing Dispute	2007-9-24 6:32 PM	The monthly cycle read was obtained on 8/13/2007. The reading was an actual read and was in line with previous readings. A billing statement was issued from 7/17/2007 to 8/13/2007 for a total of 27 days. The total usage for the 27 days was 2,200 gallons with an average daily usage of 81 gallons. In August 29, 2006, an Aqua representative was at the property to investigate a % service line that began leaking in the readway in front of the customer's home. A contractor repaired the teak on August 30, 2006. Aqua received another call from the customer stating that the leak had cracked the driveway. A representative visited the property and observed several cracks throughout the driveway. The representative examined and took photoe of the cracks and saw no evidence that the cracks were related to the original leak. The representative also explained to the customer that the leak in the readway in front of her home had not caused the cracks.  Mrs. Moyer stated she had seen water coming up through the cracks before the leak was repaired. The representative explained if water was seen bubbling up through the cracks at the time of the leak, the cracks had to already been there in order for this to happen. As a follow-up, on 9/21/2007, a company representative spoke with Mr. Moyer regarding the street and driveway breakage. Mr. Moyer stated that his insurance company sent an engineer to the property to investigate the running water that comes from under ground and runs down the driveway which happens periodically. The angineer was not able to find the cause of the running water but he informed Mr. Moyer that the property several times to discuss the street and driveway breakage and have addressed the original leak that took place back in August 2006 however it was explained to Mr. Moyer greed that August 2006 however it was explained to Mr. Moyer that the leak did not caused the original leak that took
733793W	2007-9-7 12:54 PM	JUDY CRUČEN	Billing Dispute	2007-9-19 3:14 PM	The company has applied \$41.52 to the customer's account as a credit for the meter running fast. After speaking with Shonna McCray, we took the customers consumption from 12/21/05 to 6/21/07. This equalled 478,400. That consumption was multiplied by 2% and that gives the consumption of 9,588. I rounded the consumption up to 9,600. This is then multiplied by .00389 which equates to \$37,35. I added extra after doing a bill simulation and added the cost for sewer for a day. This was a mistake, it should have been \$37.35. But the company will put give the customer the extra \$4.17 for good measure.
742424W	2007-9-7 11:59 AM	JOANN HIGBIE	Billing Dispute	2007-9-25 9:22 AM	The company exchanged the meter at the property on 6/12/2007 (meter project to install radio frequency meters) and was unable to read the water meter therefore estimated billing statements were issued for July and August. When the meter was removed, it showed 600 gallons of water was used for a period of 14 days averaging 42 gallons per day. There was an actual reading taken on 9/24/2007, 14,800 gallons of water was used over a period of 104 days at 142 gallons per day. The reading obtained on 9/24/2007 shows that your average daily usage is in line with previous usage prior to the leak at the property. A revised billing statement is being prepared and will be mailed to the customer within the next 5-7 business days. On 9/24/20007, Aque made an attempt to reach the customer via telephone however there was no answer. A message was left for the customer to contact Aque's business office.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
744950W	2007-9-6 4:22 PM	MARLENE FENGARINAS	Billing Dispute	2007-9-22 10:07 AM	On 7/30/2007, Ms. Fengarinas telephoned Aqua stated she had not received a bill in 11 months. Ms. Fengarinas stated she had been living at the property for 7 years. After reviewing the account, the customer was moved out in error effective 9/1/2006. Due to the error, the company process the necessary paperwork to have the service back into Ms. Fengarinas name effective 9/1/2006. A billing statement was issued from 9/1/2006 to 8/10/2007 (start reading 148000, end reading 184600). The total usage for 3/3 days of service wais 236,600 gatlons and the averaged daily usage are 108 gatlons per day. The total amount of the bill issued was \$717.95 which is based on actual readings. On 8/2/4/2007, Ms. Fengarinas telephoned Aqua inquiring if billing statement processed.  The company representative advised the bill was issued on 8/23/2007 and she should receive within a few days. The representative also advised if after receiving the bill if she needed payment strangements to contact Aqua's business office. On 8/28/2007, Ms. Fengarinas telephoned Aqua requesting to have the \$15.00 turn on fee waived due to company error. The \$15.00 turn on fee was weived. On 8/30/2007, Ms. Fengarinas paid \$702.95 which was posted to the account. The account balance is \$0.00. On 9/20/2007 and 9/21/2007 a company representative made several attempts to reach Ms. Fengarinas to inform her that the \$15.00 fee was removed from her account, there was no answer. A letter was mailed as a follow-up to inform Ms. Fengarinas that the \$15.00 fee was removed and a direct telephone number for any future questions.
749577W	2007-9-5 2:55 PM	CYNTHIA LUEDKE	Billing Dispute	2007-9-20 4:26 PM	On 9/6/2007, a company representative contacted Ms. Luedke to inform her that the account at 137 Osprey Lakes Cir, Chukuota, Florida has been finalized. The date used to finalize the account was 6/11/2007. A final billing statement was issued from 5/21/2007 to 6/11/2007 in the amount of \$144.78. It was explained to Ms. Luedke that there was an actual reading taken on 5/21/2007 and 5/22/2007 therefore the final bill was prorated. All payments posted to the account were credited. Ms. Luedke was satisfied with the results and stated she would look for the final bill in the mail. The company representative applopited for any inconvenience to the customer.
748572W	2007-9-5 8:25 AM	RANDY BENNETT	Billing Dispute	2007-9-21 9:48 AM	On 677/2007, Mr. Bennett telephoned Aque requesting service to be discontinued for the summer. He also wanted to know if he would be charge for the time he was away. The account was finalized by the company representative on 877/2007. The final bill issued was for service used 5/19/2007 to 6/7/2007 in the amount of \$16.74 (water charges \$8.76 and sewer charges \$9.96). On 9/21/2007, a company representative telephoned Mr. Bennett to explain the final billing statement from 5/19/2007 to 6/7/2007. The representative also addressed Mr. Bennett concern regarding receiving bills after he requested the service to be discontinued. The representative apologized and explained that the billing statements issued in May, June, July and August were cancelled and the revised billing statement from 5/19/2007 to 6/7/2007 was issued and he should be receiving the statement within a week. Mr. Bennett was satisfied with the final billing explanation and requested a fax copy of the final bill. A copy of the final bill was faxed on 9/21/2007.
749120W	2007-9-4 12:01 PM	MICHAEL AKHIYAT	Billing Dispute	2007-9-20 5:02 PM	Customer was properly billed and based on company procedures all billing statements and termination notices were mailed in a timely fashion. Customer complaint regarding poor customer service was advessed with management and hands on training was provided. Customer's service was restored once payment was verified.
749210W	2007-9-4 11:32 AM	LESLIE AYERS	Billing Dispute	2007-9-20 11:57 AM	The customer was issued a monthly billing statement from 1/30/07 to 2/27/07 in the amount of \$23.68 which was based on an estimated reading. A monthly statement was issued from 2/27/07 to 3/23/07 for \$19.24 which was based on an actual reading. The monthly statements issued from 3/23/07 to 4/25/07, 4/25/07 to 5/29/07 and 5/29/07 to 6/60/07 based on actual readings. The monthly statements issued from 8/6/07 to 7/30/07 and 7/30/07 to 7/30/07 was based on estimated readings. Bills were estimated due to the fact on 6/6/07; the moter at the property was exchange there exchange part of Aqua's meter change out program to install radio frequency meters. The estimated statements were cancelled for that period and re-billied on actual usage. The customer received a revised statement from 6/6/07 to 6/7/07 in the amount of \$67.81. This was explained in detail to Mrs. Ayers. Mrs. Ayers was also concerned about the average daily usage that her family of 3 was using, it was explained that a household of 3 averages 240 gallons per day. The customer agreed to monitor daily usage and forward any questions to Aqua's Issue Resolution Group. All payments were applied to the account and the oustomer has a credit of \$32.81.
749214W 742926W	2007-9-4 11:18 AM 2007-8-30 12:48 PM	PATRICIA MCKENNA KENNETH HOWE	Billing Dispute	2007-9-19 3:12 PM 2007-9-19 3:11 PM	Aqua obtained the correct meter data and rebilled the account.  Aqua check for service leaks on 9/10/07. No leaks detected.
748256W	2007-8-30 12:48 PM 2007-8-27 11:54 AM	BILLIE CREAMER	Billing Dispute	2007-9-19 3:11 PM 2007-9-20 6:42 PM	Agua check for service leads on \$1007, No leads detected.  The company has applied \$22.17 to the customer's account as a credit for the meter running fast based on test result [10/510/2007]. The credit was arrived by taking the total consumption from \$2/2008 to \$2/2007 (282,800). The consumption was multiplied by 2% which equaled \$5556 (round up to 5,700). Then 5,700 were multiplied by .00389 which equates to \$22.17. In addition the customer received \$318.74 credit refund for the interim rate increases that was withdrawn. The customer has a credit belance of \$214.87. On 12/10/2007, a company representative contacted the customer and discussed the credit and will mail a copy of test results.
748229W	2007-8-27 10:50 AM	WILLIAM SWAFFORD	Billing Dispute	2007-9-19 10:51 AM	Aque has attempted to contact Mrs. Swafford via telephone at 727-863-8015 and left voice mail messages on: 8/27/07 left voice message 9/8/07 left voice message 9/8/07 mailed a letter 9/18/07 mailed a letter 9/19/07 mailed a letter explaining the July 19, 2007 bill. Aqua's final position is Mrs. Swafford was not double billed for the month in question July 2007. This bill reflects the current end past due charges bringing the total amount due to \$120.16. To date all issues are resolved.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
748225W	2007-8-27 10:40 AM	DAVID BERNARDINI		2007-9-20 3:54 PM	The cause of the problem was a back log of service orders. The customer has come back to the property and the water is still on. I have spoken with the customer and figured aince ha's come back to the property on 9/10/07, the company would credit his account for the service from 6/4/07 when he requested to have the service turned off, to 9/10/07. This would cover a 98 day period, I would also give him back the 200 gallons he was billed. The celculations are: \$10.67 water base rate/30 days=0.355666666*98 days=\$34.86, \$23.02 sewer base rate/30/233333*98 days=\$75.20, 200 gallons*0.06450 rate per gal=\$1.29, 200 gallons*0.04660 rate per gal=\$0.93, \$34.86+\$75.20+\$1.29+\$.93=\$112.28 His total credit to his bill was \$112.28. He was fine with that.
747488W	2007-8-27 10:12 AM	NORMA PARDO	Billing Dispute	2007-9-20 11:32 AM	The customer has all actual reads, none of the reads are estimated. There were two factors for the May and June bills being higher. First was the interim rate increase which took the rates from \$3.89 per thousand on the water to \$5.13 per thousand. Also the base rate went from \$10.29 to \$13.54 for the water. The sawer rate went from \$8.01 per thousand up to 6,000 gallon cap to \$11.32 up to 6,000 gallon cap. Also the customers consumption rose 6,000-gallons in May and June. It would seem that the customer has some sort of leak at the property. The consumption drops drastically in July by 12,000 gallons. The claim that the customer is using 50 gallons a day is a bit of a stretch. The customer is at 282 gallons a day on the July bill. Over the history of the account the customer's usage is consistently over and above 6,000 a month. I believe they are omitting a digit from the meter reads. The customer called on July 10th and requested a nerved. The re-read was obtained on July 12th. The meter read service order is still open but we have secured readings since that read. The July 20th read was 686100 and the August 21st read was 700600. The customer has mentioned that they do water, depending how they water and what mechanisms are used, this could be the cause of the large increases in usage. I've tried to contact the customer but there was no answer, i will be sending a letter, the company will exchange the meter and set it aside for a bench test. The service order will be created today to be done as soon as possible.
748122W	2007-8-27 8:28 AM	MARK & PATRICIA POTTER	Billing Dispute	2007-9-21 10:39 AM	The monthly biffing statement issued from 3/13/2007 to 4/13/2007 for \$68,94 was based on actual readings. The biffing statements issued from 4/13/2007 to 6/16/2007; 5/16/2007 to 6/18/2007; 6/18/2007 to 7/17/2007 and 7/17/2007 to 8/18/2007 were all based on estimated readings. These biffs were estimated due to the meter exchanged that took place on 4/18/2007 that was not updated in the system. The meter exchanged is part of Aqua's meter change out program to install ratio frequency meters. The estimated biffing statements were cancelled for that period and rebiffed on actual usage. The customer will be receiving a revised biffing statement from 4/18/2007 to 9/13/2007. On 9/19/2007, a company representative spoke with Mr. Potter and applained that the estimated biff he have been cancelled and he would receive a revised biffing statement based on actual readings. Mr. Potter was satisfied with the re-biffing. The company representative provided Mr. Potter with a direct telephone number if he has any follow-up question once he receives the revised biffing statement.
748039W	2007-B-24 11:26 AM	BETSY BIGELOW	Billing Dispute	2007-9-19 3:08 PM	Mrs. Bigelow's meter was exchanged as a part of the installation of radio frequency program on April 16, 2007. In reviewing Mrs. Bigelow's May bill, she was charged for 15100 gallons for 28 days of service. This reflects an average idelity usage of 539 gallons per day. Aque agrees the consumption is high, but was unable to compare the usage to the previous May 2006 bill due to there being a zero consumption read for that bitting period. Aque is unable to determine what caused the sudden increase in consumption for the May 16, 2007 bill. Aque will need to confer with Mrs. Bigelow to discuss any change in consumption during that billing period. A letter will be mailed to Mrs. Bigelow explaining Aqua position. Aque's final position is all bills are accurate based on actual reading.
747478W	2007-8-22 10:54 AM	BOBBY LLOYD	Billing Dispute	2007-9-8 2:01 PM	On 9/6/2007, a company representative contacted Mr. Lloyd regarding his bill issued from 7/11/2007 through 8/9/2007 in the amount of \$169.25. The reading that was obtained on 8/2/2007 was incorrect. Aqua cancelled this bill and revised the bill based on the customer reading provided on 8/23/2007 of 644500. The bill was revised covering the period 7/11/2007 through 8/22/2007 with a start reading of 640300 and an end read of 644500. Mr. Lloyd inquired about the water base facility charge of \$24.47 on the revised bill, it was explained that the charge was prorated because the revised bill included more than 30 days in the billing cycle. As a courtesy, a credit of \$6.99 was given toward the water base facility charge. The total revised bill is \$34.51. The customer has an account balance in the amount of \$27.52 due 9/17/2007. Mr. Lloyd was satisfied with the revised billing.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
746783W	2007-8-16 1:01 PM	MARY WALLS	Miscellaneous	2007-9-5 8:00 AM	On 9/5/2007, It spoke with Mrs. Walls regarding not being able to drink water due to heavy bleach small and taste. Mrs. Walls stated she noticed the smell around August 10th or 13th. She further stated that this type of odor follows after the water hydrants are flushed. Mrs. Walls indicated she became alarmed because generally she would receive a notice that would inform her when the flushing would take place, I spoke with the division representative and was advised that Aqua only flush hydrants when requested by a customer. What I explained to Mrs. Walls is there are 2 auto flushers in American Condos set for lush twice a week, 7 minutes each time, Monday and Thursday. Mrs. Walls indicated that now she has been informed when the flushing would take place she would know when to do her laundry. Mrs. Walls also stated that her while towels have never been brighter. All issues have been resolved.
746303W	2007-8-10 6:09 PM	HALLEY BISHOP	Billing Dispute	2007-9-21 1:44 PM	I spoke with the customer was told that the a reason why the bill may be high is a possible leak. The customer's mete was exchanged on 6/8/07. The bills previous to the exchange were higher than what he currently using. That may have been due to a leak. The technicians are not plumbers so if they looked around, they most likely checked his meter pit and saw that he low flow indicator wasn't move and sumilised that there were no leaks. I did inform the customer that he is currently at 57 gallons a day based on the read of 7300 which the customer read to me today. I told him his bill is pending and when he receives the bill if he does not agree to do an overnight read. He ended the call with, if I say the usage is normal then he'll go with that. I told him that the usage is below normal on average customers usage between 80-100 gallons. The meter exchange was completed before the complaint was received so the meter was disposed.
746288W	2007-8-10 6:03 PM	CLYDE YAIST	Billing Dispute	2007-9-21 3:25 PM	As a follow-up to Mr. Yeist concern about the back billing statements, Aqua issued billing statements for the timeframe 1/1/1/2006 to 8/14/2007 based on estimated readings. The total consumption for that timeframe was 45/200 galton for 293 days of service with an average of 154 galtons per day. The billing statements for this timeframe were cancelled. On 9/20/2007, an actual reading was obtained and a revised billing statement from 10/25/2006 to 9/21/2007 was issued for a total of 42,300 galtons for 331 days of service with an average of 128 galtons per day. Prior to the estimated readings, there was an actual reading obtained on 10/25/2008 and a most recent reading obtained on 9/21/2007 which are the actual readings used to calculate the revised billing statement.  Mr. Yaist was contacted again on 10/4/2007 in an effort to provide in-depth details of the estimated billing statements and revised billing statements. The consumption history was reviewed based on the estimated reading and the actual readings. Mr. Yaist does not agree with the revised billing, the believes that the bill should be lower since the bills prior to the estimates everaged \$25.00 per month. It was explained that there was a rate increase which would account for the increase. An appointment was scheduled for 10/5/2007, to have the meter at the property exchanged. The old meter will be tested and Mr. Yaist will be contacted with the results. Since the testing is done by an outside vandor, results may not be available for 3 to 4 weeks. Mr. Yaist stated he would be mailing a \$40.00 peyment
745943W	2007-8-8 4:55 PM	GORDON JOHNSTON	Billing Dispute	2007-9-8 11:29 AM	In an effort to address Mrs. Johnston's concerns regarding high usage, Aqua Utilities Florida, Inc. has exchanged the meter twice at the property (8/20/2007 and 8/12/2007). In further review of the account for calendar year 2008 there were inconsistency in the meter readings. To resolve this matter, Aqua Utilities Florida, inc has adjusted the account. The adjustment was based on an average usage of 50 GPD for the period 6/28/2006 to 6/20/2007 (357 days). The account has been credited \$194.99 (357 x 50GPD = 17850 total consumption). The dollar value was calculated via Aqua's billing system. Aqua is confident with the radio frequency meter installed, the billing will be beased on actual readings. On 11/13/2007, Mrs. Johnston also received a refund credit in the amount of \$57.96 for the interim rate increase adjustment. There is a total credit on the oustomer's account in the amount of \$252.95 which will be itemized on the next billing statement.
	2007-8-8 4:40 PM		Billing Dispute		On 8/16/2007, an Aqua representative contacted Ms. Fontaine regarding billing statements. Ms. Fontaine stated her billing statement was high that was issued in July, 2007. The billing statement from 6/22/07 to 7/19/07 was based on an estimated reading however; the meter was exchanged on 7/19/07 due to the customer insisting the meter was not correct. After the meter exchange, a billing statement was issued from 7/19/07 to 8/21/07 a total of 80,600 gellons on the new meter indicated high consumption. The billing calculations were explained in detail. On 8/29/07 a company representative visited the property to confirm readings.  Ms. Fontaine shared with the company representative that she had the company who services her sprinkler system to check for leaks and they reported there were no leaks. Aqua obtained actual readings on both the old and new meters. The readings indicate high consumption when read. Due to the customer's concern, Aqua has visited the property several times in the past month to confirm all readings that were obtained. The most recent visit was on 9/24/07, Aqua understands the customer's concern however; the customer is being billed for actual usage. Aqua suggested that the customer turn off the sprinkler system and do a companison on her monthly bills. As a courteey Aqua has offered Ms. Fontains an adjustment of 20% off the belance of her bill which acuates to \$59.45 (20% of
745828W	2007-8-8 4:36 PM	VICTORIA IRWIN	Billing Dispute	2007-9-21 12:43 PM	\$297.27 = \$59.45). Ms. Fontaine declined the offer and payment arrangements.  The company has attempted to contact the customer, there was no answer. Sending letter.

Case Number	Date Received	Customer	RootCause ***	Date Sent to PUC	Resolution
74558W	2007-8-8 4:06 PM	JANICE MCKART	Billing Dispute	2007-9-19 5:33 PM	Ms. McKart moved into the property 3/15/07. The customer was issued a bill from 3/15/07 to 4/23/07 in the amount of \$97.19 due on 5/17/07 which was based on estimated readings. Aqua issued another bill from 4/23/07 to 5/16/07 in the amount of \$185.00 (included previous charges not paid) due on 6/13/07 which was based on estimated readings. On 5/16/07, the meter was exchanged. Aqua reissued the customer a bill from 4/23/07 (estimated start reading \$630800) to 5/16/07 (removal reading from old meter based on actual 635600) for 23 days of service and a bill from 5/16/07 (635600 actual reading) to 8/14/07 (237300 actual reading) for 90 days of service.  The combined bill was for 28,100 gallons for 113 days of service. The customer's average daily usage is 248 gallons. On 9/18/07, the customer was informed of the revised billing and the company representative provided a billing explanation. The customer was made aware that all previous payments were applied and if after receiving the revised bill is he would like payment arrangements, she should contact the company representative directly. The company representative gave a direct number to Ms. McKart.
738220W	2007-8-8 3:53 PM	JASON CONRAD	Billing Dispute	2007- <del>9</del> -19 4:22 PM	The company called the customer regarding the bills. The customer requested that the meter be exchanged. The representative scheduled a meter exchange on 9/4/07 between 8:00 am to 10:00 am. The customer wanted to be present and if he is not there please leave a door tag. The company went to the property and found that the meter had already been exchanged. The representative explained that the reason behind the fluctuation in the reads is that the meter was exchanged in the field on 8/17/07 and not the system. The bill for 35,400 was in correct and was canceled. The system was corrected and a new bill was sent on 9/20/07 in the amount of \$33.04.
745255W	2007-8-3 8:42 AM	ANDREW YUHAS	Miscellaneous	2007-9-8 10:39 AM	Aque has cancelled all estimated bills from 2/21/2007 through 8/21/2007. The account has been rebilled at a start reading of 14800 (2/21/2007 11:18 AM) and an ending reading of 35300 (8/21/2007 9:20 AM). The total usage is 20,500 gallons for 181 days. The customer's average usage is 113 GPD. The revised bill will be mailed to the customer the week of 9/24/2007. There is a credit of \$248.88 on the account. All payments/credit will be applied to the revised bill. On 9/9/2007, a company representative made an attempt to reach Mr. Yuhas via telephone to discuss the revised billing. There was no answer a message was left for him to contact Aque's business office. A follow-up call will be mailed the week of 9/10/2007, if not able to make contact, a letter will be mailed. Aque also confirmed that the meter installed at the property 11/2006 is the meter of record (meter #81948797).
744138W	2007-8-2 8:30 AM	LISA & MILCIADE MONCION	Miscellaneous	2007-9-19 4:18 PM	In speaking with the customer, they say that a customer in her area (Ketema Harris) a previous complaint had their meter exchanged. She wanted a new meter too, I set her meter exchange up for 9/24/07, I gave the technician specific instructions to keep the meter for meter test. I cannot validate the customer's claim that we were at her property or not. I subtracted her current bills consumption from the July consumption which came to 1900 galions. That would equate to \$10,00 off the bill. I told her I would take that off her bill. She was fine with that. The customer seems satisfied.
744341W	2007-8-2 6:22 AM	VINCE MONTGOMERY	Billing Dispute	2007-8-22 5:18 PM	On 8/22/2007, a company representative spoke with Mr. Montgomery regarding his billing. Mr. Montgomery stated he did not know why his usage increased. The representative asked if he had checked for any leaks. A test kit will be mailed to the customer that will include dye tablets and will also provide different ways of water conservation. A bucket test is scheduled for 8/27/2007. Mr. Montgomery stated he would not be at home. He agreed to the field representative leaving a door hanger with the test results. Mr. Montgomery was given a name and telephone number to contact Aque if he had any questione regenting the results of the bucket test or any additional questions.
744783W	2007-7-31 1:59 PM	JANE RUGGIERO	Miscallaneous	2007-8-23 3:27 PM	6/6/07, Habor Branch Environmental Labs performed a water quality test. The water quality testing pessed TTHM's, Lead & Copper and Bacteria. The pH is maintained around 8.0. Mrs. Rugglero given a copy of the report. Monthly bills issued March - July based on estimated readings. There is a code on the customer's account referencing meter reading instructions. Mrs. Rugglero has requested when her meter is scheduled to be read monthly, the company representative ring the door bell. Mrs. Rugglero keeps her dogs in the yard and the gate is kept tocked. On 8/23/07, an Aqua representative apoke with Mrs. Rugglero to review the test results. Mrs. Rugglero stated periodically there are spots on clothing when doing leundry. The representative made suggestions on how the customer could check and make sure that the apotic were not from the washing machine etc. Mrs. Rugglero admitted that the spotting does not happen all the time, and agreed next time it happens would contact Aqus and request a representative to come to the property and take a sample directly from where the water comes into the washer. To avoid estimated bills, it was suggested to move the dogs, August bill based on an actual rdg.
740831W	2007-7-30 12:06 PM	MELINDA PEREZ	Billing Dispute	2007-8-13 10:02 AM	I spoke with the customer and discussed her bill. She stated that she had let it go, I explained her bills and the read she gave versus the read we obtained. She said she would wait for her next bill. I offered her a bucket test and she denied. I gave her my contact information and told her to contact me if she had any questions or concerns.
744519W	2007-7-30 11:29 AM	THERESA PESANTES	Billing Dispute	2007-9-7 1:28 PM	There have been several attempts to reach the customer via telephone to discuss inquiry regarding high consumption. Aque would like to verbally review the customer's billing history. A letter was mailed to the customer requesting her to contact Aque's Issues Resolution Group.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
744312W	2007-7-27 8:55 AM	HOWARD HURST	Miscellaneous	2007-9-25 12:32 PM	The customer was called and informed that the company posted boil water advisory notices at the entrance and exit of the development. Also that the company issues news releases to the local media via WFLA AM News Radio, WFLA TV, WFTS TV, and the Pasco Tribune. The company also issued postings and news releases regarding the lifting of the boil water advisory. The advisories were put out in accordance to to Florida's Department of Environmental Protection regulations. Mr. Hurst did not egree with the way the notices were issued. He says that there are several people who do not read newspapers, listen to the radio or watch television. He believes that Aqua should deliver notices to each customer. He wanted his complaints to go to upper management. The customer's complaints were sent to Jack Litvarcik Chief Operating Officer and Dennis Muldoon the Area Coordinator to discuss the matter further.
744276W	2007-7-27 8:40 AM	PATRICIA DEASE	High Bill	2007-8-27 5:03 PM	On 8/24/2007, a company representative made an attempt to reach Mrs. Dease no answer, left message. On 8/27/2007, a company representative explained that the rate increase is necessary to cover cost to improve infrastructure. The representative agreed to mail specific documentation related to the rate increase. Mrs. Dease did not want the representative to explain the billing, she stated she understood her bills her concern is the rates are too high. All monthly bills rendered are based on actual readings. To address the water quality issue (cloudy water). On 8/20/2007, a company representative was at the property and flushed the blow off in the neighborhood until they were clear. The CL2 residual was 1.0. The representative attempted to explain the results of the water quality test to Mrs. Dease. Mrs. Dease again expressed her dissatisfaction with the rate increase and discorrected the call,
743819W	2007-7-24 2:43 PM	RON MCKAY	Property Damage/Maint./Dist.	2007-8-8 4:50 PM	f tried to call the customer, I left a message because I got no answer. Sent letter.
07v00010019	2007-7-20 1:22 PM	ROBERT GRIFFITHS	Billing Dispute	2007-9-18 3:36 PM	This case was sent to Nancy Magee since New Jersey is handling their own compliants. To take out of ACES sending through.
743495W	2007-7-20 12:54 PM	The Landings of St. Andrew	Not Logged	2007-8-7 9:46 AM	We don't service New Port Richey, I do not believe this is our customer.
743310W	2007-7-20 12:25 PM	JENNIFER WINTON	Billing Dispute	2007-8-8 5:23 PM	I spoke with Mr. Winton and since we could not prove he used the water and he could not prove that he didn't use the water, we would give him a credit of \$76.02. This is the monetary equivalent of 44,200 gallons. This is the difference of what he used in 2005. I told the customer that since the meter has been exchanged any anomalies that he experienced on this meter we'll test it and take it from theme. He said he would monitor the meter himself. The customer was satisfied.
743208W	2007-7-17 2:06 PM	ROBERT THOMPSON	Miscellaneous	2007-8-6 6:12 PM	I spoke with the customer and let him know I would be sending the lab to the property to investigate the reason for his water quality issues. The customer was appreciative.
743140W	2007-7-17 1:59 PM	DAVID HURTWITCH	Billing Dispute	2007-8-6 1:13 PM	I closed the customer's account as of 5/4/07 and corrected the customer's last name. I called the customer and left a message. He will be receiving a final bill shortly.
743171W	2007-7-17 1:42 PM	WALTER WALZ	Billing Dispute	2007-8-10 5:26 PM	I spoke with Mrs. Watz and let her know that there is a pending service order on her account that I need to get information on it, in order to fix her account. I told her I will call her back once I get info. The meter reader got a read on 6/307 but the read didn't metch anything on the account. So fin sending the technicians to get a read and the meter number. Hopefully the meter heart been exchanged.
743053W	2007-7-17 1:30 PM	KEVIN & SHARON FERRIS	Billing Dispute	2007-8-6 12:59 PM	The customer's meter was exchanged at the property and needed to be exchanged in the system. I exchanged the customer's meter in the system and sent her the corrected bill. I called the customer and informed her of the bill and that she had a credit.
743052W	2007-7-17 1:22 PM	BRUCE BEAL	Billing Dispute	2007-8-8 12:43 PM	The customer had a leak on the irrigation line. The customer was given \$818,75 for a teak adjustment and payment arrangements for \$124.14 a month. She seemed satisfied and said she would call the commission and withdraw her complaint.
742773W	2007-7-16 2:58 PM	ADAM SHIFFLETT	Billing Dispute	2007-7-31 6:13 PM	I spoke with Mrs Shifflet and the issue was resolved. There was a problem activating the account and it was corrected by the billing department. The account was corrected the same day the complaint was filed.
742833W	2007-7-16 1:41 PM	R HAMMONDS	Billing Dispute	2007-7-31 5:21 PM	is called the customer and most of his issues have been resolved. The meter has been exchanged in the system and the has been issued a new bill. I am sending the lab technicians out to test the customer's water.
742844W	2007-7-16 1:26 PM	RICHARD & ALYCE NALLI	Billing Dispute	2007-7-23 10:05 AM	This meter was exchanged on 4/26/07. When the reader went out to read the meter, he should have read it by using the new technology, but instead keyed the readings in. Since the readers were used to billing to the gallon, he keyed in the entire read, making it appear that the customer had used all that water. The account has been corrected and the customer was called on 7/23/07. Mrs. Nalli was told what had occurred and that the revised bill will process tonight. Aque will call Mrs.Nalli when the bill comes back and tell her what the revised bill is. Mrs.Nalli was satisfied with the resolution.
742412W	2007-7-12 6:32 PM	GEORGE MONTGOMERY	Miscellaneous	2007-7-31 4:45 PM	I called and spoke with Mrs. Montgomery and she told he the flushing that we did on 7/10/07 didn't help. So I had another (schnician go out to the property. He took the fitter and exchanged the meter. He took the fitter to his supervisor so they could identify what was coming into the system. The technician will go back tomorrow to check the new fitter that was installed to see if the matter recollects. I told the customer to call me if she had any further problems.
742335W	2007-7-11 10:44 AM	ROBERT GILLER	Billing Dispute	2007-7-31 12:03 PM	The company has tried to contact the customer on two different occasion. I am send the customer a letter with my contact information.
742218W	2007-7-10 10:53 AM	JERRY MASON	Billing Dispute	2007-7-30 7:10 PM	The company has made several attempts to call the customer. The customer's zipcheck account has been closed and the return item fee removed. I will send the customer a letter with my contact information.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
742187W	2007-7-9 5:44 PM	EDWARD DIAZ	Billing Dispute	2007-8-1 3:18 PM	I spoke with Mrs Diaz and explained that I will be sending a technician to the property to verify her meter number and meter read. The outstomer does have a sprinkler system with 4 zones that she nuns 2 to 3 times a week for twenty minutes each time. I told her to read her meter before she runs the sprinkler and after the system runs, read the meter again. I told her she may have a bad sprinkler head.
741943W	2007-7-6 11:22 AM	DON STAUSS	Property Damage/Maint./Dist.	2007-8-6 10:43 AM	The technician went to the property on 7/31/07 and lowered the meter pit. It seems there was a problem with the customer damaging the meters.
737159W	2007-7-5 12:17 PM	GLEN STIMPSON	Billing Dispute	2007-7-12 5:09 PM	5/23/07, supervisor spoke to Mr. Stimson and went over the account with him. The supervisor gave the customer a leak credit of \$33.57 based on the 50% rule for usage over and above his normal consumption. Mr. Stimson was fine with the credit. The meter had been exchanged on 4/4/07, but the paperwork was not completed until 4/20/07. Mr. Stimson received an estimated bill for 18 days because the system had nothing to metch up with on the new meter. The 5/9/07 bill for 9 days was the regular scheduled reading date. All those bills were canceled and the customer was rebilled on 6/5/07 on an actual read for 300 gallons for 61 days. He has also received a July bill for 100 gallons for 30 days. Mr. Stimson should now be back on a regular reading schedule since the meter exchange has been completed, Mr. Stimson has a credit on his account of \$20.11.
737707W	2007-7-5 10:35 AM	WEBB EPPERSON	Billing Dispute	2007-7-26 7:48 PM	On 7/6/07 i sent the customer a letter to call the company and schedule a bucket test. On 7/24/07 Supervisor called the customer and left a message for a call back. On 7/26/07 Another supervisor called the customer after receiving an email regarding the rate case. This supervisor also left their contact information. I scheduled a bucket test just to test the meter and verify the meter information.
736666W	2007-7-5 10:06 AM	Batty Randel	Billing Dispute	2007-7-6 11:31 AM	The customer's account was just re-activated as of 10/12/07 so she hasn't been issued a new bill as of yet. The customer had her account closed as of 6/5/07. The rates have been changed back to the original rate prior to the interim rates. On 10/2/07 The technician went to the property and performed a bucket test and he ran ten gallons through the meter, he noted that the meter tested ok. There were no leaks in the line.
741629W	2007-7-5 9:58 AM	HERBERT ERNSTMEYER	Billing Dispute	2007-7-26 7:27 PM	Today I spoke with Mrs. Ingborg Emistmeyer about her June water bill which had significant increase in water usage. I asked if she checked her tollets for leaks, Mrs. Emismeyer admitted to having a leaky tollet which she had turned off due to shaking the handle to stop the water from running. I explained to Mrs. Emismeyer that her usage has decreased due to her turning off the leaky toilet. I offered to have Aque perform a bucket test on her meter which she idid agree to. The appointment is scheduled for 8/2/07 between 8:00 – 10:00 am. I gave Mrs. Emismeyer my name & telephone to call if she has any additional questions.
737596W	2007-7-5 B:23 AM	ARLENE BLAKE	Billing Dispute	2007-7-26 7:35 PM	It called Mrs. Blake and she began speaking on her sons account. I told Mrs. Blake that if it's her sons account I need to speak with her son. Mr. Blake had the same issues that he had when the case was closed. (Case 727707W) I'm not sure that Mrs Blake had a problem with her account because they were so bent out of shape over Patrick's account. They wanted to argue whose responsibility it was to clean the mater. In looking at Mrs. Blake's account i did notice that her first read after her mater sxchange is very high and is probably incorrect. I am going to correct the billing and send her a new bill. The bill should be \$121.99 minus the \$11,00 she paid already.
741769W	2007-7-5 7:48 AM	CAROL CLARKE	Billing Dispute	2007-7-28 5:52 PM	I spoke with Mr Kennedy and he said he's been monitoring the meter and noticed that they use a lot of water. He inquired about his most recent meter read and I told him that it hasn't been put in the system yet. I told him it will either go in tomorrow or Monday. He said that he notices that the meter shows that he's used 20,000 gallons since his last read. This is a little lower than his test months usage. He said he will call me on Monday to compare the read we have to the read he has. I asked about his sprinder system, he has 4 zones. I calculate that he's using 640 gallons for each run. Over a month that's approximately 19,000 gallons. I did notice that his usage does a steady incline and after he fixed the sprinkler head it drops. The sprinkler head may have been a problem before he noticed. He did mention that he has his grandchildren and his son at the house so he knows he's using more water. He checked the service line for leaks and found none. We'll pick up on Monday, if he still has an issue I'll offer a bucket test. I'll send a supplemental report after our Monday conversation.
741513W	2007-7-5 7:42 AM	DELORES GILMARTIN	Billing Dispute	2007-7-26 5:16 PM	I spoke with Mrs, Gilmartin and explained that the reason her bill was higher last month was because the bill was a few days over her normal billing cycle. I went over the interim rates with her and let her know if she continues to use the same amount of water her bills should be about \$66.45 per month. She said she could live with that, I also let her know that the interim rates are what she's being billed and if the rates are not approved then she will be credited.
741492W	2007-7-5 7:36 AM	CLEDES SMITH	Billing Dispute	2007-7-25 6:14 PM	I spoke with the customer and told her that I could send someone out to assess the water quality situation. She told me that she wasn't there so there was no need. I told the customer the reason why her bill was \$51.54 is because of the availability of the services. The bill was a bit higher because the meter read date was beyond the normal 27-35 day cycle. If it goes beyond 35 days and below 27 days the base rate would be prorated. Such was the case with the \$51.54 bill, I told her that she will pay \$42.95 normally for the availability of the services. That is whether you use water or not. I told her that as far as I know she would still receive a bill if the water was turned off. I told her I would find out for sure and let her know. I informed her that we're working on improving the water system but it takes time.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
741238W	2007-7-3 10:53 AM	CHRISTOPHER BINDER	Billing Dispute	2007-7-26 4:56 PM	i spoke with Mrs. Binder and explained that the flush was something that needed to be done. The company doesn't have the man power or man hours to warn each customer when we will flush the system. In a case where someone is on dialysis I am not sure how chlorinated water would effect them or what steps they are told to take by their doctor when dealing with water. I asked the customer if she tried to contact the company during the time when she had the problem. She seld no she went right to the commission. After a further investigation, I found that this particular area is flushed twice a month. Unfortunately there is no set schedule for the work. According to the Department of Environmental Protection, the company must issue a warning only in a case where the water needs to be boiled.
740694W	2007-6-26 12:48 PM	CELISSE LUKA	Billing Dispute	2007-7-24 6:15 PM	I spoke with Ms. Luke and explained to her that the account has been activated due to a glitch in her account that caused her account to bill with out producing a bill. I have to contact another department and have the account fixed and a bill sent. I gave her my information for further contact and asked that she be a little patient.
740407W	2007-6-26 12:09 PM	J NORMAN	Billing Dispute	2007-7-16 5:15 PM	The customer's bill fluctuated because of the interim rate increase. The usage is in line with what she normally consumes. If the customer used a 100 gallons more per month it would only equate to \$.52. I attempted to call the customer but got no enswer. I am sending the customer a letter with my contact information so we can discuss the account.
740100W	2007-8-26 10:24 AM	RIVERBEND CONDO ASSN	Billing Dispute	2007-7-24 4:51 PM	River Bend is an account where Aqua estimated the bills for the past year (10/11/2006 to 8/16/2007). On 8/16/2007, an actual reading was taken and all billing statements were cancelled and rebilled with the correct usage for 309 days of service. The result is a \$10,584.63 credit to the customer. On 8/20/2007, a company representative spoke with Elaine Brunson (River Bend Condo Assoc) advising her of the actions taken and that a refund check will be mailed within 4 weeks. An account history was prepared and mailed to the customer. Ms. Brunson was satisfied with the results. The representative provided Ms. Brunson with her name and telephone number as a contact for any additional guestions or concerns she may have in the future.
735785W	2007-6-19 11:58 AM	WILLIE HALL	Billing Dispute	2007-7-19 9:44 AM	I called the customer and she had no idea why I was calling. She said it may have been one of the children but she idean't know which one. I will send the customer a letter in hopes that the child that called with the complaint will call me. I did see that the account was billed incorrectly. I gathered the correct read and re-billed the account. Right now the customer has a credit of \$380.88.
738239W	2007-6-19 11:33 AM	JUDITH MOLEO	Not Logged	2007-6-19 12:46 PM	The company called the customer and left a message with call back Information. The company had a meter reader at the property on 5/10/07 but the meter was blocked. The company will send another technician out to the property on 7/13/07. The cause of the high bill has yet to be determined. We hope that the findings on 7/13/07 will give more insight. Currently the meter readings on the account are estimated.
738999W	2007-6-19 11:13 AM	JOHN DELISA	Billing Dispute	2007-7-18 4:49 PM	It spoke with the customer and he realized that the bills were higher because of the interim rate. It seemed he really wanted to just went his frustration over the rate increase and other issues dealing with water quality. Nothing I said seemed to appease his anger. I asked had he called the company when the water was particularly bad, he said he had not. He stated he just didn't feel the rate increase was fair.
739830W	2007-6-19 11:06 AM	JAMES KNAUFF	Billing Dispute	2007-7-24 12:39 PM	The customer's meter was installed on 5/15/07. The meter was installed at a read of 5350. The difference in the readings was that the company mistakenty added an extra zero to his reading. So for example on the July 31st read instead of being billed 10400, he was billed 104700. After speaking with the customer and having him give me all the reads from the meter I realized that the meter was set in the system one digit higher. Human error it happens once in a while, not a regular occurence. So I canceled all the reads back to the start read and adjusted the start read from 53600 to 5360. I then rebilled his account the read he gave me on 8/31/07 of 14300. The bill was for 108 days at 9000 gallons. The customer was satisfied with the changes his current belance is \$8.47. The water base facility charge is a charge to recover the fixed costs of utility service regardless of usage. The base facility charge on the 87/107 bill was \$12.44
739607W	2007-6-15 3:48 PM	MARILYN CULLINAN	Billing Dispute	2007-7-16 5:55 PM	8/22/07, Aqua has tried to contact this customer but the phone number that we have on record had been disconnected and no other number was supplied.  The meter tested 100% accurate on 6/6/07 when the field technician performed the field test. It has also been noted that there did not appear to be a leak at the property. Aqua bills customers based on the amount of consumption that registers on the meter, and in this case, the meter tested accurately.  However, Aqua is willing to charge the customer for an average of 8700 gallons for that time period and credit the account for \$583.43. This will leave a balance of \$295.65 on the account. The customer has not made a payment since \$/16/07, when the bill was automatically debited for that month's bill. The customer has since asked that the bank draft be discontinued and that was done on 6/4/07.  Aqua will send a letter to the customer indicating the amount that was credited and the amount currently due on the
737481W	2007-6-11 10:46 AM	CHARLENE JONES	Silling Dispute	2007-7-16 5:34 PM	account. The customer will also be supplied information concerning payment arrangements if necessary.  supplemental

Case Number	Date Received	Customer	RootCause	Date Sent to PUC 🚁	
737698W	2007-5-11 10:41 AM	DON COUNCIL	Billing Dispute	2007-7-24 12:07 PM	The company spoke with Mr. Council and told him that the company has until the end of November to refund the customers in that area with interest. On September 17, Aqua mailed all affected customers a notice to show their system's previous and interim rates for water and/or wastewater service. Aqua's outsomer billing returned to the previous rates effective September 20, 2007. The refund with interest will appear as a credit by no later than your November billi. (Customers will also see the following massage on their next bill: "This bill is based on the rates that were in effect prior to the April 12, 2007, when the Florida Public Service Commission approved an interim rate increase. Because the requested rate increases has been withdrawn, you will receive a refund in the form of a credit on your bill for the interim rates you paid, plus interest, by November 30, 2007.") The billing statements issued from 11/20/2006 through 8/13/2007 were billed at the incorrect rate schedule. To correct the error the billing statements were cancelled and re-billed from 11/20/2008 through 8/13/2007 at the correct rate schedule which was the interim rate schedule prior to April 12, 2007 and then the account was re-billed based on the interim rate schedule effective 4/12/2007, Because the rate increase has been withdrawn, Mr. Council will receive a refund in the form of a credit on his bill for the Interim rates prior to 4/12/2007 plus interest by November 30, 2007. On the customer's bills, there is a Message Center that provides customers information on when to expect the refund. A letter will be mailed to the customer if he does not notify the business office by 10/12/2007.
738140W	2007-6-11 10:04 AM	TERESA OTERO	Billing Dispute	2007-7-11 4:57 PM	The cause of the issue was the account was billed incorrectly. The read had an added digit. After invastigating the fread I saw that the read should be 6040 instead of 60400, I canceled the bills in the account and re-billed the account correctly. I called Ms. Otero and explained that the bill was incorrect and that I had canceled the current bill. She should receive the new charges soon. She was grateful, she expressed that customer service hadn't helped. I extended my services if she could not get resolution through customer services.
738239W	2007-6-11 8:11 AM	BLAIN MUSTAIN	Billing Dispute	2007-7-5 5:15 PM	The company called the customer and left a measage with call back information. The company had a meter reader at the property on 5/10/07 but the meter was blocked. The company will send another technicien out to the property on 7/13/07. The cause of the high bill has yet to be determined. We hope that the findings on 7/13/07 will give more insight. Currently the meter readings on the account are estimated.
738574W	2007-6-9 11:00 AM	JAMES HORTON	Billing Dispute	2007-7-5 3:44 PM	To correct the error, the billing statements were cancelled and re-billed from 11/20/2006 through 8/13/2007 at the correct rate schedule which was the interim rate schedule prior to April 12, 2007 and then the account was re-billed based on the interim rate schedule effective 4/12/2007. Because the rate increase has been withdrawn, Mr. Horton will receive a returnd in the form of a credit on his bill for the interim rates prior to 4/12/2007 plus interest by November 30, 2007. On the customers' bills, there is a Message Center that provides customers information on when to expect the returnd. A letter will be mailed to the customer if the does not notify the business office by 10/12/2007.
738622W	2007-6-8 10:06 AM	RANDY HUNT	Billing Dispute	2007-7-5 3:07 PM	The customer's base rate is \$29.12 and \$4.20 per 1000 gailons. The interim rate did not effect the customer because their rate has been the same since November of 2006. The interim rate too effect April 12, 2007. The customer's rate staved the same.
734530W	2007-6-4 8:31 AM	JIM GROTKOPF	Billing Dispute	2007-6-9 9:26 AM	5/31/07, Spoke with Mr. Grotkopf concerning his billing issue. Customer indicated he received estimated bills and the explained to him that all his bills were based on actual reads. There was an interim rate increase effective 4/12/07 and it explained the difference in the armount of his bill. Aqua gave customer a courtesy credit of \$25.00. Aqua also told customer that if he received an estimated bill at any time, he should call the company and request an actual read from his meter. Mr. Grotkopf was satisfied with the resolution.
734123W	2007-6-4 8:24 AM	KENNETH BERG	Billing Dispute	2007-6-18 4:59 PM	Spoke to customer about the bill. He still does not believe that he used that water, so I set up a meter test for 6/6/07. I am waiting for the results of the test, 8/24/07, This meter was pulled for testing on 7/25. The old information is meter # 55306154 with reading 14/96. The new Information is meter # 5671259 with reading of 0. All bills are based on actual meter reads. The results of the meter test are 15 GPM - 100.77%, 2 GPM - 101.51%, and .25 GPM - 97.99% which are within the Florida Public Service Commission acceptable range. This information was also supplied to Cheryl Bulecza, Florida Public Service Commission
737874W	5/31/2007	Magsam, Russell	Rates	6/22/2007	6/22/07 737874W INTERIM INCREASE. 6/22/07 SENT REPLY TO PSC.CC2 9-22-07 CASE 737874WCASE CLSD 6-22-07 PER PSC. CUSTOMER DISPUTING BILL RATEMLS
737211W	2007-5-26 10:06 AM	HOWARD HURST	Billing Dispute	2007-6-22 6;46 PM	6/22/07, Called Mr. Hurst to discuss his comptaint. Aqua does not have Mr. Hurst on an automatic bank draft; however, Mr. Hurst does have this through his own bank and he did not have the correct account number listed in order to properly post his payments on time. All of the payments have been posted to his account, and only the April payment was posted later than the actual due date. There have been no late penalties assesd to this account. I assured Mr. Hurst that there was no impact on his credit. He will make the corrections to the account number online with his bank. He did express his displeasure at the rate increase and wanted the PSC to be aware of this. Mr. Hurst was satisfied with the explanation and grateful for the call.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
737130W	2007-5-26 10:01 AM	KETEMA HARRIS	Billing Dispute	2007-8-25 8:06 PM	Florida accounts were converted to the current billing system on 11/6/2006. Customers were notified at that time that their account numbers had changed. I looked at the meter pictures that Ms. Harris sent and not being sure what day it was (1 think 5/30/10), the reading (4730) falls in line with the reading that Aque obtained on 5/17, which was 4/17, it appears that her irrigation system may be tied in with the main water line. Also, effective 4/12/07, an interim rate increase took place which increased the customer's bill. The sewer base charge went from \$22,01 to \$31.08 and the charge per gallon increased from \$.801000 to \$1.132. The water charge increased from \$10.25 and \$.389 per gallon to \$13.54 and \$.513000 per gallon.
737081W	2007-5-28 9:53 AM	JENNY ATHERON	Billing Dispute	2007-6-22 6:57 PM	The cause of the customer's high bill is the interim rise in the rates. The customer's rate was \$3.09 per one thousand gallons with a base rate of \$15.87 for water. The sewer rate was \$4.10 per one thousand gallons with a base rate of \$15.23. The rate for the water is now \$8.10 per one thousand gallons and the base rate is \$42.94. The sewer rate is \$9.93 per one thousand gallons and the base rate is \$38.12. The rate is the interim rate, if the approved rate is lower, the customer will receive a credit on the bill. Once the rate is approved by the commission, the rate stands. The customer's water consumption did rise because the customer planted grass seed and watered it. I told the customer that the until the rate increase is approved there's not much I could do.
737076W	2007-5-26 9:47 AM	JACK BORDEN.	Billing Dispute	2007-6-22 5:44 PM	The cause of the customer's high bill is the interim rise in the rates. The customer's rate was \$3.09 per one thousand gallons with a base rate of \$15.87 for water. The sewer rate was \$4.10 per one thousand gallons with a base rate of \$15.23. The rate for the water is now \$8.10 per one thousand gallons and the base rate is \$42.97. The sewer rate is \$9.93 per one thousand gallons and the base rate is \$58.12. The rate is the interim rate, if the approved rate is lower, the customer will receive a credit on the bill. Once the rate is approved by the commission, the rate stands. The company tried to contact the customer and the phone rang constantly.
736862W	2007-5-26 9:42 AM	DONALD COTTER	Billing Dispute	2007-6-20 9:17 AM	6/20/07, Spoke to Mrs. Cotter (husband deceased). She was unaware of the interim rate increase which did appear to double her water bill atthough she has the same usage, Mrs. Cotter has automatic bank draft which she requested be discontinued. Concerning the discolored water: Mrs. Cotter never called Aqus to complain about this. A work order has been created to have her water tested to find out what the problem is. Mrs. Cotter was satisfied with the phone call and explanation of the bill.
736770W	2007-5-26 9:36 AM	JOHN JONES	Billing Dispute	2007-8-22 12:51 PM	The cause of the customer's high bill is the interim rise in the rates. The customer's rate was \$3.09 per one thousand gallons with a base rate of \$15.87 for water. The sewer rate was \$4.10 per one thousand gallons with a base rate of \$15.23. The rate for the water is now \$8.10 per one thousand gallons and the base rate is \$42.97. The sewer rate is \$9.93 per one thousand gallons and the base rate is \$38.12. The rate is the interim rate, if the approved rate is lower, the customer will receive a credit on the bill. Once the rate is approved by the commission, the rate stands. The company attempted to contact the customer but the phone just rang constantly.
736678W	2007-5-26 9:29 AM	STEVEN MILLER	Billing Dispute	2007-6-20 4:56 PM	6/20/07, spoke to Mr. Miller. He explained that he is disabled and that he lives alone until recently. In speaking with Mr. Miller, he advised that he has a toilet that he needs to "jiggle the handle" to make it stop running and has been very diligent in doing this each time. I explained to Mr. Miller that this would cause the fluctuation in his usage since he may not remember each time or if he has company, would they even know to do that. He did understand that he needs to get the tollet fixed and that this could be the reason for the additional usage. I advised Mr. Miller that I would take \$20,00 off his account as a one-time credit.
736666W	2007-5-26 9:13 AM	BETTY RANDALL	Billing Dispute	2007-6-22 10:52 AM	The cause of the customer's high pill is the interim rise in the rates. The customer's rate was \$3,09 per one thousand gallons with a base rate of \$15.87 for weter. The sewer rate was \$4.10 per one thousand gallons with a base rate of \$15.23. The rate for the water is now \$8.10 per one thousand gallons and the base rate is \$42.94. The sewer rate is \$9.93 per one thousand gallons and the base rate is \$39.80 per one thousand gallons and the base rate is \$39.80 per one thousand gallons and the base rate is \$8.8.12. The rate is the interim rate, if the approved rate is lower, the customer will receive a credit on the bill. Once the rate is approved by the commission, the rate stands. The company attempted to contact the customer but the phone number wasn't in service.
736639W	2007-5-25 5:58 PM	JAMES RUSHING	Billing Dispute	2007-6-8 10:44 AM	The company has applied \$9.90 to the customer's account as a credit for the meter running fast. The total consumption from 3/2006 through 3/2007 (80,100) multiplied by 4% (3204). Then 3/204 multiplied by .30900 equals \$3.90.
736600W	2007-5-25 1:16 PM	JOANN JOHNSON	Miscellaneous	2007-6-18 1:47 PM	An abstement was given for \$80.82 courtesy due to a delay in processing move in paperwork
736004W	5/19/2007 2:35:54 PM	ELIZABETH BRYAN	Billing Dispute	G/4/2007 9:39:39 AM	Currently, Aqua is waiting for the results of the meter test request that was sent to Florida division on 7/9/07. When the meter test results are sent to me, I will have a better understanding of the high usage on the account. If the meter proves faulty, Aqua will adjust the account accordingly. If the meter proves accurate, then another discussion with the customer will take place and some sort of compromise on the bill.  I had previously adjusted the account for 27,300 gallone and this reduced the consumption to 86,500 gallons.  Based on conversations with the customer, there are no leaks at the property, so I cannot show a reason for the high usage other than customer usage.
					Aque will provide more information when the meter test results are sent.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
736004W	5/19/2007 2:35:54 PM	ELIZABETH BRYAN	Billing Dispute	6/4/2007 9:39:39 AM	8/23/07, Mrs. Bryan and I keep missing each other by phone. I have applied a credit of \$387.51 to the inactive account. The balance is now \$343.29. Neither Mrs. Bryan nor Aqua can account for the excess water usage; however since the meter tested fast at 104% at high flow, Aqua credited the account based on 200 GPD for 89 days on the old meter.
					The Bryans have never made a payment on this account since they moved in on 3/16/07, so the remaining charges are for 109 days of service. I told Mrs. Bryan to call me if she would like to set up payment arrangements.
736510W	5/18/2007	Miner, Robert	Rates	6/23/2007	6/23/07, spoke to Mrs. Miner about her complaint. She was upset that no one from Aqua informed the online bill payers that their account number had changed. Aqua changed account number back in November, 2006, and had previously notified customers on their bills. Aqua gave the customers a grace period by accepting their checks with the incorrect account numbers for several months, but at some point had to start returning the checks as they could not be matched up automatically with the customers' bills. Aqua had to take each incorrect bill and manually look the customer up in order to apply the payment. With so many customers neglecting to make the change, this was delaying the payment posting and costing additional man hours.  Mrs. Miner has made the correction to her online account and I told her I would remove the \$15.00 reconnect fee. I asked her if I could go over any thing alse with her and she said, "No, I was upset that the water had been turned off."
					The meter was tested on 7/3/07.  The test was performed by Mars Company.  The customer was not present.  The beginning reading was 1081468.3 and the ending reading was 1081591.2, which indicates 119.975 gallons were used for the test.  The meter tested between 101.62% and 102.23%.  The results were not provided to the customer, but a letter will be prepared on 10/18/07.  No credits were issued.  Provide a copy of the meter test results from the 7/3/07 test.
733793W	5/17/2007	Cruden, Judy	High Bill	6/14/2007	3) Has this meter ever been repaired? 4) What were the maximum, intermediate, and minimum rates from the meter test? 5) Your response of 10/18/07, indicated 119,975 gallons were used for the test; however, the difference in the beginning reading and ending reading is 122,90 gallons, please explain. 6) Please provide a copy of the customer's billing statements for the past 12 months. Please provide response to PSC by 10/31/07. Shonna McCray 10/25/2007 Company response received via e-mail. //EEstelle 10/29/07 REVIEWED COMPANY'S SUPPLEMENTAL RESPONSE. Response Indicates the following: 1. Copy of the meter test results was not provided. 2. This is a displacement meter. 3. The meter has never been repaired. 1. The rates were as follows: 1.5 GPM for 100 gallons - 102,02%
					2 GPM for 10 gallons - 102.23% .25 GPM for 10 gallons - 101.62% 5. 119.75 was a typo. 6. Bill copies provided, with the exception of the October and November 2006 bills. Shonna McCray  NOTE: Spreadsheet created using bills provided. Shonna McCray
					10/29/07 ATTN COMPANY, REQUEST FOR SUPPLEMENTAL RESPONSE: Besed on the meter test results provided to the PSC, it appears the customer's meter is running fast. Please issue
736238W	5/16/2007	Vargas, Elizabeth	Billing Dispute	<del> </del>	appropriate credits and provide response to the PSC by 11/7/07. Shonna McCray.  The customer was billed for the builders water. This was corrected on the March 2007 bill when the start read was adjusted to reflect the customer's usage after the disputed bijl.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC.	Resolution
735751W	5/11/2007	Baker, Evelyn	High Bill	6/16/2007	6/18/07 735751W- HIGH BILLS 6/18/07 CALLED CUSTOMER AND WENT OVER THE BILL WITH HER. SHE HAS THE EXACT SAME USAGE PATTERN AS APRIL AND MAY 2006. CUST REFUSES TO BELIEVE SHE HAS USED THE WATER AND ACCUSES AQUA OF MAKING UP THE READS. THE METER WAS EXCHANGED THRU THE RF PROGRAM ON 6/13/07 SO I DON'T HAVE THE OLD METER TO HAVE IT TESTED. THE REMOVE READ WAS 9461 WHICH IS 15700 GALLONS IN 14 DAYS(407 GPD). CUSTOMER WILL GIVE ME A READ OFF THE NEW METER THIS AFTERNOON AND I WILL COMPARE THE USAGE.CC2 6/20/07 CUST CALLED TO GIVE ME A READ TAKEN FROM THE NEW METER ON 6/19/07 ⚠ 000081(0) CC2 1/6/07 SENT BILL OUT AND REM'D B'CODE.CC2 9/22/07 CASE 735751WCLSD'7-2-07 PER PSC. BILLING ISSUEMLS
735292W	5/9/2007	Rhea Jr, Owan	Billing Dispute	6/23/2007	Account was rebilled for 190 days of service.
735110W	5/8/2007	Webster, Money	Billing Dispute	6/18/2007	Carol Cubler called to Mr. Money to go over the bill with him.  The bill that Mr. Money is referring to was canceled and the account rebilled for 500 gallons for 70 days of service.  Based on what the customer normally uses, this is correct.  Ms. Cubler created a service order to make repairs at the meter if necessary.  The April bill was estimated because Aqua kept getting the same reading.  Mr. Money was receiving bills for \$10.00 to \$14.00 per month because Aqua was not charging him for any water consumption.  There was an interim rate increase effective 4/12/07, which should have informed Mr. Money about the increase.  Ms. Cubler will check with him when he returns her call.  She will also check with him to see if he is a seasonal customer, which may account for the low usage, but according to history he uses 2,000 to 24,000 gallons depending on the season.
735135W	5/8/2007	Curry, Gary	Billing Dispute	6/12/2007	08/06/07 - Customer correspondence received via U.S. mail; forwarded to PDelgado. /ewe  08/11/07 I reviewed the customer correspondence, he states their has been NO response from Aqua Utilities. The complaint filed is for the 02/07 usage when he ws billed for 6900 gallons, they normally use 3100. He is also states there is no one local you can talk to, mpd
735149W	5/8/2007	Wieland, Tricia	Service Termination	s/18/2007	4/24/07, customer received a 10 day shut-off letter. 5/4/07, Customer was called by Aqua's third party collection egency. 5/4/07, MS WIELAND, CONF142748 AMOUNT PAID\$237.29, Customer paid the past due amount, but did not call until lete in day. 5/9/07, water was restored. Customer did receive warning that her bill was past due. Customer pays every other month, and knows that when Aqua issues a bill, there is a due date on the bill. The customer's current balance is \$565.31, but this includes an estimated bill in May. Aqua will have the mater read and issue an actual bill. Customer called on June 6th because her pool had a leak and requested an adjustment. Aqua will give a sewer adjustment on the bill.
735163W	5/8/2007	Rich, W.F	Billing Dispute	6/18/2007	735163W - HIGH BILL COMPLAINT 6/18/07 CALEED CUSTOMER IN GEORGIA CONCERNING THIS PROP, LEFT A MESSAGE WITH MY PHONE NUMBER TO CALL BACK.CC2 6/18/07 SENT PARTIAL REPORT TO PSC.CC2 6/18/07 SENT EMAIL TO PAUL THOMPSON TO SEE WHY NO TEST COULD BE DONE.CC2 6/18/07 FIELD TECH DAVID CALLED ME BACK TO TELL ME THAT THERE WAS NO OUTSIDE.FAUCET TO TEST THE METER. HE HAD TO USE THE NEIGHBORS. 6/21/07 RECEIVED EMAIL FROM FIELD TECH. HE WENT BACK AND EXCHANGED THE METER. HE COULD FIND NO LEAKS BUT SAID THE PERSON WHO WAS MINDING THE HOUSE COULD HAVE USED THE WATER.CC2 6/21/07 SPOKE TO MR RICH. THE VALVE WAS TURNED OFF BEFORE THE METER SO NO WATER SHOULD HAVE GONE THRU THE METER. HE HAD A PLUMBER COME TO THE PROPERTY TO CHECK TO MAKE SURE THE VALVE WAS HOLDING, PLUMBER SAID THE VALVE WAS FINE BUT MR RICH ASKED HIM TO PUT IN A METAL VALVE TO MAKE SURE IT WAS NOT A PROBLEM. MR. RICH LEFT THE PROPERTY ON 313/07 THE SAME DAY WE READ THE METER AND RETURNED ON 6/1/07 AND LEFT AGAIN ON 6/1/207. I TOOK OFF THE WATER/SEWER CHARGES TOTALING \$196.97 AND TOLD HIM THAT IT WAS A ONE-TIME COURTESY. HE WAS FINE WITH THAT AND APPRECIATED THE PHONE CALL CC2 6/21/07 SENT SUPP REPORT.CC2 9-22-07 CASET/36163WCASE CLSED 6-25-07 PER PSCMLS
735213W	5/8/2007	Peters, Walter	Billing Dispute	6/23/2007	Customer was given a leak adjustment on for 50% on the water and 100% on the sewer account.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Baselytion
	5/7/2007		Billing Dispute	5/19/2007	"On 4/27/07, rep spoke with Deborah Boyle, who is the daughter-In-Law of Thomas.  "Repr did not find the other account that referenced in the compaint.  Deborah will fax all the bills that were received on both properties on Monday, 4/30/07.  To resolve this particular issue, Ms. Cubier corrected the move in read for Thomas and billed him forward for 5100 gallons for 152 days of service. This should be exproximately \$160.46.  "All payments will be applied and customer should have a credit on the account.  Mrs. Boyle was satisfied that someone was addressing the issue.
735016W	5/7 <i>1</i> 2007	Beeler, Jack	Billing Dispute	6/15/2007	B/18/2007 Reviewed report. The company reports the following:  " The customer received an estimated bill on 4/27/07.  " A service order was sent out to read the meter for an actual bill.  " The actual read was billed, but for only 17 days of service.  " Aqua is not sure why the customer received a bill for 43 days but, coupled with the 17 day bill equates to 60 days.  " The customer used 4/200 galton in 60 days.  " To explain the bill with no base charge showing on the bill: when there is a rate increase during a customer's monthly billing cycle, the bill is collapsed so the customer does not get confused with the old rate and the new rate.  " The old base rate was \$12.96 for a 30 day bill.  " Effective 4/12/07, the interim rate became \$18.98.  " The customer's April bill was for 43 days of service, so the old rate for 27 days was 0.432666 x 27 = \$11.98.  " The new rate was 0.6326866 x 16 days = \$10.12 for a total base rate of \$22.10.  " The current May bill is for 17 days of service so the base rate will show as \$10.76 (0.6326665 x 17).  " The June bill should be on the correct cycle. Imparaball.
734530W	5/2/2007	Grotkopf, Jim	Billing Dispute	5/26/2007	Aqua representative contacted Mr. Grotkopf to explain his bills customer will call if bills look cut of the ordinary.
87C4-814%	5/2/2007	Miller, Wm S	Miscellaneous	5/2/2007	This customer sent his check to the wrong PO Box, even though he had the bill stub with the correct address. He stopped payment on the check, which in turn, incurred the \$20,00 return check fee. On 3/29/07, I credited the account for the \$20,00 fee, even though in this case it was not warranted. The customer stopped payment on the check causing the problem. Currently, the customer has a credit on the account of \$5.51
734642W	5 <i>/2/2</i> 007	Higbie, Joann	High Bill	5/26/2007	Customer's bill was estimated again. I canceled and rebilled on an actual read obtained on 5/29/07. The reading is very high, so I need to find out if the leak was repaired. I called Mrs. Highle and left a message asking her to call me. I created another service order to go to the property to make sure the meter is not leaking.
734522W	5/2/2007	Hunter, Paul	High Bill	6/7/2007	08/11/2007 Reviewed report. Company advised that on June 7, 2007, a company representative contacted the customer. The customer expressed concerns about the usage. The customer stated he has an irrigation system tied to the main water line. The customer indicated he turned off the irrigation system in May 2007 and noticed the consumption decreesed. The customer confirmed he was aware of water irrigation zones. A meter test was scheduled for June 11, 2007. eptendi
733367W	5/1/2007	Green, Mary	Miscellaneous	5/26/2007	Customer called plumber to have service line leak repaired and pressure problems ahvae been corrected
734356W	5/1/2007	Pamino, Frances	Rates	5/26/2007	Aqua representative explained Ms. Parrino has a leak in her tub and therate increased cause a spike in ster bilis.

Case Number	Date Received	Customer Company	RootCause	Date Sent to PUC	Resolution
734123W	4/27/2007	Berg, Kenneth	High Bill	5/19/2007	Reviewed Company Response (05/19/07) 05/22/07 Aqua Utilities of Florida reports they attempted to contact Mr. Berg concerning his bills. According to the history on the account, the property has never used less than 7,000 gallons a month. The consumption fluctuates, but it appears to increase with the sesson. A phone number was left for Mr. Berg to call to discuss the usage with him. A billing history has been sent. M. Pura Delgado 10/20/06 - 3,000 09/21/06 - 7,000 09/21/06 - 17,000 09/21/06 - 17,000 09/22/06 - 8,000 05/22/08 - 8,000 05/22/08 - 8,000 05/22/07 REQUEST FOR SUPPLEMENTAL RESPONSE Your response dated 05/19/07 does not indicate if the customer was contacted and provided with a resolution. 1) please provide confirmation the customer was contacted and provided with a resolution, either by direct contact or by writing. 2) please provide monthly water usage for 01/07 through 05/07. Please respond to the PSC by 05/30/07. M. Pura Delgado 05/29/07 - Customer transferred to PDelgado. NEwan. 05/29/07 - Customer transferred to PDelgado. NEwan. 05/29/07 - REQUEST FOR SUPPLEMENTAL RESPONSE Mr. Berg called the stated the problem started in 11/06, he states he has asked the company on several occassion to test the meter for leaks. He has checked the home and found no leaks. I advised I would ask the company to do a field test on the meter. Imple OS/29/07 REQUEST FOR SUPPLEMENTAL RESPONSE Mr. Berg is requesting a field test be done on the meter. Please sent results to the PSC.
731603W	4/25/2007	LeBlanc Jr., Daniel	High Bill	4/28/2007	Please respond to the PSC by 06/06/07. M. Pura Delgado  4/28/07, spoke with Mrs. LaBlanc concerning her bill. The November and December bills were estimated based on the previous zero consumption for 6 months. I explained to the customer that the 4200 gallons (plus the 900 estimated gallons) were really for 91 days of service and averaged out to 56 GPD. Customer understood and said she was dividing the number by 3 (months) and fall she was being overcharged. I explained the difference of doing it that way was the fact that we may not bill exactly 30 days each time. One month may be 28 days, one may be 31 days, etc. She understood and was satisfied with the explanation. I credited the customer with a \$10.00 courtesy credit. Customer appreciated the credit and the phone call. Customer also has my direct line in case she has any additional questions.  Mrs. LeBlanc will call to have her water turned off and locked so she does not have to pay availability charges for the
					time she is not at the property. She will save \$90,00+ by doing this.
733824W 728762W	4/13/2007	Johnson, James L  Dematas, Mary	Property Damage/Maint./Dist.  Billing Dispute	4/21/2007	Aqua repaired leak in yard on 3/9/07.  4/21/07, spoke with Maryann Dernates about the base facility charges on her bitt. Maryann is the sister and neighbor of Victor/Ann Dematas.  Maryann has the same BFC as the rest of Arredondo Estates at \$13.85. Aqua issued a 22 day bitt to her on 11/10/06, resulting in a BFC of \$10.16 plus her water usage. The next bitt was a longer bitt because these accounts were converted over to a different bitting system and resulted in a 37 day bitt. This brought the BFC to \$17.08 (37 days X .46166). These were the only two bitts that were outside the range of a 30 day bitt. Customer was actually charged \$.46 less then if she had two 30 day bitts (13.85 X 2 = \$27.70).
731848W	4/5/2007	Boyle, Deborah	Billing Dispute	4/27/2007	This customer will have their meter exchanged in the next few weeks and have the Radio Frequency technology installed. I explained the technology to Ms. Dematas and she was satisfied.  Ms. Dematas understood the calculation and was satisfied with the explanation.  5/02/2/07 Reviewed report. The company reports the following:  On 4/27/07, Carol Cubler spoke with Deborah Boyle, who is the daughter-in-law of Thomas.  Ms. Cubler did not find the other account that referenced in the complaint.  Deborah will fax all the bitts that were received on both properties on Monday, 4/30/07.  To resolve this particular issue, Ms. Cubler corrected the move in read for Thomas and billed him forward for 5100 gallions for 152 days of service. This should be approximately \$180.46.  All payments will be applied and customer should have a credit on the account.
					Mrs. Boyle was satisfied that someone was addressing the issue. kmarshall 05/07/07: customer transfered to KMarshalls line. Viteria

Case Number	Date Received (*) 2000 - 10000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000	Customer	RootCause	Date Sent to PUC	Resolution
731848W (Continued)	4/5/2007	Boyle, Deborah	Billing Dispute	4/27/2007	5/07/2007 The customer was transferred to me by VFerie. The customer states that she has not received a final resolution from Aqua. She states that she faxed documents to the company on Monday for review. The customer would like for the company to verify that the customer information on the account has been corrected and proper payments are applied to the account. The customer was advised that a supplemental report will be requested from the company addressing her concerns, kmershall
731489w	4/5/2007	Camivale, Rick	Rates	4/28/2007	Aqua tried to contact Mr. Carnivale several times; however, the two times the customer called back were after hours, so there was no one here to answer the call.  Mr. Carnivale is questioning rate increase: Aqua submits rate increase requests to the Public Service Commission. The PSC determines if the rate increase is warranted and justified. The PSC rules on the rate increase and passes that ruling to Aqua for implementation.  As far as not receiving any service for his money; Mr. Carnivale is on a well, but Aqua provides wastewater service to the property. Mr. Carnivale has the use of these services, currently. Mr. Carnivale is billed on a monthly flat rate.
730979W	3/26/2007	Gladden, Tim	high bill	4/16/2007	Mr. Carnivate also requested a billing history. I have enclosed a copy of the account statement for this account.  4/1607, Aqua spoke to customer. Went over the bill with her and she said she had no leaks at the property.  Previous investigation shows that on 12/4/08 there was a 4" main break in the area and this "may have" forced air through the meter when it was repaired, causing the dials to move. Since Aqua does not know if this occurred and the customer states there are no leaks at the property, Aqua has reduced the December bill in dispute to \$40.00, crediting the customer's account for \$256.62. This is a one-time courtesy credit based on the facts at hand.  Customer was satisfied with the resolution.
					3/9/07, this customer contact Aqua and saked about her high usage. The customer service representative went over how to test for leaks in the property and customer performed the required tests on her toilets. No leaks were identified.  3/23/07, a bench test was performed in the field and the meter tested accurately, and customer was informed of the results. Since that time, customer received another high bill. Field tech also checked property for leaks and was not able to identify any.
730837W	3/23/2007	Pearson, Ursula	high bill	4/14/2007	Was able to contact this customer on 4/14/07. Went over the bill with her and discussed various situations with her high usage.  Since there are no visible leaks accounting for the high usage and the meter tested accurately, I will have a new meter put into the property and the water turned off. The customer requested the account be taken out of her name and I will have that done when the meter is exchanged. When the paperwork is completed will make an adjustment to the account. I cannot entirely wipe the bill away, but I will take into consideration what the customer normally uses Customer will call me back on 4/20/07 to see what adjustment I have made to the account.
730680W	3/22/2007	McKay, Ron	water pressura	4/14/2007	This customer complains of poor pressure in the early morning. The reason the pressure is low is due to the irrigation system running at 4:30 and 6:30 AM. Their irrigation system is tied into their main water line. In addition, there is early morning demand in the neighborhood which would also contribute to low pressure in the morning. Supervisor spoke to customer on 3/22/07 and told customer that there was 68 psi from the mein. Aqua delivers correct pressure to the customers, but cannot answer for individual pressure due to the tie in of infigation lines. Aqua can suggest that the customer discontinue use of the irrigation system in the morning and switch to the late evening.
730134W	3/16/2007	Cole, Lonnie	estimated bills	4/13/2007	March 13, 2007, customer spoke to a customer service representative concerning estimated bills. Customer had on estimated bill in December and one in February.  4/1/107, supervisor called customer to discuss the complaint. The customer indicated that the meter pit was covered with dirt and was wondering if this was the reason that the reader had trouble reading the meter. Supervisor explained that the meter should be kept clear at all times so that the reader can obtain a read or service the meter if necessary.  Customer was billed on an actual read on 3/22/07 and currently has a credit on their account of \$.85.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
729996W	3/15/2007	McCracken, Albert	astimated bills	4/16/2007	Spoke to Mr. McCracken on 4/5/07 and told him that I had been outside his property on 4/4/07 and sew that it was surrounded by a locked fence. Customer verified this end said he would read the meter and call me with the read. Mr. McCracken called on 4/10/07 with the read and the read does not fit with the readings we have used to estimate his account. I have asked Mr. McCracken if he could give me another reading so I could compare them.  Mr. McCracken agreed that Aque could not read the meter due to the locked fence. Customer was willing to heve the account rebilled according to the read he provided; however, I will wait for the new read and attempt to rebill the account.  Mr. McCracken is in one of the areas that will have their meter exchanged and the radio frequency technology installed to prevent estimated bills in April or May.  Concerning the rate increase, Aque filed a rate request with the Florida Public Service Commission on 12/1/2006 to recover \$22 million it has invested to improve the quality and reliability of water and wastewater services. The test water and wastewater beer rate increase occurred 1995.  Mr. McCracken did not discuss the rate request with me at the time I was on the phone with him.
730051W	3/15/2007	Black, Bonnie	estimated bills	4/13/2007	4/27/07, spoke with Mrs. Black and went over the bills with her. She said she thought the complaint was withdrawn because the PSC said Aqua could estimate bills. She did not return my call from 4/21/07 because she felt she had to accept the estimated bill. I explained that it was not Aqua's intention to estimate bills and that we did rebill her account on an actual read. She was fine with that and the fact that the bill will be special handled back to a supervisor to make sure it is not estimated before it is mailed.
729591W	3/14/2007	Wehmeyer, George	estimated bills	3/14/2007	company records there was no record of a deposit however, Aqua has agreed to refund the \$100.00 deposit. It is possible that during conversion the customer information was not transferred from one system to another. Mr. Wehmeyer was advised that it takes 3 to 4 weeks for processing and to be patient. The refund will be mailed to 3148 Mapie Ave, Slayton, MN 56172-1424
729858W	3/14/2007	Johnston, Gregory	Voff	3/31/2007	3/17/2007 REQUEST FOR SUPPLEMENTAL RESPONSE  Per PSC Rule 25-22.032(6), complaint resolution should be provided to the customer via direct contact with the customer, either verbally or in writing, within 15 working days after the complaint has been sent to the company. Your April 2, report to the Florida PSC does not include confirmation that the company's resolution has been provided to the customer. Please provide the Florida PSC with a supplemental report confirming that the customer has been contacted. If contact with the customer was made in writing, please provide the Florida PSC with a copy of the correspondence.
729883W	3/14/2007	Ison, Reg	estimated bills	4/4/2007	On 3/25/2008 and 3/25/2008, Aque attempted to reach Ms, ison to discuss the account at 5209 SW 70th Terrace; Gainesville, FL however, was unsuccessful. In reviewing the account at billing statements issued were based on actual readings. Ms, ison stated that as of October 2007 there was a change in the total amount of people living in the household. Based on these facts, the usage has decrease which supports that there was a change. The billing is based on usage that actually flowed through the meter and the usage does reflect a decrease. Based on the history on the account, usage in 2007 range from 7200 gallons to 8700 gallons current usage range from 3200 gallons to 3400 gallons. There is a radio frequency unit metering system at the property. The radio frequency installation eliminates the potential for estimated bills. All billing is based on actual readings.
729527W	3/9/2007	Smith, Tracy	high bill	3/31/2007	Meter was exchanged at this property on 11/3/06. Paperwork was not completed until 2/22/07.  During that time, customer received bills that were either estimated or for zero consumption.  Account has been corrected and rebilled based on an actual read from the meter.  Customer is using 234 GPD on the new meter from 11/3/06 up to 3/19/07. This is in line with their historical usage.  Supervisor called outstomer and the answering machine picked up. Supervisor left name and direct line for customer to call toll free to discuss the bill.
729345W	3/8/2007	Miskar, Patricia	high bill	3/29/2007	5/4/07 called customer and spoke to person identifying herself as Patricia. Apparently, I had spoken to the daughter on 5/2/07 who called me with a read so I could rebill the account. The Patricia I spoke to today knew nothing about a bench test as indicated in your report. Patricia went on to say that there was no reason to do anything because, since she called the PSC, mystericusty her consumption went down to normal. She indicated that Aqua only corrected the account because she went to the commission. I reminded her of our April conversion concerning leaks at the property and she reiterated that there were no leaks and that I was calling her a liar.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
729345W (Continued)	3/8/2007	Miskar, Patricia	high bill	3/29/2007	Prior to this phone call, but based on the conversation I had with the daughter on 5/27/07, I credited the account for 14,000 gallions which equated to \$53,82 for water and \$27,35 for sever. When I mentioned this to Patricia, she said that was not enough, I should be clearing the bill altogether. I told her that I could not do that, but I could have the meter tested. She wanted to know what good that would do and I explained that she could witness the bucket test and the field technician could explain how he was testing the meter. She disagreed saying that he could lie to her and she wouldn't know. I explained to her that since she is saying the meter went back to normal and there are no leaks at the property. I had to prove that the meter was not defective. She became argumentative and said, "Do what you have to do, test the meter, but I'm not paying for it and I'm not paying the bill. She then hung up on me.  There is nothing else I can do at this point other than field test the meter, so I set that up for 5/10/07. Based on the results, unless the meter proves faulty, I cannot credit the account any additional more). I have applied the credit of \$81.17 on good faith based on the daughter telling me they were told that amount by Aqua Utilities.
729290W	3/7/2007	Lecompte, Jimmy	est bitis/rates	3/28/2007	3/11/07 REVIEWED COMPANY RESPONSE. Response indicates the following:  o On 3/23/07, Carol Cubiler called the customer on the can be re-tached number.  o On 3/26/07, the customer asked Carol Cubier to call back on Monday on the landline phone.  o On 3/26/07, Ms. Cubier called the customer and left a message on the answering machine.  o On 3/26/07, Ms. Cubier called again and got the answering machine.  o The customer lives in the Arrendo Estates ares.  o Aqua has planned to changed the meteres in this area to Radio Frequency meters so that customers will not receive estimated bitls.  o This is due to begin in April 2007.  o Ms. Cubier sent a Service Order to the division to attempt to read the meter.  o When the meter is read, the estimated bills will be canceled and the customer re-billed on the actual reading.
729047W	3/6/2007	Goetze, Robert	estimated bills	3/6/2007	Mr. Goetz calledin a read which Aqua representative rebill the account on actual customer read.
725605W	2/28/2007	Meiris, Betty	High Bill	3/1/2007	Aqua bills the customer for water going through the meter.     Aqua dose not know that properties are vacant unless the customers tell us.     Aqua has adjusted the account for a water teak.
724497W	2/28/2007	Meldon, Edith	High Bill	3/2/2007	1. Aqua did exchange the meter, but the peperwork has not been completed in a timely manner, resulting in the customer receiving estimated bills. 2. When the paperwork is completed and the account billed, Aqua witi check the bill before it is sent to the customer. 3. Aqua never refused to repair the meter, and in fact, did go out when the customer called. 4. Aqua will adjust the bill if necessary, but usually a leaky meter does not record usage.
728305W	2/27/2007	Demates, Ann	High Bill	3/17/2007	04/16/07 Aque Utilities reports on 12/13/06 the customer received an estimated bill that was canceled. On 11/23/07, the customer was issued a bill for 50 days of service based on an actual reed taken on 12/20/06. C2/26/07 (estimated bill), customer called Aque concerning her bill. Three different representatives tried toexplain the billing to Ms. Dematas, customer had a difficult time understanding their explanation. The company is not sure what credit the customer is referring to, when bills are estimated and then actual reads are obtained, there may be a reduced amount on the billing. The 3rd company representative advised customer to pay what ehe normally pays. A supervisor attempted to call the customer but the phone only rang.  Base Charge increase The 12/13/06 bill which was canceled was for 38 days of service. The base rate is \$13.85 and when divided by 30 days of service that figure equals \$0.451666 per day. When \$0.461666 is multiplied by 38 days, it equals \$17.54. The formula is the same for the 50 day bill. The base rate is pro-rated by number of days in the billing cycle. It appears the meter was exchanges sometime between 12/06 and 01/07, the paperwork has not been completed. The customer has received an estimated bill for 02/07 and 03/07. The supervisor has contacted the division office to investigate when the meter exchange took place and forward the paperwork for completion.  On 03/17/07, a supervisor attempted to call the customer but the phone rang with no answer. This is the Arrendondo Estates area where Aqua is pursuing a meter change out project to ensure customers receive an actual read each month.  04/16/07 REQUEST FOR SUPPLEMENTAL RESPONE Please provide the PSC with a 12 month billing history to inclued; (1) number of days billed, (2) number of gallons billed, and (3) base facility changed.  Per PSC rule the complaint resolution should be provided to the customer via direct contact with the customer, either varbalty or in writing, leaving a message on a voice mail system is not sufficien

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
					4/2/07 - Reviewed Company Report received 2/27/07:  1) The customer's meter has been read and the account rebilled and a service order was issued to change the meter on 3/2/07.  2) The customer has not been contacted directly because of illness, but the customer's neighbor has been advised. The company will attempt to contact the customer to advised of resolution response.  NForsman
725603W	2/26/2007	Fields, Ladonnia	est Bris	2/27/2007	4/2/07 - ******ATTENTION AQUA UTILITIES - SUPPLEMENTAL REPORT REQUESTED***** - It appears there is not sufficient information to provide closure to this inquiry.  1) Per customer Complaint Rule 25-22.032, complaint resolution must be provided to the customer via direct contact with the customer, either verbally or in writing, within 15 working days after the complaint has been sent to the company. There is no documentation in your Report dated 2/27/07 indicating that the customer has been contacted either verbally or in writing regarding resolution of this matter. If you are unable to speak directly with the customer, a written response is appropriate. Please provide such documentation. If you have made contact with the customer via correspondence, please provide a copy of the resolution correspondence sent.  2) Please provide the PSC the exact amount of credit adjustment to the customer's account and the date the credit was applied to the account.
728274W	2/26/2007	Bana, Bruce	High Bill	3/2/2007	1. Customer had been estimated since 3/3/06. 2. Customer said there was a leak in her yard sometime in November or December. 3. Customer had a single monthly bill for \$180.00 and this was discussed with Mrs. Bana. 4. Aqua obtained a read on 2/14/07 and rebilled the account. 5. 4/28/07, Aqua credited the account for \$139.29 to bring the account to zero and start fresh with the meter exchange. I called Mrs. Bana to discuss this with her, but did not get an answer. 6. 5/2/07, meter was exchanged and Radio Frequency Installed. Account will be read each month by Aqua. 7. Report sent to PSC and a copy to the customer.
725603W	2/22/2007	Griffith, Roger	Long bill	3/17/2007	02/05/07 - Acknowledgement letter returned marked: "RETURN TO SENDER / INSUFFICIENT ADDRESS." Forwarded to RNd-hargus. Jeves 2-13-2007 Attempted to contact customer to correct address, not responding. D. F. 2-15-2007 Attempted to contact customer to correct address. D. F. 2-15-2007 Address corrected, customer call back to verify address. D. F. 2-18-2007 Address corrected, customer call back to verify address. D. F. 2-19-2007 Address corrected, customer call back to verify address. D. F. 2/2/2/2008 A new acknowledgement letter will be mailed to the customer, michargue 2-22-2007 Customer called back to follow-up on case advised her that we still have not received response from the company. D. F. 02/2/2/07 Caller today states she la Ms. Griffith, and that there are two address associated with these accounts, ech in name Roger Griffith, at 2 different addresses. She states account ending -8364 is at 3186 County Road 676, Webster, FL. & account ending -85587 is at 11428 County Road 675, Webster, FL. She states she is a customer of Aqua Utiffities (formerly Crystal River), Sunter County, FL. She states she believes that helfier of the meters at these addresses has been read with regularity and she is disputing billing 01/07 for 59 days fisted as actual reading ay each address. She states she received a bill for account ending -8364 for \$218.00, of which she states she paid \$76.52 in 12/06 & \$70.88 in 01/07 – and a bill for account ending -85687 for which she states she paid \$84.70 01/07. She states she believes that bills have been estimated for many months and she would like an clarification of billing for both accounts. LKAlford 02/22/2007 Complaint sent to incorrect company. Corrected due date end company code. Sending complaint to Aqua Utilities. ACalhoun
727710W	2/21/2007	Blako, Arierie	Est bills	2/22/2007	3/27/07 - Reviewed Company Report received 3/17/07:  1) The customer's bittings have been based on both actual and estimated readings.  2) A meter replacement program is underway to replace all meters with radio frequency readings, eliminating sestimated readings.  3) The company is going to perform "re-read work" on 2/28/07.  4) The company indicates they have been unable to contact the customer via telephone to discuss this metter.  "ANALYSTS COMMENTS" - The company has documented their inability to contact the customer by telephone, but heve provided no documentation that the customer was notified of response in writing.  NForsman.

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution Dear Mr. Blake
727707W	2/21/2007	Blake, Patrick	Est bills	4/16/2007	This letter is in reference to the above listed address. In order for Aqua to read your meter, we are asking that you please remove any and all debris from the meter pit erea. This ensures that we are able to obtain regular actual meter readings for your location.  In April, you should have received information about Aqua needing access to your property for a meter exchange. This new technology will ensure that we are able to obtain actual meter readings each and every month for our customers. The meter reader will not need to have access to the property for these readings.  We have enclosed a copy of your most recent water bill which is based on a actual meter reading. If you find that you are unable to pay this bill in full, we are able to offer payment arrangements for you. Customer service is available at 877-887-2782, Monday through Friday from 7:30am to 5pm for your convenience.
727635W	2/20/2007	Peterson, Virginia	High Bill	3/17/2007	12714/05, Aqua issued a bill to the customer based on an actual read. The customer called on 12/27/06 to dispute the read.  12729/05, Aqua issued a bill to the customer based on an actual read. The customer called on 12/27/06 to dispute the read.  1/18/07, Aqua issued an estimated bill to customer which was estimated on the low side. (23 days of service) 2/13/07, Aqua issued another estimated bill which was more closely aligned with the customer's historical usage. (37 days of service) 3/8/07, Aqua issued another estimated bill which was more closely aligned with the customer's historical usage. (37 days of service)  Customer was not rebified after calling Aqua to Inquire about the estimated bill. When customer called in December, the read was an actual read, but customer felt it was too high. The January bill was estimated low, and the next bill was estimated elso. The company went out to the property to obtain an actual read on 2/23/07, but the customer was not rebified and should have been.  The Merch bill is an actual read; however, the days of service are 21 days and it will appear that the usage is higher then normal. This is actually a catch-up bill due to the previous low estimated reads.  3/17/07 Spoke to Ms. Peterson and went over the bills with her. I explained that her April bills should be back to a normal monthly cycle. I told customer that I would special handle her bills to make sure that they were not estimated. Ms. Peterson understood the explanation and was satisfied with the resolution.
727360W	2/16/2007	Caruso, Lawrence	EST Bills	2/24/2007	An appointment was scheduled for 10/23/2007 (efter 2 previous appointments) to exchange the meter. Mr. Caruso requested Aqua representative to contact him via telephone prior to arriving at the property on 10/22/2007. Mr. Caruso did not respond to the call. On 10/23/2007, the Area Manager and Field Service Representative went to the property to exchange the meter. Upon arriving at the property, Mr. Caruso meet them however he had his dogs in the yard. Mr. Caruso put some of the dogs away in the house but stated that he had too many to remove them all. Aqua employees were advised not to go into the yard even with the owner accompanying them. The meter and Aqua's water main is located inside the tence. Aqua representatives have explained to Mr. Caruso that the dogs need to be secure so the work car be done. In order to correct the billing and exchange the meter, Mr. Caruso will have to provide access to the meter. The meter has since been exchanged.
729756W	2/12/2007	Goins, Billie Jean	Est bills	3/3/2007	4/18/07 - Reviewed Company Report received 4/2/07 (INCOMPLETE REPORT):  1) The company spoke to the customer on 3/3/07 regarding the customer's concern (NOTE: THIS CUSTOMER CONTACT IS PRIOR TO THE DATE OF FILING THIS PSC COMPLAINT.)  2) The meter was misread, causing the customer to be high billed. The meter was re-read, the bill was cancelled, and the customer will be re-billed.  3) The customer's usage appears high but no leaks were detected.  4) In the future, the company plans on installing a remote meter at this location.
723919W	2/6/2007	Hoiben, Destin	High Bill	2/24/2007	1) The customer was issued an estimated bill in November 2006, which was cancelled. The customer was then rebitled for a 64 day period, the equivalent of 2 months. The customer's billing end usage is in line with previous consumption and the customer has not been double billed. 2) A call back message was left for the customer for explanation. NForsman
725899W	2/1/2007	Lindsey, Joe	Billing	2/22/2007	1) The customer was issued an estimated bill in November 2006, which was cancelled. The customer was then rebilled for a 64 day period, the equivalent of 2 months. The customer's billing and usage is in line with previous consumption and the customer has not been double billed. 2) A call back message was left for the customer for explanation. NForsman

Case Number	Date Received	Customer	RootCause	Date Sent to PUC	Resolution
725512W	1/31/2007	Zutler, Carol	astimated bilis	2/22/2007	2/22/07 - I called and spoke with Mr. Zutler, the customer, @ 4:09 PM and updated him on the company's response received on 2/21/07. Mr. Zutler states that other then contact from Mr. Brown, who is no longer allowed to speak with the customer, no one from the company has called he or his wife, have not left call back messages on his voicemail and has not responded via mail or certified mail. The customer was advised that at this time, the company's response is delinquent and a delinquent notice will be sent to the company. NForsman
725626W	1/30/2007	Huberman, Carl	improper billing	2/19/2007	1. Aqua called customer and discussed the bills. 2. Customer said the property is vacant and up for sale. 3. Aqua will get the current meter information and recalculate the bill based on vacancy and no meter. 4. Aqua will call customer again when the bill is rebilled. 5. Customer was satisfied when Aqua called.
725605W	1/30/2007	Meiris, Betty	HIGH BILL	2/15/2007	Aqua bills the customer for water going through the meter.     Aqua does not know that properties are vacant unless the customers tell us.     Aqua has adjusted the account for a water leak.
721143W	1/29/2007	Whittle, Robert	Meter reading	2/6/2007	1. Aqua called customer and spoks to him about the location of his meter pit. 2. Where the pit is located, outside the fence, does not appear to be a factor in the inability to read the meter. 3. Division was contacted and they are responsible for finding out why the customer's bill is being estimated. 4. Aqua is waiting for a response from the division in order to resolve the Issue. 5. Customer was satisfied that Aqua is looking into the problem.  Supplemental Report — 2/5/07  1. The division found that a meter reader was "curbing" the reads and not actually reading the meter. 2. The meter reader has since been terminated and the problem resolved. 3. 1/17/07, the account was read by the company with no problem. 4. The bill will be checked for a period of time before it goes out to ensure the customer does not get an estimated bill.
724981W	1/24/2007	Axtell, Gali	estimated bills	2/14/2007	Aqua has been out to this customer's property 3 times to test the water and all tests come out as satisfactory.  The chlorine in the water is tested twice delity, 6 days per week,  All bactis samples taken for the last several months have been satisfactory,  The customer is receiving estimated bills because there is a locked gate surrounding the meter area,  Estimated meter readings back to October 2006 have been canceled and the customer re-billed on the meter reading she supplied to Aqua,  The customer needs to allow access to her meter so that an actual meter reading can be obtained,  Aqua has scheduled a service order to read the meter on 2/16/07 and will call the customer to advise.  Shonna McCray  NOTE: It appears the company has violated PSC rules—failure to provide resolution to customer and PSC within 15 days. Shonna McCray
724658W	1/22/2007	Raine, Roger	estimated bills	2/14/2007	Aqua will leave a door hanger with meter reading for customer.
724497W	1/19/2007	Meldon, Edith	leaky meter	2/10/2007	1. Aque did exchange the meter, but the paperwork has not been completed in a timely manner, resulting in the customer receiving estimated bills. 2. When the paperwork is completed and the account billed, Aque will check the bill before it is sent to the customer. 3. Aque never refused to repair the meter, and in fact, did go out when the customer called. 4. Aque will adjust the bill if necessary, but usually a leaky meter does not record usage.
709457W	1/19/2007	Vardaman, Kelth	estimated bills	2/7/2007	Aqua will special handle the bill to make sure the account is not estimated.     Aqua feels the reason this customer was receiving estimated bills was due to the meter reader not doing his job.     Aqua apologizes that the customer has been inconvenienced.     Aqua will take measures to ensure customer does not get an estimated bill.
724054W	1/15/2007	Brubaker, Sob	taste and odor	1/23/2007	Agus Florida is attempting to resolve the issue of contaminants in the water.     Agua Florida feels it is necessary to continue to notify customers on a quarterly basis.
721103W	1/11/2007	Beeler, Jack	Biffing Dispute	12/19/2006	Aque apologizes for issuing the customer estimated bills.     Aque has issued an actual bill to customer.     Aque supervisor contacted customer and explained what happened.     Supervisor will look into the actions of the mater reader to make sure that the meters are being read.
723531W	1/10/2007	Henke, Mike	high bills	1/23/2007	1. Agus does not see any conversation noted where the customer was promised a credit of \$55.93. 2. Aque can see no justification for a credit since the customer states there are no leaks. 3. If the customer insists there are no leaks than there must be additional usage by the customer that accounts for the additional usage. 4. Aque will exchange mater to attempt to satisfy customer, but as in past history, customer has complained every year about his consumption and has been advised to cut back on the sprinkler use.

		The second secon	RootCause	Date Sent to PUC	Resolution
Case Number	Date Received	McCreary, Brenda	estimated bills	1/9/2007	1.79/07, spoke to Ms. McCreary about estimated bills.     Aqua assured Ms. McCleary that they would make all attempts to correct the situation.     1.79/07, read was obtained, and the two estimated bills were canceled and rebilled on the actual read.     Customer had aiready sent in payment when Aqua called, so she will have a credit on the account.     Aqua is special handling the bills to make sure customer does not receive an estimated bill.     Customer was satisfied that Aqua is looking into the problem.
723378W	1/9/2006	Nguyen, Patti	turn off	1/26/2007	1. Payment information was not communicated to the field prior to the 1/8/07 turnoff. 2. Service was restored on 1/9/07. 3. Aqua has taken measures to assure that this does not happen again.
.721103W	12/12/2006	Jack Beeler	Billing Dispute	12/19/2006	1/11/2007 Reviewed report. The company reports the following:  The customer received two estimated bills in November and it may have been due to converting data from one Customer information system to the other.  On December 11, 2006, the customer called and Aqua sent a meter reader out on December 12, 2006, to read the meter.  On December 18, 2006, the estimated bills were carcelled and the customer's account was rebilled on the actual read.  Customer account reflects all actual readings previously.  Aqua supervisor contacted the customer, apologized for the estimated bills, and issued an actual bill, kmarshall.
721212W	12/12/2006	Carpino, L	High Consump	1/6/2007	The high usage appears to coincide with the summer months and additional watering. The usage has consistently decreased from a high of 73,000 gallons to 11,100 for the current bill. Usage decreased prior to the meter exchange which usually means that an event took place at the property such as a leaky tollet or possibly in this case, increased irrigation usage, which has since been corrected. When results of the bench test are available, the customer will be notified. THE METER THAT WAS PULLED TESTED AT 102%.
					Aqua called customer and spoke to him about the location of his meter pit.  Where the pit is located, outside the fence, does not appear to be a factor in the inability to read the meter.  Division was contacted and they are responsible for finding out why the customer's bill is being estimated. Aqua is waiting for a response from the division in order to resolve the issue.  Customer was satisfied that Aqua is looking into the problem.
721143W	12/12/2006	Whittle, R	estimeted bills	1/6/2007	The division found that a meter reader was "curbing" the reads and not actually reading the meter. The meter reader has since been terminated and the problem resolved.  1/17/07, the account was read by the company with no problem. The bill will be checked for a period of time before it goes out to ensure the customer does not get an estimated bill.